ApxaHrenbck (8182)63-90-72
AcraHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsiHck (4832)59-03-52
BnagnBeocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73

EkatepuHbypr (343)384-55-89

SENSOR ACTOR LINE
CONNECTORS

Mo Bonpocam npofax u nogaepxku obpallanTecs:

MBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
KasaHb (843)206-01-48
Kanununrpag (4012)72-03-81
Kanyra (4842)92-23-67
Kemeposo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

JIvneuk (4742)52-20-81

MarnwuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

HaGepexHble YenHbl (8552)20-53-41
HwxHuin Hosropog (831)429-08-12

HoBokysHeLk (3843)20-46-81
Hosocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42
OpeHbypr (3532)37-68-04
MeHsa (8412)22-31-16

Mepmb (342)205-81-47

PoctoB-Ha-[loHy (863)308-18-15

PssaHb (4912)46-61-64
Camapa (846)206-03-16

CaHkT-MeTepbypr (812)309-46-40

Capatos (845)249-38-78
CesacTtonons (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmMmoneHck (4812)29-41-54
Coun (862)225-72-31
Craspornonb (8652)20-65-13

EouHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

COM

TECHNOLOGY IN CONNECTORS"

Cypryt (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YrnbsiHOBCK (8422)24-23-59
Ydpa (347)229-48-12
Xabaposck (4212)92-98-04
YensbuHek (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasns (4852)69-52-93

] ®

=



mailto:ccn@nt-rt.ru
http://www.conec.nt-rt.ru

CONES
wWiNitW

TECHNOLOGY IN CONNECTORS"

As a leading connector manufacturer CONEC develops,
produces and markets connectors worldwide for the appli-
cation fields: industrial electronics, telecommunications,
automation, automotive, aerospace and medical.

CONEC Germany, Lippstadt

CONEC Canada, Brampton

CONEC USA, Garner



At the headquarters in Lippstadt CONEC maintain
a large research and development department, its own
tool making department, CNC-turning department and a
synthetics injection moulding plant. CONEC is a global

player with its own subsidiaries or production sites in
Canada, the USA, China, Czech Republic, Poland, France
and the UK.




TABLE OF CONTENTS

B Secrion 1

M Section 2

™ Section 3

M Secrion 4

M Secrion 5

¥ Section 6

B Secrion 7

SECTION 8

CONNECTORS OVERMOULDED.

M12x1 Connectors
7/8" Connectors
Rund24 Connectors

M8x1 Connectors
M12x1 Connectors
7/8" Connectors
M23 Connectors
Rund24 Connectors

SOCKETS

Sockers SMT/THR

M8x1 Sockets SMT
M8x1 Sockets THR

M12x1 Sockets SMT

Power CONNECTORS

Nomenclature — Product specification 8
M8x1/@8mm Connectors 16
41
69
87
CONNECTORS FIELD ATTACHABLE
Nomenclature — Product specification 90
102
105
111
112
13
Nomenclature — Product specification 116
M8x1 Sockets front panel mounting 120
M12x1 Sockets front panel mounting 123
7/8" Sockets front panel mounting 134
M8x1 Sockets back panel mounting 138
M12x1 Sockets back panel mounting 142
7/8" Sockets back panel mounting 153
Nomenclature — Product specification 158
160
165
M8x1 Installation components SMT/THR 170
172
M12x1 Installation components SMT 175
PANEL PLUGS MALE/ FEMALE
Nomenclature — Product specification 178
M8x1 Panel plugs male- /female 180
M12x1 Panel plugs male 183
Nomenclature — Product specification 188
M12x1 Connectors, overmoulded, T-coded 192
M12x1 Sockets T-coded 194
M12x1 Connectors, overmoulded, S-coded 196
M12x1 Sockets S-coded 198
HiGH TEMPERATURE CONNECTORS
Nomenclature — Product specification 202
M12x1 Connectors overmoulded 206
M12x1 Sockets front/back panel mounting 209
Foop & BEVERAGES CONNECTORS
Nomenclature — Product specification 218
M8x1 Connectors overmoulded 222
M8x1 Sockets front panel mounting 227
M12x1 Connectors overmoulded 228
M12x1 Sockets front/back panel mounting 233




M Secrion 9

B Secrion 10

M Secrion 11

M Secrion 12

™ Secrion 13

M Secrion 14

SEcTION 15

CONNECTORS FOR Bus SYSTEMS

Profibus DP

Industrial Ethernet 100 MHz
M8x1 Connectors overmoulded

10 Gbit/s Ethernet

M12x1 Sockets SMT

M12x1 Sockets THR

DeviceNet

7/8" Connectors overmoulded

CAN-Bus

JUNCTION SYSTEMS

M8x1/M12x1 Y-Splitter
M8x1/M12x1 Duo-Splitter
M12x1 T-Splitter

M12x1 Adapter

7/8" T-Splitter

VALVE CONNECTORS

Overview pin assignment
Valve connectors DT-series

ACCESSORIES

Torque wrench/Plug insert
Hex nuts/Tool holder
Protection caps

TECHNICAL INFORMATIONS

Cable qualities
Pin and contact assignment
Coding

Panel cut out
IP Protection classes
Electrotechnical Informations

PART NUMBERS

Nomenclature — Product specification 238
M12x1 Connectors overmoulded 252
M12x1 Connectors field attachable 258
M12x1 Sockets front/back panel mounting 259
D-SUB - M12x1 Connecting cable 270
274
M8x1 Sockets front panel mounting 275
M12x1 Connectors overmoulded 276
RJ45 Connecting cable AWG 24 278
RJ45 - M8x1/M12x1 Connecting cable AWG 26 279
M12x1 Connectors field attachable 280
M12x1 Sockets front/back panel mounting 281
M12x1 overmoulded, field attachable, sockets 286
287
288
RJ45 - M12x1 CONEC EtherCord
M12x1/ RJ45 Connecting cable 289
M12x1 Connectors overmoulded 291
M12x1 Sockets front/back panel mounting 295
297
7/8" Sockets back panel mounting 297
M12x1 Connectors overmoulded 298
M12x1 Sockets front/back panel mounting 299
Nomenclature - Product specification 302
308
3N
316
319
321
Nomenclature — Product specification 324
328
330
Valve connectors Superseal-series 340
344
345
346
350
356
360
PCB-layout and installation space dimension 361
375
376
377
ADDITIONAL PRODUCT CATEGORIES
380
388

CONL®

5



SECTION 1
CONNECTORS OVERMOULDED

-~




7

SONEC®



SAL M8x1/@8mm CONNECTORS OVERMOULDED
Nomenclature

|\|||H|“

8 CONEC°




SAL M8x1/@8Mmm CONNECTORS OVERMOULDED
Product specification

Recommended torque: 0.4 Nm

Technical subject to change without notice.

CONC® 9



SAL M12x1 CONNECTORS OVERMOULDED
Nomenclature

SIARLY-J1020 1 JRIKIWRA]-J30LE- 131/ JAL1]

JIL

10 CONEC®



SAL M12x1T CONNECTORS OVERMOULDED
Product specification

Recommended torque: 0,6 Nm

Technical subject to change without notice.

CONX® N



SAL 7/8" CONNECTORS OVERMOULDED
Nomenclature

JI|||H|

12 CONC®



SAL 7/8" CONNECTORS OVERMOULDED
Product specification

Technical subject to change without notice.

CONX® 13



SAL RuND24 CONNECTORS OVERMOULDED
Nomenclature

=

14 CONEC®



SAL RunD24 CONNECTORS OVERMOULDED
Product specification

Technical subject to change without notice.

CONX® 15



~
£
& £
9 S < < 8
S v o ! IS
o g 5 3§ 3
S s & 2 49
NG IS B
S o > = S S
S £ ©®- § S
‘H H E
PVC, grey, LiYY Contact assignment = S & 3 S8 = Description Part No.
9 2 SAL-8-RK3-2 /A1 42-10000
>
Pin 1 B o 3 SAL-8-RK3-3 /A1 42-10001
P!n 3| 3 N 3 0,25
Pin 4 2 5 SAL-8-RK3-5/A1 42-10002
>
o
o 10 SAL-8-RK3-10/A1 42-10003
9 2 SAL-8-RK4-2 /A1 42-10032
>
gio Pin | 3 3 SAL-8-RK4-3 /Al 4210033
‘ i 4 N 3 025
in 3 %)
Pin 4 < 5 SAL-8-RK4-5 /A1 42-10034
>
o
N—swe/ g 10 SAL-8-RK4-10/A1 42-10035
3 % Width across
flats 9
° 2 SAL-8B-RK5.1-2/A1  42-11104
- Pin 1
o Pin 2 1 3 SAL-8B-RK5.1-3/A1  42-11105
g8 Pin 3 5 B 30 3 0,25
Pin 4 . 5 SAL-8B-RK5.1-5/A1  42-11106
Pin 5
10 SAL-8B-RK5.1-10/A1  42-11107
2 SAL-8-RK8-2 /A1 42-11226
E" ; E E" 2 - 3 SAL-8-RK8-3 /Al 42-11227
n n
Pin 3 Pin 7 I 8 A 30 15 014
Pn4C=  PingEE 5 SAL-8-RK8-5 /A1 4211228
10 SAL-8-RK8-10/A1 4211229
TPU, UL, halogenfree, black, Li9Y11Y
9 2 SAL-8-RK3-2/K1 42-10004
>
Pin 1 B 2 3 SAL-8-RK3-3 /K1 42-10005
P@n 3. 3 N 3 0,25
Pin 4 2 5 SAL-8-RK3-5/K1 42-10006
>
o
2 10 SAL-8-RK3-10/K1 42-10007
Q 2 SAL-8-RK4-2 /K1 42-10036
>
Pin 1 o
#10,1 i 2 3 SAL-8-RK4-3 /K1 42-10037
i 4 N3 0,25
! in 3 )
Pin 4 I < 5 SAL-8-RK4-5/K]1 42-10038
o
N_swo/ » 10 SAL-8-RK4-10/K1 42-10039
< Width across
« 2 flats 9 2 SAL-8B-RK5.1-2/K1  42-11096
2 Pin 1 m
- Pin 21 3 SAL-8B-RK5.1-3/K1  42-11097
- Pin 3 5 B 30 3 0,25
@8 Pin 4 = 5 SAL-8B-RK5.1-5/K1  42-11098
Pin 5
10 SAL-8B-RK5.1-10/K1  42-11099
2 SAL-8B-RK5.1-2/H5  42-13031
<t
Pin 1 M m
Pin 21 & 3 2 SAL8BRK5.1-3/H5  42-13032
Pin 3 HE 5 B 30 un :
Pin 4 HE < — _QR- N _
P - x5 S SAL-8B-RK5.1-5/H5  42-13033
10 SAL-8B-RK5.1-10/H5  42-13034
2 SAL-8-RK8-2 /K1 4211175
E?n ; E E?n g- 3 SAL-8-RK8-3 /K1 4211176
n n
Pin 3 Pin 7 N 8 A 30 15 014
Pn4C=  Pingmm 5 SAL-8-RK8-5/K1 4211177
10 SAL-8-RK8-10/K1 4211178

16 CONEC® Technical information starting on page 348



~
—_ g
- - & £
g S < = S
S v o IS
o g = § %
S s S | s 2
5 o & = S 8
S £ ©®- § S
§ S & £ s @
PVC, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
2 SAL-8-RK3-2/A1/05 42-12226
=]
> 3 SAL-8-RK3-3/A1/05  42-12227
Pin 1 3
Pin 3 W 3 N 5 0,5
Pin 4 N 2
Z 5 SAL-8-RK3-5/A1/05  42-12228
mn
I 10 SAL-8-RK3-10/A1/05 42-12229
): SWga/
Width across
e % flats 9 2 SAL-8-RK4-2/A1/05  42-12266
[ap)
)
- =t
= 3 SAL-8-RK4-3/A1/05  42-12267
in 1 .
?10 i 8
" 4 N 5 0,5
Pin 3 %) '
Pin 4 N <
g 5 SAL-8-RK4-5/A1/05 42-12268
mn
10 SAL-8-RK4-10/A1/05 42-12269
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RK3-2/K1/05  42-12230
=]
> 3 SAL-8-RK3-3/K1/05  42-12231
Pin 1 mm 3
Pin 3 3 N 5 0,5
Pin 4 2
Z 5 SAL-8-RK3-5/K1/05  42-12232
wn
10 SAL-8-RK3-10/K1/05 42-12233
|
): SWga/
Width across 2 SAL-8-RK4-2/K1/05  42-12270
3 % flats 9
@
" c
- > 3 SAL-8-RK4-3/K1/05  42-12271
Pin 1 8
Pin 2]
@10 Pin 3 4 S > 05
Pin 4 I <<
g 5 SAL-8-RK4-5/K1/05  42-12272
n
10 SAL-8-RK4-10/K1/05 42-12273
Technical information starting on page 348 CONEC®

17




=
. £
& £
g S I = 8
S Y > s}
< g 5 § %
S = BN - 2
S > S b = e
S s S ) S
E 3 8 £ 1§ ¢
PVC, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
Q 2 SAL-8-RKS3-2 /A1 42-10064
>
Pin 1 W 2 3 SAL-8-RKS3-3 /A1 42-10065
P!n 3| 3 N 3 0,25
Pin 4 2 5 SAL-8-RKS3-5/A1 42-10066
>
o
i 10 SAL-8-RKS3-10/A1  42-10067
9 2 SAL-8-RKS4-2 /Al 42-10096
. >
Pin 1 2 3 SAL-8-RKS4-3 /A1 42-10097
Pin2[J
Pin 3 W 4 > 3 0,25
Q
Pin 4 < 5 SAL-8-RKS4-5 /Al 42-10098
>
o
i 10 SAL-8-RKS4-10/A1  42-10099
2 SAL-8B-RKS5.1-2 /A1 42-11108
Pin 1
Pin 2 3 SAL-8B-RKS5.1-3 /A1 42-11109
P!n 3| 5 B 30 3 0,25
Pin 4 I 5 SAL-8B-RKS5.1-5/A1  42-11110
Pin 5
10 SAL-8B-RKS5.1-10/A1  42-11111
TPU, UL, halogenfree, black, Li9Y11Y
Q 2 SAL-8-RKS3-2 /K1 42-10068
>
pin 1 mm 2 3 SAL-8-RKS3-3 /K1 42-10069
Pin 3 I 3 N3 0,25
Pin 4 I 2 5 SAL-8-RKS3-5/KI1 42-10070
>
o
i 10 SAL-8-RKS3-10/K1  42-10071
Q 2 SAL-8-RKS4-2 /K1 42-10100
. >
Pin | 2 3 SAL-8-RKS4-3 /K1 4210101
i— 4 N 3 0,25
in 3 %)
Pin 4 < 5 SAL-8-RKS4-5 /K1 42-10102
>
o
i 10 SAL-8-RKS4-10/K1  42-10103
2 SAL-8B-RKS5.1-2/K1  42-11100
Pin 1
Pin 2 1 3 SAL-8B-RKS5.1-3/K1  42-11101
Pin 3 5 B 30 3 0,25
Pin 4 5 SAL-8B-RKS5.1-5/K1  42-11102
Pin 5
10 SAL-8B-RKS5.1-10/K1  42-11103

18 CONEC® Technical information starting on page 348



~
—_ g
- E £
$ S < = 8
S v o ! 3
o S = § R
S S S & 9
5 o & = S 8
S £ ©wW § = S
§ S & £ s @
PVC, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
2 SAL-8-RKS3-2/A1/05 42-13043
O
o
) g 3 SAL-8-RKS3-3/A1/05 42-13044
Pin 1 I Ie)
Pin 3 W 3 N 5 0,5
Pin 4 HE 5()
> 5 SAL-8-RKS3-5/A1/05 42-13045
3
10 SAL-8-RKS3-10/A1/05 42-13046
2 SAL-8-RKS4-2/A1/05 42-13051
O
a
- § 3 SAL-8-RKS4-3/A1/05 42-13052
Pin 2]
Pin 3 4 N ° 0.5
Pin 4 = < 5 SAL-8-RKS4-5/A1/05 42-13053
2
10 SAL-8-RKS4-10/A1/05 42-13054
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RKS3-2/K1/05 42-13047
O
o
z 3 SAL-8-RKS3-3/K1/05 42-13048
Pin 1 )
Pin 3 W 3 N 5 0,5
Pin 4 I g
> 5 SAL-8-RKS3-5 / K1 /05 42-13049
3
10 SAL-8-RKS3-10/K1/05 42-13050
2 SAL-8-RKS4-2 /K1/05 42-13055
O
o
P § 3 SAL8-RKS4-3/K1/05 42-13056
Pin 2]
Pin 3 W 4 N ° 05
Pin 4 < 5 SAL-8-RKS4-5/K1/05 42-13057
3
10 SAL-8-RKS4-10/K1/05 42-13058

Technical information starting on page 348 CONEC® 19



=

. £

& £

g S I = 8

S Y > s}

o S = § R

S S S & 4

§ o £ = 2 8

S £ ©®- § S

§ S & £ s @

PVC, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
Q 2 SAL-8-RKW3-2 /A1 42-10016
>

Pin 1 W 2 3 SAL-8-RKW3-3 /A1 42-10017
P!n 3| 3 N 3 0,25
Pin 4 2 5 SAL-8-RKW3-5/A1 42-10018
>
o
&) 10 SAL-8-RKW3-10/A1  42-10019
_ %) 2 SAL-8-RKW4-2 /Al 42-10048
S >
S Pin 1 3 3 SAL-8-RKW4-3 /Al 42-10049
Pin2[J
Pin 3 W 4 > 3 0,25
Q
Pin 4 < 5 SAL-8-RKW4-5 /A1 42-10050
>
o
Swor o 10 SAL-8-RKW4-10/A1  42-10051
Width across
flats 9 2 SAL-8B-RKW5.1-2 /Al 42-11751
Pin 1
Pin 2 3 SAL-8B-RKW5.1-3 /Al 42-11752
P!n 3| 5 B 30 3 0,25
Pin 4 I 5 SAL-8B-RKW5.1-5 /Al 42-11753
Pin 5
10 SAL-8B-RKW5.1-10 /A1 42-11754

TPU, UL, halogenfree, black, Li9Y11Y
Q 2 SAL-8-RKW3-2 /K1 42-10020
>

pin 1 mm 2 3 SAL-8-RKW3-3 /K1 42-10021
Pin 3 I 3 N3 0,25
Pin 4 I 2 5 SAL-8-RKW3-5 /K1 42-10022
>
o
5 10 SAL-8-RKW3-10/K1  42-10023
- %) 2 SAL-8-RKW4-2 /K1 42-10052
S a
B ; =
Pin | 2 3 SAL-8-RKW4-3 /K1 42-10053
i— 4 N 3 0,25
in 3 %)
Pin 4 E 5 SAL-8-RKW4-5 /K1 42-10054
>
o
Swo o 10 SAL-8-RKW4-10/K1  42-10055
[ Width across
o [[1]| g8 ™0 2 SAL-8B-RKW5.1-2 /K1 42-11748
Pin 1
Pin 201 3 SAL-8B-RKW5.1-3 /K1 42-11749
Pin 3 5 B 30 3 0,25
Pin 4 - 5 SAL-8B-RKW5.1-5 /K1 42-11656
Pin 5
10 SAL-8B-RKW5.1-10 /K1 42-11750

20 CONEC® Technical information starting on page 348



~
—_ g
- & =
g S I = 8
S v o ks
o g = § %
S S & £ 4
S > S b = e
S £ ©®- § S
§ S & £ s @
PVC, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
2 SAL-8-RKWS3-2 /Al 42-10080
O
o
g 3 SAL-8-RKWS3-3 /A1 42-10081
Pin 1 ©
Pin 3 N 3 N 3 0,25
Pin 4 N 2
> 5 SAL-8-RKWS3-5/A1  42-10082
w0 | 3
o «Q
gls
10 SAL-8-RKWS3-10/A1  42-10083
2 SAL-8-RKWS4-2 / Al 42-10112
O
a
. o8 Pin 1 § 3 SAL-8-RKWS4-3/A1  42-10113
Pin 2]
Fin 3 4 S 025
Pin 4 < 5 SAL-8-RKWS4-5/A1  42-10114
o
wn
10 SAL-8-RKWS4-10/A1  42-10115
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RKWS3-2 /K1 42-10084
O
o
z 3 SAL-8-RKWS3-3 /K1 42-10085
Pin 1 o)
Pin 3 3 N 3 0,25
Pin 4 HE %
> 5 SAL-8-RKWS3-5 /K1 42-10086
o
w0 | o
o @
< |® 10 SAL-8-RKWS3-10/K1  42-10087
2 SAL-8-RKWS4-2 /K1 42-10116
O
o
45 - 2 3 SAL8-RKWS4-3/K1  42-10117
~ Pin 2
Fin s 4 N 0,25
Pin 4 . N 5 SAL8-RKWS4-5/K1  42-10118
3
10 SAL-8-RKWS4-10/K1  42-10119

Technical information starting on page 348 CONEC® 21



=
. &
& £
g = < - §
S Y o ! IS
S S S & 4
N S Y <}
S > = = 2 N
S £ ©®- § S
§ S & £ s @
PVC, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
21 é SAL-8-RKW3-21-:2/A1  42-10452
fg 3 SAL-8-RKW3-2L-3/A1  42-10453
J| =
CL SWo / 3 30 3 025
Width across
@;mm 5 SAL-8-RKW3-2L-5/A1  42-10454
10 SAL-8-RKW3-21-10/A1 42-10455
TPU, UL, halogenfree, black, Li9Y11Y
21 S 2 SAL-8-RKW3-2L-2/K1  42-10456
Q
fg . 3 SAL8-RKW3-2L3/K1  42-10457
J| =
C SWo / 3 30 3 025
Width across
m;'a’SQ 5 SAL-8-RKW3-21-5/K1  42-10458
10 SAL-8-RKW3-2L-10/K1  42-10459
PVC, grey, LiYY
21 é 2 SAL-8-RKW4-31-2/A1  42-10460
- P - 3 SAL-8-RKW4-31:3/A1  42-10461
g IP\nZIZI -0~ = 3 -
™ Pin4mm
Cl SW9 / 5% 4 30 3 0,25
Width across ©
¢1;'a‘39 Pin3 5 SAL-8-RKW4-31:5/A1  42-10462
10 SAL-8-RKW4-31-10/A1 42-10463
TPU, UL, halogenfree, black, Li9Y11Y
21 2 SAL-8-RKW4-31-:2/K1  42-10464
/_g 3 SAL-8-RKW4-31:3 /K1~ 42-10465
23
CL SW9 / 4 30 3 025
Width across
flats 9
$10 5 SAL-8-RKW4-3L-5/K1  42-10466
10 SAL-8-RKW4-31-10/K1  42-10467

22 CONEC® Technical information starting on page 348



~
—_ g
- &£ £
g S I = 8
S v o s}
o g = § %
S = BN - 2
S > S b = e
S £ ©®- § S
R
PVC, grey, LiYY Contact assignment = S & 3 S8 = Description Part No.
o 2 SAL-8-RS3-2 /A1 42-10008
o
>
Pin 1 @ 3 SAL-8-RS3-3/A1 42-10009
Pin 3 3 N 3 0,25
Pin 4 %><’ 5 SAL8-RS3-5/A1 4210010
o
o 10 SAL-8-RS3-10/A1 4210011
o 2 SAL-8-RS4-2 /A1 42-10040
o
>
Pin 1 2 3 SAL-8-RS4-3 /A1 42-10041
Pin2[J
Pin 3 I 4 S 3 0,25
i < AL-8-RS4-5/A1 42-10042
- Swo/ Pin 4 <>( 5 S
< Width across o
% flats 9 0 10 SAL-8-RS4-10/A1 42-10043
w
, ©
— 2 SAL-8B-RS5.1-2 /A1 42-11120
28 in 1 =
TiT i 3 SAL-8B-RS5.1-3/A1  42-11121
Pin 3 N 5 B 30 3 0,25
Pin 4 W
pin 5 . 5 SAL-8B-RS5.1-5/A1 42-11122
10 SAL-8B-RS5.1-10/A1  42-11123
2 SAL-8-RS8-2 /A1 42-11230
Pin 1 E’ Pin 5 3 SAL-8-RS8-3 /A1 42-11231
Pin 2 Pin 6
Pn3em  pnymm 8 A 30 15 014
Pin 4 Pin 8 I 5 SAL-8-RS8-5/A1 42-11232
10 SAL-8-RS8-10/A1 42-11233
TPU, UL, halogenfree, black, Li9Y11Y
=] 2 SAL-8-RS3-2/K1 4210012
>
Pin 1 3 3 SAL-8-RS3-3 /K1 42-10013
Pin 3 3 N 3 0,25
Pin 4 I 2 5 SAL-8-RS3-5/KI1 42-10014
>
2 10 SAL-8-RS3-10/K1 42-10015
8 2 SAL-8-RS4-2 /K1 42-10044
>
Pin 1 Il o
Pin 2 © 3 SAL-8-RS4-3 /K1 42-10045
Pin 3 W 4 S 3 0,25
Pin 4 2 5 SAL8-RS4-5/K1 4210046
2 10 SAL-8-RS4-10/K1 42-10047
2 SAL-8B-RS5.1-2 /K1 42-11112
Pin 1 mm
Pin2 [ 3 SAL-8B-RS5.1-3 /K1 42-11113
Pin 3 5 B 30 3 0,25
. SW9/ P?”4- 5 SAL-8B-RS5.1-5/K1 42-11114
¥ Width across Pin 5 W=
% flats 9 10 SAL-8B-RS5.1-10/K1  42-11115
w
- - 2 <  SAL-8B-RS5.1-2H5 42-13035
T o8 Pin 1 ™M g—
- | Pin2[J S 3 kS SAL-8B-RS5.1-3/H5  42-13036
Pin 3 5 B 30 un <«
Pin 4 < 5 —  SAL-8B-RS5.1-5/H5  42-13037
Pin 5 = S 5
10 ™  SAL8B-RS5.1-10/H5 42-13038
2 SAL-8-RS8-2 /K1 42-11179
Pin 1] Pin 5
Pin 2 H Pin 6 3 SAL-8-RS8-3 /K1 42-11180
Pin 3 Pin 7 I 8 A 30 15 0.14
bt P 5 SAL-8-RS8-5/K1 4211181
10 SAL-8-RS8-10/K1 42-11182

Technical information starting on page 348 CONEC® 23



=
—_ g
- - & £
8 = < = 8
] S £ s 3
S ESIE S S
S S - 8§ 8
S 2 = § & ©S
E 3 8 £ 1§ ¢
PVC, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
2 SAL-8-RS3-2/A1/05 42-12234
O
o
g 3 SAL-8-RS3-3/A1/05 42-12235
Pin 1 ©
10,1 Pin 3 W 3 N 5 05
? Pin 4 I g:’
M8x1 > 5 SAL-8-RS3-5/A1/05 42-12236
2
10 SAL-8-RS3-10/A1/05 42-12237
SW9/
p Width across 2 SAL-8-RS4-2/A1/05 42-12274
flats 9 I8}
a
4 ) Pin 1 B 2 3 SAL-8-RS4-3/A1/05  42-12275
@ Pin 2 =
Pin 3 B 4 S ° 05
Pin 4 = 5 SAL-8-RS4-5/A1/05 42-12276
< _8-RS4- .
@10 o
wn
10 SAL-8-RS4-10/A1/05 42-12277
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RS3-2/K1/05 42-12238
O
o
>
3 SAL-8-RS3-3/K1/05 42-12239
$10,1 Pin 1 B 2
Pin 3 W 3 N 5 0,5
Mex1 Pin 4 HE Q
> 5 SAL-8-RS3-5/K1/05 42-12240
3
10 SAL-8-RS3-10/K1/05 42-12241
SW9/
Width across
flats 9 2 SAL-8-RS4-2/K1/05 42-12278
O
o
- > 3 SAL-8-RS4-3/K1/05  42-12279
Pin 23 =
Pin 3 W 4 N ° 05
@10 Pin 4 . N 5 SAL:8-RS4-5/K1/05 4212280
2
10 SAL-8-RS4-10/K1/05 42-12281

24 CONEC® Technical information starting on page 348




=

£

& £

g S I = 8

S Y > s}

o g = § %

S = BN - 2

) o> = w2 e

S £ ©®- § S

§ S & £ s @

PVC, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
Q 2 SAL-8-RSS3-2 /A1 42-10532
>

pin 1 3 3 SAL-8-R553-3 /A1 42-10746
P@n 3. 3 N 3 0,25
Pin 4 2 5 SAL-8-RSS3-5 /Al 4210747
>
o
n 10 SAL-8-RSS3-10/A1  42-10748
Q 2 SAL-8-R554-2 /Al 42-10531
. >
Pin 1 EE 2 3 SAL-8-RSS4-3 /A1 4210749
Pin2[J
t 4 N 3 0,25
in 3 O
Pin 4 I < 5 SAL-8-R554-5 /A1 42-10750
& % >
o
© ) 10 SAL-8-RSS4-10/A1 4210751
- 2 SAL-8B-RSS5.1-2/A1  42-11124
8
¢ Pin 1
Pin 201 3 SAL-8B-RSS5.1-3/A1 4211125
Pin 3 5 B 30 3 0,25
Pin 4 5 SAL-8B-RSS5.1-5/A1  42-11126
Pin 5
10 SAL-8B-RSS5.1-10/A1 42-11127

TPU, UL, halogenfree, black, Li9Y11Y
Q 2 SAL-8-RSS3-2 /K1 42-10760
>

Pin 1 3 3 SAL-8-R$53-3 /K1 42-10761
Pin 3 3 N 3 0,25
Pin 4 2 5 SAL-8-RSS3-5/K1 4210762
>
o
" 10 SAL-8-RSS3-10/K1  42-10763
Q 2 SAL-8-RS54-2 /K1 42-10764
: >
Pin 1 3 3 SAL-8-RSS4-3 /K1 42-10765
Pin2[J
i 4 N~ 3 0,25
(®)
Pin 4 < 5 SAL-8-RS54-5 /K1 42-10766
>
o
o 10 SAL-8-RSS4-10/K1  42-10767
- 2 SAL-8B-RSS5.1-2/K1  42-11116
¢8 Pin 1
Pin 201 3 SAL-8B-RSS5.1-3 /K1 42-11117
Pin 3 5 B 30 3 0,25
Pin 4 Wl 5 SAL-8B-RSS5.1-5/K1  42-11118
Pin 5
10 SAL-8B-RSS5.1-10/K1  42-11119

Technical information starting on page 348 CONEC® 25



~
—_ g
- &£ £
g S < = 8
S v o | 3
o g = § %
S = BN - 2
S > S b = e
S £ ©®- § S
E 3 8 £ 1§ ¢
PVC, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
SAL-8-RSS3-2/A1/05 42-13059
a
> 3 SAL-8-RSS3-3/A1/05 42-13060
Pin 1 I 3
Pin 3 N 3 N 5 0,5
Pin 4 M 2
Z 5 SAL-8-RSS3-5/A1/05 42-13061
[Te)
©6,9
10 SAL-8-RSS3-10/A1/05 42-13062
~[ =5
— %g 2 SAL-8-RSS4-2/A1/05 42-13067
[ar]
[s2]
° 2
> 3 SAL-8-RSS4-3/A1/05 42-13068
— ¢ Pin 1 . 8
10 Pin 2 ()
Pin 3 H A ) 5 0,5
Pin 4 W =
> 5 SAL-8-RSS4-5/A1/05 42-13069
3
10 SAL-8-RSS4-10/A1/05 42-13070
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RSS3-2/K1/05 42-13063
=t
> 3 SAL-8-RSS3-3/K1/05 42-13064
Pin 1 I 3
Pin 3 W 3 N 5 0,5
Pin 4 HE 2
g 5 SAL-8-RSS3-5/K 1/05 42-13065
©6,9 o
< == 10 SAL-8-RSS3-10/K1/05 42-13066
@ - %g 2 SAL-8-RSS4-2/K1/05 42-13071
o
O
- o
@10 ) > 3 SAL-8-RSS4-3/K1/05 42-13072
Pin 1 8
Pin 2]
Pin 3 B © N 05
Pin 4 <
> 5 SAL-8-RSS4-5/K1/05 42-13073
3
10 SAL-8-RSS4-10/K1/05 42-13074

26 CONEC® Technical information starting on page 348




~
—_ g
- E £
g S < = 8
S v o ! 3
< g 5 § %
S s S | s 2
N S S
) > S b = e
S £ ©wW § = S
s Bl
PVC, grey, LiYY Contact assignment = S & 3 S8 = Description Part No.
SAL-8-RSU3-2 /A1 42-10072
=]
> 3 SAL-8-RSU3-3 /A1 42-10073
Pin 1 mm 3
Pin 3 3 N 3 0,25
Pin 4 HE g
> 5 SAL-8-RSU3-5/A1 42-10074
3
@10,1
M1 10 SAL8-RSU310/A1  42-10075
|| @69
_
2 SAL-8-RSU4-2 /A1l 42-10104
o SW9/
N % Width across W
flats 9 (=)
0 > 3 SAL-8-RSU4-3 /A1 42-10105
. - Pin 1 8
Pin2[]
i 1 ?8 Pin 3 I 4 S 3 025
T t Pin 4 HE <<
> 5 SAL-8-RSU4-5/A1 42-10106
2
10 SAL-8-RSU4-10/A1 42-10107
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RSU3-2 /K1 42-10076
=]
> B SAL-8-RSU3-3 /K1 42-10077
Pin 1 3
Pin 3 N 3 N 3 0,25
Pin 4 N 2
> 5 SAL-8-RSU3-5/K1 42-10078
3
M8x1 10 SAL-8-RSU3-10/K1 42-10079
s
I
2 SAL-8-RSU4-2 /K1 42-10108
° SWo / o
N % Width across 2
flats 9 > 3 SAL-8-RSU4-3 /K1 42-10109
0 Pin 1 mm 3
4 Pin 2
— Pin 3 “ N ° 025
28 Pin 4 M <
i i > 5 SAL-8-RSU4-5 /K1 42-10110
2
10 SAL-8-RSU4-10/K1 42-10111

Technical information starting on page 348 CONEC® 27



~
—_ g
- & =
g S < - 8
S v o IS
o g = § %
S = BN - 2
A ) o
) > = B = 2
S £ ©®- § S
E 5 & £ 5
PVC, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
SAL-8-RSFU3-
ko) 0,5 0,5/A1 42-11187
>
SAL-8-RSFU3-
e — ) 1 AT 4211188
i 3 o 025~ pLgRsFU3
Pin 4 2 2 A 4211189
>
o -8- -
Lo 3 gA/I;S i 42-11190
M8x1
@sxs %) 05 SALBRSFU4- 4211195
i a ! 0,5/A1
>
| B - = : SAL-8-RSFU4- 4211196
Pin 23 4 f 3 025 1/A1
Pin 3 I 8 ! SAL-8-RSFU4-
o % Pin 4 N <>E 2 2/A1 42-11197
(3]
= SAL-8-RSFU4-
n -
. ,u} 3 3/A1 42-11198
05 SAL-8B-RSFU5.1- 4212173
@8 0,5/ Al
Pin 1 M SAL-8B-RSFUS.1-
Pin 20 1 1/ Al 4212174
Pin 3 5 B 30 3 0,25
Pin 4 W ) SAL-8B-RSFUS5.1- 2212175
Pin 5 2/ Al
SAL-8B-RSFU5.1-
3 3/ A1 42-12176
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RSFU3-
ko) 0,5 0,5/K1 42-11191
>
SAL-8-RSFU3-
Pin 1 2 1 1/K1 42-11192
i 3 M 025 G pLgRsFU3
Pin 4 W -8- - .
<>t 2 2/K1 42-11193
o SAL-8-RSFU3-
wn -
3 3/K] 42-11194
SAL-8-RSFU4-
LD) 0,5 05/K1 42-11199
" > -0~ -
Pin 1 I o 1 shlieriinls 42-11200
Pin 2] 4 S 3 025 1/K1
Pin 3 W 8 ! SAL-8-RSFU4-
Pin 4 I < 2 2/K1 42-11201
2 SAL-8-RSFU4
M8x1 32 -8- - ]
265 3 3/K1 42-11202
T SAL-8B-RSFUS.1- )
0,5 05 /Kl 42-12177
Pin 1 SAL-8B-RSFU5.1-
Pin 2 [ 1 17K 42-12178
Pin 3 5 B 30 3 0,25
8 g i , SALBBRSFUS1- o
© Pin 5 2 /K1
- - SAL-8B-RSFU5.1-
3 3/K 42-12180
28 SAL-8B-RSFU5.1-
0,5 <« 05/H5 42-12181
Pin 1 m _8B- )
Pin 203 R 1 g SALBBRSEUSI 4212182
; ~ 1 /HS
Pin 3 I 5 B 30 un <«
in 4 = 5, I SALBBRSFUS.I- 1219183
Pin 5 el < 2/H5
m
SAL-8B-RSFU5.1-
3 3/Hs 42-12184

28 CONEC® Technical information starting on page 348



~
—_ g
- E £
g S I = 8
S v o IS
< g 5 § %
S = BN - 2
S > S b = e
S £ ©wW § = S
§ S & £ s @
PVC, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
2 SAL-8-RSW3-2 /A1 42-10024
O
o
z 3 SAL-8-RSW3-3 /A1 42-10025
Pin 1 ©
Pin 3 N 3 N 3 0,25
Pin 4 N 2
> 5 SAL-8-RSW3-5/A1 42-10026
2
27 = :C:; 10 SAL-8-RSW3-10/A1 42-10027
2|8
g 2 SAL-8-RSW4-2 /Al 42-10056
o
N swo/ a
Width across ! > 3 SAL-8-RSW4-3 /A1 42-10057
HIESS = 8
- i Fin s m 4 S 3 025
Pin 4 < 5 SAL-8-RSW4-5/A1  42-10058
o
wn
10 SAL-8-RSW4-10/A1 42-10059
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RSW3-2 /K1 42-10028
O
o
2 3 SAL8-RSW3-3/K1  42-10029
Pin 1 o)
Pin 3 3 N 3 0,25
Pin 4 g
> 5 SAL-8-RSW3-5/K1 42-10030
2
27 = :C:; 10 SAL-8-RSW3-10/K1 42-10031
2|8
g 2 SAL-8-RSW4-2 /K1 42-10060
o
N swo/ §
Width across ’ -8- - B
| o vt :::: ; E] 3 3 SAL-8-RSW4-3 /K1 42-10061
- i Fin s 4 S 3 0,25
Pin 4 . N 5 SAL8-RSWA-5/KI 4210062
2
10 SAL-8-RSW4-10/K1 42-10063

Technical information starting on page 348 CONEC® 29



=~
£
& &
g S I = 8
S SRS IS
o g = § %
S s S | s 2
§ o S = 2 8
S £ ©®- § S
K HE
PVC, grey, LiYY Contact assignment = S & 3 S8 = Description Part No.
Q 2 SAL-8-RSWU3-2/A1  42-10088
>
. Pin 1 mm 3 3 SAL-8-RSWU3-3/A1  42-10089
2 é: g £ Pin 3 3 ~ 3 025
e Pin 4 < 5 SAL-8-RSWU3-5/A1  42-10090
I >
o
: L 2 10 SAL-8-RSWU3-10/A1  42-10091
SWg/
Width across 9} 2 SAL8-RSWU4-2/A1  42-10120
L ) flats 9 =)
78 . >
. E!n;; 3 3 SAL-8-RSWU4-3/A1 4210121
bin 3 mm 4 N3 025
O
Pin 4 g 5 SAL8-RSWU4-5/A1  42-10122
>
o
o 10 SAL-8-RSWU4-10/A1  42-10123
TPU, UL, halogenfree, black, Li9Y11Y
Q 2 SAL8-RSWU3-2/K1  42-10092
>
= Pin 1 2 3 SAL-8-RSWU3-3/K1  42-10093
27 2 & g Pin 3 3 N 3 0,25
i Sl= Pin 4 W 2 5 SAL-8-RSWU3-5/K1  42-10094
[ >
o
; L 2 10 SAL-8-RSWU3-10/K1  42-10095
SWg/
Width across S} 2 SAL8-RSWU4-2/K1  42-10124
Ll flats 9 S
I¢8 Pin 1 3 3 SAL-8-RSWU4-3/K1 ~ 42-10125
i— 4 N 3 0,25
(@}
Pin 4 m < 5 SAL8-RSWU4-5/K1  42-10126
>
o
By 10 SAL-8-RSWU4-10/K1  42-10127

30 CONEC® Technical information starting on page 348



~
S S
- & £
g S I = 8
S v o s}
o g = § %
S s S = 2
5 o & & S 8
S £ ©v § & S
. H H E
PVC, grey, LiYY Contact assignment = O & O O = Description Part No.
Q 03 SAL-8-RK3-RS3-0,3/A1 42-10141
>
Pin 1 mm 2 06 SAL-8-RK3-RS3-0,6 /A1 42-10142
Pin 3 3 N 3 0,25
Pin 4 2 15 SAL-8-RK3-RS3-1,5/A1 42-10143
>
o
) 3 SAL-8-RK3-RS3-3/A1  42-10144
Q 03 SAL-8-RK4-RS4-0,3 /A1 42-10157
X >
Pin 1 3 0,6 SAL-8-RK4-RS4-0,6 /A1 42-10158
Pin2[]
pin 3 4 ~ 3 025
O
Pin 4 < 1,5 SAL-8-RK4-RS4-1,5/A1 42-10159
>
3 3 SAL-8-RK4-RS4-3/A1  42-10160
SAL-8B-RK5.1-
03 RS5.1.03/A1 4211141
Pin 1 SAL-8B-RK5.1-

- SW9/ = 5 B 30 3 o 0,25 -Re5.1-0.6/AI1 ——
Width across . mm 15 SAL8BRKS.I- 4211143
flats 9 Pin 5 ! RS5.1-1,5/A1

SAL-8B-RK5.1-
= 3 RS5.1-3/A1 4211144
<
03 SAL-8-RK8-RS8-0,3 /A1 42-11234
| ; | Msxi Pin1CJ  Pin5Hm 06 SAL-8-RK8-RS8-0,6 /A1 42-11235
Pin 2 Pin 6 8 A

@101 Pin3Em  Pin7mm 30 15 014
’ Pin4CJ  Pingmm 15 SAL-8-RK8-RS8-1,5/A1 42-11236

3 SAL-8-RK8-RS8-3/A1  42-11237
TPU, UL, halogenfree, black, Li9Y11Y
Q 03 SAL-8-RK3-RS3-0,3/K1 42-10145
>
Pin 1 3 06 SAL-8-RK3-RS3-0,6/K1 42-10146
P@ns- 3 N 3 0,25
Pin 4 . 2 15 SAL-8-RK3-RS3-1,5/K1  42-10147
>
o
By 3 SAL-8-RK3-RS3-3/K1  42-10148
9 03 SAL-8-RK4-RS4-0,3 /K1 42-10161
. >
Pin 1 EE 3 0,6 SAL-8-RK4-RS4-0,6/K1 42-10162
Pin2[]
i 4 N 3 0,25
O
Pin 4 < 15 SAL-8-RK4-RS4-1,5/K1  42-10163
>
3 3 SAL-8-RK4-RS4-3/K1  42-10164
SAL-8B-RK5.1-
03 RS5.1-03/K] 4211128
Pin 1 -8B- -
Fin 203 06 SALBBRKS. 42-11129
. RS5.1-0,6/K1
2 SW9/ Pin 3 N ° B 025 G\ L8B-RKS.1
- Pin 4 I -8B-RK5.1- i
iR AcMoSS gy s 15 RS5.1-1,5/K]1 42711130
SAL-8B-RK5.1-
3 e 4211131
(=]
~ 03 SAL-8-RK8-RS8-0,3 /K1 42-11183
; e 06 SAL-8-RK8-RS8-0,6/K1 42-11184
n n
[ msx1 e hhomm 8 A 30 15 014

210 1 PinaEE  PingEE 15 SAL-8-RK8-RS8-1,5/K1  42-11185

3 SAL-8-RK8-RS8-3 /K1 42-11186

Technical information starting on page 348 CONEC® 31



~
— g
- & =
g S < o §
S v o s}
o g = 5 %
S il S = 2
) & > v R <3
S £ ©v § & O
t 3 8§ ¢
PVC, grey, LiYY Contact assignment = O € 3 8§ = Description Part No.
SAL-8-RK3-RS3-
0.3 03 /Al /05 42-12242
8 SAL-8-RK3-RS3
. Z 0,6 0,6/ Al /05 42-12243
Pin 1 ©
Pin 3 W 3 N 5 0,5
Fin ¢ - 2 SAL8-RK3-RS3
> REHMSHIESR K
S 15 15/ Al /05 42-12244
SAL-8-RK3-RS3-
3 3/A1/05 42-12245
y ‘ ‘ Swg / SAL-8-RK4-RS4-
Width across .
fais 9 03 03/ Al /05 4212250
b S 06 SALB-RKA-RS4- 42-12251
I Pin 1 2 ' 06/ Al /05
Pin 2 o
Pin 3 B 4 N ° 05
Pin 4 M < SAL-8-RK4-RS4-
| 2ee S L2 15/ Al /05 4212252
| msxt L
T ] @101
SAL-8-RK4-RS4-
3 3/A1/05 42-12253
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RK3-RS3-
03 03 /K1 /05 42-12246
LD) SAL-8-RK3-RS3
> 0,6 D 42-12247
pin 1 3 0,6 /K1 /05
Pin 3 HE 3 N 5 0,5
Fin . 2 SAL8-RK3-RS3
> REASAIEER K
2 15 15/K1 /05 42-12248
n
SAL-8-RK3-RS3-
3 3/K1/05 42-12249
SAL-8-RK4-RS4-
SW9/ 42-12254
- ! Wi across 03 03 /Kl /05
flats 9
: 8 SAL-8-RK4-RS4
. § - g 0,6 06/ Kl /05 42-12255
i Pin 23
Pin 3 I 4 N ° 05
Pin 4 HER < 8- - -
S s e oo
[ 7o £ |
HNES
X SAL-8-RK4-RS4-
3 3,/Kl /05 42-12257

32 CONEC® Technical information starting on page 348




~
— g
- & =
g S < o §
S v o IS
o g = § %
S = BH - B4
§ o S = 2 8
S £ ©v § » O
. H H E
PVC, grey, LiYY Contact assignment = O & O O = Description Part No.
SAL-8-RK3-RSS3-
Lé 03 03/A1 42-10827
SAL-8-RK3-RSS3-
Pin 1 ) 0,6 06/A1 42-10828
i 3 K 025 G AL8-RK3-RSS3
Swg/ Pin 4 N ~OTHAST : .
Width across <>( 15 1,5/A1 4210829
flats 9 o SAL-8-RK3-RSS3-
mn -
3 3/A1 42-10830
SAL-8-RK4-RSS4-
8 03 03/A 42-10835
> _8-RKA-RSS4-
P@n - 3 06 SAL-8-RK4-RSS4 4210836
2l |8 Pin 2 4 < 3 025 -~ 2B/Al
& Pin 3 %) ! SAL-8-RK4-RSS4-
Pin 4 N <>( 15 15/A1 42-10837
o SAL-8-RK4-RSS4-
‘ 9 .
76 ] 3 3/A1 42-10838
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RK3-RSS3-
8 03 03/KI1 42-10831
>
SAL-8-RK3-RSS3-
Pin 1 ) 0,6 06/K1 42-10832
gt ’ S 025 s A8 R3-RsS3
Swo/ Pin 4 mm < 15 oo 42110833
Width across > 1,5/K1
flats 9 =3 SAL-8-RK3-RSS3-
mn -
3 3/K1 42-10834
SAL-8-RK4-RSS4-
8 03 03/K1 42-10839
) > -8-RK4- .
Pin 1 . 3 06 SAL8-RK4-RSS4 4210840
- g PanE 4 N 3 025 0,6/K1
« Pin3 ! 8- - -
Pin 4 B “<>:’ 15 ?’;L/?(:‘m RS54 42-10841
o SAL-8-RK4-RSS4-
‘ 9 ) .
I 3 2K 4210842
PVC, grey, LiYY
SAL-8-RK3-RSFU3-
03 03/A1 42-11203
SWQ/
s 8 SAL8-RK3-RSFU3
. g 0,6 06/A1 42-11204
Pin 1 Il ©
Pin 3 W 3 ~ 3 0,25
Pin 4 I )
< 15 SALB-RK3-RSFU3- o
S : 15/A1
6.5 SAL-8-RK3-RSFU3-
Mex1 3 3/A1 42-11206
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RK3-RSFU3-
03 03/KI1 42-11207
SW9/
fatgs a SAL8-RK3-RSFU3
. Z 0,6 06/K1 42-11208
Pin 1 ©
Pin 3 3 N~ 3 0,25
Pin 4 HE 2
<
SAL-8-RK3-RSFU3-
>
3 15 15/K1 42-11209
2 g
6.5 SAL-8-RK3-RSFU3-
o 3 3/K1 42-11210
Technical information starting on page 348 CONEC®

33




=~
— &
- & £
g S I = 5
S ¥ > s}
o g = § %
S il S B A
) > = - Y Qo
S £ © § S
. H H E
PVC, grey, LiYY Contact assignment = O & O O =  Description Part No.
SAL-8-RKS3-
g 03 RSS3-03 /A1 4210811
>
SAL-8-RKS3-
Pin 1 B 2 0,6 P 42-10812
Pin 3 3 N 3 0,25 !
Pin 4 W Q 15 shlatisn 4210813
3 ' RSS3-1,5/A1
o SAL-8-RKS3-
29,5 N A
3 RS53.3 /AT 4210814
ML SAL-8-RKS4
= 8 03 RSS4-03/A1 4210819
: = SAL-8-RKS4-
Pin 1 o z
bin 201 . B 06 05 RSS406/A1 4210820
; Pin 3 ) 15 SALBRKS4- 4210821
Pin 4 - < : RSS4-1,5/A1
o SAL-8-RKS4-
mn -
‘ ‘ 3 RSS43 /AT 4210822
- SAL-8B-RKS5.1-
U RSS5.1-0,3 /Al 4211136
- Pin 1 SAL-8B-RKS5.1- )
b = N .- o 095 RSS51-06/A1 a21ms7
Pin 4 15 | SALBBRKSSI- 4211138
1 geo Pin 5 Il d RSS5.1-1,5/A1
SAL-8B-RKS5.1-
3 RSS5.1-3/A1 421139
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RKS3-
g 03 RSS3-03/K1 4210815
>
SAL-8-RKS3-
Pin 1 B 3 06 i 4210816
Pin 3 3 N 3 0,25 .
Pin 4 W Q 15 shlatucs 4210817
> ' RSS3-1,5/K1
o SAL-8-RKS3-
29,5 n A
- 3 RSS3.3 /K1 4210818
I Lk SAL-8-RKS4-
‘ a e RSS4-0,3 /K1 4210823
% - = SAL-8-RKS4-
Pin 1 o A
Pin 231 4 B 06 095 RSS406/KI 42-10824
H Pin 3 W 7 SAL-8-RKS4-
i 2 15 42-10825
Pin 4 - = d RSS4-15/K1
o SAL-8-RKS4-
wn -
‘ ‘ 3 RSS43 /K1 4210826
- SAL-8B-RKS5.1-
ol RSS5.1-0,3 /K1 4211132
Pin 1 SAL-8B-RKS5.1-
& Pin 2] 06 RSS5.1-0,6/K1 4211133
i B E 025 "5 AL.8B-RKSS.1-
Pin 4 15 : 4211134
| g6 Pin 5 RSS5.1-1,5/K1
J_L' SAL-8B-RKSS5.1-
. RSS5.1-3/K1 421135

34 CONEC® Technical information starting on page 348



~
_ g
- E £
© S < < 8
S « = "' B
o g = § %
S S S £ 9
o S o
S o > 9w X S
S £ © § N S
S 3 Lf e
PVC, grey, LiYY Contact assignment = O € 3 8§ = Description Part No.
SAL-8-RKS3-RSS3-
03 03/A1/05 42-13075
=t
210 > 8 SALBRKS3-RSS3- ) 10 0oc
" lgse Pin 1 3 ! 0,6/A1/05
— Pin 3 3 N 5 0,5
i Pin 4 I O
< SAL-8-RKS3-RSS3-
g 15 15/A1/05 42-13077
mn
g SAL-8-RKS3-RSS3-
3 3/A1/05 42-13078
SAL-8-RKS4-RSS4-
, 0.3 03/A1/05 42-13083
a
SAL-8-RKS4-RSS4-
> B
Pin 1 mm = 06 0,6/A1/05 42-13084
Pin 2 1 4 < s 05
5 : Pin 3 S :
Pin 4 I < 15 SAL-8-RKS4-RSS4- 42-13085
e ! 1,5/A1/05
wn
| 6,9
_.l_‘__ SAL-8-RKS4-RSS4-
3 3/A1/05 42-13086
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RKS3-RSS3-
03 03/K1/05 42-13079
=t
> SAL-8-RKS3-RSS3- i
pin 1 3 06 0,6/K1/05 42-13080
Pin 3 W 3 N 5 0,5
Pin 4 HE O
< SAL-8-RKS3-RSS3-
g 15 15/K1/05 42-13081
n
SAL-8-RKS3-RSS3-
3 3/K1/05 42-13082
SAL-8-RKS4-RSS4-
03 03/K1/05 42-13339
- 8
> SAL-8-RKS4-RSS4- )
Pin | 3 06 0,6/K1/05 42-13340
Pin 2]
Pin 3 HN 4 S S 05
5 : Pin 4 I 2 SAL-8-RKS4-RSS4-
> 15 1.5/K1/05 4213341
n
= g6.9 SAL-8-RKS4-RSS4- ]
| ges 3 e 42-13342

Technical information starting on page 348 CONEC® 35



=
- £
. & £
g S I = 5
S v o s}
o g = § %
S s S = 2
5 o & = S 8
S £ v § & S
. H H E
PVC, grey, LiYY Contact assignment = O & O O =  Description Part No.
SAL-8-RKS3-RSU3-
@56 %) 03 4210173
i a b 0,3/A1
2 SAL-8-RKS3-RSU3-
Pin 1 = 0,6 06/A1 42-10174
Pin 3 AN .
8l |§ l oin s 3 9 3 s 025 = A L8-RKS3-RSU3- 1210175
N ! 1,5/A1
2 SAL-8-RKS3-RSU3-
n -
‘ ‘ 3 3/A1 42-10176
o SAL-8-RKS4-RSU4-
Q 03 03/A1 42-10189
. > SAL-8-RKS4-RSU4-
=4 \?\/vl\(/i?h/across :2 ; ;I 3 0,6 06/A1 42-10190
flats 9 L
Pin 3 4 N 0.25 G A|.8-RKS4-RSU4-
Pin 4 HE <>.: 15 15/A1 42-10191
269 o ALB. ) )
Mt o 3 gf);ﬁ i SAAE 42-10192
TPU, UL, halogenfree, black, Li9Y11Y
25,6 Q 03 ggL'/sk?KS}RSU} 4210177
e = SKL
Pin 1 m 2 0,6 S S LSRR 42-10178
8 §l i 3 K 0.25 gfL/8KF]{KS3 RSU3
Pin 4 2 15 ekl 4210179
> '
2 SAL-8-RKS3-RSU3-
n -
‘ ‘ 3 EIT. 42-10180
o SAL-8-RKS4-RSU4-
Q 03 03/K1 42-10193
>
- AL-8-RKS4-RSUA4-
2 B acoss 71 58 8 0p  RNSHEE T 0100
flats 9 ’
“ Pin 3 mm 4 N G 0.25 = g pL.g-RKS4-RSU4-
Pin 4 mE ; 15 15/K]1 42-10195
?6.9 2 :
SAL-8-RKS4-RSU4-
wn -
MBxt 3 BT 42-10196

36 CONEC® Technical information starting on page 348




~
— =
- & £
g S < - 85
3 o o ! IS
o g = 5 %
S s & = ]
o ISy O 3
S > = - S IS}
S = = g ) S
. B HE
PVC, grey, LiYY Contact assignment = O & O O = Description Part No.
21 SAL-8-RKW3-RS3-
é 03 03/A1 4210149
SAL-8-RKW3-RS3-
Pin 1 ) 0,6 06/A1 42-10150
Pin 3 3 N 3 025
Pin 4 . < 15 SALBRAIBRSS 420015
> ' 1,5/A1
9 SAL-8-RKW3-RS3-
Swo / ) 3 42-10152
Width across 3/A1
flats 9 SAL-8-RKW4-RS4-
Q 03 03/A1 4210165
> 8- RS4-
Pin 1 S 0,6 Sl AR 4210166
Pin2J 4 < 3 025 0,6/A1
Pin 3 “2 " SAL-8-RKW4-RS4-
Pin 4 B 5;’ 15 L5 /] 4210167
o101 B 3 gﬁ;ﬁ'RKW“'RS‘" 4210168
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RKW3-RS3-
21 A
Q 03 03/K] 4210153
>
SAL-8-RKW3-RS3-
Pin 1 WM 2 0,6 P 4210154
8 i 3 K 025 =\ L8-RKW3-RS3
~ Pin 4 HE -8- . - ]
< 15 15/K] 42-10155
2 SAL-8-RKW3-RS3-
5 3 4210156
Swg/
- ;{Vidzl;across 3/Ki
ats SAL-8-RKW4-RS4-
Q 03 03/K] 4210169
‘ > 8- RS4-
2 Pin 1 3 0,6 S A 42-10170
Pin2J 4 <3 025 0,6/K1
Pin 3 N 8) "“7 SAL-8-RKW4-RS4-
Pin 4 W < 1,5 s 4210171
o SAL-8-RKW4-RS4-
n -
10,1 3 3/K1 42-10172
PVC, grey, LiYY
20 SAL-8-RKWS3-RSU3-
Q 03 03/A] 4210181
I >
1 SAL-8-RKWS3-RSU3-
Pin 1 = 0,6 06/A1 42-10182
{E = 3 Ny 025 = G AL .8-RKWS3-RSU3
= Pin 4 I 2 15 o TOUST 000183
= 1,5/A1
2 SAL-8-RKWS3-RSU3-
n -
3 S 4210184
SAL-8-RKWS4-RSU4-
S s 3 R 03/A1 4210197
fatss pin 1 = 06 SALE-RKWSA-RSU4- oo
Pin 2 () 4 f 3 035 0,6/A1
Pin 3 W N “2 SAL-8-RKWS4-RSU4-
6.9 Pin 4 W z 1,5 15/A1 4210199
M38x1 '
o IS 5 -
o0 2 E gé; ? RKWS4-RSU4- 0 00
TPU, UL, halogenfree, black, Li9Y11Y
20 -8- - -
-2 g 03 SALB-RKWS3-RSU3- ) -
T o 03/K1
il IIF AL-8-RKWS3-RSU3-
Pin 1 W 3 0,6 36 /BK] S3RU3- 1) 10186
& & b Pin 3 HH 3 ~ 3 025 h
sls Pin 4w Q 15 SAL8-RKWS3-RSU3- ) - o
‘ ’ N ' 1,5/K1
o SAL-8-RKWS3-RSU3-
wn -
3 B 4210188
- SAL-8-RKWS4-RSU4-
AL e 5 0 03/KI 4210201
N flats 9 Pin 1 2 e SAL8RKWS4-RSU4- .-
Pin 21 4 f 3 ! 025 0,6/K1
Pin 3 HE ! SAL-8-RKWS4-RSU4-
= gos Pin 4 E 15 s /K1 4210203
M38x1 '
@10 3 3 g’j&ﬁ'RKWS“'RSU“' 4210204

Technical information starting on page 348 CONEC® 37



38

=
. £
- E £
g S < = 8
S v o ! 3
o S = § R
S S S & 9
5 o & = S 8
S £ ©®- § S
£E 5 8 £ 8§ 8
PVC, UL, grey, LiYCY Contactassignment = S & S 8 = Dpescription Part No.
2 SAL-8S-RK3-2/G3  42-10843
:’5@:: 3 SAL-8S-RK3-3/G3  42-10844
IPIn31
iPin 4| mm . ey 3 0.25
e 5 SAL8S-RK3-5/G3  42-10845
10 SAL-8S-RK3-10/G3  42-10846
?10,1
-~ 2 SAL8S-RK4-2/G3  42-10851
[Pin 11mm
{pin2Ir 3 SAL8S-RK4-3/G3  42-10852
Width across  |Pin 3| 4 30 3 025
9 flats 9 {Pin4!mm 5 SAL8S-RK4-5/G3  42-10853
3 |8
“ 10 SAL8S-RK4-10/G3  42-10854
- |
T g0 2 SAL-8S-RK82 / G3  42-12190
[Pin 111 {Pin5|mm
{rin 2l IFinc] 3 SAL8S-RK83 /G3  42-12191
'pin3/mm pin7mm 8 A 30 15 0,14
IPin4IC3 [ping!mm 5 SAL8S-RK85 /G3  42-12192
— .
10 SAL-8S-RK8-10 / G3  42-12193
TPU, UL, halogenfree, black, LI9YC11Y
2 SAL8S-RK3-2/G2  42-10847
,’E@‘:: 3 SAL8S-RK3-3/G2  42-10848
IPIN31
iPin 4| mm £ ey 3 0.25
e 5 SAL8S-RK3-5/G2  42-10849
10 SAL-8S-RK3-10/G2  42-10850
?10,1
2 SAL8S-RK4-2/G2  42-10855
‘ i 3 SALBSRKA43/G2 4210856
P 25105 i3 4 30 3 025
1Pin4!mm 5 SAL-8S-RK4-5/G2  42-10857
.
. T 10 SAL8S-RK4-10/G2  42-10858
_TiTLer
N 2 SAL8S-RK82 /G2  42-12186
[PinTICJ {Pin5imm
{rinolmm lpine] 3 SAL8S-RK83 /G2  42-12187
'pin3imm lpin7mm 8 A 30 15 014
[Pin4i== |Ping/mm 5 SAL-8S-RK85 / G2 42-12188
— .
10 SAL8S-RK810 / G2 42-12189
TPU, UL, halogenfree, black, LI9YC11Y
20 2 SAL-85-RKW4-2/G2  42-12351
a0\
% = P 3 SAL-8S-RKW4-3/G2  42-12416
L & :Pinl:-
\Pin2,2
SW9/ |Pin3 | 4 30 3 0,25
Width across IPin4 !
flats 9 —
510 5 SAL8S-RKW4-5/G2  42-12352
: 10 SAL-8S-RKW4-10/G2  42-12353

CONEC®

Technical information starting on page 348




~
—_ g
- & £
$ S < - 8
S v o ! 3
o g = § %
S s S s 2
N S )
) > S b = e
S £ ©wW § = S
S s E LSS oe
PVC, UL, grey, LiYCY Contact assignment = S & 3 S8 = Description Part No.
2 SAL-85-RS3-2/G3 42-10859
:’5@:: 3 SAL-85-RS3-3/G3 42-10860
IPIn31
Pin4|mm & - 0.25
b 5 SAL-85-RS3-5/G3 42-10861
10,1
1o, 10 SAL-85-RS3-10/G3 42-10862
M8x1
|- 2 SAL-85-RS4-2/G3 42-10867
[Pin 11 mm
o2l 3 SALBSRS4-3/G3  42-10868
T Width across 1Pin3|mm 4 30 3 0,25
ps | flats 9 1Pin4/mm 5 SAL-85-RS4-5/G3 42-10869
.
B b g 10 SAL-85-RS4-10/G3 42-10870
2 SAL-85-RS8-2 / G3 42-12198
@10
[Pin 111 {Pin5|mm
'pin2|mm pin6! 3 SAL-85-RS8-3 / G3 42-12199
'pin3/mm pin7mm 8 A 30 15 0,14
{Pin4]CJ [Pin g/ 5 SAL-85-RS8-5 / G3 42-12200
— —
10 SAL-85-RS8-10 / G3  42-12201
TPU, UL, halogenfree, black, LI9YC11Y
2 SAL-85-RS3-2/G2 42-10863
E@: 3 SAL-8S-RS3-3/G2  42-10864
IPIN31
Pin4|mm & e 0.25
e 5 SAL-85-RS3-5/G2 42-10865
@10,1 10 SAL-8S-RS3-10/G2  42-10866
‘ M8« 2 SAL8S-RS4-2/G2  42-10871
[Pin 11 mm
{rin 2l 3 SALBSRS4-3/G2  42-10872
{pin mm 4 30 3 025
t Width across {Pin4/mm 5 SAL-85-RS4-5/G2 42-10873
s | flats 9 —
o g 10 SAL-85-RS4-10/G2 42-10874
ol
2 SAL-85-RS8-2 / G2 42-12194
P10 [PinTICJ {Pin5imm
'pin2mm pin6! 3 SAL-85-RS8-3 / G2 42-12195
'pin3/mm pin7mm 8 A 30 15 0,14
[Pin4]/] [Pin 8} 5 SAL-85-RS8-5 / G2 42-12196
— .
10 SAL-8S-RS8-10 / G2 42-12197
TPU, UL, halogenfree, black, LI9YC11Y
ot 2 SAL-85-RSW4-2 /G2 42-12417
26 x| 2
2ls
é_\ N 3 SAL-8S-RSW4-3/G2  42-12418
:Plnl:-
[ 8 \Pin2,2
poanacoss o3 mm 4 30 3 025
{Pin4
—
@10 5 SAL-85-RSW4-5/G2 42-12419
D
10 SAL-8S-RSW4-10/G2  42-12420

Technical information starting on page 348 CONEC® 39



~
g
- E <
g = < I8
S Sl S
N s 2 238
S o > kS 8
S £ ©®- § 3 S
. S 385§
PVC, UL, grey, LiYCY Contact Assignment = O & G O = Description Part No..
03 3’*3585;'(3"‘53' 42-10875
i—PTn_]-i- 06 SAL-8S-RK3-RS3- 42-10876
@10.1 {Pin3 - 3 60 3 025 28/ G3
. 1Pin 4 I 15 ' SAL-8S-RK3-RS3- 4210877
! 1,5/G3
SAL-8S-RK3-RS3-
Width across 3 42-10878
flats 9 3/G3
SAL-8S-RK4-RS4-
03 03/G3 42-10883
[Pin 11mm SAL-8S-RK4-RS4-
Pin 2| . B 0,6 05 06/G3 42-10884
- {Pin3 - 22 SAL8S-RK4-RS4-
1Pin4 ! R
{Pin4] 1,5 15/G3 42-10885
SAL-8S-RK4-RS4-
3 3/G3 42-10886
SAL-8S-RK8-RS8-
p 03 42-12206
M Width across 2,3 gSG?: —
flats 9 [Pin 11 {Pin 5 AL-8S-RK8-RS8-
{Pin2}mm |Pin6) 06 06/ G3 42-12207
ipin3jmm jpn7mm 8 A 130 15 014 L85 RK8-RS8-
Viext IPin 4/ Lping!mm 15 e 4212208
@10,1 SAL-8S-RK8-RS8-
3 3,63 42-12209
TPU, UL, halogenfree, black, LI9YC11Y
SAL-85-RK3-RS3-
03 03/G2 42-10879
IFPTnTI- 06 SAL-8S-RK3-RS3- 42-10880
8101 ] 3 60 3 0,25 - 26462
{Pin 4/ 15 | SALBSRIGRS3: . 0ee
— d 15/G2
) SAL-8S-RK3-RS3-
Width across -
flats 9 . 3/G2 42-10882
SAL-8S-RK4-RS4-
03 03/G2 42-10887
[Pin 11 SAL-8S-RK4-RS4-
iPinzi:l 4 . . 0,6 025 06/G2 42-10888
iPin3 - > SAL8S-RK4-RS4-
1Pin4 R
{Pin4] 15 15/G2 42-10889
SAL-8S-RK4-RS4-
3 3/G2 42-10890
SAL-8S-RK8-RS8-
42-12202
Width across O 03/G2
flats 9 [Pin 11 [Pin51mm SAL-8S-RK8-RS8-
{Pin 2/ |Pin6| 0,6 06/ G2 42-12203
pin3mm (o7 8 A 300 13 014 =S AL8S RKB RS-
{Pin4]CJ [Pin g/ 15 42-12204
! 1.5/ G2
SAL-8S-RK8-RS8-
3 3,62 42-12205
TPU, UL, halogenfree, black, Li9YC11Y
SAL-8S-RKW4-RSW4-
03 03/G2 42-12412
M § Width across
ot flats 9 SAL-8S-RKW4-RSW4
| -85- : .
— L :
fFin T 06 0,6/G2 4212413
o 1Pin 2|
- 1Pin3 | 4 30 3 0,25
Iﬂg SAL-8S-RKW4-RSW4-
_{ 15 15/G2 42-12414
S Width across
flats 9
T
- SAL-8S-RKW4-RSW4-
— . 53 3 3/G2 42-12415
2l e

40 CONEC® Technical information starting on page 348



~
—_ g
- - & £
g S < = S
S v o s}
o g = § %
S = BN - 2
S > S b = e
S £ ©®- § S
S R
PVC, grey, LiYY Contact assignment = O € 3 § = Description Part No.
2 SAL-12-RK3-2/A1 43-10000
Pin 1 W 3 SAL-12-RK3-3 /A1 43-10001
Pin 3 I 3 A 250 4 0,34
Pin 4 5 SAL12-RK3-5 /A1 43-10002
10 SAL-12-RK3-10/A1 43-10003
2 SAL-12-RK4-2 /Al 43-10020
E!n ; ; 3 SAL-12-RK4-3 /A1 43-10021
n
i 4 A 250 4 034
Pin 4 HE 5 SAL-12-RK4-5 /A1 43-10022
10 SAL-12-RK4-10/AT  43-10023
SW13/
ot across 2 SAL12-RKS-2/A1  43-10040
Pin 1
pin 21 3 SAL-12-RK5-3 /A1 43-10041
Pin 3 . 5 A 60 4 0,34
Pin 4 W 5 SAL-12-RK5-5 /A1 43-10042
@1 Pin5 M
10 SAL-12-RK5-10/A1 43-10043
2 SAL-12-RK6-2 /Al 43-10060
bin 1 EE Pind 3 SAL-12-RK6-3 /A1 43-10061
Pn2CJ PincEm 6 A 30 2 0,25
Pin3 M Pin7 5 SAL12-RK6-5 /A1 43-10062
10 SAL-12-RK6-10/A1 43-10063
2 SAL-12-RK8-2 /Al 43-10072
E'”;E] E'” g- 3 SAL-12-RK8-3 /A1 43-10073
n n
n;em  pnyem S A 30 2 0.25
Pin 43 Pin 8 I 5 SAL-12-RK8-5/A1 43-10074
10 SAL-12-RK8-10/A1 43-10075
2 SAL-12-RK12-2/A3 43-11264
Pin 1 Pin 7 N
rfjn ; ; rfjn g: 3 SAL-12-RK12-3/A3  43-11265
n n
Pnimm  pntomm 12 A 30 15 014
Pin 5 Pin 11 M 5 SAL-12-RK12-5/A3 43-11266
Pin6CJ Pin12 MM
10 SAL-12-RK12-10/A3  43-11267
Technical information starting on page 348 CONEC®

41




42

=
. £
& £
9 S < = 8
S Y o ! IS
o S = § R
S S S & 4
5 o & = S 8
S £ ©®m § & S
§ S & £ s @
TPU, UL, halogenfree, black, Li9Y11Y Contactassignment = S & S 8 = Dpescription Part No.
2 SAL-12-RK3-2 /K1 43-10012
Pin 1m0 3 SAL-12-RK3-3 /K1 43-10013
Pin 3 W 3 A 250 4 0,34
Pin 4 5 SAL-12-RK3-5 /K1 43-10014
10 SAL-12-RK3-10/K1  43-10015
2 SAL-12-RK4-2 /K1 43-10032
g?ﬂ ; ; 3 SAL-12-RK4-3 /K1 43-10033
n
oin 3 4 A 250 4 0,34
Pin 4 W 5 SAL-12-RK4-5 /K1 43-10034
10 SAL-12-RK4-10/K1  43-10035
/ 2 SAL-12-RK5-2 /K1 43-10052
Width across
-« flats 13 Pin 1
- Pin 201 3 SAL-12-RK5-3 /K1 43-10053
Pin 3 W 5 A 60 4 034
® Pin 4 . 5 SAL-12-RK5-5 /K1 43-10054
) Pin5 M
@11 10 SAL-12-RK5-10/K1  43-10055
2 SAL-12-RK6-2 /K1 43-11038
Pin I EE  Pin4mm 3 SAL-12-RK6-3 /K1 43-11039
P!n 2 P!n 6mm 6 A 30 2 0,25
Pn3 WM  FPin7 5 SAL-12-RK6-5 /K1 43-11040
10 SAL-12-RK6-10/K1  43-11041
2 SAL-12-RK8-2 /K1 43-11034
Ffj!" ; E gin 2- 3 SAL-12-RK8-3 /K1 43-11035
n n
Pin 3 W Pin 7 N 8 A 30 2 0.25
Pn4CT  PingmE 5 SAL-12-RK8-5/K1 43-11036
10 SAL-12-RK8-10/K1  43-11037
2 SAL-12-RK12-2 / K1 43-11268
Pin 1 Pin 7 N
gin g ; gin g: 3 SAL-12-RK12-3 / K1 43-11269
n n
Pin4 MM  Pin 10 MM 12 A 30 15 0,14
Pin 5 Pin 11 5 SAL-12-RK12-5 / K1~ 43-11270
Pin 6 1 Pin 12
10 SAL-12-RK12-10 / K1 = 43-11271
TPU, UL, irradiated, orange Li12Y11X
2 SAL-12-RK3-2/J1 43-10016
Pin 1 3 SAL-12-RK3-3/J1 43-10017
Pin 3 3 A 250 4 0,34
Pin 4 H 5 SAL12-RK3-5/J1 43-10018
10 SAL-12-RK3-10/J1 43-10019
2 SAL-12-RK4-2 /11 43-10036
g?" ; ; 3 SAL-12-RK4-3/J1 43-10037
n
i 4 A 250 4 0,34
Pin 4 W 5 SAL-12-RK4-5/]1 43-10038
SW13/
Width across
s 10 SAL-12-RK4-10/J1 43-10039
2 SAL-12-RK5-2/J1 43-10056
Pin 1
Pin 201 3 SAL-12-RK5-3/J1 43-10057
B11 Pin 3 I 5 A 60 4 0,34
Pin 4 5 SAL-12-RK5-5/J1 43-10058
Pin5 M
10 SAL-12-RK5-10/J1 43-10059

CONEC®

Technical information starting on page 348




~
_ %
- & £
9 S I m kS
3 Y ISy s}
s 858
S = BN - 2
a > = — & o
< < e § Y N
E 5 & § 5 ¢
PVC, grey, LYY Contactassignment = S & S 8 =X pescription Part No.
SAL12-RK3-2L-
. 2 2/ Al /025 4316746
; SAL12-RK3-2L- 1316747
N .. 053/ Al /025
s O SALIZRIG2L 1316748
5/ Al /025
SAL12-RK3-2L-
1 10/ Al / 025 43-16749
SAL12-RK4-3L-
o 2 2/A1/025 416762
LPin2
T ; SAL12-RK4-31- 1316763
— 1T 3 /A1 /025
Sreisrs A A S0 4 T 0B T Rkaat 4316764
- 5/ Al /025 )
SAL12-RK4-3L-
L 10/ Al / 025 43-16765
swia/ SAL12-RK5.2-2L-
ﬂv\gt(:tr;;cross - 2 2/ Al /025 4316754
; SAL12-RK5.2-21- 1316755
5 A 30 4 025 S/ AL/025
s 7 SALIZRKS2:2L: 1316756
» 5/ Al /025
i Fnsm SAL12-RK5.2-21- )
1 10/ Al / 025 4316757
SAL12-RK5-3L-
ary 2 2/ Al /025 43716770
— 5 SAL12-RK5-31- 4316771
NP 05 3/ A1/ 025
s 7 SALIZRKS3L 1316772
s 5/ Al /025
SAL12-RK5-3L-
10 10/ A1 / 025 4316773
TPU, UL, halogenfree, black, Li9Y11Y
SAL12-RK3-2L-
. E 2 /Kl /025 4316750
; SAL12-RK3-2L- 4316751
N . B . 0253/ K1 /025
s O SALIZRIG2L 21316752
5/ K1/ 025
SAL12-RK3-2L-
L 10/ K1 / 025 4316753
SAL12-RK4-3L-
— 2 2 /K1 /025 43-16766
“LPin2 - - -, -
L ; SAL12-RK4-3L 4316767
. 3/K1 /025
F3TSTsys 4 A 30 4 025 AL T2 RK4-3L
> 5/ K1 /025 4316768
Pin 3 N
SAL12-RK4-3L-
v 10 /K1 / 025 43-16769
SAL12-RK5.2-2L-
swis - 2 2/K1/025 4316758
I across
- flats 13 3 E N :.16759
A
N .M. 0g5 3/ K1 /025
s 7 SALIZRKS2:2L: 24316760
e 5/ K1/ 025
Pnsm SAL12-RK5.2-2L-
» e 10 /K1 / 025 43-16761
SAL12-RK5-3L-
e 2 2/K1/025 4316774
= ; SAL12-RK5-3L- 1316775
5 . 3 /K1 /025
55 A 30 4 0.25 g AL 12-RK5 3L
. 5 4316776
Pin 5 5/ K1 /025
SAL12-RK5-3L-
e 10 /K1 / 025 4316777

Technical information starting on page 348

CSONEC® 43




~
— S
- - & &
8 = < = 8
g S £ s 3
S ESIE S D u
5 S S s §
S 8 s § & °
. ‘H H E
PVC, grey, LiYY Contact assignment = S & O O = Description Part No.
2 SAL-12-RKW3-2/A1  43-10168
Pin 1 3 SAL-12-RKW3-3/A1  43-10169
Pin 3 W 3 A 250 4 034
Pin 4 5 SAL-12-RKW3-5/A1  43-10170
10 SAL-12-RKW3-10/A1  43-10171
2 SAL-12-RKW4-2/A1  43-10188
E?n ; ; 3 SAL-12-RKW4-3 /A1 43-10189
n
i 4 A 250 4 034
Pin 4 m 5 SAL-12-RKW4-5/A1  43-10190
27
10 SAL-12-RKW4-10/A1  43-10191
[fe]
1 = g 2 SAL-12-RKW5-2/A1  43-10208
Pin 1
- w13/ Pin 2 3 SAL-12-RKW5-3/A1  43-10209
¢ Width across Pin 3 5 A 60 4 034
o flats 13 E;; g _- 5 SAL-12-RKW5-5/A1  43-10210
-
#11 10 SAL-12-RKW5-10/A1  43-10211
2 SAL-12-RKW6-2/A1  43-10228
Pin1EE  Pind4mm 3 SAL-12-RKW6-3 /A1 43-10229
P!nZI:I P!nG- 6 A 30 2 0,25
Pn3W®  Pin7 5 SAL-12-RKW6-5/A1  43-10230
10 SAL-12-RKW6-10/A1  43-10231
2 SAL-12-RKW8-2/A1  43-10240
E?n ; E g?n g- 3 SAL-12-RKW8-3/A1  43-10241
n n
Pin 3 Pin 7 I 8 A 30 2 0,25
Pin 43 Pin 8 5 SAL-12-RKW8-5/A1 43-10242
10 SAL-12-RKW8-10/A1  43-10243

44 CONEC® Technical information starting on page 348



~
. £
& £
9 S < = 8
S Y o ! IS
o g = § %
S = BN - 2
S > S b = e
S £ ©wW § = S
§ S & £ s @
TPU, UL, halogenfree, black, Li9Y11Y Contactassignment = S & S 8 =X pescription Part No.
2 SAL-12-RKW3-2/K1  43-10180
Pin 1 mm 3 SAL-12-RKW3-3/K1  43-10181
Pin 3 3 A 250 4 034
Pin 4 5 SAL-12-RKW3-5/K1  43-10182
10 SAL-12-RKW3-10/K1  43-10183
2 SAL-12-RKW4-2/K1 ~ 43-10200
E?n ; ; 3 SAL-12-RKW4-3 /K1 43-10201
n
i 4 A 250 4 0,34
Pin 4 5 SAL-12-RKW4-5/K1  43-10202
27
10 SAL-12-RKW4-10/K1  43-10203
n
4 = g 2 SAL-12-RKW5-2/K1 ~ 43-10220
Pin 1 Il
- Pin 201 3 SAL-12-RKW5-3/K1  43-10221
¢ \?\I\?ét:laalcross Pin 3 . 5 A 60 4 0,34
® flats 13 g;; g _- 5 SAL-12-RKW5-5/K1  43-10222
-
#11 10 SAL-12-RKW5-10/K1  43-10223
2 SAL-12-RKW6-2/K1  43-11046
Pin1EE  Pinamm 3 SAL-12-RKW6-3 /K1 43-11047
PinZ\:I P!n6- 6 A 30 2 0,25
Pn3W®  FPin7 5 SAL-12-RKW6-5/K1  43-11048
10 SAL-12-RKW6-10/K1  43-11049
2 SAL-12-RKW8-2/K1  43-11050
Pin 1] Pin 5
Pin2EE  FPin6 3 SAL-12-RKW8-3 /K1~ 43-11051
Pin 3 M Pn7E@ 8 A 30 2 0,25
Pin43  Ping MM 5 SAL12-RKW8-5/K1  43-11052
10 SAL-12-RKW8-10/K1  43-11053
TPU, UL, irradiated, orange Li12Y11X
2 SAL-12-RKW3-2/J1  43-10184
pin 1 mm 3 SAL-12-RKW3-3/J1  43-10185
Pin 3 I 3 A 250 4 0,34
Pin 4 5 SAL-12-RKW3-5/J1  43-10186
27
10 SAL-12-RKW3-10/J1  43-10187
[t
T =13 2 SAL-12-RKW4-2/J1  43-10204
SW 13/ Pin 1 3 SAL12-RKW4-3/]1  43-10205
Width across Pin 2L 4 A 250 4 0,34
@ flats 13 Pin 3 - '
Pin 4 W 5 SAL-12-RKW4-5/J1  43-10206
-
@11 10 SAL-12-RKW4-10/J1  43-10207
2 SAL-12-RKW5-2/J1  43-10224
Pin 1
Pin 201 3 SAL-12-RKW5-3/J1  43-10225
Pin 3 W 5 A 60 4 034
Pin 4 5 SAL12-RKW5-5/J1  43-10226
Pin5 M
10 SAL-12-RKW5-10/J1  43-10227

Technical information starting on page 348

CSONEC® 45




=~
—_ £
S < S
£ ST 3%
o g = § %
S S & £ 4
] &) = = 2 IS
S £ ©wW § = S
E 5 & £ 5
PVC, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
2 SAL-12-RKW3-21-:2 /A1  43-10368
27
m 3 SAL-12-RKW3-21-:3 /A1  43-10369
N =] v 3 A 30 4 034
& SW 13/ 5 SAL-12-RKW3-21-5/A1 43-10370
Width across
@ flats 13
#11
10 SAL-12-RKW3-21-10/A1 43-10371

TPU, UL, halogenfree, black, Li9Y11Y

#145

2 SAL-12-RKW3-2L-2 /K1 43-10868
27
Pnimm 0 3 SAL-12-RKW3-2L-3 /K1 43-10869
= v 3 A 30 4 034
] SW 13/ 5 SAL-12-RKW3-2L-5/K1  43-10870
o Xvaigﬂ;gcross

B11

10 SAL-12-RKW3-21-10/K1  43-10871

TPU, UL, irradiated, orange Li12Y11X

@145

2 SAL-12-RKW3-2L-2/J1  43-10872
27
Pnimm 3 SAL-12-RKW3-21-3/J1  43-10873
1 = 3 3 A 30 4 034
8 SW 13/ 5 SAL-12-RKW3-21-5/J1  43-10874
o Xvalgﬂqgcross

B11

10 SAL-12-RKW3-21-10/J1 43-10875

46 CONEC® Technical information starting on page 348




~
—_ £
- &£ £
g S < < 8
S v o | IS
S = BN - 2
S > S b = e
S £ ©®- § S
§ S & £ s @
PVC, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
2 SAL-12-RKW4-31-:2 /A1 43-10424
Pin 1 .
[Pin21
[ Pin 40 3 SAL-12-RKW4-31-:3 /A1 43-10425
. vy 4 A 30 4 0,34
07 ¢ 5 SAL-12-RKW4-3L-5/A1 43-10426
o 10 SAL-12-RKW4-31-10/A1 43-10427
e =
- A
- 2 SAL12-RKWS-31-2/A1 43-10444
& SW 13/ JPin2 L
@ puiatn across Jpin 4 mm 3 SAL12-RKW5-31:3 /A1 43-10445
- Eyhv%y 5 A 30 4 034
@11 5 SAL-12-RKW5-3L:5/A1 43-10446
Pin 3 HH
s 10 SAL12-RKW5-3L10/A1 43-10447
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-12-RKW4-31-2 /KT 43-10436
Pin 1 .
_Pin2]
[Pin4mm 3 SAL-12-RKW4-31-3 /K1 43-10437
4 A 30 4 0,34
27 5 SAL-12-RKW4-3L-5/K1  43-10438
10 SAL-12-RKW4-31-10/K1 43-10439
2 SAL-12-RKW5-3L-:2 /KT 43-10456
& SW 13/
o bl s 3 SAL12-RKW5-3L:3 /K1 43-10457
. 5 A 30 4 0,34
@11 5 SAL-12-RKW5-3L:5/KT  43-10458
10 SAL-12-RKW5-31-10/K1 43-10459
TPU, UL, irradiated, orange Li12Y11X
2 SAL-12-RKW4-31-:2/]J1  43-10440
Pin 1 N .
_Pin2]
Pin4mm 3 SAL-12-RKW4-31-:3/]J1  43-10441
5 vhy 4 A 30 4 0,34
27 N ¢ 5 SAL-12-RKW4-3L-5/]1  43-10442
Pin 3 HE
| 10 SAL-12-RKW4-31-10/J1 43-10443
) )
: - 2 SAL12-RKW5-3L-2/J1  43-10460
ﬁ \?\I\?r’jtlwaa/cross L Pin2 - L
@ flats 13 Pin 4 . P 3 SAL-12-RKW5-3L:3/]J1  43-10461
- “v5v%Y 5 A 30 4 034
B11 5 SAL-12-RKW5-3L:5/]1  43-10462
Pin 3 HH
Pin5H
10 SAL-12-RKW5-3L:10/J1 43-10463

Technical information starting on page 348 CONEC® 47



~
£
¥ &
~ =
8 = < =8 S
S Y > s}
o g = § %
(s} = E N %)
> N 4+ S §
< ? S 5 0N S
H H E
PVC, grey, LiYY Contact assignment = O € 3 § = Description Part No.
2 SAL-12-RS3-2/A1 43-10084
Pin 1 H 3 SAL-12-RS3-3/A1 43-10085
Pin 3 3 A 250 4 034
Fin 4 E 5 SAL-12-RS3-5/A1 43-10086
10 SAL-12-RS3-10/A1  43-10087
2 SAL-12-RS4-2 /Al 43-10104
g?" ! ; 3 SAL-12-RS4-3 /A1 43-10105
n
o3 4 A 250 4 034
o145 Pin 4 W 5 SAL-12-RS4-5/A1 43-10106
M12x1 10 SAL-12-RS4-10/A1 4310107
2 SAL-12-RS5-2 /A1 43-10124
Pin 1
(TIID bin 2 3 SALI2-RS53/A1 4310125
Swis/ Pin 3 5 A 60 4 034
2 Width across g;: ‘5*.- 5 SAL-12-RS5-5/A1 43-10126
¢ flats 13
10 SAL-12-RS5-10/A1 4310127
—~ ™
2 SAL-12-RS6-2 /Al 43-10144
g e 3 SAL12-RS6-3/A1  43-10145
Pin2CJ  Pin 6 mm 6 A 30 2 0,25
Pin3 MM Fin7 5 SAL-12-RS6-5/A1 43-10146
10 SAL-12-RS6-10/A1 43-10147
2 SAL-12-RS8-2/Al 43-10156
g?";E {’jng- 3 SAL-12-RS8-3 /Al 43-10157
n n
pn3mm pn7mm S A 30 2 0.25
Pn4C]  Pingmm 5 SAL-12-RS8-5 /A1 43-10158
10 SAL-12-RS8-10/A1 43-10159
2 SAL-12-RS12-2/A3  43-11272
Pin T  Pin7HE
gin;; E?"S: 3 SAL-12-RS12-3/A3  43-11273
n n
Pin 4  Pin 10 W 12 A 30 15 014
Pin 5 Pin 11 B 5 SAL12-RS12-5/A3  43-11274
Pin6CJ Pin 12
10 SAL-12-RS12-10/A3  43-11275

48 CONEC® Technical information starting on page 348




~
— S
& £
g S I = 8
S ) s}
o g = § %
N = BN - 2
S > S b = e
S £ © § N S
§ S & £ s @
TPU, UL, halogenfree, black, Li9Y11Y Contactassignment = S & S 8 =X pescription Part No.
2 SAL-12-RS3-2/K1 43-10096
Pin 1 M 3 SAL-12-RS3-3 /K1 43-10097
Pin 3 3 A 250 4 034
Pin 4 . 5 SAL-12-R$3-5 /K1 43-10098
10 SAL-12-RS3-10/K1 43-10099
2 SAL-12-RS4-2 /K1 43-10116
g?" ;; 3 SAL-12-RS4-3 /K1 43-10117
n
pin 3 4 A 250 4 034
Pin 4 I 5 SAL-12-RS4-5/K1 43-10118
M12x1
10 SAL-12-RS4-10/K1 43-10119
2 SAL-12-RS5-2 /K1 43-10136
NN -
w Pin 2 3 SAL-12-RS5-3 /K1 4310137
@ swis/ Pin 3 5 A 60 4 0,34
<+ Width across Pin 4 H
g flats 13 n 5 SAL-12-R$5-5 /K1 43-10138
Pin5 M
2| e 10 SAL-12-RS5-10/K1 43-10139
2 SAL-12-RS6-2 /K1 43-11058
P11
Pin 1B Pin4 N 3 SAL-12-RS6-3 /K1 43-11059
Pn2CJ Pnemm 6 A 30 2 0,25
Fin3EM  Pin7 5 SAL-12-RS6-5 /K1 43-11060
10 SAL-12-RS6-10/K1 43-11061
2 SAL-12-RS8-2 /K1 43-11062
g?";E E”Z- 3 SAL-12-RS8-3 /K1 43-11063
n n
Pin3 MM  Pin7 N 8 A 30 2 0,25
Pn4C]  Ping M 5 SAL-12-RS8-5 /K1 43-11064
10 SAL-12-RS8-10/K1 43-11065
2 SAL-12-RS12-2 /K1 43-11276
Pin 1 Pin 7 N
E”g; I'jng= 3 SAL-12-RS12-3 /K1 4311277
n n
Pin 4  Pin 10 W 12 A 30 15 0,14
Pin 5 Pin 11 = 5 SAL-12-RS12-5 /K1 4311278
Pin6CJ Pin12MMA
10 SAL-12-RS12-10/K1  43-11279
TPU, UL, irradiated, orange Li12Y11X
2 SAL-12-RS3-2/J1 43-10100
Pin 1 = 3 SAL-12-RS3-3/J1 43-10101
Pin 3 3 A 250 4 034
Pin 4 5 SAL-12-RS3-5/J1 43-10102
10 SAL-12-RS3-10/11 43-10103
M12x1
2 SAL-12-RS4-2 /11 43-10120
g?" ;; 3 SAL-12-RS4-3 /11 43-10121
n
e 4 A 250 4 034
Pin 4 5 SAL-12-RS4-5/11 4310122
- SW13/
i % Width across 10 SAL-12-RS4-10/11 43-10123
flats 13
2 SAL-12-RS5-2/11 43-10140
— )
Pin 1
Pin 23 3 SAL-12-RS5-3 /11 43-10141
@11 Pin 3 5 A 60 4 0,34
Pin 4 5 SAL-12-RS5-5/11 43-10142
Pin5 M
10 SAL-12-RS5-10/11 43-10143

Technical information starting on page 348 CONEC® 49



~
—_ g
g S < = S
S ) > IS
o § § § %
S = BN - 2
] > S b 2 IS
S £ ©®- § S
‘H H E
PVC, grey, LiYY Contact assignment = O € 3 § = Description Part No.
SAL-12-RSW3-2/A1/
2 A1090 43-14424
SAL-12-RSW3-3/A1/
Pin 1 3 A1090 43-14425
Pin 3 H 3 A 250 4 0,34
pin 4 . SAL12RSW3-5/A1/ 40100
A1090
SAL-12-RSW3-10/A1/
10 A1090 43-14427
SAL-12-RSW4-2/A1/
2 A1090 43-14436
pin 1 B SAL12ZRSWA-3/AT/ o) os
Pin2[1 4 A 250 4 034 A1090
Pin 3 ! SAL-12-RSW4-5/A1/
Pin 4 N 5 A1090 43-14438
% SAL-12-RSW4-10/A1/
32 & .
% 10 A1090 43-14439
\ © SAL-12-RSW5-2/A1/
. i : 2 . 4314448
: t Pin 1 W -12- -
) % o Pi: |- 3 'SGI(.);% RSW5-3/A1/ 4314449
Yo ’ Pin 3 HE 5 A 60 4 034
Width i
. ﬂa'tslécmss Pin 4 HE 5 SAL-12-RSW5-5/A1/ 4314450
! JA 1_ Pin 5 M A1090
g1 SAL-12-RSW5-10/A1/
. } 10 A1090 43-14451
SAL-12-RSW6-2 /A1 /
2 A1090 43-14460
SAL-12-RSW6-3 /A1 /
Pin 1 Pin 4 HE 3 A1090 43-14461
Pn2CJ  Pn6@m® 6 A 30 2 0,25
Pin3EE Pin7 : SAL12RSW65/AT/ oo
A1090
SAL-12-RSW6-10/A1/
10 A1090 43-14463
SAL-12-RSW8-2 /A1 /
2 A1090 43-14468
Pin1CJ  Pin5mm SAL-12-RSW8-3/A1/
Pin 2 Pin 6 B A1090 43-14469
Pn3mm Pn7EE 8 A 30 2 0,25
At Pingmm = SAL12-RSWB5/AT/ o0 o0
A1090
SAL-12-RSW8-10/A1/
10 A1090 43-1447

50 CONEC® Technical information starting on page 348



~
—_ g
- & =
g S I = 8
S v o IS
§ 2§38 °
S S & £ 4
5§ » & & 8 8
S < S ) S
E 5 & £ 5
TPU, UL, halogenfree, black, Li9Y11Y Contactassignment = S & S 8 =X pescription Part No.
SAL-12-RSW3-2 /K1 /
2 A1090 43-14428
- 3 Z?(L)—;é—RSW}?;/K] / 4314429
Pin 3 3 A 250 4 0,34
pin 2 . SALT2ZRSW3-5/K1/ o)) o0
A1090
SAL-12-RSW3-10/K1/
10 A1090 43-14431
SAL-12-RSW4-2 /K1 /
2 A1090 43-14440
P?n - 3 SAL-12-RSW4-3 /K1/ 4314441
Pin 2] 4 A 250 4 034 A1090
Pin 3 . ! SAL-12-RSW4-5/K1/
Pin 4 mm 5 21090 4314442
= SAL-12-RSW4-10/K1/
32 .
% 10 A1090 43-14443
\ w SAL-12-RSW5-2 /K1 /
f g 2 A1090 43-14452
! Pin 1 M -12- -
% P:z - 3 SAL-12-RSW5-3 /K1/ 4314453
& SW13/ ' A1090
) e = M B 034~ AL12-RsWs-5/K1/
ts 13 -
| J 1_ ats Fin ¢ B 5 21090 4314454
P11 SAL-12-RSW5-10/K1/
t t 10 A1090 43-14455
SAL-12-RSW6-2 /K1 /
2 A1090 43-14464
SAL-12-RSW6-3 /K1 /
Pin 1 Pin 4 HE 3 A1090 43-14465
Pn2CJ  Pn6mm 6 A 30 2 0,25
bnomm P . SAL12-RSWE5/K1/ 40
A1090
SAL-12-RSW6-10/K1/
10 A1090 43-14467
SAL-12-RSW8-2 /K1 /
2 A1090 43-14472
Pin1CJ  Pin5mm SAL-12-RSW8-3/K1/
Pin 2 Pin 6 3 A1090 43-14473
Pin 3 Pn7mE 8 A 30 2 0,25
bnata pinomm . SAL12-RSW85/K1/ 0 1)/
A1090
SAL-12-RSW8-10/K1/
10 A1090 43-14475
TPU, UL, irradiated, orange, Li12Y11X
SAL-12-RSW3-2/]J1/
2 A1090 43-14432
Pin 1 3 %\g;é'Rsm SV 34433
Pin 3 N 3 A 250 4 0,34
i 4 . SAL12RSW35/11/ 4310000
A1090
= SAL-12-RSW3-10/11/
32 & .
% 10 A1090 43-14435
© SAL-12-RSW4-2 /11 /
: 2 e 4314444
o F?n 1= 3 SAL-12-RSW4-3/]1/ 4314445
SW13/ Pin2[J 4 A 250 4 034 A1090
xwtdtr; ;oross Pin 3 ! SAL-12-RSW4-5/)1/ 431444
ats i -
, j 1_ pin 4 J A1090 A
P11 SAL-12-RSW4-10/11/
| t 10 A1090 43-14447
SAL-12-RSW5-2/J1/
2 A1090 43-14456
Pin 1 SAL-12-RSW5-3/J1/
Pin 2] 3 A1090 43-14457
Pin 3 I
Pin 4 B e 034 “cAL12-RsWs-5/11/ 1314458
Pin 5 M A1090
SAL-12-RSW5-10/11/
10 A1090 43-14459

Technical information starting on page 348 CONEC® 51



~
— g
- & =
g S I = 5
S v o IS
o g § § ®
S s S | s 2
NG IS k)
IS & = B = 2
S £ ©v § & O
. S s8 S8 ¢
PVC, grey, LiYY Contact assignment = O & O O =  Description Part No.
SAL-12-RK3-RS3-
03 03/A1 43-10544
SAL-12-RK3-RS3-
Pin 1 0,6 06/A1 43-10545
Pin 3 I 3 A 250 4 034~
Pin 4 r SAL-12-RK3-RS3- 4310546
! 1,5/A1
SAL-12-RK3-RS3-
3 3/A1 43-10547
SAL-12-RK4-RS4-
03 03/A1 43-10564
Pin 1 06 SAL-12-RK4-RS4- 4310565
Pin2J 4 A 250 4 0,6/A1
Pin 3 5 034 -12-RK4-RS4-
i SAL-12-RK4-RS4
Pin 4 1.5 15/A1 43-10566
SAL-12-RK4-RS4-
3 3/A1 43-10567
3 SAL-12-RK5-RS5-
‘ 03 03/A1 43-10584
Pin 1w SAL-12-RK5-RS5-
‘ Pin 2] 06 06/Al 43-10585
; Pin 3 5 A 60 4 034,
- ! swias pin 4 . . SAL-12-RK5-RS5- 4310586
ydin across Pin 5 M ' 1,5/7A1
i SAL-12-RK5-RS5-
| 3 3/A1 43-10587
? SAL-12-RK6-RS6-
2 03 03/A1 43-11070
SAL-12-RK6-RS6-
h Pin 1HE  Pin 4 0,6 06/A1 43-11071
| Pz pinces R A B 2 025 = G pL12-RK6-RS6
Pin3WM  FPin7 15 U 4311072
Mi12x1 ! 1,5/A1
@145 SAL-12-RK6-RS6-
3 3/A1 43-11073
SAL-12-RK8-RS8-
03 03/A1 43-10596
Pin1C]  Pin5mm SAL-12-RK8-RS8-
Pn2mm  Pin6 0,6 06/A1 43-10597
pPn3mm Pn7EE 8 A 30 2 025"
PinaCT  Pingmm e SAL-12-RK8-RS8- 4310598
G 1,5/A1
SAL-12-RK8-RS8-
3 3/A1 43-10599
SAL-12-RK12-RS12-
Pin 1M Pin7HE o 0.3/A3 —
Pin 2 H Pin 8 I 06 SAL-12-RK12-RS12- 4315278
Pn30  PnoME o 30 c ' 014 0,6/A3
Pin 48  Pin 10 N ' ! SAL-12-RK12-RS12-
Pin 5 Pin 11 M 1,5 15/A3 43-15279
Pin 60 Pin 12 M .
" " 5 SALIZRKIZRST2- 00000
3/A3

52 CONEC® Technical information starting on page 348



~
— g
- & =
g S I = 8
S v o IS
= g 5 3§ %
S = BH - B4
S S o 8 ¢
) [ 1S —~ =
2 £ T s 2 N
R
TPU, UL, halogenfree, black, Li9Y11Y Contact assignment = S & G 8 = Description Part No.
SAL-12-RK3-RS3-
03 03/KI 43-10556
SAL-12-RK3-RS3-
Pin 1w 0,6 06/K1 43-10557
Pin 3 3 A 250 4 025
pin 4 . . SAL-12-RK3-RS3- 4310558
! 1,5/K1
SAL-12-RK3-RS3-
3 3/K1 43-10559
SAL-12-RK4-RS4-
0.3 03/KI1 43-10576
pin 1 06 SAL12-RK4-RS4- 4310577
Pin 2 4 A 250 4 025 0,6/K1
Pin 3 HE ! SAL-12-RK4-RS4-
Pin 4 I 15 15/K] 43-10578
SAL-12-RK4-RS4-
3 3/K1 43-10579
SAL-12-RK5-RS5-
0.3 03/KI1 43-10672
Pin 1 SAL-12-RK5-RS5-
Pin 200 06 ey 43-10673
Pin 3 N 5 A 60 4 034,
SW13/ Pin 4 W 15 SALIZRKSRSS5- 43-10674
}llvgtr:gcross Pin 5 M ! 1,5/K1
al
SAL-12-RK5-RS5-
3 3/K1 43-10675
SAL-12-RK6-RS6-
03 03/Kl 4311078
SAL-12-RK6-RS6-
Pin 1M Pin4 M 0,6 06/K1 43-11079
Pin2[J Pin 6 :
om0 N30 2 OB o6,
M12x1 ! 1,5/K1
@145 SAL-12-RK6-RS6-
3 3/K1 43-11081
SAL-12-RK8-RS8-
03 037Kl 43-11054
Pin1C]  Pin5mm SAL-12-RK8-RS8-
Pin2mm  Pin6 0,6 06/K1 43-11055
Pin3mm Pn7Em 8 A 30 2 0,25,
Pin 4 B Pin & I 15 SAL-12-RK8-RS8- 4311056
! 1,5/K1
SAL-12-RK8-RS8-
3 3/K1 43-11057
SAL-12-RK12-RS12-
Pin1MM  Pin7HE o 03/K1 e
Pin 2 Pin 8 06 SAL-12-RK12-RS12- 4315281
Pn3C  Pnomm ., 30 o 014 0,6/K1
Pin 4 MM Pin 10 W ! ' SAL-12-RK12-RS12-
Pin 5 Pin11 M 1.5 15/K1 43-15282
PR Pin12 - SAL12-RK12-RS12
3 3/K1 43-15283
TPU, UL, irradiated, orange, Li12Y11X
SAL-12-RK3-RS3-
0.3 03/11 43-10560
Pin 1 06 3A6L'/]Jz1'RK3'RS3' 43-10561
Pin 3 3 A 250 4 034
o145 pin 2 15 SALT2-RK3-RS3- 4310562
! 1,571
SAL-12-RK3-RS3-
3 3/ 43-10563
SAL-12-RK4-RS4-
0,3 03/11 43-10580
|
i Pin 1 06 SAL-12-RK4-RS4- 43-10581
Pin 2] 4 A 250 4 034 0,6/11
! Pin 3 N ! SAL-12-RK4-RS4-
| swia/ Pin 4 15 15/11 43-10582
;Ilwtdlqﬁamss S:’-\L]Z RK4-RS4
ats -12- - -
| R
‘ 3 3/ 43-10583
SAL-12-RK5-RS5-
0 i 03 R 4310676
Pin 1 -12-RK5-RS5-
m = 0p | SMRRSRS
Pin 3 :
| i B 034 =S AL12-RK5-RSS-
. 15 43-10678
" Pin 5 M 1,5/)1
120 SAL12-RK5-RS5-
@145 3 3/ 43-10679

Technical information starting on page 348 CONEC® 53



~
— =
. & £
g S I = 5
S v o s}
o g = § %
S s S = 2
= N S
Y > > = —= N
S £ © § N S
H H E
PVC, grey, LiYY Contact assignment = O € 3 8§ = Description Part No.
SAL-12-RK3-RSW3-
Oz 0,3/A1/A1090 4314593
- 06 SAL-12-RK3-RSW3- 4314594
! 0,6/A1/A1090
Pin 3 3 A 250 4 0,34
Pin 4 W 1 SAL-12-RK3-RSW3- 4314595
' 1,5/A1/A1090
SAL-12-RK3-RSW3-
£ 3/A1/A1090 4314596
SAL-12-RK4-RSW4-
& 0,3/A1/A1090 4314605
. SAL-12-RK4-RSW4-
Pin 1 -
Pin 2] | . B 06 034 06/A1/A1090 4314606
Pin 3 M 7 SAL-12-RK4-RSW4-
Pin 4 . 12 1,5/A1/A1090 4314607
SAL-12-RK4-RSW4-
3 8 . 3/A1/A1090 4314608
SAL-12-RK5-RSWS5-
swias e 0,3/A1/A1090 4314617
: Pin 1 mm SAL-12-RK5-RSW5-
- o 2eross Pin 2 06 06/A1/A1090 43-14618
Pin 3 m 5 A 60 4 034,
Pin 4 15 SAL-12-RK5-RSW5- 4314619
. Pin 5 ' 1,5/A1/A1090
g s SAL-12-RK5-RSW5- )
§ 8 ’ 3/A1/A1090 4314620
i SAL-12-RK6-RSW6-
‘ s 0.3/A1/A1090 4314629
SAL-12-RK6-RSW6-
# Pinmm  Pin4mm 06 0.6/A1 /AI090 4314630
Pin 2] Pnomm 6 A 30 2 0,25 .
PnIEE  Pin7 e SAL-12-RK6-RSW6- 4314631
0 1,5/A1/A1090
SAL-12-RK6-RSW6-
. 3/A1/A1090 4314632
SAL-12-RK8-RSW8-
U3 0,3/A1/A1090 43-14637
P10 pinsmm o, SAL-12-RK8-RSW8- 4314638
Pn2MM  Pin6 8 A 30 2 ! 025 0,6/A1/A1090
Pn3mm  Pin7 M "“> SAL-12-RK8-RSW8-
Pin4  Pingmm 'S 15/A1/A1090 43-14639
SAL-12-RK8-RSW8-
3 3/A1/A1090 43-14640

54 CONEC® Technical information starting on page 348



=
- £
& £
g = <~ 8
S o o ! IS
o g = § %
S s S = 2
= IS oY) o
S > = = = N
S £ ©v § » O
. IR E
TPU, UL, halogenfree, black, Li9Y11Y Contact assignment = O & O O = Description Part No.
SAL-12-RK3-RSW3-
O 0,3/K1/A1090 4314597
- 06 SAL-12-RK3-RSW3- 4314598
Pin 3 3 A 250 4 0,34 2:6/KIZA1090
Pin 4 H 7 SAL-12-RK3-RSW3-
1,5 43-14599
' 1,5/K1/A1090
SAL-12-RK3-RSW3-
£ 3/K1/A1090 4314600
SAL-12-RK4-RSW4-
g 0,3/K1/A1090 4314609
. SAL-12-RK4-RSW4-
Pin 1 R
Pin 2 i . B 06 034 06/K1/A1090 43-14610
Pin 3 15 SALI2RK4-RSWA- 4314611
Pin 4 . 0 1,5/K1/A1090
SAL-12-RK4-RSW4-
3 8 . 3/K1/A1090 4314612
SAL-12-RK5-RSW5-
swias e 0,3/K1/A1090 4314621
/ Pin 1 = SAL-12-RK5-RSW5-
’ ptn cross Pin 207 06 43-14622
i— N . . 034 06/K1/A1090
Pin 4 15 "™ SAL-12-RK5-RSW5- 4314623
. Pin 5 ' 1,5/K1/A1090
g s SAL-12-RK5-RSW5- )
§ 8 ’ 3/K1/A1090 4314624
| SAL-12-RK6-RSW6-
‘ g 0,3/K1/A1090 4314633
SAL-12-RK6-RSW6-
# Pinmm  Pin4mm 06 06/K1 /A1090 4314634
Pin2[] Pnomm 6 A 30 2 0,25
Pn3EE  Pin7 s SAL-12-RK6-RSW6- 4314635
0 1,5/K1/A1090
SAL-12-RK6-RSW6-
. 3/K1/A1090 4314636
SAL-12-RK8-RSW8-
s 0,3/K1/A1090 4314641
PO insmm 06 SAL-12-RK8-RSW8- 431464
Pn2EM  Pin6 N B 025 0.6/K1/A1090
Pin3MM  Pin7HE 22 SAL-12-RK8-RSWS-
Pin4C  Pingmm 'S 15/K1/A1090 43-14643
SAL-12-RK8-RSW8-
3 3/K1/A1090 43-14644
TPU, UL, irradiated, orange, Li12Y11X
SAL-12-RK3-RSW3-
& 03 /J1/A1090 43-14601
_ SAL-12-RK3-RSW3-
g::é: 3 A 250 4 o0 0.34 [ ez
Pin 4 W "~ SAL-12-RK3-RSW3-
15 43-14603
G 1,5 /J1/A1090
SAL-12-RK3-RSW3-
. 3/11/A1090 43-14604
SAL-12-RK4-RSW4-
LS 03/11/A1090 4314613
, SAL-12-RK4-RSW4-
Pin 1 R
Pin 20 i . B - 06 034 06 /11/A1090 4314614
Pin 3 ' -12- i -
i = SAL-12-RK4-RSW4 4314615
Pin 4 . G 1,5/11/A1090
SW13/ SAL-12-RK4-RSW4-
B ‘ ‘ nggtrsacross 3 3/11/A1090 43-14616
SAL-12-RK5-RSW5-
& 03/11/A1090 4314625
© &l Pin 1 SAL:12-RK5-RSWS5-
& 25 Pin 2 06 0,6/J1/A1090 4314626
. Pin 3 5 A 60 4 034
! Pin 4 15 SALT2RKS-RSWS- 4314627
[ Pin 5 M ! 1,5/J1/A1090
SAL-12-RK5-RSW5-
32 3 B 43-14628

Technical information starting on page 348 CONEC® 55



~
— g
- & =
g S I = 5
S v o IS
o g = 5 %
S S & £ 37
] > > b <2 IS
S £ ©wW § & S
‘H H E
PVC, grey, LiYY Contact assignment = O € 3 8§ = Description Part No.
SAL-12-RKW3-RS3-
03 03/A1 43-10688
Pin 1 06 BA(‘SL'/]:;RKW&RS} 43-10689
Pin 3 I 3 A 250 4 034~
pin 4 r SALT2RKW3RS3- o0 o0
! 1,5/A1
SAL-12-RKW3-RS3-
3 3/A1 43-10691
SAL-12-RKW4-RS4-
03 03/A1 43-10708
Fin 1 06 SAL12-RKWA-RSA- o
@ Pin 2] 4 A 250 4 034 0,6/A1
= 5 Pin 3 ! SAL-12-RKW4-RS4-
Pin 4 1.5 15/A1 43-10710
& SAL-12-RKW4-RS4-
3 3/A1 43-10711
SAL-12-RKW5-RS5-
‘ ‘ swis/ 03 03/A1 43-10952
o goross Pin 1 SALT2-RKWS-RS5-
flats 13 i 06 06/A1 43-10953
- Pin 3 5 A 60 4 034,
P:: 4mm 15 SAL-12-RKW5-RS5- 4310954
@ 5 Pin 5 ' 1,5/A1
2 T SAL-12-RKW5-RS5-
3 3/A1 43-10955
SAL-12-RKW6-RS6-
\ 03 iy 43-11082
RIRES SAL-12-RKW6-RS6-
vy . Pin1mm  pin4mm 0,6 06/A1 43-11083
- Pin2CJ] Pnemm 6 A 30 2 025"
PnsEE Pin7 1 SALT2-RKWERSE- 1o 1100,
G 1,5/A1
SAL-12-RKW6-RS6-
3 3/A1 43-11085
SAL-12-RKW8-RS8-
03 03/A1 43-10728
N ap— 06 SALT2-RKW8-RSS- oo
Pin 2 I Pin 6 8 A 30 2 025 0,6/A1
Pn3MM  Pin7 N ! SAL-12-RKW8-RS8-
Pin4CZ  PingmE 1.5 15/A1 43-10730
SAL-12-RKW8-RS8-
3 3/A1 43-10731

56 CONEC® Technical information starting on page 348



~
- £
- & =
g S < o §
S v o IS
o g = § %
S S & £ 37
5 = - ) <}
V > = -~ =
2 £ T s 2 N
‘K H E
TPU, UL, halogenfree, black, Li9Y11Y Contact assignment = S & G 8 = Description Part No.
03 ?ﬁ')éiRKW}RS} 43-10700
AL-12-RKW3-RS3-
Pin 1 0,6 36 e 3RS3 43-10701
Pin 3 I 3 A 250 4 034"
Pin 4 e SALT2RKW3RS3- o0,
' 1,5/K1
; ;éillz-RKws-Rss- 4310703
03 (S)QL'/%RKW“'RS“' 4310720
27 0
. SAL-12-RKW4-RS4-
Pin 1 A
- 2 Pin 2L 4 A 250 4 o 034 - 20/K i
= Pin 3 =% SAL12-RKWA4-RS4-
Pin 4 M 15 ey 4310722
SAL-12-RKW4-RS4-
3 By 4310723
SAL-12-RKW5-RS5-
‘ ‘ swis/ 03 037K1 4310964
e geross Pin 1 = SALT2-RKWS-RS5-
flats 13 S 0,6 06/K1 43-10965
- Pin 3 W 2
P:: 4mm M B 15 034 =S AL12-RKWS RS- 4310966
. : Pin 5 ' 1,5/K1
¥ i SAL-12-RKW5-RS5-
3 By 43-10967
\ 03 3’°§L'/]éiRKW6'R56' 4311086
RIRES SAL-12-RKW6-RS6-
PP Pinmm  Pin4mm 06 S 43-11087
- Pn2C] Pnemm 6 A 30 2 0,25 "
Pin 3 Pin7 15 ?’:L;]E_I'RKWG'RSS' 43-11088
SAL-12-RKW6-RS6-
3 B 43-11089
03 sz'/]éiRKWS'RSS' 43-11106
b1 pinsmm e SALT2-RKWSRSS- o .-
Pin2MM@  Pin6 8 A 30 2 ' 025 0,6/K1
Pn3MM  Pin7 N ! SAL-12-RKW8-RS8-
Pn4C  Pin g 1,5 15/K] 43-11108
SAL12-RKW8-RS8-
3 Eo 43-11109
TPU, UL, irradiated, orange, Li12Y11X
03 gpéLjﬁ'RKW&RS} 43-10704
SAL-12-RKW3-RS3-
Pin 1 0,6 e 43-10705
Pin 3 I 3 A 250 4 034~
27 Pin 4 15 ?’;L;]Jz]'RKW}Rﬁ' 43-10706
, @ 3 géb']]z'RKW}RS} 43-10707
T = -
Q
03 (S)gL'/]ﬁ'RKW“'RS“' 43-10724
' SAL-12-RKW4-RS4-
Pin 1 A
Pin2 L] 4 A 250 4 o 034 - 9641 o
‘ swia/ Pin 3 . =% SAL-12-RKW4-RS4-
Width across Pin 4 HE 1.5 15/11 43-10726
flats 13 g
SAL12-RKW4-RS4-
. 3 E 4310727
SAL12-RKWS5-
2 |4 o RS5-0,3/11 4310968
Pin 1 -12- -
= 06 ;QEEGR/S\QVS 43-10969
Pin 3 5 A 60 4 0,34 .
\ Pin 4 M 15 SALT2-RKWSRSS- o000
" miza Pin 5 ' 1,5/J1
145 3 géh'JZ'RKWS'RSS' 43-10971

Technical information starting on page 348 CONEC® 57



58

~
— g
- - & £
S S
£ § eI 3
o g = § %
S S & £ 9
) > e S S <3
S £ © § S
. H H E
PVC, grey, LiYY Contact assignment = O & O O =  Description Part No.
27
SAL-12-RKW3-RS3-
03 21:0,3/A1 43-10392
_ SAL-12-RKW3-RS3-
s Pin 1 o 0,6 210,6/A1 43-10393
x\;ﬂtr‘\;cross _Pin4mm
) 3 A 30 4 034
- Pin 3 SAL-12-RKW3-RS3- i
2 15 201,5/A1 43-10394
e SAL-12-RKW3-RS3-
otas 3 ey 43-10395
TPU, UL, halogenfree, black, Li9Y11Y
-—2 SAL-12-RKW3-RS3-
03 21:0,3/K1 43-10884
Pin 1 . 06 SALIZRKWI-RS3- 3 15885
Swi3/ : 21-:0,6/K1
Width across LPin4mm
fats 18 3 A 30 4 0,34
Pin 3 W SAL-12-RKW3-RS3-
s 15 211.5/K1 43-10886
B ||, mizxt SAL-12-RKW3-RS3-
o145 3 213 /K1 43-10887
TPU, UL, irradiated, orange, Li12Y11X
27
SAL-12-RKW3-RS3-
03 21:03/J1 43-10888
) SAL-12-RKW3-RS3-
owis/ Pin 1 HE . 0,6 ZL-O,G/H 43-] 0889
x::ﬂsﬂ:;cmss _Pin4mm
} 3 A 30 4 034
o Pin 3 W SAL-12-RKW3-RS3-
2 15 2115701 43-10890
Mi2x1
v 5 SAL12-RKW3-RS3- o oo

21:3/1

CONEC®

Technical information starting on page 348




b
— g
8 S I = 8
S v o IS
o g = § %
S S S £ 9
= N ) o
S > s = = I
S £ © § S
. H H E
PVC, grey, LiYY Contact assignment = O & O O = Description Part No.
SAL-12-RKW4-RS4-
o . 03 3103 /A1 43-10416
Ten2Cd . | SAL-12-RKW4-RS4-
IP1n4-/ . A " . 0,6 034 31:0,6/A1 43-10417
¥ g
& o 15 SAL-12-RKW4-RS4- 4310418
Pin 3 ! 3L:1,5/A1
SWi3/ SAL-12-RKW4-RS4-
x:g«h‘aacross 3 313 /A1 43-10419
- SAL-12-RKW5-RS5-
. - . 03 3L03/A1 4310848
N Pin21
SAL-12-RKW5-RS5-
IPinamm .
P 0,6 31:0,6/A1 43-10849
© B B 034 SAL-12-RKWS5-RS5-
o 15 43-10850
Pin 3 I 3L—1,5/A1
2145 | Pin 5 M
g SALTZRKWSRSS- 1o 1 oc)
3L-3/A1
TPU, UL, halogenfree, black, Li9Y11Y
SAL-12-RKW4-RS4-
2 . 03 3003 /K] 43-10840
i Pin2J o -12- -RS4-
T i T smm 06 gﬁblg /F:(ﬁW4 R4 43108m
% 4 A 30 4 034 -
8 e s SALIZRKWARSE: . oo
pin 3 ! 3L-1,5/K1
SWi13/ SAL-12-RKW4-RS4-
it across 3 313/K1 43-10843
- SAL-12-RKW5-RS5-
) - . 03 3103 /K] 4310860
= JPn2C1 1. . "
I Pin 4 mm 0,6 gﬁl(.)lg/l}(K]WS i58 43-10861
C K B 034 SAL-;Z-RKWS»RSS-
Mi2xt 15 43-10862
145 Pin 3 3L-1,5/K]
= e 3 SAL12-RKWSRSS- o oo
3L-3/K1
TPU, UL, irradiated, orange, Li12Y11X
SAL-12-RKW4-RS4-
- - 0.3 31:03/)1 43-10844
TPn2Cd . | SAL-12-RKW4-RS4-
Pin4mm . A % . 0,6 034 31:0,6/J1 43-10845
8 " SAL-12-RKW4-RS4-
15 311,5/)1 43-10846
SWI3/ SAL-12-RKW4-RS4-
idth across 3 43-10847
s 31:3/J1
- SAL-12-RKW5-RS5-
- 03 3003 /11 43-10864
e IPin2J L
SAL-12-RKW5-RS5-
_[Pin 4 mE B
P . N P 0,6 0ss 31:0,6/J1 43-10865
° 15 SALIZRKWSRSS- oo
Mi2x Pin 3 ! 3L-1,5/)1
014, i
o] o - SAL12-RKWS-RSS- o oo
3L-3/J1

Technical information starting on page 348 CONEC® 59



60

=~
— &
- E £
¢ S < o §
S v o s}
o g = § %
S s S = 2
5 o & = S 8
S £ ©wW § & S
S
PVC, grey, LiYY Contact assignment = O € 3 8§ = Description Part No.
SAL-12-RK3-8-RS3-
03 03/Al 43-11430
Wit a a SAL-12-RK3-8-RS3-
xva\(dsﬂ:aacmss > 0'6 43-] 1 43]
_ 2 0,6/A1
Pin 1 ©
Pin 3 I 3 A N 3 0,25
Fin« - 2 SAL12-RK3-8-RS3
> -4t o - R
B S 1 15/A1 4311432
flats 9
SAL-12-RK3-8-RS3-
3 Al 43-11433
SAL-12-RK3-8-RS3-
03 e 4311434
Wi 8 SAL-12-RK3-8-RS3-
ot > 0,6 o 43-11435
Pin 1 M 3 '
Pin 3 3 A~ 3 0,25
Fin« - 2 SAL12-RK3-8-RS3
> 1et e - A
2 S 12 15/K1 4311436
flats 9
SAL-12-RK3-8-RS3-
3 3K 43-11437
PVC, grey, LiYY
Z SAL-12-RKW3-8-RS3-
03 0,3/A1 43-11438
: 0] SAL12-RKW3-8-RS3-
i zcross S 0,6 0,6/A1 43-11439
Pin 1 mm 3
Pin 3 3 A N 3 0,25
s Pin 4 - < SAL12-RKW3-8-RS3-
g Widlh across = 15 1,5/A1 43-11440
flats 9 8 ! !
- SAL12-RKW3-8-RS3-
SUE L 3 3/A1 43-11441
TPU, UL, halogenfree, black, Li9Y11Y
o SAL-12-RKW3-8-RS3-
03 0,3/K1 4311442
g Q SAL-12-RKW3-8-RS3-
swias S 0,6 0,6/K1 43-11443
Width across
flats 13 Pin 1 8
Pin 3 3 A N 3 0,25
Pin 4 - < SAL12-RKW3-8-RS3-
swo/ = 1,5 1,5/K1 43-11444
Q X\gglgacmss wn
T SALT2-RKW3-8-RS3-
| M8x1
T Tow 3 3/K1 43-11445

CONEC®

Technical information starting on page 348




~
— g
- E £
g S I = 8
S v o IS
o g = § %
S S & £ 37
S > > = < N
S £ © § N S
E 5 & £ 3§ 8
PVC, grey, LiYY Contact assignment = S & S 8§ = Description Part No.
P145
| M12x1 SAL-12-RS3-8-RK3-
=1 03 s 4311446
LD) SAL-12-RS3-8-RK3
f s = 0,6 . G;Ai RN 4311447
ﬂV\;i(c;(l';sacmss Pin 1 8 0
Pin 3 W 3 A N 3 0,25
s - 2 SAL12-RS3-8-RK3
> S e ° A
2 15 15/A1 43-11448
n
Sw9/
Width across
flats 9
SAL-12-RS3-8-RK3-
3 3/A1 43-11449
TPU, UL, halogenfree, black, Li9Y11Y
P145
Mi2x1 SAL-12-RS3-8-RK3-
—- 03 43-11450
— 03/K1
8 SAL-12-RS3-8-RK3
¢ i) > 06 0 G;Ki ST 4301451
it across Pin 1 Hm = ¢
Pin 3 N 3 A N 3 0,25
Pin 4 N 2 5
< " SALIZRSIBRIZ- o)
o 1,5/K1
n
Sw9/
Width across
flats 9
SAL-12-RS3-8-RK3-
3 3/K1 43-11453
PVC, grey, LiYY
SAL-12-RS3-8-RKW3-
nizst 03 03 /A1 4311454
=t SAL-12-RS3-8-RKW3-
W cross > 06 0,6/A1 4311455
flats 13 Pin 1 m 8
Pin 3 I 3 A N 3 0,25
Pin 4 HE %
swa/ > SAL-12-RS3-8-RKW3-
Widih 3 15 15/A1 43-11456
SAL-12-RS3-8-RKW3-
3 3/A1 43-11457
TPU, UL, halogenfree, black, Li9Y11Y
P145 SAL-12-RS3-8-RKW3-
Mi2xi 03 03/KI 43-11458
=] SAL12-RS3-8-RKW3-
2 ; i) g 0,6 0,6/Kl 43-11459
weaess  pin 1 3
Pin 3 W 3 A N 3 0,25
- Pin 4 g
> SAL-12-RS3-8-RKW3-
,—cé e S 15 15 4311460
B
1
SAL-12-RS3-8-RKW3-
3 3/K1 43-11461

Technical information starting on page 348 CONEC® 61



~
—_ g
- &£ £
g S I = 8
S v o s}
o g = § %
S = BN - 2
P oY) o
> &> > - X IS
S £ ©®- § S
§ S & £ s @
PVC, UL, grey, LiYCY Contactassignment = S & S 8 = Dpescription Part No.
2 SAL-12S-RK4-2/G3 43-10336
TPin 11
tpin2l 3 SAL125-RK4-3/G3  43-10337
Ipin3!mm 4 A 160 4 0,34
1Pin4 ! -12S- d A
(Pin4; 5 SAL-12S-RK4-5/G3 43-10338
2145 10 SAL12S-RK4-10/G3 ~ 43-10339
2 SAL-12S-RK5.1-2/G3  43-10344
SWi13/ [kt
" IPin 1
ot A iPin 2/ 3 SAL12S-RK5.1-3/G3  43-10345
e 5 A 60 4 0,25
- :LPin_SJ- 5 SAL-12S-RK5.1-5/G3  43-10346
o |
‘“ w o 10 SAL-125-RK5.1-10/G3  43-10347
2 SAL-12S-RK8-2/G3 43-10972
[Pin 11 {Pin5|mm
{rinolmm lpine] 3 SAL12S-RK8-3/G3 4310973
'pin3/mm pin7/mm 8 A 30 2 0,25
IPin4!CJ IPing/mm 5 SAL-12S-RK8-5/G3 43-10974
I I
10 SAL-12S-RK8-10/G3  43-10975
L 2 SAL12S-RK12-2/G3  43-11280
:Pin]}- }Pin7 :-
|Pin2/l@ (Ping WM
'pin3lc [pino mm 3 SAL-12S-RK12-3/G3  43-11281
lpina/mm lpintomm 12 A 30 15 0,14
|Pin5| IPin11/m 5 SAL-12S-RK12-5/G3  43-11282
Pin 611 {Pin 12/
(it e
10 SAL-12S-RK12-10/G3  43-11283
TPU, UL, halogenfree, black, LI9YC11Y
2 SAL-12S-RK4-2 /G2 43-10340
TPin 11
tpin2l 3 SAL125-RK4-3/G2  43-10341
Ipin3|mm 4 A 160 4 0,34
IPin4 ! -12S-RK4- -
Pin4; 5 SAL-12S-RK4-5/G2 43-10342
10 SAL-12S-RK4-10/G2  43-10343
o145 - 2 SAL-12S-RK5.1-2/G2  43-10348
[Pin 1/
iP?nzil:I 3 SAL-12S-RK5.1-3/G2  43-10349
SWi13/ I?i’: N 0.25
Width across {pins 5 SAL-125-RK5.1-5/G2  43-10350
3 flats 13 S
10 SAL-12S-RK5.1-10/G2  43-10351
- T w 2 SAL-12S-RK8-2 /G2 43-10976
| B PR
IPinTIC_J 1Pin51 M
'pin2mm Pin6! 3 SAL-12S-RK8-3 /G2 43-10977
bin3mm lpin7mm 8 A 30 2 025
IPin4!C] IPing/m 5 SAL-12S-RK8-5/G2 43-10978
- .
10 SAL-12S-RK8-10/G2  43-10979
I R 2 SAL-12S-RK12-2/G2  43-11284
:Pin]}- }Pin7 :-
IPin2/M@ |Ping8 MM
Ipin3i = IPing mm 3 SAL-12S-RK12-3/G2  43-11285
'pina/mm lpiniojmm 12 A 30 15 014
IPin5|i |Pin11im 5 SAL-12S-RK12-5/G2  43-11286
LPin6/C1 {Pin 12/
[ J
10 SAL-12S-RK12-10/G2  43-11287

62 CONEC® Technical information starting on page 348



~
—_ g
- & =
g S I = 8
S v o ks
< g 5 § %
S S & £ 4
5 o & = S 8
S £ ©wW § = S
s 5 85§ ¢
PVC, UL, grey, LiYCY Contact assignment = S & 3 S8 = Description Part No.
2 SAL-12S-RKW4-2/G3  43-12415
TPin 11
{pin2lc) 3 SAL12S-RKW4-3/G3  43-12416
1pin3 4 A 160 4 0,34
1Pin4 ! -125- N _
LFind; 5 SAL-12S-RKW4-5/G3  43-12417
10 SAL-12S-RKW4-10/G3  43-12418
2 SAL-12S-RKW5.1-2/G3  43-12423
{Pin 1/
Width across 1Pin2)C 3 SAL-12S-RKW5.1-3/G3  43-12424
flas 13 {Pin3 5 A 60 4 025
- {7in 4| 5 SALI2SRKWS.1-5/G3 4312425
[Pin5 e o i
| I
10 SAL-12S-RKW5.1-10/G3  43-12426
2 SAL-12S-RKW8-2/G3  43-12431
[Pin 11T [Pin5mm
'pin2!mm |Pin6! 3 SAL-12S-RKW8-3/G3  43-12432
IPin3jmm pin7mm 8 A 30 2 0,25
{Pin4]J [Pin g/ 5 SAL-12S-RKW8-5/G3  43-12433
| I —
10 SAL-12S-RKW8-10/G3  43-12434
TPU, UL, halogenfree, black, LI9YC11Y
2 SAL-12S-RKW4-2/G2  43-12419
[Pin 11mm
Ipin2ir 3 SAL-12S-RKW4-3 /G2  43-12420
1Pin3|mm 4 A 160 4 0,34
IPin4 ! -125§- J -
Find; 5 SAL-12S-RKW4-5/G2  43-12421
10 SAL-12S-RKW4-10/G2  43-12422
24 2 SAL-12S-RKW5.1-2/G2  43-12427
[Pin 11mm
{Pin2i) 3 SAL-12S-RKW5.1-3/G2 43-12428
iPin3 - 5 A 60 4 0,25
irind - 5 SAL125-RKWS.1-5/G2 4312429
] SW13/ 1Pin 5 S o i
faiea S
10 SAL-12S-RKW5.1-10/G2  43-12430
2 SAL-12S-RKW8-2/G2  43-12435
[Pin 11T [Pin5)mm
{pin2lmm lpine] 3 SAL12SRKW8-3/G2  43-12436
'pin3/mm pin7/mm 8 A 30 2 0,25
{Pin4]C] [Pin g/ 5 SAL-12S-RKW8-5/G2  43-12437
I —
10 SAL-12S-RKW8-10/G2  43-12438
Technical information starting on page 348 CONEC®

63




=~
_ &
& £
g S I = 8
S Y > s}
o g = § %
S = BN - 2
S > S b = e
S £ ©®m § & S
s 5 85§ ¢
PVC, UL, grey, LiYCY Contact assignment = S & 3 S8 = Description Part No.
2 SAL12S-RS4-2/G3  43-10352
TPin 11 mm
tpin2l 3 SAL12S-RS4-3/G3  43-10353
Ipin3 | mm 4 A 160 4 0,34
{Pin 4! 5 SAL125-RS4-5/G3  43-10354
3145 [
Mi2x1 10 SAL125-RS4-10/G3  43-10355
2 SAL125-RS5.1-2/G3  43-10360
e
e iPin2| 3 SAL125-RS5.1-3/G3  43-10361
2 Width across lg!”i }: 5 A 60 4 0,25
§ | st 1 5 SAL125-RS5.1-5/G3  43-10362
in
e 10 SAL125-RS5.1-10/G3  43-10363
N
J W_w 2 SAL-12S-RS8-2/G3  43-10980
[Pin 11 [Pin 5| mm
ool pinc] 3 SAL12S-RS83/G3  43-10981
Ipin3/mm pin7/mm 8 A 30 2 0,25
1Pin4IT= IPingimm 5 SAL125-RS8:5/G3  43-10982
I I
10 SAL12S-RS810/G3  43-10983
L 2 SAL12S-RS12-2/G3  43-11288
:Pin]}- }Pin7:-
|Pin2/l@ (Ping WM
o e 3 SAL12S-RS12-3/G3  43-11289
lpina/mm lpintomm 12 A 30 15 0,14
IPin5! = [pin 111 5 SAL12S-RS12-5/G3  43-11290
LPin 6! {Pin 12/mm
10 SAL12S-RS12-10/G3 43-11291
TPU, UL, halogenfree, black, LI9YC11Y
2 SAL125-RS4-2/G2  43-10356
TPin 11 mm
tpin2l 3 SAL12S-RS4-3/G2  43-10357
Ipin3|mm 4 A 160 4 0,34
IPin4 | -125-RS4- -
IPin4] 5 SAL-125-RS4-5/G2  43-10358
s 10 SAL125-RS4-10/G2  43-10359
M
12 2 SAL125-RS5.1-2/G2  43-10364
TPin 11mm
iPin 2/ 3 SAL125-RS5.1-3/G2  43-10365
iPin3 - 5 A 60 4 0,25
1Pin4 |
. owia rins 5 SAL-125-RS5.1-5/G2  43-10366
<+ Width across -
| s 10 SAL125-RS5.1-10/G2  43-10367
' 2 SAL-125-RS8-2/G2  43-10984
\ Mn FnTiC [Fins e
R {pin 2l rinc] 3 SAL12S-RS83/G2  43-10985
Pin3mm lpin7mm 8 A 30 2 0,25
1Pin4IT= IPing!mm 5 SAL125-RS8-5/G2  43-10986
10 SAL-125-RS810/G2  43-10987
R 2 SAL12S-RS12-2/G2  43-11292
:Pin]}- }Pin7:-
IPin2/M@ |Ping8 MM
pnale ing mm 3 SAL12S-RS12-3/G2  43-11293
'pina/mm lpiniojmm 12 A 30 15 014
IPinS{= 1pin11/m 5 SAL12S-RS12-5/G2  43-11294
[Pin 6= {Pin 12/
10 SAL125-RS12-10/G2  43-11295

64 CONEC® Technical information starting on page 348



~
. £
& £
9 S < = 8
S Y o ! IS
N S £ S 2
S & 8§ o g2
. S N S v
) > S b = e
S £ ©®T § N S
. S 38 5 8 ¢
PVC, UL, grey, LiYCY Contact assignment = S & O O = Description Part No.
SAL-125-RSWA4-
2 2/G3/A1090 4314852
TPin 1 )mm SAL-125-RSW4-
IPin2|c 3 43-14853
2 . I 034 3/G3/A1090
s 5 SALI2SRSW4- 4314854
B 5/G3/A1090
SAL-125-RSW4-
_ L 10/G3/A1090 4314855
& SAL-12S-RSW5.1-
2 —— 2 2/G3/A1090 4314860
n IPinT1
4 {Pin 2/ 3 SALIZSRSWS.T- 5 1o
a i 3/G3/A1090
Pin3y 5 A 60 4 0,25
pin4!mm g SALI2SRSWS.1- 4314862
L tPin 5 5/G3/A1090
Width across SAL-12S-RSW5.1-
| flats 13 10 10/C3/A1090 43-14863
SAL-125-RSW8-
2 2/G3/A1090 4314868
TPin1]C [Pin5|mm SAL-125-RSWS8-
[Pin2| W |Pin6| 3 3/G3/A1090 4314869
jnsimm (pin7mm R A JERY 2 025 “oAL125-RSWs-
[Pin4!C [Pin 8! M 5 A 43-14870
SAL-125-RSWS-
10 10/G3/A1090 43-14871
TPU, UL, halogenfree, black, LI9YC11Y
SAL-125-RSWA4-
2 2/G2/A1090 4314856
TPin 1 )mm SAL-125-RSWA4-
{Pin2/ NP 3 034 3/G2/A1090 43-14857
5 e s SALI2SRSW4- 4314858
i 5/G2/A1090
SAL-125-RSW4-
LY 10/G2/A1090 4314859
_ SAL-125-RSW5.1-
82 & I 2 2/G2/A1090 4314864
= i::;ig 3 SALT2ZS-ROWS. 1- 43-14865
g {Pin 3| 5 A 60 4 0,25 2/ G2/A1090
s pin4!mm s SALI2SRSWS.1- 4314866
g LPin 5 5/G2/A1090 )
8 Swia) SAL-12S-RSW5.1- _
Wicth across E 10/G2/A1090 4314867
flats 13
4 SAL-125-RSWS8-
2 2/G2/A1090 43-14872
TPin1IC [P mm SAL-125-RSWS-
{Pin2/mm | Pin 6} 3 3/G2/A1090 4314873
'pin3/mm pin7/mm 8 A 30 2 0,25 SALT2S-RSWS-
IPin4l IPing! M -
PRAEE Apd) > 5/G2/A1090 4314874
SAL-125-RSW8-
[ 10/G2/A1090 4314875

Technical information starting on page 348 CONEC® 65



=
_ &
- - & £
g =<3 3
(<} WV o
QU S £ S w
5 £ § & g2
NG ISy = s 8
) [&) = *E - N
T S 8 8 2 ¢
PVC, UL, grey, LiYCY Contact assignment = S & S 8 = pescription Part No.
SAL-125-RK4-RS4-
03 By 43-10812
Fin T - SAL-125-RK4-RS4-
= 4 A 160 4 00 0,34 267G 431081
5 e Pt SAL12S-RK4-RS4-
IPina] 15 15/63 43-10814
SAL-125-RK4-RS4-
3 el 4310815
SAL-125-RK5.1-RS5.1-
— 03 Sy 4310824
IPinT1
inal 96 32L—/1§§-RK5.1-R55.1- 4310825
iPin 3 - 5 A 60 4 025 ¢!
1pin 4/ 15 SALI2S-RKS.1-RS5.1- 01000
IPi | T’
g ;EL/S?; RK5.1-RS5.1
3 263 4310827
SAL-125-RK8-RS8-
03 Ry 4310988
PN [P SAL-125-RK8-RS8-
o fommes Bl 98 foere
s lpinal=  {pin ) 15 ?@L;]ég'RKS'RSS' 43-10990
SAL-125-RK8-RS8-
3 263 4310991
SAL-125-RK12-RS12-
03 43-15284
o {Pn? g:L/lgg RK12-RS12
|Pin2/l@ (Ping WM P P 5 '
Tpin3!C |ping 0,6 ) 43-15285
W21t EP:M- iP::]Oi- 12 A 30 15 014 2fL—lgg-RK12-RS]2-
Fras {Pinst = pin 118 15 5003 43-15286
R SAL125-RK12-RS12
3 263 4315287
TPU, UL, halogenfree, black, LI9YC11Y
SAL-125-RK4-RS4-
03 e 4310820
i SAL125-RK4-RS4-
BE= 4 A 160 4 o0 03406762 10821
| n 1 ! 2 - - -
{Pin 4/ mm 15 ?@L /13 RK4-RS4 43-10822
SAL125-RK4-RS4-
3 s 4310823
SAL-125-RK5.1-RS5.1-
S 03 iy 43-10832
IPinT1
i 96 g;EL-/lég-RKs.l-RsaL 2310833
iPin3 - 5 A 60 4 025
1pin 4 /mm 15 SALTZSRKSI-RSSI- o000
1Pin 5 - '
= ;EL/lgé RK5.1-RS5.1
3 s 4310835
SAL-125-RK8-RS8-
03 ey 43-10992
P [Fnsimm SAL125-RK8-RS8-
IPin 2| M |Pin6)| 0,6 0,6/G2 43-10993
S pin3mm (o7 8 A 300 2 025 "5 AL125 RK8-RS8-
dih across IPin4!/J IPing8!MM 15 43-10994
flats 13 = S U ],5/02
SAL125-RK8-RS8-
3 6o 43-10995
SAL-125-RK12-RS12-
. 03 4315288
(ol frn? - g:L/lgé RK12-RS12
IPin2/M@ |Ping8 MM =125 s =
"pin3't 'Pino 'mmm 0,6 43-15289
s/ pniomm 120 A 3015 014 gfL/gé RK12-RS12
e {PinS| = pin11!m 15 125 RKIZRSTZ 4315290
= e ;':L/lgé RK12-RS12
3 s 43-15031

66 CONEC® Technical information starting on page 348



=
£
& &
g S I = 8
S SRS IS
o S = § R
S S S & 4
5 o & = S 8
S £ ©®- § S
§ S & £ s @
PVC, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
2 SAL-12C-RK2PE-2/A1  43-15297
PE W 3 SAL-12C-RK2PE-3/A1  43-15298
Pin 2 2+PE C 250 4 034
Pin 3 . 5 SAL-12C-RK2PE-5/A1  43-15299
SWi13/
Width across 10 SAL-12C-RK2PE-10/A1  43-15300
flats 13
2 SAL-12C-RK3PE-2/A1  43-15305
Pin 1 3 SAL-12C-RK3PE-3/A1  43-15306
W o1 Pn 2= 34PE C 250 4 034
PE 5 SAL-12C-RK3PE-5/A1  43-15307
10 SAL-12C-RK3PE-10/A1 43-15308
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-12C-RK2PE-2/K1  43-15301
PE W 3 SAL-12C-RK2PE-3 /K1 43-15302
Pin 2 2+PE C 250 4 0,34
Pin 3 H 5 SAL-12C-RK2PE-5/K1  43-15303
SWi13/
Width across 10 SAL-12C-RK2PE-10/K1  43-15304
flats 13
2 SAL-12C-RK3PE-2/K1  43-15309
° P?“: 3 SAL-12C-RK3PE-3 /K1 43-15310
W o i 3+PE C 250 4 034
PE W 5 SAL-12C-RK3PE-5/K1  43-15311
10 SAL-12C-RK3PE-10/K1  43-15312
PVC, grey, LiYY
SAL-12C-RKW2PE-
2 B 43-15313
PE W 3 ;é;]]ZC'RKWZPE' 4315314
Pin 2 2+PE 250 4 4
- 7. pin 3 ‘ BB . 034 " AL12C RKW2PE- 2315315
5/A1
. il SAL-12C-RKW2PE-
— | <
i : 10 o 4315316
SAL-12C-RKW3PE-
\SN\(\éth/ 2 2/A1 43-15321
| across
® flats 13 pin 1 m B ;él;\l]zc-RKWS PE- 4315322
Pin 2 N
! 3+PE C 250 4 0,34
Pin 3 =% SAL12C-RKW3PE-
@11 ;
PE M 5 5 /A7 43-15323
SAL-12C-RKW3PE-
10 e 43-15324
TPU, UL, halogenfree, black, Li9Y11Y
SAL-12C-RKW2PE-
2 e 4315317
27 PE W 3 g’)%zc'RKWZPE' 4315318
I — Pin 2
bin 3 ZPECO20 4 O saacRPE
, e 5/K1
i = SAL-12C-RKW2PE-
poy -
10 o 43-15320
SW 13/ SAL-12C-RKW3PE-
- Width across 2 2/K1 4315325
flats 13 . - . 5
o 3 ;’%ﬁc RIWSPE 4315326
I
@11 Pin 3 I e - B ¢ 0,34 S AL12C-RKW3PE-
PE W 5 43-15327
5/K1
SAL-12C-RKW3PE-
10 i 43-15328

Technical information starting on page 348 CONEC® 67



=
. £
& &
9 S < < 8
S Y o ! IS
o S = § R
S S S & 4
N S S
) > = B = e
S £ ©®- § S
§ S & £ s @
PVC, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
M12x1
: SAL-12C-RS2PE-2/A1  43-15261
3 SAL-12C-RS2PE-3 /A1 43-15262
: B B
B | maneos 2+PE C 250 4 034
y ! Pin 3 W
[ 5 SAL-12C-RS2PE-5/A1  43-15263
| en
T
1
: 10 SAL-12C-RS2PE-10/A1  43-15264
TPU, UL, halogenfree, black, Li9Y11Y
M12x1
2 SAL-12C-RS2PE-2/K1  43-15265
3 SAL-12C-RS2PE-3/K1  43-15266
o SW 14/ PE W
$ Width across ~ Pin 2 Il 2+PE C 250 4 0,34
| flats 14 Pin 3 W
= ey T 5 SAL-12C-RS2PE-5/K1  43-15267
i | ot
T
: 10 SAL-12C-RS2PE-10/K1  43-15268
PVC, grey, LiYY
SAL-12C-RWS2PE-
% % 2 2/A1/A1090 4315269
s
i +
LS SAL-12C-RWS2PE-
A~ -
i " m . 3/A1/A1090 4315270
8o swis/ o Pn2mm 2+4PE C 250 4 034
- fats 13 Fin3 - SAL12C-RWS2PE-
R 5 4315271
| Mm 5/A1/A1090
SAL-12C-RWS2PE-
[ 10/A1/A1090 4315272
TPU, UL, halogenfree, black, Li9Y11Y
SAL-12C-RWS2PE-
w» < 2 2/K1/A1090 4315273
b=
| R SAL12C-RWS2PE-
i Sy v m 3 3/K1/A1090 4315274
@ swias Pin 2 2+PE C 250 4 0,34
© i Pin 3
) ta1s ; SALIZCRWSIPE oo
N 1_ 5/K1/A1090
_| @11
SAL-12C-RWS2PE-
10 10/K1/A1090 4315276

68 CONEC® Technical information starting on page 348



~
R~
& £
9 S < = 8
S v o ! IS
o g 5 § %
N s & = ]
§ o S = 2 8
S £ ©®- § S
§ S & £ s @
PVC, UL, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
2 SAL-7/8-RK2PE-2/A6  41-01000
PE W 3 SAL-7/8-RK2PE-3/A6 41-01001
pin 2 2+PE A 300 8 0,75
Pin 3 5 SAL-7 /8-RK2PE-5/A6 41-01002
526 10 SAL-7 /8-RK2PE-10/A6 41-01003
14,05
2 SAL-7/8-RK4-2/A3  41-01032
E?n;; 3 SAL-7/8-RK4-3/A3  41-01033
n
fol— 4 A 300 8 0,75
3 Pin 4 5 SAL-7/8-RK4-5/A3  41-01034
-, 10 SAL-7/8-RK4-10/A3  41-01035
|“ W St0 2 SAL7/8-RKAPE-2/A3  41-01064
' ‘ Pin 1 I
Pin 2 W 3 SAL-7/8-RK4PE-3/A3  41-01065
PE 4+PE A 300 8 0,75
Pin 4 I 5 SAL-7/8-RK4PE-5/A3 41-01066
Pin 5]
10 SAL-7 /8-RK4PE-10/A3 41-01067
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
326
01405 2 SAL-7/8-RK2PE-2/KO  41-01004
,
3 SAL-7 /8-RK2PE-3/KO  41-01005
-3 PE M
Pin 2 I 2+PE A 300 8 0,75
- Pin 3
® | 5 SAL-7/8-RK2PE-5/K0  41-01006
[T Lew
10 SAL-7 /8-RK2PE-10/KO 41-01007
TPU, UL, halogenfree, black, Li9Y11Y
026 2 SAL-7/8-RK4-2/K1  41-01036
::;; 3 SAL-7/8-RK4-3/K1  41-01037
g 4 A 300 8 0,75
Pin 4 HE 5 SAL-7/8-RK4-5/K1  41-01038
* 10 SAL-7/8-RK4-10/K1  41-01039
nan 2 SAL-7 /8-RK4PE-2/K1  41-01068
i Pin 1
| WW Pin 2 3 SAL-7 /8-RK4PE-3/K1  41-01069
} - PE M 4+PE A 300 8 0,75
Pin 4 5 SAL-7/8-RK4PE-5/K1  41-01070
Pin 5]
10 SAL-7 /8-RK4PE-10/K1 41-01071

Technical information starting on page 348

SONEC® 69




~
—_ g
- & =
g S < - 8
S v o IS
o S = § R
S S S & 9
5 o & = S 8
S £ ©®- § S
s fl§oe
PVC, UL, grey, LiYY Contact assignment = S & 3 S8 = Description Part No.
SAL-7/8-RK2PE-2/
2 A6/150 41-01097
SAL-7/8-RK2PE-3/
PE W 3 A6/150 41-01098
Pin 2 2+PE A 300 10 1,5
bin 3 . SAL7/BRK2PES/ 1 oo
A6/150
SAL-7 /8-RK2PE-10/
10 A6/150 41-01100
SAL-7/8-RK4-2/
26 2 A3/150 41-01129
514,05 [S— 3 SAL-7/8-RK4-3/ 41-01130
: Pin 20 N B 15 AY150
m Pin 3 = s SAL7/8RK4S5/ 4101131
HMMHW Pin 4 -t A3/150
A SAL-7/8-RK4-10/
3 10 Aé/'ISO 41-01132
SAL-7/8-RK4PE-2 /
; . 2 A3/150 41-01161
Pin 1 7/8- o
£, ©E | g
e GRFE A SO0 10 ; 15 T SAL7/8RKAPES/ MOT163
Pin 5 A3/150
SAL-7 /8-RK4PE-10/
10 A3/150 41-01164
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7/8-RK2PE-2 /
2 K0/150 41-01101
SAL-7/8-RK2PE-3/
3 K0/150 41-01102
PE W
Pin 2 Wl 2+PE A 300 10 1,5
Pin 3 I
SAL-7/8-RK2PE-5/
5 K0/150 41-01103
SAL-7 /8-RK2PE-10/
10 K0/150 41-01104
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7/8-RK4-2/
2 K1/150 41-01133
pin 1 3 SAL7/8-RK4-3/ 410134
Pin 2] 4 A 300 10 15 K1/150
I i 5 [SACUBRGSAN | 3
AL K1/150
SAL-7/8-RK4-10/
3 10 K1/150 41-01136
SAL-7/8-RK4PE-2 /
o - 2 K1,/150 41-01165
N Pin 1 N SAL-7 /8-RK4PE-3 /
| 1 g19 Pin 2 =t 3 K1/150 41-01166
PE M
Pin 4 B B 5 15 T SAL7/8RK4PES/ 2101167
Pin 5 K1/150
SAL-7 /8-RK4PE-10/
10 K1/150 41-01168

70 CONEC® Technical information starting on page 348



~
—_ g
- & =
g S < - 8
S v o IS
o g = § %
S s S £ 4
] > S b 2 IS
S £ ©wW § = S
E 5 & £ 5
PVC, UL, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
SAL-7 /8-RK2PE-2/
2 A6/250 41-01628
226
. T
Pin 2 2+PE A 300 16 25
T Pin 3 m 5 SAL-7/8-RK2PE-5/ 41-01630
A6/250
SAL-7 /8-RK2PE-10/
s 10 A6/250 41-01631
SAL-7 /8-RK4PE-2 /
. . 2 A6/250 41-01660
Pin 1 mm -7/8- :
. nE A e
| ‘ ™
Fin WPEA 30016 25 oAy g RkaeS) o
Pin 51 A6/250
SAL-7 /8-RK4PE-10/
10 A6/250 41-01663
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7 /8-RK2PE-2/
2 K0/250 41-01632
SAL-7 /8-RK2PE-3/
PE m 3 K0/250 41-01633
Pin 2 2+PE A 300 16 25
‘ Pin 3 m 5 SAL-7/8-RK2PE-5/ 41-01634
K0/ 250
SAL-7 /8-RK2PE-10/
10 K0/250 41-01635
SAL-7/8-RK4PE-2/
2 K0/250 41-01664
Pin 1 HE SAL-7 /8-RK4PE-3/
i > mm 3 00,260 4101665
PE W
P dfRE A 800} 16 . 25 T GAL7/8-RKAPES 101666
Pin 5] K0/ 250
SAL-7 /8-RK4PE-10/
10 K0/250 41-01667

Technical information starting on page 348 CONEC® 71



=~
—_ g
- &£ £
g S < = 8
S v o ! 3
o g = § %
S = BN - 2
S > S b = e
S £ ©wW § = S
. K HE
PVC, UL, grey, LiYY Contact assignment = S & O O = Description Part No.
SAL-7 /8-RKW2PE-
2 2/A6 41-01016
Eom 3 g’)%/ SRAWZPE 11 01017
Pin 2
. bin 3 B B . 075 L7 /8-RKW2PE- 2101018
5/A6
— SAL-7 / 8-RKW2PE-
T 10 10/A6 41-01019
o ¢ SAL-7 /8-RKW4-
% ] 2 2/A3 41-01048
P - 3 3’)5\;/ BRIwa- 41-01049
© n
B L Pin 3 N - B G 075 =S A17/8-RKWa-
| W g9 Pin 4 W 5 5/A3 41-01050
SAL-7 / 8-RKW4-
10 10/A3 41-01051
SAL-7 / 8-RKW4PE-
2 2/A3 41-01080
Pin 1 I 7/8- 3
P:: 2 3 36;;/8 RIWA4PE 41-01081
PE M 4+PE A 300 8 0,75
i . SAL7/8-RKWAPE- . oo,
Pin 5 5/A3
SAL-7 / 8-RKW4PE-
10 10/A3 41-01083
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7 /8-RKW2PE-
2 2/K0 41-01020
SAL-7 / 8-RKW2PE-
3 3/K0 41-01021
PE M
Pin 2 I 2+PE A 300 8 0,75
Pin 3 I
SAL-7 /8-RKW2PE-
5 5/K0 41-01022
SAL-7 / 8-RKW2PE-
10 10/K0 41-01023
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7 / 8-RKW4-
2 2/K1 41-01052
= 3 o3
i 4 A 300 8 0,75 a s o
! SAL-7 / 8-RKW4-
Pin 4 M 5 5 /K] 41-01054
SAL-7 / 8-RKW4-
10 10/K1 41-01055
SAL-7 / 8-RKW4PE-
2 2/K1 41-01084
Pin 1 SAL-7 / 8-RKW4PE-
Pin 2 3 3/K1 41-01085
PE M 4+PE A 300 8 0,75
Pin 4 5 SAL-7 / 8-RKW4PE- 41-01086
Pin 5] 5/K1
SAL-7 / 8-RKW4PE-
10 10/K1 41-01087

72 CONEC® Technical information starting on page 348



=
R~
& &
g = < - §
S v o | IS
o g = § %
S s S | s 2
5 o & = S 8
S £ ©wW § = S
§ S & £ s @
PVC, UL, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
SAL-7 /8-RKW2PE-
2 B 4101113
- o W
i N * B 0 15 AL /8- RKW2PE-
. Pin 3 5 R 41-01115
— SAL-7 /8-RKW2PE-
T 10 oG 50 4101116
ke SAL-7 / 8-RKW4-
! 7 2 SR 41-01145
- SAL-7 /8-RKW4-
Pin 1 -
o Pin 2] o W B 3 15 3/A3/150 41-01146
- T Pin 3 " SAL-7/8-RKWA4-
T | o Pin 4 5 a0 a1-0m47
SAL-7 /8-RKW4-
10 P 41-01148
SAL-7 /8-RKWA4PE-
2 AT 4101177
Pin 1 HE o H o
o 3 3%;//? SR(;(W“PE 4101178
PE W 4+PE A 300 10 15
pin 4 5 SAL7/8RKWAPE- . o000
Pin 51 5/A3/150
SAL-7 /8-RKWA4PE-
10 10 41-01180
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7 /8-RKW2PE-
» 2 A T5 4101117
SAL-7 /8-RKW2PE-
3 S 4101118
PE W
Pin 2 W 2+PE A 300 10 15
Pin 3
N SAL-7 /8-RKW2PE-
A > 5/K0/150 41-0119
SAL-7 /8-RKW2PE-
10 60 41-01120
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7 /8-RKW4-
2 EyP 41-01149
- SAL-7 /8-RKW4-
Pin 1 I N
Pin 23] N " 3 15 _3/K1/150 41-01150
Pin 3 ! - H -
Pin 4 HE 5 SALT/8RKWA 41-01151
5/K1/150
SAL-7 /8-RKW4-
10 6% G 41-01152
SAL-7 /8-RKWA4PE-
2 /150 41-01181
Pin 1 N - H .
- o
PE M 4+PE A 300 10 1,5 SAL7/8-RKWAPE
Pin 4 W 5 e T 4101183
Pin 5 ] 5/K1/150
SAL-7 /8-RKWA4PE-
10 o G 41-01184

Technical information starting on page 348 CONEC® 73



~
—_ g
- &£ £
g = < - §
S v o ! 3
o g = § %
S s S | s 2
5 o & = S 8
S £ ©wW § = S
. S R
PVC, UL, grey, LiYY Contact assignment = S & O O = Description Part No.
SAL-7 /8-RKW2PE-
a 2 2/A6/250 41-01644
SAL-7 / 8-RKW2PE-
— PE W 3 41-01645
Pin 2 2+PE A 300 16 2,5 G20
Pin 3 5 R 1101646
5/A6/250
SAL-7 / 8-RKW2PE-
10 10/A6/250 41-01647
SAL-7 /8-RKWA4PE-
|k 2 2/A6/250 41-01676
Pin 1 I SAL-7 / 8-RKW4PE-
F;iEn ’ l- 4+PE A 300 16 ’ 25 3/A6/250 Hroter
Pin 4 m 5 ' SAL-7 / 8-RKW4PE- 4101678
Pin 53 5/A6/250
SAL-7 / 8-RKW4PE-
10 10/A6/250 41-01679
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7 / 8-RKW2PE-
) 2 2/K0/250 41-01648
SAL-7 / 8-RKW2PE-
I PE M 3 41-01649
Pin 2 2+PE A 300 16 2,5 S0
<le Pin 3 H 5 SAL7/8RKW2PE- . oo
o 5/K0/250
g ] SAL-7 /8-RKW2PE-
10 10/K0/250 41-01651
o SAL-7 /8-RKWA4PE-
|n W B 2 2/K0/250 41-01680
Pin 1 SAL-7 / 8-RKW4PE-
Pin 2 W 3 3/K0/250 41-01681
PE W 4+PE A 300 16 25
Pin 4 5 SAL-7 / 8-RKW4PE- 41-01682
Pin 5[] 5/K0/250
SAL-7 / 8-RKW4PE-
10 10/K0/250 41-01683

74 CONEC® Technical information starting on page 348



~
. £
- - & &
8 = < & S
S Y > s}
o g 5 § %
S = BN - 2
S > S b = e
S £ ©®- § S
§ S & £ s @
PVC, UL, grey, LiYY Contactassignment = S & S 8 =X pescription Part No.
2 SAL-7/8-RS2PE-2/A6  41-01008
P om 3 SAL-7/8-RS2PE-3/A6  41-01009
pin 2 2+PE A 300 8 0,75
o Pin 3 I 5 SAL-7 /8-RS2PE-5/A6  41-01010
26
7/8" - 16UN | 10 SAL-7 /8-RS2PE-10/A6 41-01011
|
\_HHWH 2 SAL-7/8-RS4-2/A3  41-01040
" E?n;; 3 SAL-7/8-RS4-3/A3 41-01041
[T} 3 n
© 5 hip— 4 A 300 8 0,75
Pin 4 5 SAL-7/8-RS4-5/A3  41-01042
)
L)
L 10 SAL-7/8-RS4-10/A3  41-01043
[T e
' ' 2 SAL-7 /8-RS4PE-2/A3  41-01072
Pin 1 HH
Pin 2 3 SAL-7/8-RS4PE-3/A3  41-01073
PE 4+PE A 300 8 0,75
Pin 4 5 SAL-7 /8-RS4PE-5/A3  41-01074
Pin 5]
10 SAL-7/8-RS4PE-10/A3 41-01075
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
a26
78"~ 16UN || : 2 SAL-7/8-RS2PE-2/KO  41-01012
3 SAL-7 /8-RS2PE-3/KO  41-01013
8 PE W
Pin 2 2+PE A 300 8 0,75
Pin 3
)
© 5 SAL-7/8-RS2PE-5/KO  41-01014
10 SAL-7 /8-RS2PE-10/KO 41-01015
TPU, UL, halogenfree, black, Li9Y11Y
o6 2 SAL-7 /8-RS4-2 /K1 41-01044
7/8" - 16UN :
E;:;; 3 SAL-7/8-RS4-3/K1 41-01045
g 4 A 300 8 0,75
| Pin 4 HE 5 SAL-7 /8-RS4-5 /K1 41-01046
- 10 SAL-7/8-RS4-10/K1  41-01047
e}
| 2 SAL-7 /8-RS4PE-2/K1  41-01076
@ Pin 1
X 1 Pin 2 H 3 SAL-7 /8-RS4PE-3/K1  41-01077
| gio PEm 4+PE A 300 8 075
Pin 4 il 5 SAL-7/8-RS4PE-5/K1  41-01078
Pin 5]
10 SAL-7 /8-RS4PE-10/K1 41-01079

Technical information starting on page 348 CONEC® 75



b
—_ £
- & =
g S < - 8
S v o IS
o g = § %
S = BN - 2
] > S b 2 IS
S £ ©wW § = S
§ S & £ s @
PVC, UL, grey, LiYY Contactassignment = S & S 8 = Dpescription Part No.
SAL-7/8-RS2PE-
2 2/A6/150 410105
: | SUESE o
226 Pin 2 2+PE A 300 10 1,5
7/8" - 16UN | ] Pin 3 W 5 SAL-7 / 8-RS2PE- 4101107
5/A6/150
| SAL-7 /8-RS2PE-
10 10/A6/150 41-01108
SAL-7/8-RS4-
9 2 2/A3/150 41-01137
; SAL-7 /8-RS4-
Pin 1 -
e Pin 2 4 A 300 10 ’ 15 o/A3/150 i
L Pin 3 s | SAL7/BRS4- 4101139
| 1 #19 Pin 4 . 5/A3/150 )
' SAL-7/8-RS4-
10 10/A3/150 41-01140
! SAL-7 / 8-RS4PE-
2 2/A3/150 41-01169
Pin 1 N -7/8- E
- 3 SR
PE M 4+PE A 300 10 1,5
Pin 4 m 5 SAL-7 / 8-RS4PE- 41-01171
Pin 5 5/A3/150
SAL-7 / 8-RS4PE-
10 10/A3/150 41-01172
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7/8-RS2PE-
@26 2 41-01109
8 16UN 2/K0/150
\ |
T SAL-7/8-RS2PE-
\\\\lWM|\\\\ 3 S KOs 150 41-01110
- PE W
o Pin 2 Wl 2+PE A 300 10 1,5
Pin 3 I
. - SAL-7 /8-RS2PE-
] 5 5/K0/150 41-01111
‘ w @19
SAL-7 /8-RS2PE-
10 10/K0/150 41-01112
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7/8-RS4-
2 41-01141
226 2/K1/150
7 - 160N | . pin 1 m B SAL-7/8-RS4- 4101142
Pin2[J 4 A 300 10 15 3/K1/150
i Pin 3 5 ! SAL-7/8-RS4- 41-01143
Pin 4 5/K1/150
SAL-7/8-RS4-
o 10 10/K1/150 41-01144
SAL-7/8-RS4PE-
o 2 2/K1/150 aroms
Pin 1 W 7/8- A
- s SRESE aom
| 219 PEm 4+PE A 300 10 15
Pin 4 W 5 SAL-7 /8-RS4PE- 41-01175
Pin 5] 5/K1/150
| SAL-7 / 8-RS4PE-
i 10 10/K1/150 41-01176

76 CONEC® Technical information starting on page 348



~
—_ g
- & =
g = < - §
S v o ! 3
< g 5 § %
S = BN - 2
] > S b 2 IS
|2 £ v § & O
. S R
PVC, UL, grey, LiYY Contact assignment = S & O O = Description Part No.
SAL-7/8-RS2PE-
226 2 2/A6/250 41-01636
7/8" - 16UN SAL-7 /8-RS2PE-
[ f PE W 3 41-01637
i Pin 2 2+PE A 300 16 25 SUNGI2
Pin 3 B 5 SAL-7/8-RS2PE- 4101638
5/A6/250
SAL-7/8-RS2PE-
9 10 10/A6/250 41-01639
SAL-7/8-RS4PE-
® 2 2/A6/250 41-01668
N Pin 1 SAL-7 / 8-RS4PE-
EHEED Pin 2 3 S A6s250 41-01669
! e WPEA 00T 28 ToaypReare
| Pin 5 5/A6/250
SAL-7 /8-RS4PE-
10 10/A6/250 41-01671
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7/8-RS2PE-
226 2 2/K0/250 41-01640
7/8" - 16UN SAL-7 /8-RS2PE-
PE W 3 41-01641
i Pin 2 2+PE A 300 16 25 SN2
Pin 3 B SAL-7/8-RS2PE-
5 41-01642
5/K0/250
SAL-7 /8-RS2PE-
9 10 10/K0/250 41-01643
SAL-7/8-RS4PE-
- 2 2/K0/250 41-01672
K Pin 1 SAL-7 / 8-RS4PE-
| W B19 Pin 2 mm 3 3/K0/250 41-01673
PE M
! Fin 4w BN~ B ' s 25 " SAL7/8-RS4PE- 01674
: Pin’5 ) 5/K0/250
SAL-7 / 8-RS4PE-
10 10/K0/250 41-01675

Technical information starting on page 348 CONEC® 77



~
— g
- & =
8 S < o §
S v o IS
o g = § %
S S & £ 37
S [&) = = <2 e
S £ 3§ § « O
: H H E
PVC, UL, grey, LiYY Contact assignment = O & O O =  Description Part No.
SAL-7 /8-RSW2PE-
2/A6 41-01024
Eom 3 g’)%/ BROW2PE 4101025
Pin 2 I 2+PE A 300 8 0,75
Pin 3 H 5 SAL7/8RSW2PE- . o o
42 5/A6
SAL-7 / 8-RSW2PE-
— e 10 10/A6 41-01027
L@ SAL-7 /8-RSW4-
5 2 2/A3 41-01056
. : rin 3 3’3%/ LSS 4101057
b n
. Pin 3 B K 075 " saL7/8-RsWa-
, 1 Pin 4 HE 5 5/A3 41-01058
| #19 SAL7 /8-RSW4-
10 10/A3 41-01059
SAL-7 /8-RSW4PE-
2 2/A3 41-01088
Pin 1 N 5 N o
P:: 2m. 3 gél;é/s RSWA4PE 41-01089
PE M 4+PE A 300 8 0,75
i 4 . SAL7/BRSWAPE- . o000
Pin 5 5/A3
SAL-7 /8-RSW4PE-
10 10/A3 41-01091
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7 /8-RSW2PE-
42 2 2/K0 41-01028
SAL-7 / 8-RSW2PE-
3 3/K0 41-01029
PE W
Pin 2 I 2+PE A 300 8 0,75
© Pin 3 I
SAL-7 /8-RSW2PE-
5 5/K0 41-01030
SAL-7 / 8-RSW2PE-
10 10/K0 41-01031
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7 /8-RSW4-
" 2 2/K1 41-01060
- o m S0
E Pin 3 B 075 L7 /8RWa-
T Pin 4 5 5 /K] 41-01062
R SAL7/8-RSW4-
: 10 sk 4101063
- SAL-7 /8-RSW4PE-
| 2 2/K1 41-01092
Pin 1 N 7/8- 2
T Lo Pin 2 mm 3 SRTETWARE 410103
PE M 4+PE A 300 8 0,75
Pin 4 5 SAL-7 /8-RSWA4PE- 41-01094
Pin 5] 5/K1
SAL-7 /8-RSW4PE-
10 10/K1 41-01095

78 CONEC® Technical information starting on page 348




~
— g
- & =
9 S < - 85
S o o ! IS
o g = § %
S S S £ 9
§ o = & 2 8
|2 £ 3§ 5§ ~ O
: H H E
PVC, UL, grey, LiYY Contact assignment = O & O O = Description Part No.
SAL-7 /8-RSW2PE-
2/A6/150 Ar-om2i
SAL-7 /8-RSW2PE-
rr:iEnz.- 2+PE A 300 10 ’ 1,5 UGS Aoz
Pin 3 H "~ SAL-7/8-RSW2PE-
5 41-01123
P 5/A6/150
SAL-7 /8-RSW2PE-
o = 10 10/A6/150 41-01124
3 SAL-7 /8-RSW4-
@ 2 2/A3/150 41-01153
™~ : SAL-7/ 8-RSW4-
Pin 1 N
3 % e 4 A 300 10 ’ 15 S/AS/150 o
- P?n El o 5 " SAL-7/8-RSW4- 41-01155
, | 1 Pin 4 -t 5/A3/150
SAL-7 / 8-RSW4-
@?19 -
\ 10 A 4101156
SAL-7 / 8-RSW4PE-
2 2/A3/150 41-01185
Pin 1 N SAL-7 / 8-RSW4PE-
rF:iEnzl- 4+PE A 300 10 ’ 15 3/A3/150 Hronee
pin 4 s SAL7/8RSWAPE. 4101187
Pin 53 5/A3/150
SAL-7 / 8-RSW4PE-
10 10/A3/150 41-01188
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7 /8-RSW2PE-
42 2 2/K0/150 41-01125
SAL-7 /8-RSW2PE-
3 3/K0/150 41-01126
PE W
Pin 2 2+PE A 300 10 15
© Pin 3
SAL-7 /8-RSW2PE-
5 5/K0/150 41-01127
SAL-7 /8-RSW2PE-
10 10/K0/150 41-01128
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7/8-RSW4-
. 2 2/K1/150 41-01157
; SAL-7 / 8-RSW4-
Pin 1 N
— y Pin2[J 4 A 300 10 . 15 3/K1/150 41-01158
§ Pin 3 5 '~ SAL-7/8-RSW4- 4101159
- Fin 4 . 5/K1/150
(S SAL-7/8-RSW4-
% 10 10/K1/150 41-01160
SAL-7 /8-RSWAPE-
- 2 2/K1/150 41-01189
N Pin 1 SAL-7 / 8-RSW4PE-
| 1 @19 Pin 2 m 3 3/K1/150 41-01190
PE W
Pin 4 m B " B ° 5 13 SAL-7 / 8-RSW4PE- 41-01191
Pin 5] 5/K1/150
SAL-7 / 8-RSW4PE-
10 10/K1/150 41-01192

Technical information starting on page 348 CONEC® 79



~
— g
- & =
9 S < - 85
S o o ! 3
o g = § %
S il S = 2
] > > b <2 IS
S £ © § N S
E 5 & £ 8§ 8
PVC, UL, grey, LiYY Contact assignment = S & S 8 = Description Part No.
SAL-7 /8-RSW2PE-
2/A6/250 41-01652
- W
Pin 2 2+PE A 300 16 25
Pin 3 B 5 SAL7/8RSW2PE- . o,
5/A6/250
SAL-7 /8-RSW2PE-
10 10/A6/250 41-01655
SAL-7 /8-RSWAPE-
2 2/A6/250 41-01684
Pin 1 7/8- 3
g s S
PE M 4+PE A 300 16 2,5
Pin 4 m 5 SAL-7 / 8-RSW4PE- 41-01686
Pin 53 5/A6/250
SAL-7 /8-RSW4PE-
10 10/A6/250 41-01687
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7/8-RSW2PE-
2 2/K0/250 41-01656
- W
Pin 2 Wl 2+PE A 300 16 2,5
Pin 3 W 5 SAL-7 /8-RSW2PE- 41-01658
5/K0/250
SAL-7 /8-RSW2PE-
10 10/K0/250 41-01659
SAL-7 / 8-RSW4PE-
2 2/K0/250 41-01688
Pin 1 W -7/8- -
e s D o
PE W 4+PE A 300 16 2,5 SAL7/8-RSWAPE
Pin 4 5 g - 41-01690
Pin 5[] 5/K0/250
SAL-7 / 8-RSW4PE-
10 10/K0/250 41-01691

80 CONC® Technical information starting on page 348




~
— =
- E £
¢ S < o §
S v o s}
o g = § %
S i S B 2
S [&) = + < N
S £ ©wW § &~ S
‘K H E
PVC, UL, grey, LiYY Contact assignment = S & G 8 = Description Part No.
SAL-7 /8-RK2PE-
e RS2PE-0,6/A6 41-01193
SAL-7 /8-RK2PE-
PE = ! RS2PE-1/A6 41-01194
2o N B 075 G AL-7/8-RK2PE
Pin 3 15 e i 41-01195
RS2PE-1,5/A6
SAL-7 /8-RK2PE-
2 RS2PE-2/A6 41-01196
SAL-7 /8-RK4-
06 RS4-0.6/A3 41-01209
pin 1 1 SR 41-01210
Pin 21 RS4-1/A3
Pin 3 N~ B ¢ 075 = sp17/8-RKA-
Pin 4 1,5 Ry 41-01211
SAL-7 /8-RK4-
‘ ‘ 2 Ea 41-01212
7/8" - 16UN
SAL-7 /8-RK4PE-
26 -
e RS4PE-0,6/A3 41-01225
Pin 1 SAL-7 /8-RK4PE-
Pin 2 ! RS4PE-1/A3 41-01226
e S R <010 B 0.75 17 /8-RKAPE
Pin 4 - - . N
Pin 5 15 RS4PE-1,5/A3 41-01227
SAL-7 /8-RK4PE-
2 RS4PE-2/A3 41-01228
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7 /8-RK2PE-
e RS2PE-0,6/KO 41-01197
; SAL-7/8-RK2PE-
! RS2PE-1/KO 41-01198
PE W
Pin 2 W 2+PE A 300 8 075
o Pin 3
SAL-7 /8-RK2PE-
. 15 RS2PE-1,5/KO0 4101199
SAL-7 /8-RK2PE-
710 2 RS2PE-2/KO 4101200
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7 /8-RK4-
06 RS4-0.6/K] 41-01213
pin 1 : SAL-7 /8-RK4- 4101214
Pin 2 RS4-1/K1
Pin 3 I N " B G 075 A7 /8RKA-
Pin 4 W 1,5 4101215
RS4-1,5/K1
SAL-7/8-RK4-
2 B 41-01216
SAL-7 / 8-RK4PE-
g RS4PE-0,6/K1 4101229
Pin 1 m SAL-7 /8-RK4PE-
Pin 2 = ! RS4PE-1/K1 41:01230
PE M 4+PE A 300 8 0,75 SAL7/8-RKAPE-
Pin 4 15 41-01231
Pin 5] RS4PE-1,5/K1
7 veun| | SAL-7 /8-RK4PE-
o2 2 RS4PE-2/K1 4101232

Technical information starting on page 348 CONEC® 81



b
— g
- & =
9 S < - 85
> ) S 3
o g 5 § 2
S S S £ 9
5 o S = S 8
S £ ©v § & O
. B H E
PVC, UL, grey, LiYY Contact assignment = O & O O =  Description Part No.
SAL-7/8-RK2PE-
ue RS2PE-0,6/A6/150 41-01241
SAL-7/8-RK2PE-
Eom 1 41-01242
pin 2 E 2+PE A 300 10 15 RS2PE-1/A6/150
pin 3 - SAL-7/8-RK2PE- 41.01243
! RS2PE-1,5/A6/150
SAL-7/8-RK2PE-
i 2 Rs2PE-2/A6/150 4101244
1 SAL-7/8-RK4-RS4-
0,6 06/A3/150 41-01257
. L pin 1 | SAL-7/8-RK4-RS4- 4101258
)R Pin 2] N 15 1/A3/150
/ Pin 3 M '™ SAL-7/8-RK4-RS4-
j Pin 4 W 15 e 41-01259
'] SAL-7/8-RK4-RS4-
. :[ 2 2/A3/150 41-01260
‘ SAL-7/8-RK4PE-RS4PE-
2 ( e 0,6/A3/150 101273
Pin 1 SAL-7/8-RK4PE-RS4PE-
Pin 2 m 1 1/A3/150 41-01274
PE M 4+PE A 300 10 1,5
oo v | \ i o SAL7B-RKAPERSAPE- .\ o
o2 Pin5 ! 1,5/A3/150
SAL-7/8-RK4PE-RS4PE-
2 2/A3/150 41-01276
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7/8-RK2PE-RS2PE-
06 0,6/K0/150 41-01245
| TGRS
PE W
Pin 2 Il 2+PE A 300 10 1,5
Pin 3 I
15 ?@L;g'ffgg ERSPE 41.01247
SAL-7/8-RK2PE-RS2PE-
7 1oun | \ 2 2/K0/150 41-01248
26
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7/8-RK4-RS4-
0,6 0,6/K1/150 41-01261
; SAL-7/8-RK4-
Pin 1 N
Pin 21 4 A 300 10 J 15 RS4-1/K1/150 41-01262
Pin 3 " SAL-7/8-RK4-RS4-
Pin 4 HE 1,5 e 41-01263
SAL-7/8-RK4-RS4-
2 2/K1/150 41-01264
SAL-7/8-RK4PE-RS4PE-
0,6 06/K1/150 41-01277
Pin 1 N SAL-7/8-RK4PE-RS4PE-
Pin 2 N 1 1/K1/150 41-01278
PE W 4+PE A 300 10 1,5
Pin 4 I e SAL7B-RKAPERSAPE- . o
‘ ‘ Pin 5] ! 1,5/K1/150
718" - 16UN SAL-7/8-RK4PE-RS4PE-
226 2 2/K1/150 41-01280

82 CONC° Technical information starting on page 348




~
— g
- & =
Q S < - 8§
S o o ! 3
S § 5§ 8
S S S £ 9
§ & & = S 8
S £ ©v § & S
. S 308 S8 ¢
PVC, UL, grey, LiYY Contact assignment = O & O O = Description Part No.
SAL-7/8-RK2PE-RS2PE-
0,6 0,6/A6/250 41-01692
SAL-7/8-RK2PE-RS2PE-
PE W 1 1/A6/250 41-01693
Pin 2 2¢PE A 300 16 25
pin 3w 15 SAL7B-RK2PERS2PE- \, 1o
! 1,5/A6/250
SAL-7/8-RK2PE-RS2PE-
2 2/A6/250 41-01695
SAL-7/8-RK4PE-RS4PE-
0,6 0,6/A6/250 41-01708
Pin 1 I SAL-7/8-RK4PE-RS4PE-
Pin 2 W 1 1/A6/250 41-01709
i N A B ' s 25 " SAL7B-RKAPE-RSAPE- 2101710
| | Pin 5 1 0 1,5/A6/250
718" - 16UN SAL-7/8-RK4PE-RS4PE-
oz 2 2/A6/250 Ao
TPU, UL, halogenfree, highflexible, black, Li9Y11Y
SAL-7/8-RK2PE-RS2PE-
0,6 0,6/K0/250 41-01696
SAL-7/8-RK2PE-RS2PE-
PE W 1 1/K0/250 41-01697
Pin 2 Wl 2+PE A 300 16 2,5
5 pin 3 m 15 SAL7B-RK2PERS2PE- \, 100
! 1,5/K0/250
SAL-7/8-RK2PE-RS2PE-
2 2/K0/250 41-01699
o SAL-7/8-RK4PE-RS4PE-
e 0,6/K0/250 At-o1712
Pin 1 HE SAL-7/8-RK4PE-RS4PE-
3 Pin 2 M 1 1/K0/250 41-01713
PE W 4+PE A 300 16 2,5
Pin 4 W 15 SAL-7/8-RK4PE-RS4PE- 2101714
Pin 5] ! 1,5/K0/250
718" - 16UN SAL-7/8-RK4PE-RS4PE-
2 2/K0/250 41-01715

Technical information starting on page 348 CONEC® 83



~
— =
- E £
g S < o §
S v o s}
o g = § %
S il S = 2
S [&) = + < N
S £ ©wW § & S
‘K H E
PVC, UL, grey, LiYY Contactassignment = S & G S = Description Part No.
SAL-7/8-RKW2PE-
ol RS2PE-0,6/A6 41-01201
o e o
Pin 2 2+PE A 300 8 0,75
Pin 3 H o SAL-7/8-RKW2PE- 4101203
! RS2PE-1,5/A6
SAL-7/8-RKW2PE-
2 RS2PE-2/A6 41-01204
SAL-7/8-RKW4-
06 RS4.0,6/A3 41-01217
P?n; ; i /52;-7/8-RKW4-RS4-1 4101218
= N~ B ¢ 075 oA L78-RKWA-
Pin 4 HI 15 RS4-1,5/A3 41-01219
SAL-7/8-RKW4-RS4-2
2 e 41-01220
SAL-7/8-RKW4PE-
06 RS4PE-0,6/A3 41701233
L Pin 1 SAL-7/8-RKW4PE-
U Pin 2 I 1 RS4PE-1/A3 41-01234
— e e * B © 0.75 G AL78-RKWAPE
Pin 4 - 1707 . N
716Nl || Pin 51 = RS4PE-1,5/A3 41-01235
226
SAL-7/8-RKW4PE-
2 RS4PE-2/A3 41-01236
SAL-7/8-RKW2PE-
e RS2PE-0,6/KO 41-01205
SAL-7/8-RKW2PE-
! RS2PE-1/KO 41-01206
PE W
Pin 2 W 2+PE A 300 8 0,75
Pin 3
SAL-7/8-RKW2PE-
115 RS2PE-1,5/K0 41-01207
LI
SAL-7/8-RKW2PE-
LT | S 2 RS2PE-2/KO 4101208
TPU, UL, halogenfree, black, Li9Y11Y
a1 SAL-7/8-RKW4-
06 RS4-0,6/K] 4101221
En ; ; | /SQ:.—7B-RKW4-RS4-1 4101222
= N " B 8 075 AL 7B-RKWA-
Pin 4 W 1,5 4101223
RS4-1,5/K1
5 SAL7BRKWA-RS4-2 . oo,
/K1
SAL-7/8-RKW4PE-
e RS4PE-0,6/K1 41-01237
Pin 1 N -7/8- b
H“’ g | RERNE s
PE M 4+PE A 300 8 0,75
Pin 4 15 SAL-7/8-RKW4PE- 41-01239
Pin 5] ' RS4PE-1,5/K1
N SAL-7/8-RKW4PE-
o6 2 R 41-01240

84 CONEC® Technical information starting on page 348




~
— =
& £
g = <~ 8
S o o ! IS
o g 5 § 2
S S S £ 9
§ o = & 2 8
S £ ©v § & S
. H H E
PVC, UL, grey, LiYY Contact assignment = O & O O = Description Part No.
SAL-7 /8-RKW2PE-
e RS2PE-0,6/A6/150 41-01249
SAL-7 /8-RKW2PE-
PE M 1 41-01250
el e w0 s DA
Pin 3 -/ /6 2 X
15 RS2PE-1,5/A6/ 150 41-01251
SAL-7 /8-RKW2PE-
2 RS2PE-2/A6/150 101252
SAL-7 / 8-RKW4-
e RS4-0,6/A3/150 41-01265
- SAL-7 / 8-RKW4-
Pin 1 E
Pin 2 ! RS4-1/A3/150 41-01266
Pin s 4 A 300 10 15
Pin 4 . L2 RS4-1,5/A3/150 41-01267
SAL-7 / 8-RKW4-
2 RS4-2/A3/150 41-01268
SAL-7 / 8-RKWAPE-
e RS4PE-0,6/A3/150 41-01281
Pin 1 I SAL-7 /8-RKW4PE-
Pin 2 ! RS4PE-1/A3/150 41-01282
o= e~ B 10 15 " SAL7/8-RKWAPE
2o | ‘ Pin 4 15 i . 4101283
o2 Pin 51 RS4PE-1,5/A3/150
SAL-7 /8-RKWAPE-
2 RS4PE-2/A3/150 41-01284
SAL-7 /8-RKW2PE-
Uls RS2PE-0,6/K0/150 41701253
SAL-7 /8-RKW2PE-
! RS2PE-1/K0/150 41-01254
PE W
Pin 2 I 2+PE A 300 10 1,5
Pin 3
SAL-7 /8-RKW2PE-
L= RS2PE-1,5/K0/150 41-01255
718" 16UN [ | SAL-7 / 8-RKW2PE- i
B 2 RS2PE-2/K0/ 150 41-01256
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7 / 8-RKW4-
ol RS4-0,6/K1/150 41-01269
- SAL-7 /8-RKW4-
Pin 1 N
Pin 2 N B ! 15 _Rs41/K1/150 41-01270
Pin 3 I "~ SAL-7/8-RKW4-
Pin 4 W 1,5 4101271
RS4-1,5/K1/150
SAL-7 / 8-RKW4-
2 RS4-2/K1/150 41-01272
SAL-7 /8-RKWAPE-
e RS4PE-0,6/K1/150 41-01285
Pin 1 N - 5 b
o 1 Rswpeisisse | 401286
PE M 4+PE A 300 10 15
Pin 4 15 SAL-7 / 8-RKW4PE- 41.01287
] Pin 5 G RS4PE-1,5/K1/150
o2 SAL-7 / 8-RKW4PE-
2 RS4PE-2/K1/150 41-01288

Technical information starting on page 348 CONEC® 85



=
_ &
- E £
4 = < - 5
= 5 o I B
o g 5 § 2
N s S = 1
S [&) g = Q) IS}
S £ © § S
i N H E
PVC, UL, grey, LiYY Contact assignment = O & O O =  Description Part No.
SAL7/8-RKW2PE-
06 RS2PE-0,6/A6/250 1701700
SAL7/8-RKW2PE-
PE M 1 41-01701
pin 2 e P 25 RS2PE1/A6/250
Pin 3 I s SAL7/BRKW2PE .
' RS2PE-1,5/A6/250
SAL7/8-RKW2PE-
2 RS2PE-2/A6/250 101703
SAL-7/8-RKWAPE-
06 RS4PE-0,6/A6/250 101716
P SAL7/8-RKWAPE-
Pin 2 1 f 41-01717
m N B 25 RSAPE1/AG/250
— Pin 4 W SAL-7 / 8-RKW4PE-
i 1,5 4101718
reven]] || Pin 5T RS4PE-1,5/A6/250
= 5 SAL7/BRKWAPE . oo
RSAPE-2/A6/250
TPU, UL, halogenfree, black, Li9Y11Y
SAL-7/8-RKW2PE-
- 06 RS2PE-0,6/K0/250 41701704
SAL7 /8-RKW2PE-
PE M 1 41-01705
pin 2 e B 25 RS2PE1/K0/250
Pin 3 I s SAL7/BRKW2PE . o
' RS2PE-1,5/K0/ 250
SAL7/8-RKW2PE-
2 RS2PE-2/K0/250 01707
SAL-7/8-RKWAPE-
; 06 RS4PE-0,6/K0/250 41701720
Pin | - SAL7/8-RKWA4PE-
Pin 2 M 1 ! 41-01721
e m N P 55 RS4PE1/K0/250
Pin 4 15 SAL-7 / 8-RKW4PE- 4101722
718" 16UN || | Pin 5 ! RS4PE-1,5/K0/250
o SAL-7/8-RKWAPE-
2 RS4PE-2/K0/250 01723

86 CONEC® Technical information starting on page 348




=
_ %
- - & &
g S < = S
S Y > s}
S S S & 4
5 o & = S 8
S £ ©®- § S
S 3 8 58 &
PVC, UL, grey, LiYY Contact assignment = S & 3 S8 = Description Part No.
@285
@136
: 2 SAL24-RK3PE2/A3  41-51000
:
==
i
. - 3 SAL-24-RK3PE-3/A3  41-51001
Pin 2
) e 3+PE A 300 13 15
@ PE W
| 5 SAL24-RK3PE5/A3 4151002
T e
10 SAL-24-RK3PE-10/A3  41-51003
PVC, UL, grey, LiYY
47
2 SAL-24-RKW3PE-2/A3  41-51008
5|8
- 3 SAL-24-RKW3PE-3/A3  41-51009
3 Pin 2
e 3+PE A 300 13 15
- o 5 SAL-24-RKW3PE-5/A3  41-51010
10 SAL-24-RKW3PE-10/A3  41-51011
PVC, UL, grey, LiYY
@285
; RD24x1/8" 2 SAL-24-RS3PE-2/A3 41-51004
) - 3 SAL24-RS3PE-3/A3  41-51005
Pin 2
) e 3+PE A 300 13 15
[ |
o e 5 SAL-24-RS3PE-5/A3  41-51006
T Lo
10 SAL-24-RS3PE-10/A3  41-51007
PVC, UL, grey, LiYY
51
2 SAL24-RSW3PE-2/A3  41-51012
Vég
- 3 SAL24-RSW3PE-3/A3 4151013
3 Pin 2 N
. 3+PE A 300 13 15
- e 5 SAL-24-RSW3PE-5/A3  41-51014
10 SAL24-RSW3PE-10/A3  41-51015

Technical information starting on page 348 CONEC® 87



SECTION 2
CONNECTORS FIELD ATTACHABLE




CSONEC® 89



SAL M8x1 CONNECTORS FIELD ATTACHABLE
Nomenclature

SIARLY- 18] 1 IRIKIWICRA] QLS5

SAL
Sensor Actor Line
Installation size
8 = M8x1
Coding

= Standard

S = Standard, shielded

Design
R = Circular connector

Gender
K = Female connector
S = Male connector
Configuration
= Axial
W = Angled
Design
C = Field attachable

Number of poles

3 = 3-pos.

4 = 4-pos.

Termination

L = Soldering termination up to max. 0.34 mm?
K = Clamp connection for 0.14 mm? - 0.34 mm?
S = Screw termination up to max. 0.5 mm?

Outer @ cable
55 =4 mm-55mm
6,5 =5mm-6.5 mm

90 CONEC®



SAL M8x1 CONNECTORS FIELD ATTACHABLE
Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PA6 GF, UL 94 / PA6, UL 94
Housing PA6 GF, UL 94

Cable sealing NBR

Sealing FPM

Coupling nut/-screw GD-Zn, Ni / CuZn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-104
Current rating IEC 61076-2-104
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9a

Recommended torquet: 0.4 Nm

Technical subject to change without notice.

®
CSONEC® 91



SAL M12x1T CONNECTORS FIELD ATTACHABLE
Nomenclature

SIATLE-J1121 |- JRIKIWICIEL4]-JSH /01501 /JA5220

SAL
Sensor Actor Line
Installation size
12 =M12x1
Coding
= A-coding
S = A-coding, shielded

Design
R = Circular connector

Gender
K = Female connector
S = Male connector

Configuration

= Axial
W = Angled
Design
c = Field attachable
CE = Field attachable with stainless steel coupling nut/screw

Number of poles

4 = 4-pos.
5 = 5-pos.
8 = 8-pos.

Type of connection

S = Screw termination
K = Clamp connection
C = Crimp connection

Terminal cross section

= max. 0.5 mm?
100 = max. 1.0 mm?
150  =max 1.5 mm?
Contact plating

= Gold over nickel
A5220 = CuSnZn

92 CONEC®



SAL M12x1 CONNECTORS FIELD ATTACHABLE
Product specification

Contact CuZn

Contact plating Nickel plated, gold plated / CuSnZn

Contact carrier PAG, UL 94

Housing Standard: PA6 GF, UL 94 / Shielded: Die Cast, nickel plated
Clamp-/screw contact Stainless steel nickel plated

Screw termination CuZn/Ni, Sn gal.

Cable sealing Elastomere

Sealing FPM

Coupling nut/-screw GD-Zn, Ni / stainless steel

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101
Current rating IEC 61076-2-101
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9a

Recommended torquet: 0.6 Nm

Technical subject to change without notice.

®
CONEC® 93



SAL 7/8" CONNECTORS FIELD ATTACHABLE
Nomenclature

SIAILE-171/18]-|RIKICH4]-|S

94 CONEC®



SAL 7/8" CONNECTORS FIELD ATTACHABLE
Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier TPU, UL 94

Housing PA6 GF, UL 94

Cable sealing Elastomere

Coupling nut/-screw CuZn, nickel plated

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 60664-1
Overvoltage category IEC 60664-1 2
Overvoltage impulse IEC 60664-1 2,7kV
Current rating IEC 60512-3
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Technical subject to change without notice.

®
CONEC® 95



SAL M23 CONNECTORS FIELD ATTACHABLE
Nomenclature

HANBAHARNGEEEAE

SAL I
Sensor Actor Line
Installation size

23 =M23

Design
R = Circular connector

Gender
K = Female connector
S = Male connector

Design
C = Field attachable

Number of poles
16+3 = 16x Signal- + 3x Power contacts
16.8+3 = 8x Signal- + 3x Power contacts

Type of termination
C = Crimp termination
L = Soldering termination

96 CONEC®



SAL M23 CONNECTORS FIELD ATTACHABLE
Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PA6, UL 94 / PBT, UL 94
Housing GD-Zn, Ni

Cable sealing Elastomere

Coupling nut/-screw GD-Zn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 60664-1
Current rating IEC 60512-3
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9a

Technical subject to change without notice.

®
CSONEC® 97



SAL M23 CONNECTORS FIELD ATTACHABLE WITH CABLE
Nomenclature

HANBAHARNEIEIAAANRD

SAL I
Sensor Actor Line

Installation size

23 =M23

Design
R = Circular connector

Gender
K = Female connector
S = Male connector

Design
C = Field attachable

Number of poles
16+3 = 16x Signal- + 3x Power contacts
16.8+3 = 8x Signal- + 3x Power contacts

Cable length
XX = Length [m]

Cable quality
K1 =TPU, black, high flexible, halogenfree, UL

98 CONEC®



SAL M23 CONNECTORS FIELD ATTACHABLE WITH CABLE
Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PAG6, UL 94 / PBT, UL 94
Housing GD-Zn, Ni

Cable sealing Elastomere

Coupling nut/-screw GD-Zn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 60664-1
Current rating IEC 60512-3
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9a

Technical subject to change without notice.

®
CONEC® 99



SAL RuUND24 CONNECTORS FIELD ATTACHABLE
Nomenclature

HANBAABRNNEHEEAH

SAL I
Sensor Actor Line

Installation size

24 = Rund24

Design

R = Circular connector
Gender

K = Female connector
S = Male connector
Design

C = Field attachable

Number of poles
3PE  =3-pos. + PE
6PE = 6-pos. + PE

Type of connection
S = Screw termination

100 CONEC®



SAL RunD24 CONNECTORS FIELD ATTACHABLE
Product specification

Contact CuZn

Contact plating Ni, Ag gal.
Contact carrier PA6 GF, UL 94
Housing PA6 GF, UL 94
Cable sealing Elastomere
Sealing FPM

Coupling nut/-screw PA GF, UL 94

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 60664-1
Current rating IEC 60512-3
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9a

Technical subject to change without notice.

H ol
CONEC® 101



o
g
5
— £
[ S
o g S I § ¢
Screw termination S S 2 3
s £ § § 8§
5§ & S = o 4
Q2 £ T S b S
S 5 8 518 ¢
Female connector axial = O & O O <= Description Part No.
Width across =
g4 /_ flats 13 S
wn
. 3 S
Hﬂ Width across 3 N 4 455 o SAL-8-RKC3-S5,5 42-00010
flats 13 (O} —
< o
| | >
o
s |8 2
Width across
flats 12 8
= wn
T \‘\ 3 [}
(B Q. R !
N Max. external cable 4 B 4 455 < SAL-8-RKC4-S5,5 42-00012
$13,7 diameter see table <>’: S
o
wn
Female connector angled
26,8 w
a
>
o .
=l — - o o
CORES 5 3 N 4 455 4 SAL8-RKWC3-S55  42-00026
o / = = :() S
~ >
? \; o
\ Width across flats 13 L0
7T
LI\\ Width across flats 13 8
\ Width across flats 12 > "
o )
13,7 © o
Max. external cable 4 N 4 455 & SAL8-RKWC4-S55  42-00028
diameter see table (@) =
< (=}
>
o
wn
Clamp termination
Female connector axial
@14 =
Wi = X
/— idth across flats 13 3 152}
ins 3 N 3 455 S SALBRKCGIKSS  42:00002
< =
o
o wn
T
— S}
a
> <
\ ' o o
T Width across flats 12 o =)
BN 4 S 3 455 < SAL-8-RKC4-K5,5 42-00004
13,7 \Max. external cable < S
diameter see table Z
wn
Solder termination
Female connector axial
@1a =
' > <
|/— Width across flats 13 8 N
III[,I 3 S 3 455 : SAL-8-RKC3-L5,5 42-00006
< S
D o
(=] wn
I
; ...... u
a
> <
- I\ Width across flats 12 2 =
BN 4 N 3 455 - SAL8-RKC4-L55 42-00008
$13.7 [™—Max. external cable 2 =
? diameter see table > o
o
wn

102 CONEC® Technical information starting on page 348



o
g
5
— £
S
g S X E s
Screw termination s $ 2 & §
S S B - Q
S 5 § § @&
S > > = N Q
|2 £ 7 S S S
S 5§ 8 58 ¢
Male connector axial = O =& O O <= Description Part No.
D14 8
Width across >
flats 13 o n
gg/ © o
Width scross 3 S 4 455 4 SAL8-RSC3-55,5 42-00009
AL fats 15 = 5
| I S
3 gi
\ | —— Width across 8
flats 12 >
2 3
R 4 N 4 455 SAL-8-RSC4-S5,5 42-00011
L " <t "
$13,7 \ :f) 8
\—Max. external cable Z
diameter see table N
Male connector angled
)
32,8 o
>
2 3
B = 3 N 4 455 4 SAL8-RSWC3-S55  42-00025
/m; NS :() S_
§ \_ A
! Width across flats 13 (=
[T \ Width across flats 13 8
[
9137 J\\ Width across flats 12 Z n
) o
g/:grxr;;:tresrggl‘g%?e‘e 4 N 4 455 4 SAL8-RSWC4-S55  42-00027
< s
o
wn
Clamp termination
Male connector axial
@14 kD)
> <
Ej//—Width across flats 13 8 g_
L’ﬂ 3 B 3 455 < SAL-8-RSC3-K5,5 42-00001
< s
5 3
O
(&)
> <
> L~— Width across flats 12 2 g.
U\\M o 4 S 3 455 | SALBRSCAKS5S  42-00003
13,7 ax. external cable s
d diameter see table <>( (=}
o
wn
Solder termination
Male connector axial
P14 6}
a
== _+— Width across flats 13 2 X
L4 o ul
3 S 3 455 < SAL-8-RSC3-L5,5 42-00005
b3 —
N =)
- J 2
O
[a]
> <
o ™M
TV [\ Width across flats 12 © o
?13,7 L_S\ 4 S 3 455 < SAL-8-RSC4-L5,5 42-00007
N—Max. external cable < P
diameter see table >
o
wn

Technical information starting on page 348 CONEC® 103



o
g
H
— £
[ = S
g = X g S
q q < s
Screw termination S S 25 S
S £ 53§
5 o & = o 8
T £ 3 8 & ¢
Female connector axial 2 8§ & 3 8 = Dpescription Part No.
(6}
i /—Widih across flats 13 g
- g 5
| 3 S 4 565 &  SAL-8S-RKC3-56,5 42-00034
< S
2 i 8
Width across Lo)
W—M flats 13 >
T g 5
13,7 l‘w-* 4 S 4 565 < SAL-8S-RKC4-S6,5 42-00036
< =)
\—Max. external cable g
diameter see table 0
Male connector axial
B4 ©
/—Width across flats 13 g "
) o
‘gg/ 3 N 4 565 & SAL8S-RSC3-56,5 42-00033
< S
>
- 2
Y
a
Width across >
1 flats 13 2 (‘-’__}
T 4 N 4 565 & SAL8S-RSC4-56,5 42-00035
@13,7 W\ “<>,:’ =
Max. external cable 2
diameter see table

104 CTONEC® Technical information starting on page 348



~
g
5
— £
S
“ S < § §
. . 2 =~ T & £ o
Screw termination S $ 25 § §
S S 5§ 8 g 8
S = T © w3
5 S & S g o
S 25 5 2 8 8
S S 8 518 &85
Female connector axial = O & O & = O Description Part No.

n
4 A 250 75 48 ., Au SAL12-RKC4-S/150  43-00092
S
N
N SAL12-RKC4-S/
4 A 250 75 48 g g 150/A5220 43-00268
<)
$20 2_
5 A 60 75 48 5 Au SALI2-RKC5-5/150 43-00094
~
o o
L
”l ”| " || Width across flats 18
o 1§
1L n
N SAL-12-RKC5-S/
5 A 60 75 48 g g 150/A5220 43-00269
<)
[ width across flats 17
I
@20 \
max. external cable 0
diameter see table o
8 A 30 2 48 4 Au SALI12-RKC8-S 43-00130
oS
Female connector axial with stainless steel coupling nut
L
20 4 A 250 75 48 o Au ?AHZ'RKCE“'S/ 43-00338
~N 50
o
| | .
Width across flats 19
% 1
§ N SAL-12-RKCE5-S/
Sy - 5 A 60 75 48 uN‘_ Au 150 43-00339
\Widih across flats 17
T
I
S L
<)
#20  [N—max. external cable 8 A 30 2 48 4 Au SAL12-RKCE8-S 43-00340
diameter see table 5_

Technical information starting on page 348 CONEC® 105



=~
g
5
—_ S
—_ S
_ g = § 5
Screw termination S S 2 & § S
5 8 § % 8 2
S S S 2 4 »
S 25 5 2 8 B
SsEigisgs
Female connector angled = O & G & = O Description Part No.
0
4 A 250 75 48 ., Au SALIZRIWCAS 43 00096
2 150
o
N e
N SAL-12-RKWCE4-S/
4 A 250 75 4-8 m g 150A5220 43-00276
o
)
5 A 60 75 48 ., Au SALIZRKWESS/ 43 60098
~ 150
42 =)
) Sl &
7 - 8§
0 Y SAL-12-RKWC5-S/
g { 5 A 60 75 4-8 2 2 150/A5220 43-00277
Width across e
flats 18
L ! \Widm across
J'\ flats 17
@20
N—max. external cable
diameter see table '-‘Ol
8 A 30 2 48 & Au SALI12-RKWC8-S 43-00131
=
Female connector angled with stainless steel coupling nut
n
4 A 250 75 48 ., Au SALTZ-RKWCESS/ 43 50349
2 150
o
423
.
= 5 A 60 75 48 ., Au SALTZRKWCES-S/ 43 60350
T T ~ 150
= ¥ Q o
w0 \
§ {¥ \—Width across flats 19
[~ Width across flats 17
1N 3
™ max. external cable 8 A 30 2 48 4 Au SAL12-RKWCE8-S 43-00351
B20 diameter see table 5_

106 CONEC® Technical information starting on page 348



b
g
5
— £
£
¢ STEL,
Screw termination S 8 D5 8 =
'y ] 5 s § B
S S 8§ § 9 3§
S » 2 & = 8 8
S 2 - § 2 8 =B
H H BN
Male connector axial = O & O & = O Description Part No.
n
4 A 250 75 48 ., Au SAL12-RSC4-S/150  43-00100
S
N
— N -12- -
4 A 250 75 48 ., & SAL12-RSC4-5150/ 43-00272
N3 A5220
o
.
20 -
Mi2x! 5 A 60 75 48 ., Au SAL12-RSC5-5/150  43-00102
~
o
i1 81 oy
W Width across
m flats 18 n
- N 12- -
3 5 A 60 75 48 5 & SAL12-RSC5-5150/ 43-00273
N3 A5220
o
{¥\Width across
flats 17
U n
o
= max. extemal cable 8 A 30 2 48 & Au SALI12-RSC8-S 43-00132
@20 diameter see table =
o
Male connector axial with stainless steel coupling screw
n
N SAL-12-RSCE4-S/
@20 4 A 250 75 48 m Au 150 43-00341
o
M12x1
1
Width across flats 19 - -12- -
FY 5 A 60 75 48 ., Au ?AL12 RSCES-S/ 43-00342
o ~ 50
z % o
'i T Width across flats 17 "g-
\AJ,’\\ 8 A 30 2 48 & Au SALI12-RSCE8-S 43-00343
max. extemal cable —
P20 diameter see table ©

Technical information starting on page 348 CONEC® 107



=
g
5
—_ S
S
¢ =IEC
Screw termination S $ 25§ §
4 S § 8 8§ S
S S &8 838 92 S
S > - }2 +—
S 2% 5 2 8§ 8
E 5 8 £ § g E
S =] = 5. n0
Male connector angled = 8 & 3838 £ 8 Description Part No.
0
4 A 250 75 48 , Au ?AL“'RSWC“'S/ 43-00104
2 50
o
N e
N SAL-12-RSWCE4-S/
4 A D075 48 v 2 50,5220 43-00278
S ()
)
5 A 60 75 48 ., Au ?é\g']z'RSWCS'S/ 43-00106
~N
o
46 =
]
=
d = N
== T ¥ SALT2-RSWCS-S/
baes) = 8 > A B0 7548 v a4 50,5220 4300279
e = 3 O
w
|\
‘( Width across
C - flats 18
H ) Width across
v \ flats 17 UOW_
max. extemnal cable 8 A 30 2 48 4 Au SAL12-RSWC8-S 43-00133
diameter see table —
o
Male connector angled with stainless steel coupling screw
n
4 A 250 75 48 ., Au SALTZ-RWCESS/ 43 50352
9] 150
o
46 =
s n
— 5 A 60 75 48 ., Au SALTZRSWCESS/ 43 00353
{omice) § S %0
= | | _ o
o WO P
@ { Width across
flats 19
D Width across
THT flats 17 7}
Dt o
b ™~ max. exteral cable 8 A 30 2 48 & Au SAL12-RSWCE8-S 43-00354
%20 diameter see table 5—

108 TONEC® Technical information starting on page 348



=
g
5
— £
~ S
o g =X EE
Screw termination S $ 25§ §
s S § 8 8§ S
S S §8 8 2 S
S » 2 & = 8 8
€ £ 3% § 5 S 8
S S 85 8 ¢ §
Female connector axial = O & O & = O Description Part No.
4 A 25075 48 4 Au pc DTS a3.00m3
o
o
oo
T N SALT12S-RKC4-S/
4 A 250 75 48 m § 150/A5220 43-00326
(=)
@20 L0
3 5 A 60 75 48 ., Au ??g']ZS'RKCS'S/ 43.00114
(o) a
|
IH H ||| Width across flats 18
o
?
oo
T N SAL12S-RKC5-S/
Width across flats 19 5 A 60 75 48 N ‘E 150/A5220 43-00356
U g_ O
T T
‘\ | [— max. external cable
diameter see table
020
n
=}
8 A 30 2 48 4 Au SALI2S-RKC8-S 43-00128
=
Male connector axial
n
@20 4 A 250 75 48 ., Au ?g\gm'RSC“'S/ 43-00115
~
M12x1 ©
(LI \Llll\ll -
|HH||“]| Width across flats 18 — 19¢c. R
5 A 60 75 48 ., Au SAL12S-RSCSS/ 43-00116
. 2 150
t o
Width across flats 19
.
o
_ external cabl .
max. external cable 8 A 30 2 48  Au SALI2SRSC8S 43-00129
(=}

Technical information starting on page 348

CONEC® 109



110

T
5
~ £
g S < § S
Crimp termination I3 S 25 S
= § 53 §
S S S 2 u
S 2 5 5 S S
s 85 8¢
Female connector axial = 8 & 38 S8 = Description Part No.
™M wn
o) o
@16 4 A 250 4 m 0 SAL-12S-RKC4-C 43-00419
¥ o
| |
[T N
|
- Width across
® E} flats 15
i 5
@ 77 SAL12S-
: : 4 A 250 4 : ;r’ RKC4-C/100 43-00421
fﬂ_ $45-83 e
@16
Male connector axial
@16 M n
1oo) o
Mi2 4 A 250 4 4 SALI2SRSCAC 43-00420
+ 3
Width across
B Ej/ flats 15
2
g 3 2
® 7 SALI2S-
A ' -
. , 4 A 250 4 5 :,.1 RSC4-C/100 43-00424
?4,5-8,3 SIS

i
C

s _

CONEC®

Technical information starting on page 348




o
g
5
— £
<
g S < § S
Screw termination S y 29 S
S S B - Q
o = S IS *\
5§ & S = o 4
S 2 5 5 2 8
‘BN H E
Female connector axial = O =& O O <= Description Part No.
L
2+PE 250 12 6-12 - SAL-7/8-RKC2PE-S  41-00001
@26 =
L
Width across flats 22 4 250 9 6-12 - SAL-7 /8-RKC4-S 41-00002
o (<}
R
I
i
|
: Width across flats 22 .If‘
] 4+PE 250 9 612 SAL-7/8-RKC4PE-S  41-00003
| ] L
L,L, \l [ —max. external cable o
¢'25 diameter see table
Male connector axial
L
$26 2+PE 250 12 6-12 - SAL-7/8-RSC2PE-S  41-00004
7/8" - 16UN =)
L
4 250 9 6-12 - SAL-7 /8-RSC4-S 41-00005
,‘;’; (=}
L~~— Width across flats 22 .
T T —
ll \?\ 4+PE 250 9 6-12 i SAL-7/8-RSC4PE-S  41-00006
Vo ™ max. external cable o
@25 diameter see table

Technical information starting on page 348 CONEC® 1



T
5
— g
S
g =< § S g
Solder termination S S 25 8 =
s S£3§8%
§ o S & o 8 S
S £ © § = S
H H B
Female connector axial = S & G & = O Description Part No.
EE
Width across E €
flats 24 n o
i 4 M
© 100 S ég SAL-23-RKC16+3-L ~ 41-90001
28
|_— Width across S8
flats 24
[~ External cable
diameter see table
Crimp termination
Female connector axial
T
EE
no
© ~ 97 SAL-23-
N o X X J
8+3 100 S 5 55 RKC16.8+3-C 41-90002
Width across '_C“ g
flats 24 A
A o
Width N~
T tate2a EE
EE
no
R ® ~ S
e Extornal cable & 100 s 7 %% SAL:23-RKC16+3-C  41-90000
0265 diameter see table E E
© QO
53
A o
With cable
Female connector axial, TPU UL, halogenfree, black, Li9Y11Y
26,2 SAL-23-
, i > Rkcieg3s/k 4190005
o
© B3
8+3 100 S °+°
E} x SAL23-
Wi m d
3 X\;tdsﬂ;:cross 10 RKC16.8+3-10/K1 41-90006

| —— Width across
H ;‘E flats 24
i SAL-23-

228, s o
265 % % Rkaiessk 190003
o
>
m o
& 100 S =2
= = +
& 10 AL 41-90004

RKC16+3-10/K1

112 CONEC® Technical information starting on page 348



o
g
5
— £
S
9 S I § &
Screw termination s $ 2 & §
S S B - Q
S = S S “
§ o = = o 8
< < e § b 8
E S 8 & 4§ o
S S .
Female connector axial 2 8 & 8 & = Desciption Part No.
3+PE 400 16 6-12 ; SAL-24-RKC3PE-S 41-50000
=)
28,5
2136
i |
JHEEN
>Width across
N flats 22
3 =
E
n
— —
’—(j; 6+PE 250 10 6-12 - SAL-24-RKC6PE-S 41-50001
o
D~ Width across
i T flats 22
A [~ External cable
@25 diameter see table
Male connector axial
1
3+PE 400 16 6-12 - SAL-24-RSC3PE-S 41-50002
=)
@285
RD24X1/8
gz’é‘
Width across
& flats 22
$ g
i
1
6+PE 250 10 6-12 - SAK-24-RSC6PE-S 41-50003
=)
[ ———width across
flats 22
=l |
b T External cable
@25 diameter see table

Technical information starting on page 348 CONEC® 113



SECTION 3
SOCKETS




SONEC® 115



SAL M8x1/M12x1 SOCKETS

Nomenclature

sIAfL]- ] ] Jels] Jricirfofala] | | fx]-Jol Jcs

8 = M8x1
12 =MI12x]
Coding
= A-coding (M12x1), Standard (M8x1)
B = B-coding
BS = B-coding shielded (M8x1)
S A-coding shielded (M12xT1)
Design
F = Socket

| = Insolation body

Gender
K = Female connector
S = Male connector
Assembly
= Front panel mounting
P = Positioning possible, frontmounting
H = Back panel mounting

Type
D = Coupling nut turnable

\% = Square flange

VO = Square flange with o-ring sealing

Configuration

= Axial
W =Angled
Number of poles
3 = 3-pos. 8  =8-pos.
4 = 4-pos. 12 = 12-pos.
5 = 5-pos.
LED-Display
= Without LEDs
4L =4LEDs
Type of Connection/Installation height
X5  =Dip solder 5.5 mm X11 = Dip solder 11.2 mm
X6 = Dip solder 6 mm X12 = Dip solder 12.2 mm
X8  =Dip solder 8.2 mm X13 = Dip solder 13 mm
X9  =Dip solder 9 mm X15 = Dip solder 15.2 mm

X10 = Dip solder 10 mm

Pxx = Installation height one-piece socket
Xxx = Installation height two-piece socket

Screw connection

= M8x0.5 9 = PG9
= M8x1 11 =PGN
= M12x1 12 =M12x1
=M16x1.5

Cable quality

G2 =TPU, black, UL
G3  =PVC, grey, UL

116 CONEC®

SAL l
Sensor Actor Line
Type
= Standard
Installation size

P5,5 = Dip solder 5.5 mm
P6.75 = Dip solder 6.75 mm
P12 = Dip solder 12 mm

L = Solder termination

XX =Wire/Cable lenght [m]

20  =Square flange 20 x 20
26  =Square flange 26 x 26



SAL M8x1/M12x1 SOCKETS

Product specification

Contact CuZn

Contact plating Nickel plated. gold plated
Contact carrier PBT GF. UL 94 / PA. UL 94 / TPU GF. UL 94
Sealing FPM / NBR

Counter nut CuZn. nickel plated
Socket housing CuZn. nickel plated
Sealing compound Polyurethane-resin. UL 94
Shielding Spring steel

Shielding plated Sn plated

Coupling nut turnable GD-Zn. nickel plated
Light conductor PA 12

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-104 / IEC 61076-2-101
Current rating IEC 61076-2-104 / IEC 61076-2-101
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Recommended torque for housing: 0.8-1.2 Nm

Technical subject to change without notice.

H o
CONEC® 117



SAL 7/8" SOCKETS

Nomenclature

siafil-J7) ds)-Jricl Ja)-Josi 0 -]

SAL l
Sensor Actor Line

Installation size

7/8 =7/8"

Design

F = Socket

Gender
K = Female connector
S = Male connector

Assembly
= Front panel mounting
H = Back panel mounting

Number of poles

2 PE = 2-pos. +PE
4 = 4-pos.

4 PE = 4-pos. + PE

Type of Connection/Installation height

P10 = Dip solder 10 mm XX = Wire length [m]
X10 = Dip solder 10 mm

Pxx = Installation height one-piece socket
Xxx = Installation height two-piece socket

Wire cross-section

=0.75 mm?
150 =1.50 mm?
250 =2.50 mm?
Screw connection
=PG13.5
11 =PGl

118 CONEC®



SAL 7/8" SOCKETS

Product specification

Contact CuZn

Contact plating Nickel plated. gold plated
Contact carrier TPU. UL 94

Sealing FPM

Counter nut CuZn. nickel plated
Socket housing CuZn. nickel plated
Sealing compound Polyurethane-resin. UL 94

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 60664-1
Overvoltage category IEC 60664-1 2
Overvoltage impulse IEC 60664-1 2.7kV
Current rating IEC 60512-3
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1
Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Technical subject to change without notice.

H o
CONEC® 119



Front panel mounting, wire termination

Number of poles

Coding

Rated voltage [V]
Current rating [A]

Wire material

Wire cross section [AWG]
Installation height [mm]

Female connector, M8x0.5 thread Contact assignment Description Part No.

M8x1 Pin 1
Pin 3
Pin 4 M

w

SAL-8-FK3-0,2 42-01000

60V DC
g
N
~
o
N

Width across
flats 10 Pin 1 W
Pin2J
Sealing Pin 3 N
Pin 4 I

8,5

16

PVC 24 0,2 SAL-8-FK4-0,2 42-01001

50VAC/ | 50VAC/
60V DC
w

Pin 1
Pin 2]
Pin 3 E 5 B
Pin 4 N
Pin 5

Pin 13 Pin 5
Pin 2 Il Pin6

Pin 3 Pin 7
M8x0,5 Pin4 [ Pin 8

w
o
w

PVC 24 0,2 SAL-8B-FK5.1-0,2 42-01069

s}
>
w
o

15 PVC 26 0,2 SAL-8-FK8-0,2 42-01070

Male connector, M8x0.5 thread

MEx1 Pin 1 mm

Pin 3 M 3
EE\ Pin 4
Width across .
flats 10 Pin 1
Pin 2]

Sealng—" Pin 3 4

Pin 4 I

PVC 24 0,2 SAL-8-FS3-0,2 42-01032

60V DC
w

13,5

PVC 24 0,2 SAL-8-FS4-0,2 42-01033

60V DC
w

50VAC/ | 50 VAC/

M8x0,5

Pin 13 Pin 5 .
Pin 2 Pin6

Pin 3 Pin 7
- Pin 4 Pin 8

8 A 30 15 PVC 26 02 SAL8-FS8-0,2 42-01165

Pin 13 Pin 5

Pin 2 Pin6
” pnimm pin7em S A 30 15 PVC 26 02 SALS8-FS8U-0,2 42-01164

Pin4[J Pin 8

120 CONEC® Technical information starting on page 348



T
g
o o 3 S < 3§
Front panel mounting, dip solder termination, shielded S 8 2 <
S = =
W
T § 3 & %
L . . a .
Female connector axial, installation height 9 mm = N € & & Description Part No.
N
23
3 > 4 9 SAL-8S-FK3-X9 42-01357
o 9
MBx1 » ©
Width across I Width across b O
flats 13 flats 12 I Qo
4 >> 4 9 SAL-8S-FK4-X9 42-01365
o Q
~ ey o
Sealing -
@ — 5 B 30 4 9 SAL-8S-FK5-X9 42-01373
2 QY_ f
PCB
8 A 30 15 9 SAL-8S-FK8-X9 42-01385
Female connector axial, installation height 13 mm
98
3 >> 4 13 SAL-8S-FK3-X13 42-01358
M10x1 o 8
X\Q{i‘q 3across\ Mgt 0
4 >> 4 13 SAL-8S-FK4-X13 42-01366
Sealing 8 8
m ;* @ 5 B 30 4 13 SAL-8S-FK5-X13 42-01374
] 1 \4_ f
pce 8 A 30 15 13 SAL-8S-FK8-X13 42-01386
Female connector angled, installation height 11.2 mm
M10x1
M8x1 /—Fronl panel Q LD)
Width across, | 3 >> 4 11,2 SAL-8S-FKW3-X11 42-01417
lats 13 o2
Seali X[" W—\ ° n @
@Zb}
=0 N O
52102 =t
R N 4 S> 4 112 SALBS-FKW4XTT 4201425
PBC o
S ©®
1.6 wn
Female connector angled, installation height 15.2 mm
M10x1
M8x1
X\Q‘dsl?;cros57 — Front panel Q LD)
o — 3 >~ > 4 152 SAL8S-FKW3-X15 42-01418
o e Wﬁ / M 23
Sealing ‘%1
L S
=
=
N8 98
| |~¥ 4 => 4 15,2 SAL-8S-FKW4-X15 42-01426
2402 PBC o 8
,218 [re}
16

Technical information starting on page 348 CONEC® 121



T
g
9 s £ 35
Front panel mounting, dip solder termination, shielded S S 2 =<
5 g 5 5
S ST b 5
-{Q < e} S =
S s R s 8
Male connector axial, installation height 9 mm 2 § & &8 & Description Part No.
M10x
%
©6.9 3 >> 4 9 SAL-85-FS3-X9 42-01361
! 28
r;iglr;guoss—\ "
Nalmn 8
Sealing .
EE 98
P v 4 S> 4 9 SALBSFS4X9 42-01369
PCB
Male connector axial, installation height 13 mm
M10x1
Max1 b 8
#os 3 $> 4 13 SALSSFS3XI3 42-01362
= 28
Width across —{ |I———1 o
flats 13 |
=~
Sealing j @
B e sl
& iy \ ! 4 S> 4 13 SALBSFS4X13 42-01370
- o
PCB 3
Male connector angled, installation height 11.2 mm
M10x1
M8x1
P69 N O
| =t
%ﬁ‘ T 3 >> 4 11,2 SAL-8S-FSW3-X11 42-01421
o
s e
m‘i‘: 3a::rcvss\ / Front panel
e L
Sealing 2
= 7 4 o
| -7 N O
| em 28
= : 4 > Z 4 11,2 SAL-8S-FSW4-X11 42-01429
52102 o
(S _\PCB n ©
1L
Male connector angled, installation height 15.2 mm
M10x1
M8x1
N
6.9 :,:’ 8
~Front panel 3 =~ > 4 152 SAL8S-FSW3-X15 42-01422
r Y o3
 — wn
mc;m‘ aoross—~| [ | o
i/ L)
Sealing
=S =S | 1 -
g 23
= 4 => 4 15,2 SAL-8S-FSW4-X15 42-01430
=: o
\PCB 8 ©
58°0¢ IRE

122 CONEC® Technical information starting on page 348



Lfm]

Front panel mounting, wire termination

Number of poles

Coding

Rated voltage [V]
Current rating [A]

Wire material

Wire cross section [AWG]
Wire lenght

Female connector, M16x1.5 thread Contact assignment Description Part No.

Pin 1
Pin 2]
M12X1 Pin 3 M
Pin 4 N

N
>

250 4 PVC 24 05 SAL12-FK4-0,5 43-01000

Width across —

Pin 1
flats 17

Pin 2]
Pin 3 5 A 60 4 PVC 24 05 SALI2-FK5-0,5 43-01001

Sealng Crry ) n o
Pin 5

20,5

Pin 1
Pin 2
Pin 3 W 5 A 60 4 PVC 24 05 SAL-12-FK5.1-0,5 43-01045
Pin 4 I
Pin 5 W

Pin 13 Pin 5
M16x1,5 Pin 2 Il Pin6

Pin 3 Pin 7
Pin 4 Pin 8 I

8 A 30 2 PVC 24 05 SALI12-FK8-0,5 43-01002

Pin 1 Pin 7
Pin 2 I Pin 8
Pin 3 Pin 9
Pin 4  Pin 10 N
Pin 5 Pin 11

Pin6CJ  Pin 12 HE

12 A 30 15 PVC 26 05 SALI12-FK12-0,5 43-01331

Female connector, PG9 thread

Pin 1 N
Pin2J
Pin 3
Pin 4 I

4 A 250 4 PVC 24 05 SAL12-FK4-0,5-9 43-01073

Width across flats 17 Pin 1
\ q Pin 2
Pin 3 5 A 60 4 PVC 24 05 SAL-12-FK5-0,5-9 43-01075
Pin 4 I
Pin5 M

12

20,5

Pin 1
Pin 2]
Pin 3 5 A 60 4 PVC 24 05 SALI12-FK5.1-0,5-9 43-01074
Pin 4 N
Pin 5

Pin 1 Pin 5
Pin 2 Il Pin6

Pin 3 Pin 7
Pin 4 Pin 8

8 A 30 2 PVC 24 05 SAL12-FK8-0,5-9 43-01097

Pin 1 Pin 7 N
Pin 2 N Pin 8
Pin 3 Pin 9 N
Pin 4  Pin 10 N
Pin 5 Pin 118

Pin6C  Pin 12 HH

12 A 30 15 PVC 26 05 SAL12-FK12-0,5-9 43-01345

Female connector with LED, M16x1.5 thread

M16x1,5
M12x1
—_—

T )

Pin 1

33,9

SW17 _I'Pin4 m

Width across i
flats 17

il
[,

3,2

ow
w
>

10-30

4 PVC 22 05 SAL12-FK3-4L-0,5 43-01867

Technical information starting on page 348 CONEC® 123



Lfm]

Front panel mounting, wire termination

Wire cross section [AWG]

Number of poles
Coding

Rated voltage [V]
Current rating [A]
Wire material
Wire lenght

Female connector positioning possible, M16x1.5 thread Contact assignment Description Part No.

Pin 1

Pin 20 4 SAL12-
Pin 3 "~ FKP4-0,5
Pin 4 I

IN
>
N
a1
o
(@]
N
~
o
3]

43-01006

M12x1

|

Pin 1

Pin 2] SAL-12-

Pin 3 W 5 A 60 4 PVC 24 05 43-01007
Pin 4 m FKP5-0,5

Pin 5 M

Pin 1 I

: Pin 2 ) SAL12-
Pin 3 W 5 A 60 4 PVC 24 05 43-01053
Pin 4 W FKP5.1-0,5

Pin 5 I

c ana

Width across
flats 17 T

L&
12

!

Sealing

—THH

[ S—

Pin 1 Pin 5

Pin 2 Pin 6 SAL-12-
Pin 3 Pin 7 8 A 30 2 PVC 24 05 43-01008

FKP8-0,5
Pin4 [ Pin 8 N

M16x1,5

Pin 1 Pin 7 N
Pin 2 N Pin 8

Pin3 [ Pin 9 I SAL-12-
pnamm  pinlomm 12 A 30 15 PVC 26 05 FKP1205 43-01341
Pin 5 Pin 11 W

Pin6C]  Pin12 N
Female connector positioning possible, PG9 thread

Pin 1 N
Pin2J SAL-12-

Pin 3 4 A 250 4 PVC 24 05 FKP4-0,5-9 43-01091
Pin 4 I

Mi2x1 Pin 1 N

| Pin 2 SALT2-
Pin 3 i
Width across 3 o P:: = 5 A 60 4 PVC 24 05 FKP5-0,5-9 43-01093

flats 17 - Pin 5 M

& Pin 1 Il
[ Pin2J 12-
ﬁ Pin 3 N 5 A 60 4 PVC 24 05 SAL12 43-01092
Sealing ] H |
t]

4

Pin 4 N FKP5.1-0,5-9
Pin 5 I

Pin 13 Pin 5 = SAL12
Pin 2 Pin6 -12-
8 A 30 2 PVC 2405 [ogiocg 43-01101

Pin 3 Pin 7

PG! Pin 4 Pin 8

Pin 1 Pin 7 N
Pin 2 Pin 8

Pin3CJ  PnomE SAL-12-
Pn4EE  Pin 10 mE 12 A 30 15 PVC 26 05 FKP12-0,5-9 43-01347
Pin 5 Pin 11 M

Pin6[J  Pin12

Female connector, square flange 20 mm

Pin 1

Pin2J SAL-12-
Eni= 4 A 250 4 PVC 24 05 FKV04-0,5-20 43-02084
n

M12x1
—y

Pin 1
Pin2[J
{q ! SAL-12-
1 Pin 3 5 A 60 4 PVC 24 05 43-02085
Pin 4 FKV05-0,5-20
& Pin5 M
[ Pin 1 W
\ E:KE 5 A 60 4 PVC 24 05 AU 43-02087
Pin 4 W ' FKV05.1-0,5-20
Pin 5 W

16
13

3 sealing

Pin 1 Pin 5 AL
Pin 2 Pin 6 AL-12-

Pn3mm  pin7mm S A 30 2 PVC 24 05 FKV08-0,5-20 43-02086
Pin 4 Pin 8

P12oa

P18,213%

Pin 1 Pin 7 N
Pin 2 N Pin 8

Pin3CJ  Pin9 MM SAL-12-
pnamm  pniomm 12 A 30 15 PVC 26 05 FKVO12-0,5-20 43-02088
Pin 5 Pin 11

Pin6CJ  Pin12 I

124 TONEC® Technical information starting on page 348



Lfm]

Front panel mounting, wire termination

Wire cross section [AWG]

Number of poles
Coding

Rated voltage [V]
Current rating [A]
Wire material
Wire lenght

Female connector, coupling nut turnable, M16x1.5 thread Contact assignment Description Part No.

o145 Pin 1
o Pin 2
— Pin 3
I Pin 4 I

I =

Widtr across flats 13 == Q Pin 2]

. o i Pin 3 HE 5 A 60 4 PVC 24 0,05 SALI12-FKD5-0,05 43-01381
idth across flats ! Pin 4 I
Seahng/‘ IhE Pin 5™
|
B ! Pin 1] Pin 5
Pin 2 Pin6
i I Pin 3 Pin 7 N
M16x15 Pin 4 Pin 8

~
>
N
a
o
EN

PVC

N
N

0,05 SAL-12-FKD4-0,05  43-01378

18

s}
>

30 2 PVC 24 0,05 SAL12-FKD8-0,05  43-01492

Female connector, coupling nut turnable, M12x1 thread

14,5 .
iz pn = SALT2

in -12-
— o 4 A 250 4 PVC 24005 Lol 4301493
Pin 4

18

Pin 1 N

! Pin 2 SALT2-
Wt actass fats 17 Fin3 5 A 60 4 PVC 24005 it 43-01494

Pin 5 M

Pin 1 Pin 5

Pin 2 Pin 6 SAL-12-
Pin 3 rin7em S A 30 2 PVC 24 0,05 43-01495

. FKD8-0,05-12
M12x1 Pin 4 Pin 8

25

Width across flats 13

Sealing

Technical information starting on page 348 CONEC® 125



Lfm]

Front panel mounting, wire termination

Number of poles

Coding

Rated voltage [V]
Current rating [A]

Wire material

Wire cross section [AWG]
Wire lenght

Male connector, M16x1.5 thread Contact assignment Description Part No.

Pin 1 I

Pin 2

Pin 3 HE

M12x Pin 4 HE

N
>
N
al
o
IS

PVC

N
N
o
3]

SAL-12-FS4-0,5 43-01009

Pin 1 .
Pin 2
Pin 3 W 5 A 60 4 PVC 24 05 SALI2-FS5-0,5 43-01010
Pin 4 I
Pin 5 M
Pin 1
Pin 2
Pin 3 W 5 A 60 4 PVC 24 05 SAL-12-FS5.1-0,5 43-01049
Pin 4 N
Pin 5 W

Width across
flats 17 \

S

Sealing /ﬁ

13

20

Pin 13 Pin 5
Pin 2 Pin6

Pin 3 . Pin 7
Pin 4 Pin 8

Hjs

8 A 30 2 PVC 24 05 SALI2-FS8-05 43-01011

M16x1,5

Pin 1 Pin 7 N
Pin 2 I Pin 8
Pin 3 Pin 9
Pin4 M  Pin 10
Pin 5 Pin 11 M

Pin6C  Pin 12 N

12 A 30 15 PVC 26 0,5 SAL12-FS12-0,5 43-01330

Male connector, PG9 thread

Pin 1 Il
Pin 2
Pin 3 I
M12x1 Pin 4 I

4 A 250 4 PVC 24 05 SAL12-FS4-0,5-9 43-01082

Pin 1
‘ﬁ“\g_ﬁ Pin2[J
Pin 3 5 A 60 4 PVC 24 05 SALI12-FS5-0,5-9 43-01084
Pin 4
Pin 5 M

= Pin 1
/Eﬁ Pin 20
Sealing Pin 3 5 A 60 4 PVC 24 05 SALI2ZFS5.1-059  43-01083

Pin 4 I
Pin 5

Width across
flats 17

13

20

| Pin 1 Pin 5
Pin 2 Pin6

Pin 3 Pin 7
Pin4 [ Pin 8 I

8 A 30 2 PVC 24 05 SAL12-FS8-0,5-9 43-01099

PG9 Pin 1 Pin 7 N
Pin 2 Pin 8
Pin 3] Pin 9
Pin4 MM  Pin 10 mm
Pin5 Pin 11 M

Pin6CJ  Pin12HM

12 A 30 15 PVC 26 05 SAL12-FS12-0,5-9 43-01346

Male connector positioning possible, M16x1.5 thread

Pin 1
Pin 2]
Pin 3
Pin 4 N

4 A 250 4 PVC 24 05 SALI12-FSP4-0,5 43-01015

M12x1

‘_”I Pin 1 I
Pin2[J
Width across lztlﬂ\@‘ Pin 3 I 5 A 60 4 PVC 24 05 SAL12-FSP5-0,5 43-01016

flats17 S| Pin 4 mm

1 . Pin 5 M
. -

Pin 1 Il
©

25

Pin 2]
Pin 3 5 A 60 4 PVC 24 05 SALI2-FSP5.1-0,5 43-01054
Pin 4 I
Pin 5

Pin 1 Pin 5
Pin 2 Pin6

” Pin 3 Pin 7 Il
L Pin4 [ Pin 8 I

Sealing

L

8 A 30 2 PVC 24 05 SAL12-FSP8-0,5 43-01017

M16x1,5 Pin 1 Pin 7 I
Pin 2 Pin 8
Pin3[] Pin 9
Pin4 W  Pin 10
Pin 5 Pin 11 M

Pin 6]  Pin 12

12 A 30 15 PVC 26 05 SAL-12-FSP12-0,5 43-01342

126 CONEC® Technical information starting on page 348



—
O
=
-~ Tz
S o g ==  §%
Front panel mounting, wire termination 2 S 235 8 L
S £ g § a S
S S 5 © &8 =
S 2 S & 5§ S
Q2 £ T 9
E 35 8§ £ & g
Male connector positioning possible, PG9 thread Contact assignment = 8§ & 8§ = 5 = Description Part No.
Pin 1
Pin 2 SAL-12-
Pin 3 H 4 A 250 4 PVC 24 05 F$P4-0,5-0 43-01094
Mi2x1 Pin 4
, Pin 1
Width across Pin 2L SAL-12-
Qﬂ@ p— y
flats 17 \ ! ® ::i- 5 A 60 4 PVC 24 05 FSP5.0.5-9 43-01096
} 9 Pin 5
Pin 1 Il
Pin 2]
SAL-12-
Pin 3 5 A 60 4 PVC 24 05 43-01095
Pin 4 HE FSP5.1-0,5-9
» Pin 5
Pin 13 Pin 5 =
i Pin 2 Pin 6 SAL-12-
v pnsmm  pin7em 8 A 30 2 PVC 24 05 FSP8.0,5-9 43-01102
Pin 4 Pin 8
Pin 1 Pin 7 N
Pin 2 I Pin 8
Pin3CJ  Pin9 MM SAL-12-
pnamm  pniomm 12 A 30 15 PVC 26 05 FSP12-0,5-9 43-01348
Pin 5 Pin 11 M
Pin6C  Pin 12 N
Male connector, square flange 26 mm
Pin 1
Pin2[J SAL-12-
Pin 3w 4 A 250 4 PVC 24 05 FSV4-0,5-26 43-01351
Mi2x1 Pin 4 I
=Y
o Pin 1
- Pin2[J 1.
IS Pin 3 5 A 60 4 PVC 24 05 SALT2 43-01352
L_a 4__1 - Pin 4 FSV5-0,5-26
i Pin 5
[ =
. \ Pin1CJ  PinSmm AL
Seali Pin 2 Pin6 -1Z-
or?:slzidse\f-adheswe Pn3mm  pin7mm S A 30 2 PVC 24 05 FSV8-0,5-26 4301353
Pin 4 Pin 8
Pin 1 Il Pin 7 N
Pin 2 Pin 8
Pin3CJ  Pin9 MM SAL-12-
pnamm  pniomm 12 A 30 15 PVC 26 05 FSV12-0,5-26 43-01354
Pin 5 Pin 11 M
Pin6C]  Pin 12 MM
Male connector, square flange 20 mm
Pin 1
Pin2CJ SAL-12-
i 4 A 250 4 PVC 24 05 [on0c o 43-01355
M12x1 Pin 4
N : Pin 1 Il
0 - Pin 2]
- SAL-12-
R Pin 3 I 5 A 60 4 PVC 24 05 43-01356
[ 0 Pin 4 HN FSV5-0,5-20
= N Pin 5 M
- Sealing Pin1C  Pin 5
Pin2MM  Pin6 SAL-12-
pnsmm  rin7mm S A 30 2 PVC 24 05 F5V8.0,5-20 43-01357
Pin 4 Pin 8
@12
Pin 1 Pin 7
Pin 2 Pin 8
Pn3CJ  Pnomm SAL-12-
pnamm  pinlomm 12 A 30 15 PVC 26 05 FSV12-0,5-20 43-01358
Pin5 Pin 11 M
Pin6[C  Pin 12 M

Technical information starting on page 348 CONEC® 127



=~
(€
=
o = X5
8 = < 5 3
Front panel mounting, wire termination S S 2 § ¢
s 8 § o o
N S = v S
) &> & 13 S Ny
-{ S = S [
S s §5 ¢
Male connector, square flange 26 mm, IP67/1P20 = S & G = Q Description Part No.
3
£
29 =
4 A 250 4 SO & SAL12-FSVC4-26 43-02690
@14 N% o
M12x1 g
<
8 £
[ ! 1 29 «
o : _\ _ 5 A 60 4 52 5 SALI2FSVC526 4302611
: Sealing square §< o
@16 <§(
3
£
Lo «
ol ~
5 A 60 4 3§ ©  SAL12-FSVC5.1-26  43-02631
NI
o~
g
3
3
£
N o«
ol ~
8 A 30 2 :g ©  SAL-12-FSVC8-26 43-02612
T e
o~
g
3
Male connector, square flange 26 mm, IP67/1P65
3
£
285 saLi2Fvcazss
O -
o 4 A 250 4 SE@E A1065 43-02743
M12x1 é
g %
ey £
N - . J 285 saui2Fves2es
N "------‘-:--‘----»i 5 A 60 4 5285 21065 43-02744
B : iy Sealing square § <— =
@16 <
3
£
285 saui2Fves-
(&) ° -
5 A 60 4 :‘EEE 26/A1065 43-02745
o~
g
3
3
€
SRS sALI2FSVCE26/
o~ * - - -
=G .
8 A 30 2 3§§§ A1065 43-02746
5, o
g
S

* in mated condition

** in unmated condition IP65; in mated condition IP67

128 CONEC® Technical information starting on page 348



. o 9 S =
Front panel mounting, solder termination/solder cup S 8 @
(" S =
S = S
S . S =
< S hS) S
g bS] i =
Male connector, M16x1.5 thread 3 S & 3 Description Part No.
M12x1
Width across flats 17
\ o 4 A 250 4 SAL-12-FS4-L 43-02294
(=
Sealing \i(?ﬁ &
SRl H.[ [
0 I
) &
5 A 60 4 SAL-12-FS5.1-L 43-02295
M16x1,5
Male connector, square flange 26 mm
BLLLN 4 A 250 4  SALI2FSVAL26  43-02303
=l
R
&
]
o
[y 1
2 f U4
i © 5 A 60 4 SAL-12-FSV5.1-1:26  43-02304
@1 o
Sealing
onesided self-adhesive
Male connector, square flange 20 mm
M12x1
AT 4 A 250 4 SALI2FSVO4:20  43-02300
[T 1]
g 1]
- Uu Sealing
1 @
Fr2101 5 A 60 4 SAL-2-FSVO5.1-1-:20  43-02301
13,215

SONEC® 129

Technical information starting on page 348 (8%



T
E
o L g S = §
Front panel mounting, dip solder termination S g @ 2
R £ § 8
T s ¥ ¢ %
Two-piece female connector, direct circuit board termination, installation height 5.5 mm = S & 3 2 Description Part No.

g 4 A 250 4 55  SAL12-FK4-X5,5 43-01178
P14 %
‘ n S
Width across M12x1 o€
flats 15 c !
| S 4 A 250 4 55 SALI2SFKaxss @ G3O179
=6 with shroud
Seal FrontI 32
ealing &<
o [pane S
2 r £ — 1
i i 5 A 60 4 55  SAL12-FK5-X5,5 43-01180
= 0
® [ Vmw L] 0
H Al —T o —1
| =0 f o
©| o .
& Shrou - 5 A 60 4 55 SALISFKSXs5 S0M8
PCB— with shroud

Two-piece female connector, direct circuit board termination, installation height 10 mm

4 A 250 4 10 SAL-12-FK4-X10 43-01162

B14 £
E 4301163
Width across M12xd Wi 4 A 250 4 10 SAL-125-FK4-X10 with shroud
flats 15 gt
} €
Front 2 £
) anel =2
Sealing P 2d 5 A 60 4 10 SAL12-FK5-X10 43-01164
o ) &E
b L —
43-01165
1o _" 5 A 60 4 10 SAL-12S-FK5-X10 with shroud
o «©
| S Shroud l -
PCB 8 A 30 2 10 SAL-12-FK8-X10 43-01329
8 A 30 2 10 SAL-12S5-FK8-X10 4.3-01332
with shroud

130 CONEC® Technical information starting on page 348



o L 8 s =
Front panel mounting, dip solder termination S 2 2
s 8 8
S S =
S 2 o S
S 3 & S
Two-piece female connector, angled, direct circuit board termination 3 8 & 3 Description Part No.
£
B1a 5
e " 4 A 250 4 SALI2-FKW4 43-01200
X g £
e
; Sealing / /’;;Te(l ég
> %;n 0| ¥
:ﬁiﬁ;‘:‘ 5acrossJ uﬁ' hd
43-01201
roud — 17 \ - -
Shroud ‘VGPCB 4 A 250 4 SAL125-FKW4 with shroud
5 A 60 4 SAL-12-FKW5 43-01202
5 A 60 4 SALI2S-FKW5 4301203
£ with shroud
p14 g g
g:
=E
2c
S| Sealing &E
Width across oo
flats 15 i 8 A 30 2 SAL-12-FKW8 43-02638
Shroud
8 A 30 2 SAL-12S-FKW8 43-02639
with shroud
E
B4 R &
Mi2x 8 g
— 2e
Front ? E
& | sealing [ panel & £
AL
T o 12 A 30 1,5 SAL-12-FKW12 43-02640
With across vop 1 =1 —| ™~
flats 15 H;* < €
Shroud =54
\PCB
18
12 A 30 1,5 SALI2S-FKW12 4302641
with shroud
Plel | Held

Technical information starting on page 348

A AT = 131




. : o g S <
Insulation body, dip solder termination 3 e o
. S ‘g
S S 2
S = s -
< S = S
N S R E
Female connector = o o= QO Description Part No.
@823 05
Pa5200s {forlange housing) 8 A 30 2 SALT2IKWS 43-02796
i |h
@ |Sealing ! |/-Shroud
to] Lt
o - L @
aé] UTP <17y
£l
1 \PCB 8 A 30 2 SALI2S-IKW8 43-02797
16 with shroud
2821005
@9.5+00s (for flange housing)
. 12 A 30 1,5 SAL12-IKW12 43-02798
; Sealing—| /_ roud
*— ‘\ ! ‘l
ol [l
14 \PCB
18
12 A 30 15 SAL12S-IKW12 43-02799
with shroud

132 CONEC® Technical information starting on page 348



B

S

~ fy

. . o 9 < T S

Front panel mounting, dip solder termination S @ o 2
o T =S =

S =2 S 9

S (&) E = E

T 5§ £ § %

Two-piece male connector, direct circuit board termination, installation height 5.5 mm = N 3 3 = Description Part No.
E 4 A 250 4 55  SAL12-FS4-X5,5 43-01182
el

Width across r——Mmﬂ @ §
flats 15 _\ 2
ZE
= © 4
£5 4 A 250 4 55 SALI2SFsaxss 4501183
T with shroud
. Front g ¢
ﬁ Sealing [panel & E
C —F .
- © 5 A 60 4 55  SAL12-FS5.1-X5,5 43-01184
© [ !
T LICUT T T
_—U‘UU/)l X N
© | o
o Shroud - ]
o pCB 5 A 60 4 55 SALI2SF51X55 o0N8S
with shroud
Two-piece male connector, direct circuit board termination, installation height 10 mm
£
5 4 A 250 4 10 SAL12-FS4-X10 43-01166
Width across ]
M12x1 a3
flats 15 \ i e
R %g
Front =& 4 A 250 4 10  SALI25-FS4-X10 4301167
Sealing panel 2 with shroud
- £e
& = =
- = — |
o I_'_[ «© 5 A 60 4 10 SAL-12-FS5.1-X10 43-01168
- [+
~
™| L III T _ I H
[N I M g
o ©
\ - 5 A 60 4 10 SALI2SFSsIxi0 301109
PCB with shroud
Shroud
Two-piece male connector, angled, direct circuit board termination
£
o 4 A 250 4 SAL-12-FSW4 43-01208
Width across M12x1 o
flats 15 \ 8¢
r ‘% § 43-01209
0, T -125- :
© | Sealing [Fm”‘ 5 < N ¢ B SALTZSFSW4 with shroud
panel o £
) L I
/ T ! > g" 5 A 60 4 SAL-12-FSW5.1 43-01210
<t
Shroud/ uvH:L >
7 \PCB 5 A 60 4 SAL-12S-FSW5. 1 4301211
16 with shroud

Technical information starting on page 348 CONEC® 133



134

Front panel mounting, wire termination, AWG 18

Female connector, PG13.5 thread, AWG 18

Contact assignment

Number of poles

Coding

Rated voltage [V]

Current rating [A]

Wire material

Wire cross section [AWG]

Lfm]

Wire lenght

Description

Part No.

23,8
7/8" - 16UN

[ |

Width across.

i
I
|
i

flats 24 \ !
I
t

18,1

246

I

Female connector, PG11 thread, AWG 18

PE W
Pin 2
Pin 3

2+PE

>

0,5

SAL-7/8-
FK2PE-0,5

41-40006

Pin 1 Il
Pin2 [
Pin 3 N
Pin 4 N

300

PVC

0,5

SAL-7/8-FK4-0,5

41-40007

Pin 1 I
Pin 2 I
PE W

Pin 4
Pin 5

4+PE

300

PVC

0,5

SAL-7/8-
FK4PE-0,5

41-40008

$238
7/8"- 16UN

T
_\_\;\%
|
Width across i
fes2a !

(I~

18,1

Sealing

PE ®
Pin 2
Pin 3

2+PE

300

PVC

0,5

SAL-7/8-
FK2PE-0,5-11

41-40030

246

Male connector, PG13.5 thread, AWG 18

Pin 1 I
Pin2[J
Pin 3
Pin 4

300

PVC

0,5

SAL-7/8-
FK4-0,5-11

41-40031

Pin 1 I
Pin 2 I
PE W

Pin 4
Pin 5]

4+PE

300

PVC

0,5

SAL-7/8-
FK4PE-0,5-11

41-40032

#2358
718" - UN16

Width across, T
flats 24 |

i7

265

PE ®
Pin 2
Pin 3

2+PE

300

PVC

0,5

SAL-7/8-FS2PE-0,5

41-40000

Sealing

Male connector, PG11 thread, AWG 18

Pin 1
Pin2 [
Pin 3
Pin 4 I

300

PVC

0,5

SAL-7/8-FS4-0,5

41-40001

Pin 1
Pin 2 I
PE W

Pin 4
Pin 5]

4+PE

300

PVC

0,5

SAL-7/8-FS4PE-0,5

41-40002

$238

7/8" - UN16

17

|
m i |
Width across — —

flats 24
(T

L/

Sealing

26,5

W
il

I

PG11

p—

PE ®
Pin 2
Pin 3

2+PE

300

PVC

0,5

SAL-7/8-
FS2PE-0,5-11

41-40024

Pin 1 Il
Pin2 ]
Pin 3 N
Pin 4 I

300

PVC

0,5

SAL-7/8-
FS4-0,5-11

41-40025

Pin 1 N
Pin 2 N
PE W

Pin 4 Il
Pin 5

4+PE

300

PVC

0,5

SAL-7/8-
FS4PE-0,5-11

41-40026

CONEC®

Technical information starting on page 348




—
S
=
-~ <=
o o g == §2
Front panel mounting, wire termination, AWG 16 2 % 23 g N
5 & 8§ 8 o &
S S = & g8
S 5 = B 23
S 2 < S g & N
Ss§feee
Female connector, PG13.5 thread, AWG 16 Contact assignment = S & G = = <= Description Part No.
g3, PE M w SAL-7/8-
- Pin 2 W .
e Fin 20 T A 300 12 PVC 16 05 Jonli e 41-40015
Width across
flats 24
Pin 1
Pin 2] SAL-7/8-
. pin 3 < A 300 12 PVC 16 05 FK4-0.5/150 41-40016
Sealing Pin 4 W
Pin 1 W
Pin 2 W w
SAL-7/8-
] G ;
EiEn4- 3 A 300 12 PVC 16 0,5 FK4PE-0,5/150 41-40017
Pin 5
Female connector, PG11 thread, AWG 16
@238 PE M o SAL-7/8-
" Pin 2 < -
e Fin 20 T A 300 12 PVC 16 05 Jonli oo, 4140039
x:(ds‘zjcmss_\ } é %
(I~ 11 Pin 1 Ml
seaig i i < A 300 12 PVC 16 05 oil® 41-40040
Pin 3 W ! FK4-0,5/150-11
H Pin 4 I
i Pin 1 N
o Pin 2 . w SAL7/8-
] G .
e - T A 30012 PVC 16 05 Jnl o, 4140041
Pin 5
Male connector, PG13.5 thread, AWG 16
@238 PE W w SAL-7/8-
Pin 2 < -
778" - UN16 P::3- & A 300 12 PVC 16 05 FS2PE-0,5/150 41-40009
Wi T
ﬂalt‘:gfcmss\! ‘ Yj’ﬂ
(I~ # Fin 1
i Pin2 4 A 300 12 PVC 16 05 ALTB 41-40010
Sealing ‘ E:: i : FS4-0,5/150
Pin 1 N
PG13.5 Pin 2 N )
X SAL-7/8-
u o =
EiEn4- 3 A 300 12 PVC 16 05 FSAPE-0,5/150 41-40011
Pin 5
Male connector, PG11 thread, AWG 16
2238 PE W L SAL-7/8-
. - oo -
S i T A 300 12 PVC 16 05 ol g, 4140033
E i I
Width across .| —
flats 24 - w
(I T ¢ Pin]EI SAL-7/8
Sealin Pin 2 - -
g j‘ E Pin 3 W 4 A 300 12 PVC 16 05 F$4-0,5/150-11 41-40034
U U Pin 4 W
'J Pin 1 N
Pon Pin2 . g SAL7/8-
u & -
EiEn4- * A 300 12 PVC 16 05 FSAPE-0,5/150-11 41-40035
Pin 5]

Technical information starting on page 348 CONEC® 135



—
€
=
-~ <=
o o g == §2
Front panel mounting, wire termination, AWG 14 2 % 23 g N
5 £ 8§ 58 o &
S S = & 8
S o = B 23
TS3 LS s e
TSI 5 & & =
Female connector, PG13.5 thread, AWG 14 Contactassignment = S & S S S = Description Part No.
@238
7/8" - 16UN PE W w
L2 h SAL-7/8-
Pin 2 & .
P::3- k3 A 300 16 PVC 14 05 FK2PE-0,5/250 41-40115
(o ¥
Sealing
- \ Pin 1 W
Width across Pin 2 N w
flats 24 PE W o SAL-7/8- §
pa135 o A A 300 16 PVC 14 05 FK4PE-0,5,/250 41-40116
Pin 5
Female connector, PG11 thread, AWG 14
$238
7/8" - 18UN PE -
h ' SAL-7/8-
Pin 2 & -
% i P::3- 3 A 300 16 PVC 14 05 FK2PE-0,5,/250-11 41-40117
[ \D\]
F Soaling
T U M Pin 1
e i S A 300 16 PVC 14 05 -/ 4140118
ol pin 4 & " FK4PE-0,5/250-11
Pin 5]
Male connector, PG13.5 thread, AWG 14
@238
71" ~UN16 PE W w
Pin 2 W % A 300 16 PVC 14 05 SALT/8 41-40119
o ; % ; bin 3w & FS2PE-0,5/250
flats 24 BN T =
/& O] 4®
Sealing
gannil
- Pin 1 N
Pin 2 I w
SAL-7/8-
| u o -
e EiEM- S A 300 16 PVC 14 05 FSAPE-0.5/250 41-40120
Pin 5
Male connector, PG11 thread, AWG 14
@238
7/8" - UN16
PE W w
) SAL-7/8-
- 5 =
@ B Pin 2 XA 300 16 PVC 14 05 [oulot ooy 4140121
Width across —} ~
flats 24 0
(I~ 1 8
Sealing ‘
T
o I Pin 1 N
Pin 2 w
SAL-7/8-
PE M & -
et o & A 300 16 PVC 14 05 FSAPE-0,5/250-11 41-40122
Pin 5

CONEC®

Technical information starting on page 348




B
~
L L g S T 5
Front panel mounting, dip solder termination s g o 28
5 £ §8 §
T s 3 ¢ B
Female connector, direct circuit board termination, PG11 thread 3 S e 3 £ Description Part No.
SAL-7/8-
2+PE A 300 12 10 FK2PE-P10-11 41-40045
3238
718" - 16UN
Width across l
flats 24 | SAL-7/8-
| 5 o 4 A 300 12 10 Qo 41-40046
MR )
>
Sea\ing—//_n/ | ‘
i LuluJ SAL7/8- )
N P 4+PE A 300 12 10 FKAPE-P10-11 41-40047
“ PG11
Female connector, direct circuit board termination, PG13.5 thread
SAL-7/8-
2+PE A 300 12 10 FK2PE-P10 41-40021
$23,8
7/8" 16UN
. [
width across
fats2e N - SAL7/8-
) ) a_gg 4 A 300 12 10 FK4-P10 41-40022
Sealing-—j
R
%1 4+PE A 300 12 10 iﬁi’;{_?;o 41-40023
o PG13,5
Male connector, direct circuit board termination, PG11 thread
2238 24PE A 300 12 10 A7/ 4140042
) 7/8" - UN16 FS2PE-P10-11
width across
flats 24 \
A . SAL7/8-
( TI/\ T 1 P 4 A 300 12 10 FS4-P10-11 41-40043
Sea\ing/ U
N Bt SAL7/8-
i i 4-PE A 300 12 10 FS4PE-P10-11 41-40044
Male connector, direct circuit board termination, PG13.5 thread
SAL-7/8-
2+PE A 300 12 10 FS2PE-P10 41-40018
@238
7/8" - UN16
width across I
flats 24 \ ‘,
J:é@ SAL-7/8-
‘, ~ ) 4 A 300 12 10 FS4-P10 41-40019
(TN T 148
. i
|
S v 4PE A 300 12 10 A& 41-40020
° 2l FS4PE-P10
PG13,5

Technical information starting on page 348

SONEC® 137




—
&)
=
~ <=
o S g =< §%
Back panel mounting, wire termination g % 235 3§ !
S £ § 8 a &
> = B ©\ >
S (<)) § = S I3 S
S &2 - § § & =2
§s & 5 &g
Female connector, M12x1 thread Contactassignment = S & 3 = = = Description Part No.
M12x1 Pin 1 QB o
Mext Pin 3 B 3 S > = 24 02 SAL8-FKH3-02 4201147
- Pin 4 I = &
) n
Widthacrosslla(sm—\ i % . Pin 1 mm b LD)
Seating <=0y 9| e i 4 §Z 3 2 24 02 SALBFKHAO2 4201148
I EREE Pin 4 R
] Pin 1
Pin 2] W
Pin 3 I 5 B 30 3 2 24 02 SAL8BFKH5.1-02  42-01149
4 Pin 4 HE
Pin 5
[l Pin 13 Pin 5
‘ Pin 2 Il Pin 6 1<
15 pnsmm  pnomm 8 A 30 15 F 26 02 SAL8FKH80,2 42-01150
Pin 4] Pin 8 I
Male connector, M8x1 thread
M8x1
26,9 Pin 1 QB %)
1 Pin 3 B 3 S>3 2 24 02 SAL8-FSH3-0,2 4201034
Pin 4 = &
n
Width across ‘%% :
flats 10 g f 3
Sealing T
LIS 1]
- Pin 1 58
i 4 ;‘g 3 2 24 02 SAL8FSH402 42-01035
Pin 4 W 3@
M8x1
Width across o«
e \R$$T§ 2l Pin 1
Sealing - Pin2[J
s e Pin 3 5 B 30 3 S 24 02 SAL8BFSH51:02  42:01102
Pin 4
Pin 5 W
vt Pin 11 Pin 5 o
Pin 2 Il Pin 6
) bnsmm  pnomm 8 A 30 15 2 26 02 SAL8FSH8-02 4201167
! | Pin 4 Pin 8 I
x:itds(qgcross ]F_r 1 2 v
‘ NN ST e
Sealing
LIS 1]
Pin 11 Pin 5
o Pin2 M@  Pin6 9
bnsmm  pnomm 8 A 30 15 2 26 02 SAL8FSHUSO0,2 42-01166
Pin 41 Pin 8 I

138 CONEC® Technical information starting on page 348



T
-
9 S £ 3
Back panel mounting, dip solder termination S $ 2 S
E s & 3
) > = b S
<Q < e S =
£ T =8 s 8
Female connector, M12x1 thread 2 8§ & g8 & Description Part No.
98
e 3 > > 55  SALB-FKH3-P55 42-01143
o
M8x1 o C
RES)
) =t
s 1058 § 4 >> 3 55 SALBFKHAPSS 4201144
2 o 28
Sea\ing\ ﬁ -
ﬁI HUJ 5 B 30 3 55  SAL-8B-FKH5-P5,5 42-01145
#15
8 A 30 15 55  SAL8-FKH8-P55 42-01146
Male connector, M8x1 thread
98
3 >> 3 55  SAL-8-FSH3-P5,5 42-01107
M8x1 88
76,9 QB
4 >> 3 55  SAL-8-FSH4-P5,5 42-01108
xVidth g\cross u01 8
ats 1 TT .
Sealing Xf € - g-
\N TEHT 5 B 30 3 55 SAL8B-FSH5.1-P55  42-01114
LT
8 A 30 15 55 SAL8-FS8-P55 42-01163
8 A 30 15 55 SAL8-FS8U-P55 42-01162

Technical information starting on page 348

CONK° 139




140

T
g
8 s £ 35
Back panel mounting, dip solder termination, shielded S S 2 <
S = =
N
T § 3 & %
L . . a .
Female connector axial, installation height 6 mm 2 § & & & Description Part No.
N
28
3 >> 4 6 SAL-8S-FKH3-X6 42-01359
Mi2x1 o
L I
Width across 7 N O
flats 14 g a
N 4 > 4 6 SAL-85-FKH4-X6 42-01367
Sealing a Trj 2 3
gﬁi 5 B 30 4 6 SAL8BSFKHSX6 4201375
ik “l]"é\‘m !
PCB
8 A 30 15 6 SAL-85-FKH8-X6 42-01387
Female connector axial, installation height 10 mm
N
28
3 > 4 10 SAL-8S-FKH3-X10 42-01360
Mi12x1 o 8
M8x1 LN
Width across —J¢ Q 8
flats 14 4 > 4 10 SAL-8S-FKH4-X10 42-01368
Sealing 8 8
F@] " 5 B 30 4 10 SAL-8BS-FKH5-X10 42-01376
8 A 30 15 10 SAL-8S-FKH8-X10 42-01388
Female connector angled, installation height 8.2 mm
Mi2x1
Mex1 Q 8
Wicth acrass— 3 S> 4 82 SALBSFKHW3-X8 4201419
flats 14 2 o
Sealing | —— Front panel
98
4 > 4 82  SAL-8S-FKHW4-X8 42-01427
PCB 2 o
Female connector angled, installation height 12.2 mm
M12x1
M8x1 D 8
Wi scross | | #9657 3 $> 4 122 SALBSFKHW3X12 4201420
o
- fFron( panel 8 ©
S UNT &
Sealing =
i N
e S <0
| iy 4 > > 4 122 SAL8S-FKHW4-X12  42-01428
28
wn

CONEC®

Technical information starting on page 348




T
£
o o 3 = T 3
Back panel mounting, dip solder termination, shielded S $ 2 <
S =
S s & 2
S > S e kS
-{Q < e} S =
1S 5 s 8
Male connector axial , installation height 6 mm 2 § & 3§ & Description Part No.
N
M10x1 2 a
M8x1 3 >> 4 6 SAL-8S-FSH3-X6 42-01363
o o
26,9 [ ©
—
—— >
2a
With across ~ [T 4 $> 4 6 SALBSFSHAXG 4201371
flats 12 ; =3
e
Sealing &
N 5 B 30 4 6 SAL-8BS-FSH5.1-X6 42-01379
8 A 30 15 6 SAL-8S-FSH8-X6 42-01383
Male connector axial, installation height 10 mm
98
M10x1 3 > 4 10 SAL-8S-FSH3-X10 42-01364
M8x1 2 3
69
T N
— 28
%ff 4 => 4 10 SAL-8S-FSH4-X10 42-01372
Width across —| ‘ ‘ o %
flats 12 n
I o
Seaira . 5 B 30 4 10 SAL8BSFSH5.1X10 42:01380
' ||ﬁ‘|f R— ¢
] il i~
\—’ 8 A 30 15 10 SAL-8S-FSH8-X10 42-01384
PCB
Male connector angled, installation height 8.2 mm
M10x1
M8x1
6.9 Q =
3 => 4 8,2  SAL-8S-FSHW3-X8 42-01423
== (|- g8
flats 12 N ‘ ©
T
Sealing — é ®
;/— Front panel
[ T H
- i i Q 2
= |7 4 > 4 8,2  SAL-8S-FSHW4-X8 42-01431
- SE=
wn
1.7 M pcs
1,6
Male connector angled, installation height 12.2 mm
M10x1
M8x1 N
#69 2 =]
3 > g 4 12,2 SAL-8S-FSHW3-X12 42-01424
X\;itc;(r;zacross—\ %é ;’. 8 [}
= \|—|P /—From panel
Sealing o
Ik D8
4 > > 4 12,2 SAL8S-FSHW4-X12 42-01432
238
n
\PCB
1.6

Technical information starting on page 348

CSONEC® 141




L{m]

Back panel mounting, wire termination

Wire cross section [AWG]

Number of poles
Coding

Rated voltage [V]
Current rating [A]
Wire material
Wire lenght

Female connector, M16x1.5 thread Contact assignment Description Part No.

Pin 1 N
Pin 2]
Pin 3
Pin 4 I

~
>
N
a
o
EN

PVC

N
N
o
3]

SAL-12-FKH4-0,5 43-01003

Pin 1
e iy Pin2[J

) T Pin 3 W 5 A 60 4 PVC 24 05 SAL-12-FKH5-0,5 43-01004
Width across flats 19 Pin 4

Pin 5 M
Pin 1
Sealing T T Pin2[]
T H Pin 3 W 5 A 60 4 PVC 24 05 SAL12-FKH5.1-0,5 43-01048
[
Pin 4 N
Pin 5
_ Pin 13 Pin 5 =
Pin 2 Pin6
pnimm  pin7em S A 30 2 PVC 24 05 SALI12-FKH8-05 43-01005

Pin 4 Pin 8

20,5

M16x1.,5

Pin 1 Pin 7 N

Pin 2 I Pin 8

Pin 3 Pin 9

Pn4mE  Pin 10 mE 12 A 30 15 PVC 26 05 SALI12-FKH12-0,5 43-01343
Pin 5 Pin 11 W

Pin6C  Pin 12 N

Female connector, PG9 thread

Pin 1 Il
Pin 2
Pin 3
Pin 4 I

4 A 250 4 PVC 24 05 SAL12-FKH4-0,5-9 43-01079

Pin 1
Pin2[J
s %ﬁ Pin 3 I 5 A 60 4 PVC 24 05 SALI12-FKH5-0,5-9 43-01081

Width across flats 19 P?n 4
Pin 5 M

Pin 1 Il

Sealing f /j Pin 2
AL [ Pin 3 W 5 A 60 4 PVC 24 05 SAL12-FKH5.1-0,5-9 43-01080

f Pin 4 I

Pin 5 W

18

20,5

Pin 1 Pin 5
Pin 2 Pin6

Pin 3 Pin 7
Pin 4 Pin 8 I

8 A 30 2 PVC 24 05 SAL-12-FKH8-0,5-9 43-01098

PG9 Pin 1 Pin 7 N
Pin 2 I Pin 8
Pin 3 Pin 9
Pin 4 Pin 10
Pin 5 Pin 11 M

Pin 6  Pin 12 M

12 A 30 15 PVC 26 05 SAL12-FKH12-0,59  43-01349

142 CONEC® Technical information starting on page 348



—
)
=
-~ <5
g =< § 3
Back panel mounting, wire termination g $ 23 8 1
s £88 2%
S = S & © IS
S 2 < 5 g€ & N
ES & $ & 2 ¢
Male connector, M16x1.5 thread Contact assignment = S & S = = = Description Part No.
Pin 1 Il
Pin2 ]
i 4 A 250 4 PVC 24 05 SAL12-FSH4-05 43-01012
Pin 4 N
Pin 1 .
Pin 2]
M12x1 Pin 3 5 A 60 4 PVC 24 05 SALI2-FSH5-05 43-01013

Pin 4 N
Pin 5 M

Pin 1 I
Pin 2

Sealing (LT g Pin 3 W 5 A 60 4 PVC 24 05 SALI2FSH5.1-05  43-01052
\J—l I_lL Pin 4

Width across
flats 19

19

215

Pin 5

Pin 13 Pin 5
Pin 2 Pin 6

- pnimm pin7mm S A 30 2 PVC 24 05 SAL12-FSH8-0,5 43-01014
I Pin 4 Pin 8 Il
M16x1,5 Pin 1 Pin 7 N

Pin 2 I Pin 8

Pin 3 Pin 9
pnamm  pnomm 12 A 30 15 PVC 26 05 SALI2-FSHI2-05  43-01344

Pin 5 Pin 11 M
Pin6CJ  Pin 12

Male connector, M16x1.5 thread

Pin 1 N
Pin 2]
Pin 3
Pin 4 I

4 A 250 4 PVC 24 05 SAL12-FSH4-0,5-9 43-01088

Pin 1
Pin2[J

T:ﬂa Pin 3 I 5 A 60 4 PVC 24 05 SALI12-FSH5-0,5-9 43-01090
flats 19

M12x1

Width across Pin 4 W

Pin 5 M

Pin 1 N

Sealing Pin2[J

I . Pin 3 HE 5 A 60 4 PVC 24 05 SALI12-FSH5.1-0,59 43-01089
EH= : Pin 4 W

Pin 5

20,4
215

- Pin 1 Pin 5
Pin 2 Pin6

Pin 3 Pin 7
PGo Pin 4 Pin 8 I

8 A 30 2 PVC 24 05 SAL12-FSH8-0,5-9 43-01100

Pin 1 N Pin 7 N
Pin 2 I Pin 8
Pin 3 Pin 9
Pin 4 Il Pin 10
Pin 5 Pin 11 M

Pin 6  Pin 12 M

12 A 30 15 PVC 26 05 SALI12-FSH12-05-9  43-01350

Technical information starting on page 348 CONEC® 143



.
&)
=
- =< 5
9 = < § §
Back panel mounting, wire termination S § ¥ § ¢
s g § 4 <&
Ny [s) = -y S
) o = b 2 ™
T £ 3 g 2 9
S s3 f g
Male connector, M20x1.5 thread, IP67/1P20 = O & O = Q Description Part No.
2
S
29
4 A 250 4 SQ & SAL12-FSHC4 43-02691
M20x1.5 N
Mi2x1 S
z
|
o Bl =l R .
§ @; ] s £
QO «x
I 7T 11 o
T i 5 A 60 4 59 & SAL12-FSHC5 43-02613
) | NT =
¥ e
<<
3
=
29 «
5 A 60 4 59 & SAL12-FSHCS.1 43-02632
NI
o~
e
<<
3
=
2 «
8 A 30 2 5% & SAL12-FSHC8 43-02614
T e
o~
g
<<
Male connector, M20x1.5 thread, IP67/1P65
3
=
2857 SsALI2FSHCA,
D.oLﬂ - - ~
4 A 250 4 55@@ e 43-02747
M20x1,5 S -
M12x1 %
2 Width across é.
ol = s — flats SW24 =
) @;Zﬁ/smg 2857 saL2FsHes/
5 A 60 4 S9O8n 43-02748
I 7T 11 S S 2O Al065
I a—] S< =
3
=
S8y SAL-12-FSHC5.1/
Q.ULD - - . .
5 A 60 4 S285 atoes 43-02749
s — =
g
<<
3
£
SRNY SALI2-FSHCS/
208 et N
8 A 30 2 S285 aoss 43-02750
S
g
<<

* in mated condition

** in unmated condition IP65; in mated condition IP67

144 CTONEC® Technical information starting on page 348



T
=
8 S = 3
Back panel mounting, solder termination/solder cup 2 8 g %
2 s 8 s
S &2 5 § 2
£ s 8 £ 3
Male connector, M16x1.5 thread 2 S8 & 38 £ Desription Part No.
m‘q;crOSS\ Mi2x1 4 A 250 4 55 SALI2-FSH4-L 43-02297
Sealing rﬁﬁ% a Xn
\,u 10
m’I ]
© ]l
p - 5 A 60 4 55 SALI2ZFSH5I-L 4302298
M16x1,5
Ve o

Technical information starting on page 348

A\ T4

INZC® 145



T
-
g S = 5
. . . . = Yy
Back panel mounting, dip solder termination S Sy 2 o<
= N
) - S = kS
- < = S =
E s | § 8
Female connector, M16x1.5 thread, installation height 5.5 mm = 8§ & & & Description Part No.
M12xt 4 A 250 4 55 SALI2ZFKH4-PS5  43-01026
Width across
flats 19 ol o
Sealing g
5 A 60 4 55  SAL12-FKH5-P5,5 43-01027
KT i
0 Il\ [ TIT
190
M16x15
8 A 30 2 55  SAL12-FKH8-P5,5 43-01028
Female connector, M16x1.5 thread, installation height 12 mm
M12x1 4 A 250 4 12 SAL-12-FKH4-P12 43-01029
With accross W
flats 19 o] o
Sealing % - &
5 A 60 4 12 SAL12-FKH5-P12 43-01030
NPT 1
LT ] 11
~
o
M16x1.5 8 A 30 2 12 SAL-12-FKH8-P12 43-01031
Female connector, PG9 thread, installation height 5.5 mm
Mizx1 4 A 250 4 55 SALI2-FKH4-P559  43-01059
Width across —\ i
flats 19 ol o
Sealin - T ‘?;
¢ f\j rj 5 A 60 4 55  SAL-12-FKH5-P5,5-9  43-01061
0 = |
0
T
PG
8 A 30 2 55  SAL12-FKH8-P5,5-9  43-01063
Female connector, PG9 thread, installation height 12 mm
M12x1 4 A 250 4 12 SAL-12-FKH8-P12-9 43-01060
Width aCross —\| 3
flats 19 o| w
coui i v N =
ealin
g\f H) 5 A 60 4 12 SALI2FKHS-PI2-9  43-01062
[ =1
o
U
oGo 8 A 30 2 12 SALI2FKH8-P129 4301064

146 CTONEC® Technical information starting on page 348



T
£
9 S = 3
- . - . = Y
Back panel mounting, dip solder termination S 3 2 <
S S =
SN
Two-piece female connector, direct circuit board termination, installation height 5.5 mm = § & & £ Description Part No.
4 250 55  SAL-12-FKH4-X5,5 43-01186
£
&
@14 %
2E _
MR- wih acoss £ ¢ 4 A 250 4 55 SALISFKHaxss 0N
flats 14 £E with shroud
= zw
o N
i Width S<
g Sealing E:/\[ / ﬂalts 1scross SE
- r/XN/ 7/ [ 5 A 60 4 55  SAL-12-FKH5-X5,5 43-01188
L] | 0
@ [ oL 1 i
| \U /!I N
© o y
3 Shroud \ ~ 5 A 60 4 55  SAL-12S-FKH5-X5,5 ‘.13 R
PCB with shroud

Two-piece female connector, direct circuit board termination, installation height 10 mm

4 A 250 4 10 SAL-12-FKH4-X10 43-01170

£
£ -
° 4 A 250 4 10 SALT2SFKHaxio 23017
@14 g £ with shroud
M1 21 ' 5 E
] flats 14 SE 5 A 60 4 10 SAL12-FKH5-X10 43-01172
Sealing Front panel
3 rT ” ’/\
) - ST 43-01173
© - Width across © 5 A 60 4 10 SAL-12S-FKH5-X10 .
~ 1 flats 15 with shroud
A= 1T

33
29
2 L
g
T
]
o
Q
[se]

1.6

8 A 30 2 10 SAL-12-FKH8-X10 43-01334

43-01335

8 A 30 2 10 SAL-12S-FKH8-X10 with shroud

Technical information starting on page 348 CONEC® 147



T
£
g S T 35
Back panel mounting, dip solder termination S $ 2 S
S S =
S s £ g
S > x = AS
T § %3 ¢ %
Two-piece female connector angled, direct circuit board termination 2 S & 3§ £ Description Part No.
£
@14 ‘E
o g8 4 A 25 SALT2-FKHW4 43-01196
Width gé
=/ e 22
) Sealing / /-Fvompane\§é
L = : o 4 A 250 4 SAL-12S-FKHW4 43_01197
t ENmBE=E R with shroud
Width across
flats 15 ‘?PCB
- . 5 A 60 4 SAL12-FKHW5 43-01198
P14 §
Wiz gc
Width across § £
seemo~{I1 e 5d 43-01199
2 ) A /—Frompane\.!f’é 5 A 60 4 SAL-12S-FKHW5 with shroud
o =
et
i scross N e 8 A 30 2 SAL-12-FKHW8 43-02739
ats 1.6
16
£
— 43 43-02740
Mi2xt g. 8 A 30 2 SAL-12S-FKHW8 .
Width across £ & with shroud
g ) A /— ont panel & °E
=t o = 12 A 30 15 SAL-12-FKHW12 43-02741
i acmssJ
ngﬂ:s \PCB
16
- 43-02742
18 12 A 30 1,5 SAL-12S-FKHW12 .
with shroud
Female connector with shielding, M16x1.5 thread, installation height 6.75 mm
M16e1 5 4 A 250 4 675 SALI2S-FKH4-P675 43-01663
M12x1
Width across JTE» ®|w
':‘5‘“’ 11—19 & 5 A 60 4 675 SALI2SFKH5-P6,75 43-01664
ealing
L I 0 N O W
<y
: Mﬁr@q‘
@14,5 &
8 A 30 2 6,75 SAL12S-FKH8-P6,75 43-01665

148 CTONEC® Technical information starting on page 348



~
g
- T =
o : g == = 8
Back panel mounting, with cable, shielded g S 2 L8
5 £ 8 § 3
S > =~ B 5 e
S £ ©-w § = ©
£ 3 & £ g @
Female connector, M16x1.5 thread, TPU, UL, halogenfree, Li9YC11Y Contact Assignment = S & 3§ £ = Description Part No.
SAL-12S-
M2t 4 A 160 4 05 025 FKH4-0,5/G2 43-02312
Width across
flats 19
Sealing %% ® % o
—\Tﬁ; = 0 i—Pinlj:-
, g iPin 2/ SAL-12S-
Xva!tdsir;;cross i::mii= 4 A 160 4 1 025 FKH41 /G2 43-02365
[Pin4]
M16x1,5
) 4 A 160 4 2 025 iﬁ‘hltzzs/cz 43-02366
!
Female connector, M16x1.5 thread, PVC, UL, LiYCY
SAL-12S-
. 4 A 160 4 05 025 FKH4-0,5/G3 43-02313
Width across
flats 19 ¥
Sealing % ? § FE
IPin 1|
\Tﬁ T 0 1Pin 2| SAL-12S-
Width across ¢ Ipin3/mm 4 A 160 4 1 025 FKH41/G3 43-02367
flats 19 1Pin4 mm -
[Pin4]
M16x1,5
SAL-12S-
5 4 A 160 4 2 025 FKH4-2/G3 43-02368
!
Female connector, M16x1.5 thread, TPU, UL, halogenfree, Li9YC11Y
SAL-12S-
o 5 A 60 4 05 025 FKH5.1-0,5/G2 43-02314
Width across
flats 19 ¥
Sealing % 2@ ey
& (Pin 1.
\‘.[i = o {Pin2/C SAL12S
) § |Pin3 | A -
Hosba = S OA B0 4 0B hstse 4302369
IPin 5=
’inS
M16x1,5
D 5 A 60 4 2 025 i?ﬁl‘ziycz 43-02370
Female connector, M16x1.5 thread, PVC, UL, LiYCY
SAL-12S-
5 A 60 4 05 025 43-02315
e FKH5.1-0,5/G3
Width across —-1
flats 19 ¥
Sealing % e é’" [Pin 1.
\Tﬁ — = SAL12S
) & IPin3 -125- i
ﬂwagr:;cross ¢ ip?”“i- 5 A 60 4 1 025 FKH5.1-1/G3 43-02371
1Pin 510
[Pin5)
M16x1,5
SAL-125-
D 5 A 60 4 2 025 FKH5.1-2/G3 43-02372

Technical information starting on page 348

CONEC® 149




T
£
-
. o 9 S = 5
Back panel mounting, dip solder termination s g 2 =2
G S = <
S s £ s
2 2 5 § 2
S § 8§ § B8
Male connector, M16x1.5 thread, installation height 5.5 mm = 8§ & 3§ = Description Part No.
M2t 4 A 250 4 55 SALI2-FSH4-P55 43-01032

Width across
flats 19 \ i“”\aﬂ
Sealing o

{ ] h 5 A 60 4 55  SAL12-FSH5-P5,5 43-01033

B

19

8 A 30 2 55  SAL12-FSH8-P5,5 43-01034

Male connector, M16x1.5 thread, installation height 12 mm

Mi2x1 4 A 250 4 12 SAL12-FSH4-P12 43-01035
Width
flalts 1; cmss\ lz(“]\@ﬂ
Sealing
\ﬁﬁ 5 A 60 4 12 SAL12-FSH5-P12 43-01036

L1 | 1

19
215

o

M16x1,5 8 A 30 2 12 SAL12-FSH8-P12 43-01037

Male connector, PG9 thread, installation height 5.5 mm

4 A 250 4 55  SAL12-FSH4-P55-9  43-01065

M12x1
=<LQH
Width
faste N ol o
Sealing &5
] ® 5 A 60 4 55  SAL12-FSH5-P5,5-9  43-01069
Bel [ [
o I _h I
S
PG9
8 A 30 2 55 SAL12-FSH8-P55-9  43-01071
Male connector, PG9 thread, installation height 12 mm
4 A 250 4 12 SAL-12-FSH4-P12-9 43-01066
M12x1
ﬂk@ﬂ
Width
fats 1o i)
Sealing—ﬁ% o 5 A 60 4 12 SAL-12-FSH5-P12-9 43-01070
I fei |
o
@ I
pao 8 A 30 2 12 SAL-12-FSH8-P12-9 43-01072

150 CONEC® Technical information starting on page 348



T
£
o o 8 s = 5
Back panel mounting, dip solder termination S g 2 2
= N 5
S (&) g = E
T § 3 ¢ %
. q a q ] a q q A S ) o
Two-piece male connector, direct circuit board termination, installation height 5.5 mm = S & 3 £ Description Part No.
4 250 55  SAL12-FSH4-X5,5 43-01190
Front panel
M12x1 e
g5 43-01191
rgggs\a §§ 4 A 250 4 55  SAL-125-FSH4-X5,5 it il
flats 14 SE
o o E
by Sea\ing@/\rﬁ\ﬁﬂ
- - T 4 " |} pe 5 A 60 4 55  SAL12-FSH5.1-X5,5 43-01192
L
oF =
Width 43-01193
fars1a " pop Shroud 5 A 60 4 55 SALISFSHSIXSS o
Two-piece male connector, direct circuit board termination, installation height 10 mm
Front panel 4 A 250 4 10 SAL-12-FSH4-X10 43-01174
£
M12x1 2
48
Width § e i 43-01175
pn it 4 A 250 4 10 SALI2SFSHAXI0 S
flats 14 g‘r‘:‘
@ Sealing ) 8€
- © 5 A 60 4 10 SAL-12-FSH5.1-X10 43-01176
e ()
j — %] \\\;
2
«©
Width across Shroud 43-01177
pidth 2 o 5 A 60 4 10 SALI2SFSHSIXI0 o
Two-piece male connector, angled, direct circuit board termination
Front panel 4 A 250 4 SAL12-FSHW4 43-01204
1
Width across Mi2x1 g
flats 14 _\ $§
Ze 4 A 250 4 SAL12S-FSHW4 4301205
° =z with shroud
= Sealing AN §'§
- i
P I
o T el 5 A 60 4 SAL12-FSHWS 1 43-01206
Width / /&Q’—: h
R e N
Shroud 18 5 A 60 4 SAL-12S-FSHWS. 1 4301207
with shroud
Male connector with shielded conection, M16x1,5 thread
M16x1.5 4 A 250 4 675 SALI2S-FSH4-P675 43-02204
Mi2x1
Width across \u%
flats 19
Sealing r j:rj A
[N L]
0 LTI [ T1T
< E-D_L [ 5 A 60 4 6,75 SAL-12S-FSH5.1-P6,75 43-02205
214,5 2

Technical information starting on page 348

H ol
CONEC® 151




~
g
= £
o . g S T = §
Back panel mounting with cable, shielded = S 2 o0 8
5 £ 8 % g
S > = B S IS
Q <= = S - S
£ 3 & £ 8 g
Female connector, M16x1.5 thread, TPU, UL, halogenfree, Li9YC11Y Contact Assignment = S & G S = Description Part No.
SAL-12S-
ot 4 A 160 4 05025 Jolio o) 43-02308
Width across
flats 19 g ol o
Seall % R I
eamg\u) H‘l N :?nl:-
9 \Pin2,J SAL-12S-
Width across lPin3 :- 4 A 160 4 1 025 43-02349
flats 19 pina o FSH4-1/G2
, [Pin4}
M16x1,5
° 4 A 160 4 2 025 ig:fzs/cz 43-02350
Female connector, M16x1.5 thread, PVC, UL, LiYCY
SAL-12S-
W2t 4 A 160 4 05 025 FSH4-05/G3 43-02309
1V|vai!dsﬂ1] 5jlcruss g%
seang—___ (FYT) |® i
LTI g 1Pin2{C SAL12S-
Width across :Pin3:- 4 A 160 4 1 025 FSH4-1,/G3 43-02351
flats 19 IPin4! M
, [Pin4}
M16x1,5
° 4 A 160 4 2 025 i?ﬁfzs/a 43-02352
Female connector, M16x1.5 thread, TPU, UL, halogenfree, LI9YC11Y
SAL-12S-
e 5 A 60 4 05 025 FSH5.1-0,5/G2 43-02306
X\ggﬁgcross@
Sealing S [Pin 1.
—\T‘u*iﬁ g P2/ SAL12S
) = |Pin 3| 125 ;
x\ggqgacross iPin4i- 5 A 60 4 1 025 FSH5.1-1/G2 43-02353
4 1Pin 5 =
(i
M16x1,5
£ 5 A 60 4 2 025 ig:;ﬁsz Vo 43-02354
Female connector, M16x1.5 thread, PVC, UL, LiYCY
SAL-12S-
e 5 A 60 4 05025 [T 43-02307
. Width across
flats 19
Sealing g R i—PTn_]-i-
[T i) Pin2,—]
width Jimnil ¥ 3 5 A 60 4 1 025 AU 43-02355
s 1o 1Pin 4! 2 FSH5.1-1/G3
1Pin 51
o {Pin 5}
M16x1,5
© 5 A 60 4 2 025 i?ﬁ;z]sz P 43-02356

152 CONEC® Technical information starting on page 348



—
S
=
-~ T
: : L 9 S < s =
Back panel mounting, wire termination S QR 25 § o
s S£338 %%
N s -8 ¢§?®
S D 5 S § S 2
3 ifeee
Male connector, AWG 18 Contact Assignment = S & G = = = Description Part No.
PE ® w - _ -
I Pin 2 T 300 8 e 18 05 on/PPMPE 4140003
Pin 3 i
Width across i !
flats 27 \ i
I w0
! 88 Pin 1 W
Sealing Pin 2[J SAL-7/8-
%7 i 4 300 8 PVC 18 05 o 41-40004
} Pin 4 N
\H Pin 1
1 Pin 2 I w ~ _ _
PE W T 300 8 PVC 18 05 SAL7/8-FSHAPE 41-40005
Pin 4 N 0,5
Pin 5
Male connector, AWG16
PE W w _ _ -
Pin 2 T 300 12 VC 16 05 oo o PMPE T 1g0012
718" - UN16 Pin 3 M 8 ,5/15
Width across —
flats 27 \
el Pin 1 I
Sealing R Pin 2 SAL-7/8- ]
< g 4 300 12 PVC 16 05 Y0l 1s0 41-40013
‘ Pin 4 I
- E Pin 1
Pin 2 I w
SAL-7/8-FSH4PE-
i ™ o -
rr:iEn4- E 300 12 PVC 16 05 0,5/150 41-40014
Pin 5]
Male connector, AWG14
7/8" - UN16 PE m w
v . Pin 2 . & 300 16 PvC 14 05 ALT/BFHPE 4 40123
b \ ! Pin 3 ~ 0,5/250
|
! 3w
| M
Sealing
%‘ ,
\P ! )
Pin 1 I
O Pin 2 I w
SAL-7/8-FSH4PE-
PE M T -
LH o & 300 16 PVC 14 05 0,5/250 41-40124
Pin 5]

Technical information starting on page 348 CONEC® 153



154

T
=
o o 8 s I 5
Back panel mounting, dip solder termination S g & 2
5 £ % 5
5 S & B
S & < § =
E§ s & T 8
Two-piece female connector, direct circuit board termination, installation height 10 mm 2 8§ & 3§ £ Description Part No.
2+PE 300 12 10 SAL-7/8-FSH2PE-X10 41-40048
7/8" - UN16
X\;igtg;cross _\ —
gle
Sea""g\CErf*‘:[gg 8 4 300 12 10 SAL7/8FSH4XI0  41-40049
.
- |
-
1
4+PE 300 12 10 SAL-7/8-FSH4PE-X10 41-40050

CONEC®

Technical information starting on page 348



CONE° 155



SECTION 4

Sockers SMT / THR







SAL M8x1/M12x1 Sockers SMT/THR

Nomenclature

SIARLY-R1020 J-JFik) | J4]1-§X]J9 )/ JsuT!

2

158 CONEC®




SAL M8x1/M12x1 Sockers SMT/THR

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier LCP GF

Soldering sheet CuZn, Ni/Sn

Socket housing CuZn, Ni

Sealing FPM, NBR

Shielding CuSn, Ni/sel. Sn

Information on the following pages are basing on below mentioned IWEC-standards.

Rated voltage IEC 61076-2-101 /104
Current rating IEC 61076-2-101 /104
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Mating cycles IEC 60512-9a

Recommended torque for housing: 1-1.2 Nm

Technical subject to change without notice.

H ol
CONEC® 159



: g S
Insulation body g & 9
: -
< S = S
S 3§ S
Female connector = S & S Description Part No.
6,2 L\) 8 42-§$2ell:3TR
' 3 <> 4 SALBIK3/SMT n bulk:
25,6 >3 n bulk:
i 4201213
AN Reel:
) - 2 5 42-01217TR
o|w Sealing 4 S> 4 SAL-8-1K4/SMT n bulk
o 8 n pulk:
- Sealing surface "” 42-01217
S o Reel:
> X
5 B oS 3 sALgBksosmr  H201221TR
™ & In bulk:
[ ITi]T] 3]3‘ 42:01221
o Reel:
[®)
- = ]
- 8 A oS 2 salgikgssmr  H201225TR
mQ In bulk:
4201225
with shielding @7,6+0.05 (for shielding) S 8 42-(F){1e;||:5TR
o2 3 S> 4 sassIK/sMT TS
» o 8 n bulk:
5.6 o 42-01215
Q 5 42-3?;::9TR
4 > 4 SALS8SIKA4/SMT
© > o In bulk:
o | w 1 Sealing o © .
~ ‘ g 4201219
- \“\Se?\ing W Reel:
P - surface > N
ol Y \ 5 B o S 3 SALBBSIKS/SMT 2 01223TR
2 | | RQ In bulk:
w:% : - 4201223
F 2 o Reel:
ivn SN RN N =8 )
- TN 8 A 23 2 salssikgssmr  A2O1227TR
- Selectiv tin plated ™2 In bulk:
4201227
Male connector
N W Reel:
g6.2 g2 42-01214TR
55 3 $> 4 SAL8IS3/SMT e
Y g8 4201214
Y S8 42 gle;l:STR
* 4 <> 4 SALBISA/SMT bl
B 220218
2 » Reel:
> .
o 5 B oS 3 sALsBiss.issmr 2 01222TR
3 29 In bulk:
4201222
[T I Ts]= . w2016
om0 0 I 8 A oN 2 SAL-8-1S8/SMT i
- B4 ™ 2 In bulk:
- 42-01226
with shielding ©7.6+005 (for shielding) S 8 42-§$2e.::6TR
do.2 3 <> 4 SALBSIS3/SMT bl
o "
#56 3° 4201216
S8 42 cT]eSOTR
v ‘ W 4 > 4 SALBSIS4/SMT R
= = In bulk:
3° 4201220
o i‘ 7‘ o Reel:
> .
i 5 B oS 3 SAL8BSIssissmr 201224TR
3 ! R In bulk:
ol | js! | 42-01224
° J Reel:
! m > 8 .
YL Vs 8 A 2§ 2 sassiss/ur  202TR
| 2 :
—l_ \Se\ectivtin plated 42-01228

160 CONEC® Technical information starting on page 348



T
S
_ o 3 = = 5
Front panel mounting, installation height 9 mm S S 2 =
S ) i s
T 5 8 ¢ B
Female connector 2 8§ & 3§ = Description Part No.
N o Reel:
(&)
3 < g 4 9 SAL-8-FK3-X9/ 42-01229TR
g o SMT In bulk:
L » © 42-01229
Width S ) Reel:
I across
s 4 RS, g SALBFKAX9/  4201245TR
] g 2 SMT In bulk:
L 42-01245
Sealing = o Reel:
MoKt o s g 28 3 g SALBBFKSX9/  4201261TR
> » Q SMT In bulk:
0
5 42-01261
o Reel:
- o SAL-8-FK8-X9/ 42-01277TR
8 A RBg 2 9 o In bulk:
42-01277
) - N o Reel:
with shielding g0 SAL8S-FK3-X9/  42-01233TR
3 $> 4 9 :
M8x1 o SMT In bulk:
o ©
) 42-01233
Width b
Tals 15 RS Reel:
z 0 SAL-85-FK4-X9/ 42-01249TR
) 4 >2 4 9% aur In bulk:
Sealing ~ s @ N bulk:
~ i 42-01249
MIOXT | = s Reel:
T % (=] SAL-8BS-FK5-X9/  42-01265TR
selectiv 2 ” > B S Q 3 9 SMT In bulk:
tin plated 42-01265
- . Reel:
3 A g e 2 9 SAL-8S-FK8-X9/ 42-01281TR
) SMT In bulk:
42-01281
Male connector
'\;8)(1 N Reel:
6,9 O -
29 SAL-8-FS3-X9/ 42:0123 7,TR
3 => 4 9 In bulk:
o8 SmT 42-01237
I S © LN
Width across | ‘
flats 13
5]
&
Sealing Reel:
o Sy ‘
| |, Mioxt 2. Qo SALB-FSA-Xa/ 42 01253.TR
-T° 4 => 4 9 SMT In bulk:
< 28 42-01253
with shielding Mex]
g6 N Reel:
B [©) -
20 sALgsFs3xe, P2 0124]_TR
3 >> 4 9 SMT In bulk:
== . 58 42-01241
«©
Width across | ‘
flats 13
Seali N
ealing
Reel:
M10x1 2 RES: 42-01257TR
3 Q0 SAL8S-FS4-X9/ i
o 4 => 4 9 SMT In bulk:
i o8 42-01257
Selectiv
tin plated -

Technical information starting on page 348 CONEC® 161



T
g
a s T 5
. - - . — == = ‘S
Front panel mounting, installation height 13 mm S $ =
S IS} = <
N s £ =
() IS = HS S
£ s & t B
Female connector = 8§ & g3 & Description Part No.
N O Reel:
A
3 =S 4 13 SAL-8-FK3-X13/ 42-01230TR
> SMT In bulk:
o
X\Iidlqaacross\ Max1 8 © 42-01230
s N o Reel:
\Wﬁ 4 2 S, 13 SALBFKAXI3/  42.01246TR
23 SMmT In bulk:
: » 42-01246
Sealing wioxt Se ~ o Reel:
(i — i 5 B g e 3 13 SAL-8B-FK5-X13/  42-01262TR
o :t) SMT In bulk:
42-01262
- o Reel:
o SAL-8-FK8-X13/ 42-01278TR
8 A 2 Q 2 1 SMT In bulk:
42-01278
) o N o Reel:
with shielding 5 RS, 5 SALBSF3XI3/ 4201234
c>> S SMT In bulk:
L 42-01234
Méxt u\) W Reel:
Width acoss Z a SAL-8S-FK4-X13/ 42-01250TR
fiats 13 s<\rﬁ 4 z 2 4 B o In bulk;

i » 42-01250
sealno ’7 wort 3| >3 SAL8BSFK5-X13/ 42 (?]e;EIS:GTR
Selectiv = . 3 BB Q 3 E SMT In bulk:
tin plated \j 12 42-01266

. Reel:
>Q SAL-85-FK8-X13/  42-01282TR
8 A = g 2 E SMT In bulk:
42-01282
Male connector
. N Reel:
- Q 42-01238TR
6.9 QA _8-FS3-
1 3 5= 4 01 ngLTS F3X13/ In bulk:
mg‘*;aam“\ % o e 42-01238
1oe
NallReab)
Sealing ] i
M10x1 2;?
LI o o Reel:
- ) 4
Lérﬁﬁ# 5] 29 SALBFsax13, 42 01254_TR
4 >> 4 13 SMT In bulk:
- 28 42-01254
with shielding
Reel:
M8x1 N 8}
%69 20 SAL-8S-FS3-X13/ 42'01242_TR

r—-l 3 N g 4 13 SMT In bulk:
mg[:;mss %‘ R Qg © 42-01242
Seamg%‘ 3

T; Mot § N Reel:
@ 6] -
~ 29 SALBSFsax13, 42 O]ZSS_TR
L = 4 >> 4 13 SMT In bulk:
soety — U T 28 42:01258
tin plated

162 CONEC® Technical information starting on page 348



T
.
g S T 5
Back panel mounting, installation height 6 mm S S 2 =
5 g % 5
S o = e §
T s 83 ¢ %8
Female connector = 8§ & 3§ = Description Part No.
N W Reel:
3 ‘;E g 4 6 SAL-8-FKH3-X6/ 42-01231TR
g o SMT In bulk:
M12x1 » © 42-01231
M8x1 N w Reel:
4 2 g 4 ¢ SALB-FKHAX6/  42-01247TR
}ll\ggﬁ;fcrOSSﬂ i C>> 8 SMT In bulk:
el 42-01247
A< 11
Sealing \ ~ Reel:
= N . E “e’ 3 g SALBBFKHSX6/ 42-01263TR
. RQ SMT In bulk:
ale 42-01263
o Reel:
- 8 A g e 3 6 SAL-8-FKH8-X6/ 42-01279TR
® Q SMT In bulk:
42-01279
) - N o Reel:
with shielding 3 X2, 5 SALBSFKH3X6/ 42.01235TR
Wizt c>> S SMT In bulk:
ot n 42-01235
- u\) W Reel:
a
= SAL8S-FKH4-X6/  42-01251TR
ponss " 4 =2 4 % o In bulk:
Seal ng§ A T 1) ?© 4201251
I
fq o Reel:
O
- 5 B Z Q 3 6 SAL-8BS-FKH5-X6/  42-01267TR
\Wé; P ) SMT In bulk:
T g .
sty g ~ 42-01267
tin plated W Reel:
: A > e 2 6 SAL-8S-FKH8-X6/  42-01283TR
= 2 SMT In bulk:
42-01283
Male connector
Mi0xt RS 42 (?leg:QTR
Mt 29 SAL-8-FSH3-X6/ e
. 3 > g 4 6 SMT In bulk:
% 28 42-01239
;/IVidm across l I ‘
ats 12
Sealng o8 42 c?lezegsm
20 SAL-8-FSH4-X6/ . i
4 S>> 4 6 SMT In bulk:
o
o ® 42-01255
wn
with shielding
M10x1 N Reel:
Max1 () ¥
20 SAL8S-FSH3X6/ 2 01243_TR
#6,9 3 => 4 6 In bulk:
S SMT
l‘—" o ® 42-01243
= )
o e I S s
o seross e Y o
& N Reel:
. O -
Sealing p 29 4 g SALBSFSH4X6/ 42|°];5]3TR
5 >2 SMT noulke
Selectiv :’ 8 8 © 4201259
tin p\atsd\m L"_JJ i

Technical information starting on page 348

CONEC® 163



=
.
0 S < 5
Back panel mounting, installation height 10 mm 2 & 2 <
S IS} = <
NS I
£ £ 3 & %
Female connector = 8§ & g3 & Description Part No.
N O Reel:
O A
3 =S 4 10 SAL-8-FKH3-X10/  42-01232TR
23 SMT In bulk:
M12xt L 42-01232
Mex1 S W Reel:
a
, 2 SAL-8-FKH4-X10/  42-01248TR
X\;itr;“acrOSS\ \ i 4 C>> % 4 10 SMT In bulk:
Sealing BES 2 42-01248
~ W Reel:
o - 5 B g e 3 10 SAL-8B-FK5-X10/  42-01264TR
s ) SMT In bulk:
e P p= .y 42-01264
o Reel:
- o SAL-8-FKH8-X10/  42-01280TR
8 A 2 Q 2 e SMT In bulk:
42-01280
) - N o Reel:
with shielding 3 2 S, g SALBSFKH3XI0/ 42.01236TR
c>> S SMT In bulk:
M12x1 n 42-01236
M8x1 N W Reel:
Width aoross—_ | 4 LS 4 10 SALBSFKH4X10/ 42.01252TR
flats 14 — g = SMT In bulk:
T ) w © 42-01252
T N o Reel:
. - >Q SAL-8BS-FKH5-X10/ 42-01268TR
Sealing 2
‘ s 5 B 2 Q 3 e SMT In bulk:
1si:|:|gt|;d_\~m i e = 42;{0]2|68
eel:
- e}
>0 SAL-8S-FKH8-X10/  42-01284TR
e A = g 2 1 SMT In bulk:
42-01284
Male connector
M10x1 N Reel:
MBx o8 e a. 42-01240TR
P69 3 $> 4 10 ALEBMIXIO bk
o SMT
%% e 42-01240
x\gtdstq;crcss—\ [ &
Sealing @
o N Reel:
) O N
T S sAL8-FsHax10,  4501256TR
i 4 >> 4 10 SMT In bulk:
e p S 28 4201256
with shielding
M10x1 N Reel:
Mex1 S SAL8SFsH3X10, 201244TR
3 => 4 10 SMT In bulk:
6.9 ) 2 42-01244
Width across —| | |
flats 12
Sealing S NGO Reel:
2 20 SAL8S-FsHa-x10, A201260TR
3 4 >> 4 10 SMT In bulk:
Selsctiv 2 o8 42-01260
tin plated ST Co)

164 CTONEC® Technical information starting on page 348



42-01400

g S =
Insulation body S s g
S = =
S s S
S 2 3 5
t 3§ ¢
Female connector = S & ) Description Part No.
N o Reel:
O A .
@62 3 s SAL8IK3/THR ‘2 O1389TR
23 In bulk:
#56 s © 42-01389
S %) Reel:
(=)
< 42-01393TR
e Sealing 4 N z 4 SAL-8-IK4/THR In bulk:
N o
©_ B © 42-01393
% \—Sealing surface [S) Reel:
- >N N
5 B = G 3 SAL-8B-IK5/THR 42Ir(|)]b3u?lZTR
i R | < -
g[: 4201397
t Reel:
© (©}
>N R
“ E . 8 A o N 2 SAL-8-IK8/THR 42:01401TR
5} g: In bulk:
42-01401
. - ~ Reel:
with shielding . o R
$7,6+005 (for shielding) 3 <>( = 4 SAL-85-1K3/THR 42“?];;9';,1—}:{
o .
e 3 e 42-01391
258 S %) Reel:
(=) -
R 4 <> 4 SALSSIK4/THR 42|O]b3(‘?I§TR
o 6| Sealing o3 nouk
™~ gl e 42-01395
o | \|\Seanng o Reel:
© - surface > .
gu a | 5 B 93 3  SALBBSIKS/THR 42|0]b3?f_m
¥ E"‘|‘L‘|2>J = 42n 01u3§9
N ‘ ‘ IS EI Reel:
r g o :
o >N -
ﬂ . 8 A SINY 2 SAL-85-1IK8/THR 42|O];(|)STR
Selectiv tin plated ™ P4 n bulk:
42-01403
Male connector
N W Reel:
O A .
gz 3 £> 4 sausisyTHR  H2UI390M
o =5 In bulk:
L 42-01390
H S I8) Reel:
$ aQ X
4 <> 4 SAL8IS4/THR 42|S]SU?STR
o .
o B © 42.01394
= o Reel:
o >N X
< 5 B o N 3 SAL-8B-IS5.1/THR 42-01398TR
- = & In bulk:
42-01398
‘ | PR Reel:
s L8 s SAL-8-IS8/THR 42:014027R
= [ 8 A oS 2
of _ = & In bulk:
42-01402
with shielding @76+005  (for shielding) g 8 42-(];]&;52TR
po.2 3 S> 4 SAL8SIS3/THR In bullc
o .
756 3 e 42:01392
Il N0 Reel:
: O A -
ﬂ ﬂ 4 > a4 sassisamir 0P
= .
ol 3 ° 42:01396
"1 o Reel:
@ - > N N
€ ! 5 B oS 3 SALBBSISsI/THR +2 OMOQTR
a| | i In bulk:
B 4/%

gl

ﬂ Reel:

SALSSIS8/THR  +2-01404TR

1
|
|
|
J
—1
ELX 8 A In bulk:
Selectiv tin plated 42-01404

30V
AC/DC
N

Technical information starting on page 348 CONEC® 165



T
=
T g S = 3
Front panel mounting, installation height 9 mm = S 2 =<
s B IS S
S > S g 3
£ 5 8 ¢ B
Female connector 2 8§ & 3§ & Description Part No.
N o Reel:
QA
3 RS, g SALBFK3XY/ 42-01293TR
&2 S THR In bulk:
(e MBXT i 4201293
. N o Reel:
Widih across 4 22, g SALBFKAX9/  42.01309TR
flats 13 \ § S THR 4|2n_(§)1ngg
Sealing ~ o Reel:
0 >Q SAL-8B-FK5-X9/ 42-01325TR
M10x1 co
i i - > > B 3 Q 3 < THR In bulk:
r|r | ‘ ]L QI 42-01325
© [ U o Reel:
1 - 8 A 2 Q 5 9 SAL-8-FK8-X9/ 42-01341TR
™9 THR In bulk:
42-01341
) - N o Reel:
with shielding s 2 , g SALBSFGX)/  4201297TR
g > THR In bulk:
L » © 42-01297
Width across S O Reel:
flats 13 4 Z S 4 9 SAL-85-FK4-X9/ 42-01313TR
Sealn g o THR In bulk:
9 R » 4201313
- o Reel:
M10x1 & 5 B > Q 3 9 SAL-8BS-FK5-X9/  42-01329TR
Selectiv tin plated—~_ [ V °°I & R ) THR In bulk:
= 42-01329
© NITT I IH julll Reel-
o | U () :
- 8 A g e 2 9 SAL-8S-FK8-X9/ 42-01345TR
) g THR In bulk:
42-01345
Male connector
M8x1
6.9 N Reel:
O E
29 SAL-8-FS3-X9/ 42013 O]TR
%% 3 > 4 9 THR In bulk:
o
> 2 © 42-01301
Width across | l
flats 13
©
]
Sealing
Reel:
M10x1 So N 4
F > 29 sALgFsaxg,  A20BI/R
[[1]] 0 4 s> 4 9 In bulk:
IR 2 28 THR 42-01317
@ rel
o —
with shielding M8x1
6,9 N Reel:
O o
22 sAL8SFs3X9, 01305_TR
3 > 4 9 THR In bulk:
e | P 28 42-01305
Width across ‘ ‘ ©
flats 13
Sealing % LY
o~
Q N Reel:
M10x1 2 o= 42-01321TR
Selectiv tin plated — ?—QI 5 4 <>( > 4 9 ?Q;BS-FSA‘-XQ/ In bulk:
UL < i o8 42-01321
o b -

166 CONEC® Technical information starting on page 348



T
.
o o g S T 5
Front panel mounting, installation height 13 mm Sl & 2 <
= <
E s & 8
8 & s § 2
£ s 8 ¢ B
Female connector = 8§ & 3§ = Description Part No.
N O Reel:
5 2 S 4 g3 SALBFK3XI3/  42.01294TR
M8x1 g > THR In bulk:
Width across » © 42-01294
flats 13 N Reel:
W ;
ﬁﬁ 4 2 S, g3 SALBFK4XI3/  4201310TR
M g o THR In bulk:
Sealing .. o |5 n ° 42-01310
Mioxt 52 Reel:
I I - 3
I H_; > 8 SAL-8B-FK5-X13/  42-01326TR
l | | | mi 5 B o S 3 13 )
. © ) THR In bulk:
@ 1] 42-01326
o Reel:
o SAL-8-FK8-X13/ 42-01342TR
8 A 2 Q 2 1 THR In bulk:
42-01342
) - N o Reel:
with shielding ; S, ; SALBSFK3X13/  42.01298TR
Mex1 Z S THR In bulk:
Width across L 42-01298
flats 13 \‘_ﬁ N W Reel:
4 2 S, g3 SALSSFKAXI3/  4201314TR
g > THR In bulk:
Sealing 4 ol n» © 42-01314
M10x1 S
= 1 o o Reel:
ﬂ | él\——? _ OO’I 5 B Z Q 3 13 SAL-8BS-FK5-X13/  42-01330TR
A R —— @ Q THR In bulk:
& U 42-01330
\—Selectiv tin plated o Reel:
>Q SAL-8S-FK8-X13/  42-01346TR
8 A 2 g 2 E THR In bulk:
42-01346
Male connector
";862 - Reel:
5 O .
g0 SALBFS3X13/ OBOZTR
%% 3 N g 4 13 THR In bulk:
jiain across i 2 28 42-01302
R
Sealing X‘
Mi0x1 57 Reel:
[] R S8 sALgFsaxizy  A2O01318TR
- A i 4 <>t ; 4 13 THR In bulk:
o o © 42-01318
- re)
with shielding
M8x1 Reel:
76.9 N o .
22 SAL-85-FS3-X13/ 42'01306_TR
N 1
Width across— 3 => 4 13 THR In bulk:
flats 13 ‘——“ & @ 42-01306
wn
Y
Sealing ;
Mioxd S
= = - N Reel:
o5 O o
ST TS 29 sALgsFsaxi3,  AZO1322TR
] U \_ 4 N ; 4 13 THR In bulk:
Selectiv tin plated 8 © 42-01322

Technical information starting on page 348 CONEC® 167



=
=
_ o 3 S = 5
Back panel mounting, installation height 6 mm ] s 2 =
5 g 5 5
f p 5 3§ S
E 5 § ¢ 3
Female connector = 8 @ 8 £ Desription Part No.
N O Reel:
(&)
<2 SAL-8-FKH3-X6/ 42-01295TR
3 >2 4 6 i In bulk:
@15 S B WLl
L 42-01295
Mi12x1
N o Reel:
- MBT 29 SAL-8-FKH4-X6/  42-01311TR
4 S>> 4 6 .
Width across 7 o THR In bulk:
fats 14 e—\ 3 42-01311
K o Reel:
Sealing L ~ 5 B g e 3 6 SAL-8B-FKH5-X6/  42-01327TR
) THR In bulk:
W—rzﬂ_f % 42-01327
ay© Reel:
LTI hid %)
@ -8- - o
| 5 U - 8 A 2 e 5 6 SAL-8-FKH8-X6/ 42 01343.TR
& & THR In bulk:
42-01343
) - N o Reel:
with shielding 3 2 S, 5 SALBSFKH3X6/ 42-01299TR
M125d Z S THR In bulk:
ot ) 42-01299
Width across —| g\_) Q el
fiats 14 N S SAL8S-FKH4-X6/  42-01315TR
4 >2 46 In bulk
=~ 8 n bulk:
Sealing R L0 42-01315
- o Reel:
o 5 B Z e 3 6 SAL-8BS-FKH5-X6/  42-01331TR
N 1] =l & » Q9 THR In bulk:
w_'AU HJ H 42-01331
i \ ) . Reel:
Selective tin plated . A g e 2 6 SAL-8S-FKH8-X6/ 42-01347TR
) THR In bulk:
42-01347
Male connector
M10x1 N Reel:
wext o8 . 42-01303TR
s 3 25 4 g wesmxs S
== o8 42-01303
Width across — ‘
flats 12 ﬁ—rﬁ
@
Sealing § Reel:
N
. 209 SAL-8-FSH4-X6/ 42'01319_TR
oF °° 4 >> 4 6 THR In bulk:
I ? JU e S 28 42-01319
with shielding
h:;;x: - Reel:
X (®] o
) g9 SAL8S-FSH3X6/ 2 01307_TR
3 => 4 6 THR In bulk:
o
%% Qg © 42-01307
Width across | °
flats 12 B —
Sealing o - Reel:
O o
e 3 29 sALgsFsHaxp,  12O1323TR
] | gI & 4 S>> 4 6 L In bulk:
o ] ‘ﬂs\_ T 33 42-01323
Selectiv tin plated

168 CTONEC® Technical information starting on page 348



B
%
o . : g S X S5
Back panel mounting, installation height 10 mm S & 2 2
= <
s s % s
S 2 5 § =
‘M H
Female connector = S & G £ Description Part No.
N o Reel:
; 2 S, o SALBFKH3X10/ 42-01296TR
g 2 THR In bulk:
M12x1 @ 42-01296
M8x1 N o Reel:

. ; 2 S, 0 SALBFKHAXI0/  4201312TR
Gl Se=
Sealing Reel:

= N . C>>§ 3 jo SALBBFKHSX10/ 42:01328TR
°£°? ) ::) THR In bulk:
o 42-01328
A « o Reel:
3 | | > ¥
a0 - 8 A oS 2 10 SALgFKHgxlo, AZO1344TR
m Y In bulk:
= THR 42-01344
I N o Reel:
with shielding 3 S , ,, SALBSFKH3XI0/ 42-01300TR
M12x1 g > THR In bulk:
Ve ® © 42-01300
N Reel:
Width across — O 8
flats 14 = : 4 S 4 w0 -?QI;;BS-FKH4-XIO/ 42|-01b31]E.TR
, T o3 n bufic
Sealing S L0 42-01316
~ Reel:
N . g§ 3 qo SALBBSKHSX10/ 42.01332TR
\\{ I ‘ T? - = ) 5() THR In bulk:
v st ‘”i 42-01332
S JL - W Reel:
Selecti th plated 8 A 29 5 o SALBSFKH8X10/ 4201348TR
™9 THR In bulk:
42-01348
Male connector
M10x1
M8x1 N Reel:
269 20 sALgFsH3x10,  AZO1304TR
1 3 =>4 0 2o In bulk:
S— o8 42-01304

Width across — ;\ ‘
flats 12 — |

Sealng% o o Reel:

So O o
; 5 20 SAL8FSHAXI10, T2 OBZQTR
l l ‘ | ‘ m’IF 4 N g 4 10 THR In bulk:
1 ! p 28 42-01320
a_ M-
with shielding M10x1
M8x1 N Reel:
26,9 6} :
I 20 SALBSFSH3X10, 42 01308,TR
3 => 4 10 THR In bulk:
o
== 28 42-01308

Width across —| ‘

flats 12 e

Sealing é ®

- N Reel:
g S} '
s Qo SAL8S-FsHax10, AZO1324TR
© 4 N g 4 10 THR In bulk:
P LU “”\\ 23 4201324
Selectiv tin plated

Technical information starting on page 348

CONEC® 169



=
o S
s = =
< £ n =
= = S >
S = )
= g ? <
3 = S <
N S S -2
IS] s S =
S s &
Ny 3 Q@ hS] =
) g 5 & = &2
Socket housing female E @& W\ =
B14.4
M8x1 Width across
flats 13
<
S
& =
w
3
M10x1
@144
Maxt Width across
* L e 13

125

85

M10x1

Mi12xi

M8x1

125

@15

M10x1

M12x1

M12x1

Technical information starting on page 348



Front panel mounting
Back panel mounting
Width across flats
Installation height [mm]

Size

Socket housing male Description Part No.

a4
Mgx1

9.8

Width across |
flats 13 ‘

42-01485

<
M10x1

@

(=}

168

45

Sealing

M10x1

B1a.4

M8x1

63

M10x1
o]

168

%
8

M10x1

Mi2x1
M8x1

65

Sealing
b

#13

42-01487

153
168
AN
M10x1
(o)}

Mi2x1

M8gx1

55

10 42-01488

1.3
AN
M10x1

16.8

Y\VIF‘: 3across ‘ ‘ >
Y - v 13 42-01486
Sealing w

35

P13

Hex nut

@135

)
\

42-01508

M10x1
]

M10x1

Width across
flats 12

@15

43-01716

)
|

M12x1
=

Mi2x1

Width across
flats 14

Technical information starting on page 348 CONEC® 171



g S X
Insulation body S o >
< g 3
[<) =
§ 2 = =
g 3 S S
Female connector 2 S & S Description Part No.
ez Reel:
- SAL-12-1K4-X9/ 43-01848TR
M| 4 A 2= SMT In bulk:
o 43-01848
Seahng—\ ¢ Reel:
= - ] 5 A 60 4 SAL-12-1K5-X9/ 43-01849TR
Sealing surface SMT In bulk:
e I 43-01849
- [EgAg; Reel:
e 914G g A 30 o  SALI2IKEX9/  43-01965TR
* R SMT In bulk:
43-01965
with shielding SAL12SIKAX9/ 43 (;eggom
= A A0 4 SMT In bulk:
43-01850
82 Reel:
[} == SAL-12S-1K5-X9/ 43-01851TR
> A =Y 4 SMT In bulk:
3 43-01851
Seahng—\
= R ik e Reel:
Sealing surf: SAL-125-1K8-X9/ 43-02115TR
- j‘ : A el 2 SMT In bulk:
- ﬁ—r Selectiv
! I EETg] i lates 43-02115
Hote o102 Reel:
b 9o ) SAL-12B-1K4-X9/ 43-02032TR
4 B 0 4 SMT In bulk:
43-02032
Reel:
SAL-12B-IK5-X9/ 43-02033TR
> B o 4 SMT In bulk:
43-02033
Reel:
SAL-12D-IK4-X9/ 43-02034TR
= D 230 4 SMT In bulk:
43-02034
Male connector
B9.45 Reel:
SAL-12-1S4-X9/ 43-02026TR
5 A 230 4 SMT In bulk:
43-02026
Reel:
= SAL-12-1S5-X9/ 43-02027TR
5 A o 4 SMT In bulk:
| 43-02027
SI_TT\ [ {ﬁ Reel:
e SAL12-IS8X9/  43-02028TR
e LT elZHsE )
J—‘ 901 . A el 2 SMT In bulk:
43-02028
it stielding SAL-125-1S4-X9/ 43 gZeﬂ:STR
doss 4 A B0 4 gy In bulk:
43-02118
Reel:
SAL-12S-1S5-X9/ 43-02119TR
> A 804 yr In bulk
43-02119
z Reel:
= SAL-125-1S8-X9/ 43-02120TR
1 8 A N 2wt In bulk:
selectiv 43'02]20
tin plated
m’gi 5 @mw Reel:
- 1Tl ;-25‘ 005 4 B 30 4 SAL-12B-1S4-X9/ 43-02030TR
. - SMT In bulk:
43-02030
Reel:
SAL-12B-IS5-X9/ 43-02031TR
J B R 4 SMT In bulk:
43-02031

172 CONEC® Technical information starting on page 348



=
=
_ : : g S X S5
Front panel mounting, installation height 9 mm = g 2 2
s £ § 8
. S = £
) o = e S
T 5 83 8 §
Female connector = 8§ & 3§ = Description Part No.
Reel:
M1i2x1
(e Mit2XT SAL-12-FK4-X9/14/ 43-01852TR
T T Al Width across 4 A 250 9 SMT |n bU]k:
— flats 15 43-01852
3 Reel:
= SAL-12-FK5-X9/14/ 43-01853TR
Sealing E A o 4 2 SMT In bulk:
T 43-01853
= e e
of ' 8 A 30 2 g SALI2FKBX9/14/ 43-02116TR
: SMT In bulk:
43-02116
) o Reel:
with shielding Mizx 4 A 950 4 g SALI2SFKAX9/  43-01854TR
. —_— m‘dsﬂ:sacmss 14/SMT In bulk:
7 43-01854
3 \ Reel:
- = SAL-125-FK5-X9/  43-01855TR
seatng ;aﬁM % SOA B0 49 o In bulk:
T 7 > 43-01855
' A s SALI2S-FK8-X9/ 43 cr){;ﬂ:m
e 901 \_ Y 2 " " '
ey, 8 A 30 2 9 G sur In bulk:
43-02117
Male connector
Mi2x1 Reel:
SAL-12-FS4-X9/14/ 43-02109TR
& A e 4 & SMT In bulk:
Width across 43-02] 09
flats 17
Reel:
g SAL-12-FS5-X9,/14/ 43-02110TR
I
5 A o 4 & SMT In bulk:
Sealing M14x1 %o 43-02110
- X i Reel:
L - SAL-12-FS8-X9/14/  43-02111TR
@ | 1 g1:4% 8 A 1300 2 9 SMT In bulk:
92001 43-02111
. - Reel:
M12x1
with shielding 4 A 950 4 g SALIZSESAX9/  43.02112TR
14/SMT In bulk:
Width across 43-02112
flats 17
Reel:
g SAL-125-FS5-X9/  43-02113TR
?)\ﬁ ‘ > A B0 4 9 e In bulk
Sealing ; L.‘J M4t %? 43-02113
st @ Reel:
] SAL-125-FS8-X9/  43-02114TR
1 B150s #1430
° o — 8 A 30 29 e In bulk
tin plated 43-02114

Technical information starting on page 348

CONEC® 173




=
.
8 S £ 5
3 g 2 =
Y S = <
S = S S
§ = $ &t &
£t 3§ L%
Female connector 2 8 @ & £ Desription Part No.
Reel:
43-02103TR
4 A 250 4 13 ?ﬁb’éfﬂﬁ'@'m/ In bulk:
D121 Width across 43-02103
flats 17
ﬂ[ LN 1
ol Manikde ik
) ] [ 43-(?;%4TR
= . SAL12-FK5-X13/ '
- 5 A 60 4 13 14,/SMT In bulk:
43-02104
Reel:
43-02105TR
8 A 30 2 13 elIEXB g
43-02105
with shielding Reel:
43-02106TR
4 A 250 4 13 ARSI
L 43-02106
Width across
T flatg17
o e 43 (?516('):7TR
==t s A e 4 13 SABEEX
'ﬂ,"‘ﬂ T TiI ﬁ 4 43-02]07
o T
. T (|21 005 “* \¢1,4 0,05
- 9201 electiv
(Sin plated Reel:
43-02108TR
8 A 30 2 13 ?ﬁﬁ;ﬁws‘m/ In bulk
43-02108

174 CONEC® Technical information starting on page 348



Installation components

Socket housing female

Front panel mounting

Size

Width across flats

Installation height [mm]

Description Part No.

Sealing

M12x1 Width across
flats 15

M14x1

M14x1

15

43-02129

Socket housing male

Sealing

@182

Mi2x1 | — Width across

flats 17

12,7

M14x1

M14x1

17

43-02130

Hex nut

Width across —~{
flats 17

Sealing

@182

M12x1

16

N

M14x1

M14x1

17

43-02131

P17

an
y

M14x1

Width across flats 15

15

43-02132

Technical information starting on page 348

H ol
CONEC® 175




SECTION b5
PANEL PLUGS MALE/ FEMALE




~
=
®

-
oY
%4
Y




SAL M8x1/M12x1 PANEL PLUG MALE/ FEMALE

Nomenclature

SIARLY 18] J-JEISITIVMI3]-|P

=

178 CONEC®



SAL M8x1/M12x1 PANEL PLUG MALE/ FEMALE

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated

Contact carrier PA GF, UL 94 / PA 12 transparent, UL
Sealing FPM

Socket housing CuZn, nickel plated

Shielding CuZn, nickel plated

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101 / IEC 61076-2-104
Current rating IEC 61076-2-101 / IEC 61076-2-104
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Technical subject to change without notice.

H ol
CONEC® 179



180

8 s <
(S} ) >
£ S
S = S
S - = =
< RS S
g bS] 3 =
a q S ..
Male connector, snap-in, plastic dark grey = S & 3 Description Part No.
269 )
[a)
@65 >
5.8 3
3 S 3 SALBESP3-L 42-01004
1 <
= >
- o
e " L
® ()
a
>
v “o ! 8
a ‘ UJ 4 N 3 SAL-8-ESP4-L 42-01006
T o7 2
@58 g
wn
Male connector, snap-in, plastic transparent
6.9 8
@65 >
5.8 3
- 3 S 3 SAL-8-ESTP3-L 42-01005
<
— >
- o
[ n
e O
a
>
i 3
] 1] 4 S 3 SALBESTP4L 42-01007
‘ go7 <
‘ >
@58 2
Male connector, snap-in, metal/plastic transparent
6.2 %)
%65 g
@58 8
3 S 3 SAL-8-ESTM3-L 42-01002
;(I 2
>
o
< mn
T (S
a
: >
S ]l 8
H 4 N 3 SAL-8-ESTM4-L 42-01003
30,7 %
358 g
wn
Male connector, screwable/snap-in, metal
M8x1 (@)
[a)
@6,9 =
" ?6,5 N 8
P58 3 > 3 SAL-8-ESTVM3-L 42-01008
<
© — >
iig= s
E [S)
a
= =
8
@ 4 > 3 SAL-8-ESTVM4-L 42-01009
<
>
o
wn

CONEC®

Technical information starting on page 348



—
5 = g
[} )
£ §
[S) = S
S - -
b £ S S
S £ 8 §
Male connector, snap-in, plastic dark grey = (SIS Q Description Part No.
go9 =t
365 e
#5,8 ©
- 3 S 3 SAL-8-ESP3-P 42-01012
<
>
- -% ]
g %)
! a
i >
3
2 R 4 N 3 SALB-ESP4-P 42-01014
J
' 1 <
T >
?538 32
Male connector, snap-in, plastic transparent
6.9 8
36,5 Z
58 ©
3 S 3 SAL-8-ESTP3-P 42-01013
<
>
- |% o
~ mn
g %)
I a
i >
3
3 R 4 S 3 SALBESTPA-P 42-01015
! #1 <
T >
?58 2
Male connector, snap-in, metal/plastic transparent
26,9 8
265 >
3538 3
Q1 3 S 3 SAL-8-ESTM3-P 42-01010
;(] <<
>
> o
mn
T | o
] o
| >
3
& Ul 4 N3 SALBESTMAP 42-01011
@1 Pd
>
?58 8
Male connector, screwable/snap-in, metal
Msx1 8
6,9 >
6,5 8
753 3 S 3 SAL-8-ESTVM3-P 42-01016
<
; >
ol = 3
o il
k3 j O
a
>
3
o [ w 4 S 3 SAL-8-ESTVM4-P 42-01017
o || 3z
L >
@538 o
wn

Technical information starting on page 348 CONEC® 181



~
8 S <
g 5
. 3 S
S £ S
5 o S =
< kS = S
B
Male connector, short version, screwable/snap-in, metal = o S &) Description Part No.
M8x1
@69
96,5
@58
[6)
T | a
o : >
w| " 1 3
=2 i 3 S 3 SAL-8-ESTVM3-P6 42-01099
¢
: >
i U 3
© |
et
] o1
@58
Female connector, axial, shielded, metal
?9.8
4 30 3 SAL-8S-EKVM4-P 42-01038

182 COMNEC® Technical information starting on page 348




9 S
S )
= B S
S £ S
5 o S =
S
S oy ..
Male connector, plastic black = 8 & 38 o Description Part No.
4 A 250 4 SAL-12-ES4-L 43-01336
5 A 60 4 SAL-12-ES5.1-L 43-01337
@10,5
9955 (] O
?9,4 < 8 A 30 2 SAL-12-ES8-L 43-01637
” 2
sealing —
optional
M P 4 A 250 4 v SALI12-ESO4-L 43-01338
1,2
9,6
5 A 60 4 ¢ SALI2-ESO5.1-L 43-01339
8 A 30 2 ¢ SALI2-ESO8-L 43-01638
Male connector, with gap for LED, plastic transparent
g1o5 _ _ 4 A 250 4 SAL-12-EST4-L 43-01682
9’55L [\
? j'\ﬁ"‘
9,4 X
0
sealing —" ¢
optional l (ﬂﬂj
P1,2
#9,6
4 A 250 4 v SALI2-ESTO4-L 43-01340

Technical information starting on page 348 CONEC® 183



184

9 SIS
S NS
g B £
S = S
5 o S =
T s § ¢ 8
Male connector, plastic black = 8 & 8 & Description Part No.
4 A 250 4 SAL-12-ES4-P 43-01683
$10,5
‘_l 5 A 60 4 SAL-12-ES5.1-P 43-01688
9,55 0
NI <«
@9.4 o
0
sealing : S 8 A 30 2 SAL-12-ES8-P 43-01635
optional
2 4 A 250 4 v SALI12-ESO4-P 43-01699
?0.,6
P1.4
?9,6
5 A 60 4 ¢ SAL12-ESO5.1-P 43-01700
8 A 30 2 ¢ SALI12-ESO8-P 43-01701
Male connector, with gap for LED, plastic transparent
@105
Bo55t 4 A 250 4 SAL12-EST4-P 43-01636
4N <
[+
?9,4 )
sealing — &
optional
o
$0,6
P1,4
?9,6
4 A 250 4 ¢ SALI12-ESTO4-P 43-01681

CONEC®

Technical information starting on page 348




CONEC® 185



SECTION 6
POWER CONNECTORS




H o
CONEC® 187



SAL M12x1 Power CONNECTORS OVERMOULDED
Nomenclature

SIARLY- 12071 - JRIKL J41-131/JA]2]

=

188 CONEC®



SAL M12x1 Power CONNECTORS OVERMOULDED
Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PA6, UL94

Overmould TPU, UL94, grey

Sealing FPM

Coupling nut/-screw GD-Zn, Ni

Shield sleeve CuZn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-111
Current rating IEC 61076-2-111
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9A

Recommended torque: 0.6 Nm

Technical subject to change without notice.

CONEC°® 189



SAL M12x1 POWER SOCKETS

Nomenclature

SIARLE- 10201 - JFIK] 14]-J0.5

190 CONEC®



SAL M12x1 POWER SOCKETS

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PA6, UL94

Sealing FPM

Socket housing CuZn, Ni

Counter nut CuZn, Ni

Sealing compound Polyurethan-Harz, UL94

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-111
Current rating IEC 61076-2-111
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9A

Recommended torque: 0.6 Nm

Technical subject to change without notice.

CONC® 191



=
_ E
- £ £
g = < - 8
Female connector axial = & 2 - B
s £ 8 2oy
Y] & = b3 —= I
S £ T S v O
§ S & £ 3 p
PVC, black, LiYY Contact assignment = S & & 8 = Description Part No.
2 SALI2T-RK3-2/A2  43-19044
3 SALI2T-RK3-3/A2  43-19045
Pin 1
Pin 3 3 T 63 12 1,5
Pin 4 N
5 SALI2T-RK3-5/A2  43-19046
2145 10 SALI12T-RK3-10/A2  43-19047
—— 2 SALI2T-RK4-2/A2  43-17132
o
0 % Width across
flats 13 3 SALI2T-RK4-3/A2  43-17133
B P?nl-
i 4 T 6 1 15
Pin 4 N
5 SALI2T-RK4-5/A2  43-17134
P16
10 SALI2T-RK4-10/A2  43-17135
TPU, black, LigY11Y
2 SALT2T-RK3-2/K1 43-19083
3 SAL12T-RK3-3/K1 43-19084
Pin 1
Pin 3 W 3 T 63 12 15
Pin 4 N
5 SALT2T-RK3-5/K1 43-19085
@14,5
10 SALI2T-RK3-10/K1  43-19086
- 2 SAL12T-RK4-2/K1 43-17582
o
0 g Width across
flats 13 3 SALI2T-RKA-3/K1 4317922
- Pin 1
Pin2]
= 4 T 63 12 15
Pin 4 N
5 SALT2T-RK4-5/K1 4317923
P16
10 SALI2TRK4-10/K1  43-17924

192 CONEC® Technical information starting on page 348



=
— &
- E &
8 = < = 8
Male connector axial S S & 5 8
5 £ 8 P g
5 o S = S 9
S £ ©wW § » S
§ S & £ 3 p
PVC, black, LiYY Contact assignment = S & & 8 = Description Part No.
2 SAL-12T-RS3-2/A2 43-19048
3 SAL12T-RS3-3/A2 43-19049
Pin 1 I
Pin 3 W 3 T 63 12 15
Pin 4 I
5 SAL12T-RS3-5/A2 43-19050
@145
Mi2x1 10 SAL-12T-RS3-10/A2  43-19051
L] 2 SALI2T-RS4-2/A2 4317140
3
ég LWidth across - 3 SAL-12T-RS4-3/A2 4317141
- flats 13 }2::;:,
fi— 4 T 63 12 15
Pin 4 I
5 SAL12T-RS4-5/A2 4317142
@16
10 SAL12T-RS4-10/A2  43-17143
TPU, black, LigY11Y
2 SAL12T-RS3-2/K1 43-19087
3 SAL12T-RS3-3/K1 43-19088
Pin 1
Pin 3 3 T 63 12 15
Pin 4 I
5 SAL12T-RS3-5/K1 43-19089
@145
M12x1
10 SAL12T-RS3-10/K1  43-19090
(I
2 SAL12T-RS4-2/K1 4317581
’ \
. i Width across 3 SAL12TRS4-3/K1 4317930
flats 13 Pin 1 mm
Pin2[1]
fi— 4 T 63 12 15
Pin 4 N
5 SAL12T-RS4-5/K1 43-17931
@16
10 SALI2T-RS4-10/K1  43-17932

Technical information starting on page 348

CONEC® 193




—
S
=
-~ <z
g =< 5§ =
Front panel mounting, wire termination g S 23 8§ o
s 2 8§ 8 2 S
5 S = 5 § ®
Es 8 £ 8 ¢ g
Female connector M16x1,5 thread Contact assignment = S & S = = = Description Part No.
M12x1
£ ﬁ Pin 1 Il
width across flats 17 — o Pin 3 I 3 T 63 12 PVC 16 05 SALI12T-FK3-0,5 43-02412
) Pin 4 I
; 8 [}
J
ceing T
| |
! Pin 1
- Pin 2
in 3 4 T 63 12 PVC 16 05 SALI2T-FK4-05 4302393
Pin 4 W
M16x1,5
Male connector M16x1,5 thread
M12x1
width across flats 17 Pin 1 W
\ » Pin 3 W 3 T 63 12 PVC 16 05 SALI12T-FS3-0,5 43-02413
o Pin 4 HN
[ i o
seaung/ﬁ
l \
. \ Pin 1
Pin 2]
fo— 4 T 63 12 PVC 16 05 SALI2T-F54-05 43-02395
Pin 4 N
M16x1,5
Male connector square flange 26 mm
M12x1
Pin 1
g Pin 3 W 3 T 63 12 PVC 16 05 SALI12T-FSVO3-0,5 43-02498
ol Pin 4 I
& =
EE
o] 1 &l
\
Sealing Pin 1 W
- Pin 2]
i 4 T 63 12 PVC 16 05 SALI2TFSVO4-0,5  43-02499
Pin 4 W
P14

194 CTONEC® Technical information starting on page 348



~
g
-~ <z
g =< S5 =
Back panel mounting, wire termination g & 23 8 I
s g § 8§ o S
e S S 5 8§
S ©» = ® E 5 S
S & o S [SEEE
§3s & £ & g &
Female connector M16x1,5 thread Contact assignment =< S & 38 = = = Description Part No.
M12x1
- | Pin 1 W
wiath across flats 19 Q Pin 3 3 T 63 12 PVC 16 05 SALI2T-FKH3-05  43-02416
@ ol Pin 4 HI
) \Tjﬁll I|I7L|
. Pin 1
Pin 2]
— 4 T 63 12 PVC 16 05 SALI2TFKH4-05  43-02397
L Pin 4 HE
M16x1,5
Male connector M16x1,5 thread
M12x1
) ; Pin 1
widih across flats 19 ! Pin 3 I 3 T 63 12 PVC 16 0,5 SAL12T-FSH3-0,5 43-02417
v Pin 4 N
| &
sealing
\4—1 iy ==
(NI } [ 11T
|
» ! Pin 1
I
i Pin 2
‘ — 4 T 63 12 PVC 16 05 SALI2TFSH405  43-02399
‘ Pin 4 W
M16x1,5

Technical information starting on page 348 CONEC® 195



~
— £
- - &S
. 8 S X = 8
Female connector axial S S D s 8
5 g2 § © a
N IS = S 8
Y] & = b3 —= N
T S 3 8 2 ¢
= = = 2 =
PVC, UL 2570, orange, Li9YCY Contact assignment 2 8§ & 8§ § = Description Part No.
SAL-12SC-RK2PE-2/
2 COA 43-19052
SAL-12SC-RK2PE-3/
3 43-19053
i 1 G
:E'E"ﬂ 2+PE S 630 12 15
PE_|
SAL-12SC-RK2PE-5/
5 COA 43-19054
SAL-12SC-RK2PE-10/
il 10 COA 43-19055
L:AﬁL
o 1] Width across SAL-12SC-RK3PE-2/
@ g flats 13 2 COn 4317116
—
SAL-12SC-RK3PE-3/
o 3 COA 43-17117
1Pin 2| wH
$16 Ipin3! Em 3+PE S 630 12 15
IPE 1M
iy 5 SAL-12SC-RK3PE-5/ 4317118
GOA
10 SAL-12SC-RK3PE-10/ 4317119
) " GOA
Note: Voltage may be present only in mated condition.
TPU, UL 21223, orange, Li9YC11Y
SAL-12SC-RK2PE-2/
2 CoB 43-19079
SAL-12SC-RK2PE-3/
3 43-19080
i'PTn_f: GOB
iPin3, W 2+PE S 630 12 15
PE_|m
5 SAL-12SC-RK2PE-5/ 43-19081
14,5 GOB
il 10 SAL125CRKZPEI0 4319082
Lyl GOB
_leﬁ\
Q M Width across SAL-12SC-RK3PE-2/ i
@ 8 flats 13 2 GoB 4317913
—
SAL-12SC-RK3PE-3/
TPin 1| 3 GOB 4317914
IPin2| Em
p 1pin3! mm 3+PE S 630 12 15
16 IPE_ 1M
i 5 SAL-12SC-RK3PE-5/ 4317915
GOB
SAL-12SC-RK3PE-10/
10 COB 43-17916
Note: Voltage may be present only in mated condition.

196 TONEC® Technical information starting on page 348



~
— g
- E £
8 S I - §
Male connector axial S S & 5 8
5 £ 8 P g
8§ o S & 2 8
S s S v O
E 3 &§ £ s ¢
PVC, UL 2570, orange, LI9YCY Contact assignment = S & S 8 = Description Part No.
SAL-12SC-RS2PE-2/
2 COA 43-19056
3 .Z%I;\]ZSC-RSZPEG/ 43-19057
:rPTnT:ll
iPin3 | E 2+PE S 630 12 15
PE_|m
|
SAL-12SC-RS2PE-5/
5 COA 43-19058
SAL-12SC-RS2PE-10/
10 43-19059
(LT GOA
0 = SAL-12SC-RS3PE-2/
© Width across 2 GOA 43-17124
8 | fats 1
-
SAL-12SC-RS3PE-3/
T 3 COA 43-17125
1Pin 2| PH
Ipin3! Em 3+PE S 630 12 15
are S SAL125C-RS3PE-5/
- 125C- !
5 COA 4317126
10 égl;lZSC-RBPE-]O/ 4317127
Note: Voltage may be present only in mated condition.
TPU, UL 21223, orange, Li9YC11Y
SAL-12SC-RS2PE-2/
2 COB 43-19075
3 EA(SLSZSC-RSZPE-3/ 43-19076
:'PTn_I‘:
iPin3 | EM 2+PE S 630 12 15
e _|m
SAL-12SC-RS2PE-5/
5 OB 43-19077
SAL-12SC-RS2PE-10/
10 43-19078
(LT GoB
o VN SAL-12SC-RS3PE-2/
© Width across 2 GOB 4317904
8 | fats 1
-
SAL-12SC-RS3PE-3/
TPin 11 3 GOB 4317905
1Pin 2| wm
1Pin3| EM 3+PE S 630 12 15
g1e pE_|m
. 5 z%L‘-;ZSC-RBPE-S/ 4317906
10 éAOLl-3125c-Rs3PE-1O/ 4317907
Note: Voltage may be present only in mated condition.

Technical information starting on page 348

SONEC® 197




—
€
=
-~ <5
o o g &I  § 3
Front panel mounting, wire termination S & 23 8 I
s 2 8§ 8 2 S
= S S s 8 o
2 5 § £ 5 =
ES 8§ § & 2 ¢
Female connector M16x1,5 thread Contactassignment = S & 3 = = = Description Part No.
M12x1
; Pin1 L
widih across flats 17 | o Pin3 ER E S 630 12 PVC 16 0,5 SAL12SC-FK2PE-0,5 43-02410
2 5 PE ®
5 Sle
sealing
\ [
a Pin1 "
L i o ¥ S 630 12 PVC 16 05 SALI2SCFK3PEQS 4302392
PE m
M16x1,5
Note: Voltage may be present only in mated condition.
Male connector M16x1,5 thread
M12x1
. Pin1 L
width across flats 17 e Pin3 EM S S 630 12 PVC 16 0,5 SALI2SC-FS2PE-05  43-02411
R | PE m ~
o~
Sealing—~ jii ﬁ
[ 1]
i
4 Pin1 w
E:E; T S 630 12 PVC 16 05 SAL-12SC-FS3PE-0,5  43-02394
| = m
; PE ®
M16x1,5
Note: Voltage may be present only in mated condition.
Male connector square flange 26 mm
M12x1
' Pin1 HE oy e .
i o Pin3 ER T S 630 12 PVC 16 05 SAL12SC-FSVO2PE 43-02496
i al, PE W ~ 0,5
ENEE
o] 11 ]
\
Sealing Pin 1
- Pin2 o SAL12SC-FSVO3PE-
Pin3 EM 3 S 630 12 PVC 16 05 05 43-02497
Hu PE m
Bia
Note: Voltage may be present only in mated condition.

198 CTONEC® Technical information starting on page 348



—
O
=
-~ T3
o — g &I § %
Back panel mounting, wire termination S S 235 § !
s £ 8§88 3§
S o > & & 8 §
S &2 - § § S =
ES 8§ § & 2 ¢
Female connector M16x1,5 thread Contactassignment = S & S = = = Description Part No.
M12x1
Pin1 w
width across flats 19 Pin3 ER E S 630 12 PVC 16 0,5 SAL12SC-FKH2PE-0,5 43-02414
oo PE m
seal\ng\\J_l T l—L
[T [ TIT
4 Pin1 N
Pin2 &
Pin3 EN ¥ S 630 12 PVC 16 0,5 SAL12SC-FKH3PE-0,5 43-02396
- m
PE m
M16x1,5
Note: Voltage may be present only in mated condition.
Male connector M16x1,5 thread
M12x1
; Pin1 w
! Pin3 ER % S 630 12 PVC 16 0,5 SALI2SC-FSH2PE-0,5 43-02415
width across flats 19 : L@ N PE W ~
sealing\w
T T
[T [T
o Pin1 NI
Pin2 & S 630 12 PVC 16 05 SALI2SCFSH3PEQS 4302398
o Pin3 EM £ b '
PE m
M16x1,5
Note: Voltage may be present only in mated condition.

Technical information starting on page 348 CONEC® 199



Section 7
HiGH TEMPERATURE CONNECTORS




PN
CONEC® 201



SAL M12x1 HiGH TEMPERATURE CONNECTORS OVERMOULDED

Nomenclature

SIARLY-JHITE-F1120 B-JRIKIWIAL-§31/QSH1

=

202 CONEC®



SAL M12x1 HiGH TEMPERATURE CONNECTORS OVERMOULDED

Product specification

Technical subject to change without notice.

CONEC® 203



SAL M12x1 HiGH TEMPERATURE SOCKETS
Nomenclature

=

204 CONEC®



SAL M12x1 HiGH TEMPERATURE SOCKETS
Product specification

Technical subject to change without notice.

CONEC° 205



~
= 5
g =
g S T < s
S s » ' B
S S S sl Y1
= S )
) > S = —= I
S £ ©wW § » S
BERE T
TPE, black, Li12Y33X Contact assignment = S & 3 8 = Description Part No.
2 SAL-HT-12-RK4-2 /S1 43-10480
3 SAL-HT-12-RK4-3 /S1 43-10481
Pin 1
Pin 2]
s — 4 A 250 4 034
Pin 4 W
5 SAL-HT-12-RK4-5 /51 43-10482
s % 10 SAL-HT-12-RK4-10/S1  43-10483
™
- 2 SAL-HT-12-RK5-2 /51 43-10484
@11
D
pin 1 m 3 SAL-HT-12-RK5-3 /51 43-10485
Pin2[]
Pin 3 N 5 A 60 4 0,34
Pin 4 HE
Pin 5 M
I 5 SAL-HT-12-RK5-5 /51 43-10486
10 SAL-HT-12-RK5-10/S1  43-10487
TPE, black, Li12Y33X
3 g/]\L—HT—]Z-RKW4-2/ 43-10496
3 SAL-HT-12-RKW4-3 / 43-10497
Pin 1 Sl
Pin 2]
27 l— 4 A 250 4 034
Pin 4 HE
5 g?L—HT—]Z-RKW4-5/ 4310498
Q 10 SAL-HT-12-RKW4-10/ 43-10499
- S1
) pt SAL-HT-12-RKW5-2 /
2 HTIZRIWS- 43-10500
D S1
SAL-HT-12-RKW5-3 /
pin 1 3 S 43-10501
Pin 2]
Pin 3 5 A 60 4 0,34
P?n 4
Pin 5 . ;AL-HT-12-RKW5-5/ 4310502
10 2?L—HT—12-RKW5-10/ 43-10503

206 CONEC® Technical information starting on page 348




=
= §
g £
g S < < s
S v o ! 3
o g s 37 2
S s S £ Y9
N N S
) > = = - I
S £ © § v O
L R
TPE, black, Li12Y33X Contact assignment = S & G 8 = Description Part No.
2 SALHT-12-RS4-2/51  43-10488
3 SALHT-12-RS4-3/51  43-10489
Pin 1
Pin 2]
i 4 A 250 4 034
Pin 4 HE
5 SALHT-12-RS4-5/51  43-10490
10 SALHT12-R54-10/51  43-10491
Nl
2 SALHT-12-RS5-2/51  43-10492
— )
gt 3 SALHT-12-RS5-3/51  43-10493
Pin 1
D Pin 2
Pin 3 W 5 A 60 4 0,34
Pin 4 HE
Pin5 M
5 SALHT-12-RS5-5/51  43-10494
10 SALHT-12-RS5-10/51  43-10495
TPE, black, Li12Y33X
SALHT-12-RSW4-2 /
2 o1/ A1090 4314783
SALHT-12-RSW4-3 /
3 4314784
- S1/A1090
Pin2[J
. i— 4 A 250 4 034
Fin . : SALHTIZRSWAS/ o0 oo
S1/A1090
3 10 2’?‘5’:1356“5"\’4'10/ 43-14786
s
- @11
SALHT-12-RSW5-2/
2 o1/ AI090 4314787
SALHT-12-RSW5-3/
Pin 1 W 3 S1/A1090 4314788
Pin2[J
Pin 3 5 A 60 4 034
Pin 4 HE
Pin 5 m SALHT-12-RSW5-5/
> S1/A1090 4314789
SALHT-12-RSW5-10/
10 o1/ A1090 4314790

Technical information starting on page 348 CONEC® 207



by
— g
~ & £
g S < - S5
S o o ! IS
o g 5 3§ %
S s S s 9
NG IS kY]
I > = = —= IS
S £ ©- § & S
s 3 858
TPE, black, Li12Y33X Contact assignment = S & 3 8 = Description Part No.
SAL-HT-12-RK4-
03 RS4-03/51 43-10900
SAL-HT-12-RK4-
0,6 43-10901
- RS4-0,6/51
Pin 2]
Pin 3 W 4 A 250 4 0,34
Pin 4 HE
SAL-HT-12-RK4-
15 RS4-15/51 43-10902
SAL-HT-12-RK4-
3 RS4-3/51 43-10903
D
-~ SAL-HT-12-RK5-
Jt 03 RS5-03/51 43-10904
- SAL-HT-12-RK5-
g Pin 1 e RS5-0,6/51 4310905
Pin2[J
Pin 3 W 5 A 60 4 034
! Pin 4 W
Pin 5 M SAL-HT-12-RK5-
I M12x1 15 RS5-15/51 43-10906
214
SAL-HT-12-RK5-
3 RS5-3/51 43-10907
TPE, black, Li12Y33X
SAL-HT-12-RKW4-
03 RS4-03/51 43-10908
SAL-HT-12-RKW4-
0,6 43-10909
Pin 1 RS4-0,6/51
Pin 2
— 4 A 250 4 034
Pin 4 W
SAL-HT-12-RKW4-
15 RS4-15/51 43-10910
SAL-HT-12-RKW4-
3 RS4-3/51 43-10911
D
- SAL-HT-12-RKW5-
th R R$5-0,3/51 4310912
SAL-HT-12-RKW5-
Pin 1 mm e RS5-0,6/51 4310913
‘ Pin 201
! Pin 3 5 A 60 4 034
M12x1 Pin 4 I
014 Pin 5 M SAL-HT-12-RKW5-
15 RS5-15/51 43-10914
SAL-HT-12-RKW5-
3 RS5-3/51 43-10915

208 CONEC® Technical information starting on page 348




—
S
=
~ T =T
g =< s =
S v & — O
& §5 8 % &
S = 5 8 g B
= S 5 © & 2
S 25 £ & § S
ES & 5 8 28
Female connector, M16x1.5 thread Contactassignment = S & 3 S = = pescription Part No.
Pin 1 = o
—2 i 4 A 250 4 T 24 05 SALHTIZFKA0S5 4301022
Width across flats 17£l Pin 4 W S
& Pin 1 5
Pin 3 W 5 A 60 4 & 24 05 SALHT-12-FK5-0,5 43-01023
Pin 4 M =
Pin 5 M =
- i
! Pin 1 W 5
J Pin2[J ;
Wiots Pin 3 5 A 60 4 3 24 05 SALHT-12-FK5.1-05  43-01046
Pin 4 HI 3
Pin 5 <
Female connector, PG9 thread
Pin 1 W z
M12x1 Pin2[J = HT19-FKAO E. )
| S 4 A 250 4 5 24 05 SALHTI2FK4-059 4301076
l Pin 4 I S
& Pin 1 5
Sealing —/"ﬁﬁ pin 201 ﬂg-:
Pin 3 W 5 A 60 4 <& 24 05 SALHT-12-FK5-0,5-9 43-01078
Pin 4 HI 3
Pin 5 M ©
Pin 1 = 5]
Pin 2] E
£Go Pin 3 5 A 60 4 S 24 05 SALHT-12-FK5.1-0,5-9 43-01077
Pin 4 W 53
Pin 5 S
Female connector, M16x1.5 thread, positioning possible
Pin 1 = z
Iy i 4 A 250 4 2 24 05 SALHTI2ZFKP4-05  43-01038
o
Width ECTOSS: HIHW Pin 4 8
flats 17 ~
i s Pin 1 W 5
Wﬁ\ “’I Pin 2] E
Pin 3 5 A 60 4 & 24 05 SALHT-12-FKP5-0,5 43-01039
Sealing i I Pin 4 N 8'
Pin 5 M O
B Pin 1 W 5
Pin 2 =
ot Pin 3 5 A 60 4 5 24 05 SALHT12-FKP5.1-05 = 43-01127
: Pin 4 M =
Pin 5 =
Female connector, PG9 thread, positioning possible
Pin 1 g
Pin 2] ;
__M2d } 4 A 250 4 S 24 05 SALHT-12-FKP4-0,5-9 = 43-01112
Pin 3 I Q
Width across— [ I | Pin 4 - 38
flats 17 o
E ' <« Pin 1 D)
h Pin 201 E
Sealing ‘ © Pin 3 W 5 A 60 4 & 24 05 SALHT-12-FKP5-0,5-9 = 43-01113
T Pin 4 HE 53
Pin 5 M ©
- Pin 1 5
Pin 2] =
Pin 3 W 5 A 60 4 & 24 05 SALHT-12-FKP5.1-0,5-9 43-01135
PGo Pin 4 M =
Pin 5 =

Technical information starting on page 348 CONEC® 209



—
O
=
g =% §=
o [V e o
& 5% % s
S =2 5 8 v =
S s = 5§ & o
S 2 S § § S
Q S N
S 3858
Female connector, Square flange 20x20 Contact assignment = S & G = = <= Description Part No.
M12x1
pa—— Pin 1 W E
Pin 2 = SALHT-12-FVO4-
ol 2 u Pin 3 W 4 A 250 4 5 24 05 0,520 43-02324
- 5 Pin 4 S
[
o sealing
Pin 1 N )
Pin 2 =
Pin 3 5 A 60 4 = 24 05 JAUHTIZRVOS 43-02325
Sr2son Pin 4 = 0,5-20
Pin 5 M =
@13,2730

210 CONEC® Technical information starting on page 348




Male connector, M16x1.5 thread

Contact assignment

Number of poles

Coding
Rated voltage [V]

Current rating [A]

Wire material

Wire cross section [AWG]

L [m]

Wire lenght

Description Part No.

M12x1

=\

Width across
flats 17

12}

ac—==a)
Sealing /"Em)

20

Pin 1
Pin2[J
Pin 3 N
Pin 4 N

N

250

Copolymer

05

SALHT-12-FS4-0,5 43-01024

|

M16x1,5

Male connector, PG9 thread

Pin 1 Il
Pin 2
Pin 3
Pin 4 I
Pin 5 M

60

Copolymer

24

05

SALHT-12-FS5-0,5 43-01025

Pin 1 N
Pin 2
Pin 3 I
Pin 4 I
Pin 5 W

60

Copolymer

24

05

SAL-HT-12-FS5.1-0,5 43-01050

Width across
flats 17

Pin 1 Il
Pin 2]
Pin 3
Pin 4

250

Copolymer

24

05

SAL-HT-12-FS4-0,5-9 43-01085

Male connector, M16x1.5 thread, positioning possible

Pin 1 Il
Pin 2]
Pin 3
Pin 4 I
Pin 5 M

60

Copolymer

24

0,5

SAL-HT-12-FS5-0,5-9 43-01087

Pin 1 .
Pin 2]
Pin 3
Pin 4 I
Pin 5

60

Copolymer

24

0,5

SALHT-12-FS5.1-0,59  43-01086

M12x1

]

Width across
flats 17 \

[

TN
Sealmg\ﬁ

25

Pin 1 W
Pin 2
Pin 3
Pin 4 I

250

Copolymer

24

0,5

SALHT-12-FSP4-0,5 43-01040

i,

M16x1,5
[

Male connector, PG9 thread, positioning possible

u«,

Pin 1
Pin 2
Pin 3 N
Pin 4 I
Pin 5 M

60

Copolymer

24

05

SALHT-12-FSP5-0,5 43-01041

Pin 1 Il
Pin 2
Pin 3
Pin 4
Pin 5 W

60

Copolymer

24

05

SALHT-12-FSP5.1-0,5 ~ 43-01128

Width across %
flats 17
L

13

Sealing

25

Pin 1 N
Pin 2
Pin 3
Pin 4

250

Copolymer

24

05

SALHT-12-FSP4-059  43-01114

Pin 1 Il
Pin 2]
Pin 3
Pin 4
Pin 5 M

60

Copolymer

24

05

SALHT-12-FSP5-0,59  43-01115

Pin 1 Il
Pin 2
Pin 3
Pin 4
Pin 5 W

60

Copolymer

24

05

SAL-HT-12-FSP5.1-0,5-9  43-01136

Technical information starting on page 348

H ol
CONEC® 211




—
S
=
N BN
g =< s =
S ¥ > = © I
B g s 2 % =
S S & 8 g &
S = = & £ 5§
S 2 - 5 g€ &5 X
E S 8 5 & g 8
Male connector, Square flange 20x20 Contactassignment = S & G S = S Description Part No.
M12x1
al Pin 1 z
Pin2J = SAL-HT-12-FSVO4-
© N . Pin 3 W 4 A 250 4 S 24 0,5 05-20 43-02326
. ‘ ,QJ\ « Pin 4 S
Sealing
Pin 1 &5
Pin2[J E
Pin 3 HE 5 A 60 4 3 24 0,5 SALHT12-F5V05 43-02327
Pin 4 = 0,520
@Bl12+o1 Pin 5 M ©
$13,2:3%°

Male connector, M16x1.5 thread

M12x1

Width across 4 A 250 4 SAL-HT-FS4-L 43-02357
flats 17 \ —
[

13

20

°
26

5 A 60 4 SAL-HT-FS5.1-L 43-02358

212 CONEC® Technical information starting on page 348



Current rating [A]

Wire material

Wire cross section [AWG]
Wire lenght = L [m]

Coding
Rated voltage [V]

Number of poles

Male connector, M16x1.5 thread Contact assignment Description Part No.

Pin 1 N
Pin 2]
Pin 3 I

= Pin 4 I
Width across flats 19 @

SAL-HT-12-

FKHA-05 43-01121

=

g
S
>
N
wu
o
S

Copolymer

N
~
o
ul

18
205

Pin 1 Il
Sealing ] Pin2[J
\I\u \LJLM Pin 3 -l S A 60 4
Pin 4
Pin 5 M

SAL-HT-12-
24 05 FKH5-0,5 43-01122

Copolymer

Pin 1 Il
Pin 2]
Pin 3 I 5 A 60 4
Pin 4 I
Pin 5

SAL-HT-12-
24 05 FKH5.1-05 43-01129

M16x1,5

Copolymer

Female connector, PG9 thread

Pin 1 .
Pin 2]
Pin 3
Pin 4 I

SALHT-12-
2405 Jinose 43-01119

S

>

&

o

S
Copolymer

Width across
flats 19

Pin 1

Sealing ] !
\ ] Pin 20

[ I Pin 3 mE 5 A 60 4

m Pin 4
: Pin 5 M
i

SALHT-12-
2405 [iis.050 43-01120

Copolymer

Pin 1 Il
Pin 2
PGo Pin 3 5 A 60 4
Pin 4 I
Pin 5

SALHT-12-
2405 Jvis05.9 43-01137

Copolymer

Male connector, M16x1.5 thread

Pin 1 N
Pin 2]
M12x1 Pin 3
Pin 4 HE

24 0,5 SALHT-12-FSH4-0,5 43-01131

S

>

N

wul

o

N
Copolymer

Width across flats 19

Pin 1 Il

|
Pin2[J
soat (rx T Pin 3 M 5 A 60 4
eahng\& T 0] Pin 4
L 1 Pin 5 B

19
215

24 0,5 SALHT-12-FSH5-0,5 43-01132

Copolymer

- Pin 1
Pin 2]
Pin 3 W 5 A 60 4
M16x1,5 Pin 4
Pin 5

24 0,5 SALHT-12-FSH5.1-0,5  43-01130

Copolymer

Male connector, PG9 thread

Pin 1 Wl
M12x1 Pin 2]
Pin 3
Pin 4 N

24 0,5 SALHT-12-FSH4-0,5-9 = 43-01133

S

>

N

w

o

S
Copolymer

Width across flats 19 |
Pin 1

f% Pin 201

Seahng\l_l -] Pin 3 W 5 A 60 4
Al | Pin 4 W
Pin5 M

18

215

24 0,5 SALHT-12-FSH5-0,5-9  43-01134

Copolymer

Pin 1 N
Pin 2]
Pin 3 I 5 A 60 4
Pin 4
Pin 5 W

s 24 05 SALHT12-FSH5.1-0,5-9 4301138

Copolymer

Technical information starting on page 348 CONEC® 213



214

T
-
g S £ 5
S s 2 <
(. S = <
S = §] .S
5 o & = 8
T s § £ B
Male connector, M16x1,5 thread, installation height 5.5 mm S S8 & 3 £ Description Part No.
M12x1
gggq;crOSS\ 4 A 0 4 55 oSHTIZERE g0
Sealing F.\Q\% >| w
|
. T l] 'H I
@0,8 ‘
D2
Dt 5 A 60 4 55 ?,@EHT'H'FSHS‘]' 43-02317
M16x1,5 !
Male connector, M16x1,5 thread, installation height 12 mm
M12x1
Width across
fats 19 \ SAL-HT-12-FSH4-
4 A 250 4 12 43-02320
) P12
Sealing | v
|
. [ I]Ild I
0,8 ‘
D2
D1
SAL-HT-12-FSH5.1-
M16x1 5 5 A 60 4 12 0 43-02321
Male connector, PG9 thread, installation height 5.5 mm
M12x1
Width across
flats 19 \ SAL-HT-12-FSH4-
Fkﬂ% 4 A 20 4 55 O 43-02318
Sealing ol w L
]
. I o—lrlld ==}
1]
M]i
@08
D2
D1
SAL-HT-12-FH5.1-
rGo 5 A 60 4 55 L U4 43-02319
Male connector, PG9 thread, installation height 12 mm
M12x1
s SALHT-12-FSH4
5 HT-12- .
i \F'\G\% 4 A B0 412 o 43-02322
Sealing ol o
== |°
]
. I +—|+|H ==}
1]
(’J]i
20,8 ‘
D2
o1 SAL-HT-12-FH5.1-
5 A 60 4 12 43-02323

P12-9

CONEC®

Technical information starting on page 348




CONE° 215



SECTION 8
Foop & BEVERAGE CONNECTORS




=
o~
[€]

b
>
~
b4
v




SAL M8x1/M12x1 Foob & BEVERAGE CONNECTORS OVERMOULDED

Nomenclature

SAL
Sensor Actor Line

Type
FB = Food & Beverage

Installation size

8 = M8x1
12 =M12x1
Coding
= A-coding
Design
R = Circular connector
Gender
K = Female connector
S = Male connector

Configuration
= Axial
W = Angled

Number of poles

3 = 3-pos.

4 = 4-pos.

5 = 5-pos.
LED-Display

2L =2-LED

3L =3-LED
Cable length

XX = Length [m]
Cable quality

P1 = PP, orange

218 CONEC®



SAL M8x1/M12x1 Foob & BEVERAGE CONNECTORS OVERMOULDED

Product specification

Basic material

Contact Cuzn

Contact plating Nickel plated, gold plated
Contact carrier PP GF, UL 94

Overmould TPE

Sealing FPM

Coupling nut/-screw 1.4404 stainless steel

Technical Data

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12
Rated voltage IEC 61076-2-104 IEC 61076-2-101
Current rating IEC 61076-2-104 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512-2
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection DIN 40050-9 DIN 40050-9
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.4 Nm
Recommended torque M12: 0.6 Nm

Technical subject to change without notice.

Vo o)
A\ T4

NEC® 219



SAL M8x1/M12x1 Foob & BEVERAGE SOCKETS

Nomenclature

SAL
Sensor Actor Line

Type
FB = Food & Beverage

Installation size

8 = M8x1
12 = M12x1
Coding
= A-coding
Design
F = Socket
Gender
K = Female connector
S = Male connector
Assembly
= Front panel mounting
P = Positioning possible, Front panel mounting
H = Back panel mounting

Number of poles

3 = 3-pos.
4 = 4-pos.
5 = 5-pos.
8 = 8-pos.

Type of Connection/Installation height
XX = Wire length [m]

P55 = Dipsolder 5.5 mm

P12 =Dip solder 12 mm

Pxx = Installation height one-piece socket

Screw connection

= M8x0.5 by M8x1

= M16x1.5 by M12x1
9 = PGY by M12x1

220 CONEC®



SAL M8x1/M12x1 Foob & BEVERAGE SOCKETS

Product specification

Basic material

Contact Cuzn

Contact plating Nickel plated, gold plated
Contact carrier PP GF, UL 94

Sealing FPM

Counter nut 1.4404 stainless steel
Socket housing 1.4404 stainless steel
Sealing compound Polyurethane-resin, UL 94

Technical Data

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12
Rated voltage IEC 61076-2-104 IEC 61076-2-101
Current rating IEC 61076-2-104 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection DIN 40050-9 DIN 40050-9
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.6-0.8 Nm
Recommended torque M12: 1-1.2 Nm

Technical subject to change without notice.

SONEC® 221



M8x1 F&B CONNECTORS OVERMOULDED

~
g
T £
- - I
. 8 = X 7 s
Female connector axial S g 2 5 §
.y S = > ©”
S = S5 £ 9
S (&) g ] i‘) §
S £ v § ~ O
s E 5%
PP, orange, Li12Y9Y Contactassignment = S & G S = Description Part No.
2 SAL-FB-8-RK3-2/P1 42-10468
=t
> 3 SAL-FB-8-RK3-3/P1 42-10469
Pin 1 = 3
Pin 3 3 S 3 0,25
Pin 4 M <
>
2 5 SAL-FB-8-RK3-5/P1 42-10470
LU;E\ 10 SAL-FB-8-RK3-10/P1 42-10471
Width across
<+ flats 9
(<o) % 2 SAL-FB-8-RK4-2 /P1 42-10472
L2l
ny 2
> 3 SAL-FB-8-RK4-3/P1 42-10473
@8 Pin 1 2
Pin 2]
D Pin 3 4 5 3 025
Pin 4 I <
2 5 SAL-FB-8-RK4-5/P1 42-10474
l 10 SAL-FB-8-RK4-10/P1 42-10475
Female connector angled
PP, orange, Li12Y9Y
2 SAL-FB-8-RKW3-2/P1  42-10484
2
> 3 SAL-FB-8-RKW3-3/P1  42-10485
Pin 1 3
Pin 3 N 3 D 3 0,25
Pin 4 N <
>
2 5 SAL-FB-8-RKW3-5/P1  42-10486
10 SAL-FB-8-RKW3-10/P1 42-10487
2 SAL-FB-8-RKW4-2/P1  42-10488
N .
[teY Width across
. flats 9 Q
> 3 SAL-FB-8-RKW4-3/P1  42-10489
¢8 Pin 1 8
| Pin2[J
Pin 3 4 > 3 025
D Pin 4 <
2 5 SAL-FB-8-RKW4-5/P1  42-10490
10 SAL-FB-8-RKW4-10/P1 42-10491

222 CONEC® Technical information starting on page 348



M8x1 F&B CONNECTORS OVERMOULDED

=
i S
with LED T £
=~ = =
8 = X S
Female connector angled, 2-LED S 2 2 = §
G S = 5 v
o = S = %)
Ny [S) = Y] v
) & = b3 ~ e
S £ - § & S
t s §f§¢
PP, orange, Li12Y9Y Contact assignment = O € 3 § = Description Part No.
21 5 SAL-FB-8-RKW3- 4210500
5 21:2/P1
% Pin | S - 3 E?EFB';?'RKW} 4210501
Width across  pinsmm 3/
flats 9 3 30 3 025
|
li]l.28 SALFB-8-RKW3-
T Tt Pin 3 N -
- in 5 By 42-10502
SAL-FB-8-RKW3-
10 By 4210503
Female connector angled, 3-LED
PP, orange, Li12Y9Y
= SAL-FB-8-RKW4
O = 2 Eey 42-10504
% pin 1 . SAL-FB-8-RKW4-
Width across Pin22 3 313/P1 42-10505
flats 9 Pin4mm
3 4 30 3 0,25
THI SAL-FB-8-RKW4
D 5 Eiy 42-10506
SAL-FB-8-RKW4-
10 Eiry 42-10507

Technical information starting on page 348

CONEC® 223



M8x1 F&B CONNECTORS OVERMOULDED

b
g
T £
S < — §
. Y = = u =g
Male connector axial S g 2 5 §
.y S = > ©”
S s £ 5§ 3
S & = b3 ~ N
S £ v § ~ O
t s § 5§
PP, orange, Li12Y9Y Contactassignment = S & G S = Description Part No.
2 SAL-FB-8-RS3-2/P1 42-10476
=t
~ 3 SAL-FB-8-RS3-3/P1  42-10477
Pin 1 = 3
Pin 3 3 S 3 025
Pin 4 X
>
o 5 SAL-FB-8-RS3-5/P1  42-10478
M8x1
} " 10 SAL-FB-8-RS3-10/P1  42-10479
%‘iL— Width across
=] flats 9 2 SAL-FB-8-RS4-2/P1 42-10480
12} 6]
- - S 3 SALFB-8-RS4-3/P1  42-10481
QSS Pin 1 8
Pin2[1
Pin 3 W 4 > 3 0,25
Pin 4 W <
2 5 SAL-FB-8-RS4-5/P1  42-10482
10 SAL-FB-8-RS4-10/P1  42-10483
Male connector angled
PP, orange, Li12Y9Y
2 SAL-FB-8-RSW3-2/P1  42-10492
2
~ 3 SAL-FB-8-RSW3-3/P1  42-10493
Pin 1 3
Pin 3 N 3 D 3 0,25
Pin 4 N <
>
o 5 SAL-FB-8-RSW3-5/P1  42-10494
- 10 SAL-FB-8-RSW3-10/P1 42-10495
27 =
=
1 2 SAL-FB-8-RSW4-2/P1  42-10496
N $ Width across
- flats 9 =
> 3 SAL-FB-8-RSW4-3/P1  42-10497
Pin 1 8
Pin 21
_n @8 oin 3 4 S 3 025
Pin 4 <
2 5 SAL-FB-8-RSW4-5/P1 42-10498
10 SAL-FB-8-RSW4-10/P1 42-10499

224 CONEC® Technical information starting on page 348



M8x1 F&B CONNECTORS OVERMOULDED

] =~
Connecting cable = £
. EX
: g S < 78
Female connector axial S S 2 s 8
0 G S B >
Male connector axial S S 2 § 3
S > = 8w 2
< £ T S V O
E 3 & § =§ ¢
PP, orange, Li12Y9Y Contact assignment = 8§ & 83 8§ = Description Part No.
SAL-FB-8-RK3-
03 RS3.0,3/ P1 4213198
=] SAL-FB-8-RK3
> 0,6 RS3-0,6/P1 4213199
Pin 1 ©
Pin 3 3 N 0,25
Pin 4 N <
, > SAL-FB-8-RK3-
3 15 RS3-15/P1 4213010
Width across
< % flats 9
© SAL-FB-8-RK3-
3 Ay 4213200
SAL-FB-8-RK4-
03 RS4-0.3/P1 4213201
-
a 06 SAL-FB-8-RK4- 4213160
S , .
% Pin 1 S RS4-0,6/P1
Pin2[1
2 i 4 g 3 0,25
Width across Pin 4 N
, > SAL-FB-8-RK4-
flats 9 §
, ats S 15 RS4-1.5/P1 4213202
M8x1
B SAL-FB-8-RK4- 4213203
RS4-3/P1
Female connector angled
Male connector axial
PP, orange, Li12Y9Y
SAL-FB-8-RKW3-
03 RS3-0.3/P1 4213204
a 06 SAL-FB-8-RKW3- 1213205
e ' R$3-0,6/P1
Pin 1 ©
Pin 3 3 N 3 0,25
Pin 4 N <
> SAL-FB-8-RKW3-
2 b RS315/P1 4213206
= SAL-FB-8-RKW3-
3 SR 4213207
g Eﬁ Width across
flats 9
SAL-FB-8-RKW4-
03 RS4-0.3/P1 4213208
—
O
a SAL-FB-8-RKW4-
> 0,6 4213209
Pin 1w 2 RS4-0,6/P1
Pin2[]
! 4 N 3 0,25
° 5 Width across Pin 3 - 2
¥ flats 9 Pin 4 . > . SAL-FB-8-RKW4- 4913210
[T 3 ' RS4-1,5/P1
;;{ M8x1 SAL-FB-8-RKW4-
3 B 4213211

Technical information starting on page 348

CONEC® 225



M8x1 F&B CONNECTORS OVERMOULDED

~
Connecting cable with LED = S
==
g S < ¢ S
Female connector angled, 2-fold LED H $ 2 s 8
. [ S S >
Male connector axial S § 8 § 17
) > = = ~ e
< £ T S ) N
§ S & £ X p
PP, orange, Li12Y9Y Contact assignment = S & 3 8 = Description Part No.
SAL-FB-8-RKW3-RS3-
= 03 2L03/P1 4213212
q g XVidth across
ats 9 . SAL-FB-8-RKW3-RS3-
Pin 1 I . R
B 0,6 21:0,6/P1 42-13213
_. ‘ 3 30 3 0,25

40
Tiﬂiﬁl’r—

SAL-FB-8-RKW3-RS3-
15 2L15/P1 42-13214
Width across
flats 9
SAL-FB-8-RKW3-RS3-
sx1 3 21-3/P1 42-13215

Female connector angled, 3-fold LED
Male connector axial

PP, orange, Li12Y9Y

21
SAL-FB-8-RKW4-RS4-
= 03 31:0,3/P1 42-13216
] % Width across
flats 9
SAL-FB-8-RKW4-RS4-
0,6 31:0,6/P1 42-13217
- 3 30 3 0,25
i 15 g/i‘ﬁ'FSB/'?,']RKW“'RS“' 4213218
o Width across i
<+ flats 9
3 ;ﬁgF/BF;?'RKW“'RS“' 4213219
T M8x1

226 CONEC® Technical information starting on page 348




M8x1 F&B SoCKETS

—
&)
=
— < F
=
: . — 8 = & s =
Front panel mounting, wire termination S R 235 8 N
[ S B 5 Ml =
S S &8 & g 2
S o > = S ¢ 3§
QS & g g [ —
B
Female connector, M8x0.5 thread Contact assignment = S & G = = = Description Part No.
M8x1 8
>
il Pin 1 H 3 o
Width scrose © Pin 3 3 S 3 = 24 02 SALFB-8-FK3-0,2 4201018
flats 10 © Pin 4 HE <<
T - >
] I o
Sealing n
(&)
(=)
>
O Pin 1 o
b Pin 2 4
bin 3 4 S 3 £ 24 02 SALFB-8-FK4-02 42-01019
I Pin 4 <>’:
o
M8x0,5 L)
Va6

Technical information starting on page 348

A\ T4

NIEC® 227



M12x1 F&B CONNECTORS OVERMOULDED

~
£
E £
- - I
. 8 = X 7 s
Female connector axial S g 2 5 §
.y S = IS
S &= S = ©n
Ng [S) = u v
Y] & = b3 ~ N
2 £ - § o U
t s 85 5¢
PP, orange, Li12Y9Y Contactassignment = S & G S = Description Part No.
2 SAL-FB-12-RK4-2/P1  43-10512
3 SAL-FB-12-RK4-3/P1  43-10513
Pin 1
Pin2[J
oin 3 4 A 250 4 034
Pin 4 I
5 SAL-FB-12-RK4-5/P1  43-10514
Width across 10 SAL-FB-12-RK4-10/P1  43-10515
T % flats 14
. o 2 SAL-FB-12-RK5-2/P1  43-10516
@11
D i 1 3 SAL-FB-12-RK5-3/P1  43-10517
Pin2[J
Pin 3 5 A 60 4 034
Pin 4 N
Pin'5 5 SALFB12-RK5-5/P1  43-10518
10 SAL-FB-12-RK5-10/P1  43-10519
Female connector angled
PP, orange, Li12Y9Y
2 SAL-FB-12-RKW4-2/P1 43-10528
3 SAL-FB-12-RKW4-3/P1  43-10529
Pin 1 Il
Pin 2]
i 4 A 250 4 034
Pin 4 N
5 SAL-FB-12-RKW4-5/P1 43-10530
10 SAL-FB-12-RKW4-10/P1 43-10531
0
&l Width across
. flats 14 2 SAL-FB-12-RKW5-2/P1 43-10532
- B11
D ‘ 3 SAL-FB-12-RKW5-3/P1  43-10533
Pin 1
Pin2[1
Pin 3 N 5 A 60 4
Pin 4 N
Pin 5 M
5 SAL-FB-12-RKW5-5/P1 43-10534
10 SAL-FB-12-RKW5-10/P1 43-10535

228 CONEC® Technical information starting on page 348



M12x1 F&B CONNECTORS OVERMOULDED

~
i g
with LED T s
=~ = =
8 = X S
Female connector angled, 3-LED 2 S 2 s ®
G S = IS
S &= S = ©
Ng [S) = w Q
S SR 2
S £ v § ~ O
‘H H E
PP, orange, Li12Y9Y Contact assignment = O € 3 § = Description Part No.
SAL-FB-12-RKW4-
2 312/P1 43-11636
Pin 1 I . SAL-FB-12-RKW4-
rnat 3 S 4311637
_"Pin 4w
4 A 30 4 034
SAL-FB-12-RKW4-
5 315/P] 43-11638
27
SAL-FB-12-RKW4-
aﬂﬁﬂ 10 31:10/P1 4311639
I % Width across SAL-FB-12-RKW5-
A flats 14 2 312/P] 43-11640
@
- @11 Pin 1
= r 3 SALFB-12-RIWS- 4311641
5 Tonem 31:3/P1
SYEYE 5 A 30 4 0,34
Pin 3 mm SAL-FB-12-RKW5-
Pinsm > 3L5/P1 4311642
SAL-FB-12-RKW5-
10 3L10/P1 43-11643

Technical information starting on page 348

SONEC® 229



M12x1 F&B CONNECTORS OVERMOULDED

=
1S
T £
- - I
. 8 = X 7 s
Male connector axial S g 2 5 §
.y S = IS
S e S N Q
S (&) g ] i‘) N
S £ 3 5§ ~ O
t 3§ L s
PP, orange, Li12Y9Y Contactassignment = S & G S = Description Part No.
2 SALFB-12-RS4-2/P1  43-10520
3 SAL-FB-12-R$4-3/P1  43-10521
Pin 1
Pin2[]
o 3 4 A 250 4 0,34
Pin 4 N
5 SALFB-12-RS4-5/P1  43-10522
Width across 10 SAL-FB-12-R$4-10/P1  43-10523
) flats 14
) g
- 2 SALFB-12-RS5-2/P1  43-10524
o
P11
D - 3 SAL-FB-12-R$5-3/P1  43-10525
Pin2[1
Pin 3 5 A 60 4 0,34
Pin 4 N
Pin5 M
5 SALFB-12-RS5-5/P1  43-10526
10 SALFB-12-RS5-10/P1  43-10527
Male connector angled
PP, orange, Li12Y9Y
SAL-FB-12-RSW4-2/
2 o /ATE 43-14824
s BRI e
Pin 1
Pin2[]
oin 3 4 A 250 4 0,34
Fine : SALFBI2RSWAS/ o0 o0
P1/A1090
32 &
= SAL-FB-12-RSW4-10/
WI 10 o 43-14827
SAL-FB-12-RSW5-2/
& 2 43-14828
o Width across P1/A1090
® flats 14
- @11 SAL-FB-12-RSW5-3/
Pin 1 3 P1/A1090 43-14829
D Pin 2 [
Pin 3 I 5 A 60 4 0,34
Pin 4 N
Pin 5 M SAL-FB-12-RSW5-5/
5 o AR 43-14830
19 SALFB12RSWS10/ 0 oo

P1/A1090

230 CONEC® Technical information starting on page 348




Mi2x1 F&B CONNECTORS OVERMOULDED

=~
Connecting cable = S
=, —
g S < 7 o8
Female connector axial S & 2 s §
. [ S S >
Male connector axial S § 8 § 17
) & = b3 ~ e
S £ - § & S
5§53
PP, orange, Li12Y9Y Contact assignment = O € 3 § = Description Part No.
SAL-FB-12-RK4-
03 RS4-0.3 P1 43-10916
0,6 ?{éngg/ﬁ,ﬁK‘l' 43-10917
Pin 1 il
Pin2[]
m Pin s 4 A 250 4 0,34
Fin 4 - s SALFB-12-RK4- 1310918
' RS4-1,5/P1
§ Width across
flats 14
SAL-FB-12-RK4-
3 A 43-10919
D
-
SAL-FB-12-RK5-
03 RS5.0.3, P1 43-10920
SAL-FB-12-RK5-
2 ﬁgﬁ Pin 1 06 RS5-0,6/P1 4310921
Width across Pin2[1
flats 14 Pin 3 5 A 60 4 0,34
Pin 4 N
Pin 5 SAL-FB-12-RK5-
N 1,5 RS5-1.5/P1 43-10922
M12x1
SAL-FB-12-RK5-
3 55 P 4310923
Female connector angled
Male connector axial
PP, orange, Li12Y9Y
SAL-FB-12-RKW4-
03 RS4-0.3/ P1 4310924
06 ;/;z'ng/zﬁKW“' 43-10925
Pin 1 -0,
Pin2[]
i 4 A 250 4 0,34
Pin 4 - s SALFB-12-RKW4- 1310926
' RS4-1,5/P1
SAL-FB-12-RKW4-
Width across 3 RS4-3/P1 4310927
flats 14
SAL-FB-12-RKWS5-
D A
03 RS5.0.3 P1 4310928
SAL-FB-12-RKWS5-
- 06 RS5.0,6/P1 43-10929
g Pin 21
@ Width across Pin 3 I 5| A 60 4 0,34
flats 14 Pin 4 I
Pin 5 M SAL-FB-12-RKWS5-
- 15 RS5-1.5/P1 43-10930
M12x1
SAL-FB-12-RKWS5-
3 B 43-10931

Technical information starting on page 348

SONEC® 231



232

M12x1 F&B CONNECTORS OVERMOULDED

. . =
Connecting cable with LED = £
= —~
8 = I 7§
Female connector angled, 3-LED S g 2 < §
. S =S “
Male connector axial s £ 8 § g
S S = - o
< S - § » S
E 3 & £ S @
s g S = 5 D
PP, orange, Li12Y9Y Contact assignment = S & S 8 = Description Part No.
03 ;AL\_EZB;]PZ]'RKW“'RM' 4311652
Pin 1 m N SAL-FB-12-RKW4-RS4-
_Pin2C 0,6 3L0.6/P1 43-11653
JPin4mm !
% %f, Ay 4 A 30 4 034
o] O L)
. 1 el e
Width across
flats 14 3 SAL-FB-12-RKW4-RS4- 4311655
31:3/P1
SAL-FB-12-RKW5-RS5-
03 43-11656
! 31:03/P1
|
$ Width across Pin | 1 = SAL-FB-12-RKW5-RS5- ]
] flats 14 2 06 3L0,6/P1 4311657
% 5 A 30 4 034
B Pin 3 SAL-FB-12-RKW5-RS5-
Pinsm 1.5 3L1.5/P1 43-11658
M12x1
3 SALFBI2-RKWS-RSS- o 1 oo

3L:3/P1

CONEC®

Technical information starting on page 348




M12x1 F&B SoCKETs

—
[€)
=
-~ <z
8 S < s =
Front panel mounting, wire termination E_ 25 § n
5 £ 88 3%
5 & &S = 8§ € §
S &2 - § § S =2
ES & £ g 2@
Female connector, M16x1.5 thread Contactassignment = S & G = = = Description Part No.
121 rf::; ; ;I SAL-FB-12-
p— 4 A 250 4 PVC 24 05 FK4-05 43-01018
il Pin 4
Width across ——__| &
flats 17 & )
) & Pin 1
Sealing Pin 2 SAL-FB-12-
Pin 3 W 5 A 60 4 PVC 24 05 FK5-05 43-01019
Pin 4 I
Pin 5 M
.
I Pin 1] Pin 5 SAL-FB-12-
Pin2 MM Pin6
! Pin3EE  Pin7 EE 8 A 30 2 PVC 24 05 FK8-05 43-02823
M16x1,5 Pin4C—J] Pingll
Female connector, PG9 thread
M12x1 Pin 1
= Pin 2] SAL-FB-12-
o 4 A 250 4 PVC 24 05 Looo 43-01103
L/ Pin 4 B
Width across ——__| -
flats 17 AT &
Sealing o Pin 1
— ﬁﬁ Pin 201 SAL-FB-12-
Pin 3 N 5 A 60 4 PVC 24 05 FK5-0,5-9 43-01105
Pin 4 HE
Pin 5 M
-
Pin 1 Pin 5 SAL-FB-12-
Pin2 @ Pin6
oo Pin3EE  Pin7EE 8 A 30 2 PVC 24 05 FK8-0,59 43-02452
Pin4C] Ping M
Male connector, M16x1.5 thread
y rfjn ; ;I SAL-FB-12-
12x1 n
Pin 3 E 4 A 250 4 PVC 24 05 FS4-05 43-01020
I\U_N Pin 4 HE
Width across ©
flats 17 -
Pin 1
rrs & o SALFB-12-
Sealing —" Pin 3 5 A 60 4 PVC 24 05 FS5-05 43-01021
: | Pin 4 W
Pin 5 M
el
Pin 1] Pin 5 W SAL-FB-12-
Pin2 M Pin6
. Pin3 M  Pin7 M 8 A 30 2 PVC 24 05 FS8-05 43-01233
M16x1,5 Pin4C Pin8 M
Male connector, PG9 thread
E?n ; ; SAL-FB-12-
M12x1 n
X Pin 3 HI 4 A 250 4 PVC 24 05 FS4-059 43-01106
Pin 4 N
Width across ®
flats 17 -
= Pin 1
T 4% i SALFB-12-
Sea\ing—/JH"ﬁ) Pin 3 N 5 A 60 4 PVC 24 05 FS50,59 43-01108
Pin 4 HE
Pin 5 M
-
Pin 1] Pin 5 W SAL-FB-12-
Pin2 M Pin6
Pin3mE  Pin7 EE 8 A 30 2 PVC 24 05 FS8-0,5-9 43-02822
PGY Pin4C Pin 8N

Technical information starting on page 348

H ol
CONEC® 233



M12x1 F&B SoCKETs

—
O
=
-~ <z
o o g =< 5=
Back panel mounting, wire termination 2 & 23 g 1
5 £8 833
5 o S = 8 S8 §
S 2 - § § S =
Es 8L
Female connector, PG9 thread Contact assignment = S & G = = = Description Part No.
Pin 1 W SAL-FB-12-
M12x1 .
LA Pin 2 43-02328
pin 3 4 A 250 4 PVC 24 05 FKH4-05-9
. T Pin 4 HE
Width across flats 19 ‘ﬁ
@ wn
(o) | f o= SALFB-12
Seali Pin 2 bl
ea'”g\l ] " Pin 3 mm 5 A 60 4 PVC 24 05 FKH5-0,5-9 43-02329
Pin 4 HE
Pin 5 M
—
Pin 1 Pin 5 SAL-FB-12-
Pin 2 Il Pin 6
pnomm  pnomm 8 A 30 2 PVC 24 05 FKH8-059 43-02330
PG9 Pin 4] Pin 8 Il
Male connector, PG9 thread
M12x1 Pin 1 SAL-FB-12-
Pin2[]
bin 3 4 A 250 4 PVC 24 05 FSH4-05-9 43-02331
ﬂﬁ Pin 4 HE
Width across
flats 19 @ [y
b .
Sealing ——__ j_ﬁ I;m ; ;I
\|| | 1 P::3- 5 A 60 4 PVC 24 05 SALFBIZ 43-02332
Pin 4 HE " FSH5-0,5-9
Pin 5 M
—
Pin 1 Pin 5 SAL-FB-12-
Pin 2 Il Pin 6
pos pnomm  pnomm 8 A 30 2 PVC 24 05 FSH8-05-9 43-02333
Pin 41 Pin 8 Il

234 CONEC® Technical information starting on page 348



M12x1 F&B SoCKETs

T
g
L L g S I 3§
Back panel mounting, dip solder termination S SN~ B
S S § =
R s § 3
[y > = E
£ 5 % ¢ O3
Female connector, PG9 thread 2 8§ & 8 & Description Part No.
M2t SAL-FB-12-
a 4 A 250 4 55  FKH4-P5,5-9 43-01894
Width across
flats 19 \ @
Seali N T @ g
ea“ng\(‘]—r‘j—[‘ 5 SAL-FB-12-
) T" \' i I 5 A 60 4 55  FKH5-P5,5-9 43-01896
i
0.8 -
ots || SALFB-12-
@5 8 A 30 2 55 FKH8-P559 43-02340
PGY
M12x1 SAL-FB-12-
Wicth across 4 A 250 4 T2 L 43-01895
flats 19 \ @
Sealing \ T 28
T~ 0r1n SALFB-12-
C T 5 A 60 4 12 FKH5-PI12:9 43-01897
- Hl”HI
gos ) 11
016 ||
a5 SAL-FB-12-
. 8 A 30 2 12 Jnc 43-02341
Male connector, PG9 thread
M12x1
Width across -FB-12-
fota 19 \ﬂ%ﬁ 4 A 250 4 55 iRl 43-02334
Sealing o| wu
SAL-FB-12-
[ I I | .
- ”w 5 A 60 455 Loioog 43-02335
o
30,8 ’
o2 |||
D1 SAL-FB-12-
- 8 A 30 2 515 43-02345
PG9 FSH8-P5,5-9
M12x1
Width across -FB-12-
fots 15 \ﬂ%ﬁ 4 A 20 4 o A 4302336
Sealing o| wu
SAL-FB-12-
[ I I | d
- ”W 5 A 60 4 12 200 43-02337
o
?0,8
o2 |||
- SALFB-12-
- 8 A 30 2 12 FSH8-P12-9 43-02346
PG

Technical information starting on page 348

CONEC® 235



SECTION 9
CONNECTORS FOR Bus SYSTEMS







SAL CONNECTORS OVERMOULDED — PROFIBUS DP/
INDUSTRIAL ETHERNET 100 MHz/ETHERNET 10 GBIT/S
Nomenclature

SIATLY-18IBE-JRIKIWI4L-131/0Gl4

=]

238 CONEC®



SAL M8x1 CONNECTORS OVERMOULDED — PrRoOFIBUS DP/
INDUSTRIAL ETHERNET 100 MHz/ETHERNET 10 GBIT/S
Product specification

Contact CuZn / CuSn

Contact plating Nickel plated, gold plated
Contact carrier TPU GF, UL 94 / PA, UL 94 / PPA
Overmould TPU, UL 94, grey

Sealing FPM

Coupling nut/-screw GD-Zn, Ni

Shield sleeve CuZn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101 X-coding: IEC 61076-2-109
Current rating IEC 61076-2-101 X-coding: IEC 61076-2-109
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Recommended torque: 0.6 Nm

Technical subject to change without notice.

H ol
CONEC® 239



SAL M12x1/7/8" CONNECTORS OVERMOULDED/
CAN-Bus/DEevVICENET

Nomenclature

=

240 CONEC®



SAL M12x1/7 /8" CONNECTORS OVERMOULDED/
CAN-Bus/DeviceNET

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated

Contact carrier TPU, UL94 / TPU GF, UL 94 / PA UL
Overmould TPU, UL 94, grey

Sealing FPM

Coupling nut/-screw GD-Zn, Ni / CuZn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

7/8" M12x1
Rated voltage IEC 60664-1 IEC 61076-2-101
Overvoltage category IEC 60664-1 2
Rated voltage IEC 60664-1 2.7kV
Current rating IEC 60512-3 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque: 0.6 Nm

Technical subject to change without notice.

H ol
SONEC® 241



SAL M12x1 Y-SpLITTER — PROFIBUS DP

Nomenclature

STARLE-R1 02080 -IRESISE-RTI20-IRIKISE-D1120-JRASES]
CONNECTION |l ||| \ |
ALLOCATION

242 CONEC®




SAL M12x1 Y-SpLITTER — PROFIBUS DP

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PBT GF, UL 94
Overmould Thermoplastic elastomere
Sealing FPM

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101
Current rating IEC 61076-2-101
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9a

Technical subject to change without notice.

H ol
CONEC® 243



SAL M12x1T CONNECTORS FIELD-ATTACHABLE — PROFIBUS DP/
INDUSTRIAL ETHERNET 100 MHz / ETHERNET 10 GBIT/
Nomenclature

SIATLL-J1]21BL-JRIK] JCl4]-1S)/J150

=

244 CONEC®



SAL M12x1T CONNECTORS FIELD-ATTACHABLE — PROFIBUS DP/
INDUSTRIAL ETHERNET 100 MHz / ETHERNET 10 GBIT/A
Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PA6, UL 94

Housing GD-Zn, Ni

Clamp-/screw contact Stainless steel, nickel plated
Screw termination CuZn / Ni, Sn gal.

Cable sealing Elastomere

Sealing FPM / NBR

Coupling nut/-screw GD-Zn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101  X-coding = IEC 61076-2-109
Current rating IEC 61076-2-101  X-coding = IEC 61076-2-109
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Recommended torque: 0.6 Nm

Technical subject to change without notice.

H ol
CONEC® 245



SAL M12x1 Sockets — PRoFiBus DP/
INDUSTRIAL ETHERNET 100 MHz / ETHERNET 10 GBIT/
Nomenclature

SIALLE-J1 20BI-JFIKIPIWIAL-JOSH-ROR /) | /JSMT]

saL - B
Sensor Actor Line
Installation size
12 =M12x1
45 = RJ45
Coding
B = B-coding
D = D-coding
X = X-coding
Design
B = Socket
S = Special connector
| = Insulation body
Gender
K = Female connector
S = Male connector
Assembly
= Front panel mounting
P = Positioning possible, Front panel mounting

H = Back panel mounting

Configuration
= Axial
w = Angled \ = Square flange

Number of poles
4 = 4-pos.
8 = 8-pos.

Type of connection/Installation height

P5.5 =Dip solder 5.5 mm X5.5 =Dipsolder5.5mm L = Solder termination
P6.75 = Dip solder 6.75 mm X7.2  =Dipsolder 7.2 mm

P12 =Dip solder 12 mm X9 = Dip solder 9 mm

XX = Wire/Cable length [m] X10 = Dip solder 10 mm

Pxx = Installation height one-piece socket X13 =Dip solder 13 mm

Xxx = Installation height two-piece socket

Screw connection

= M16x1.5 20 = Square flange 20 x 20
12 =M12x1 26 = Square flange 26 x 26
9 = PG9
Cable quality
G4 =TPU, violet, UL, AWG 22
G5 = PVC, violet, UL, AWG 22

G6 =TPU, green, UL, AWG 22

Termination
= manual assembly
SMT = Surface Mount Technology (Reflow Soldering)
THR  =Through Hole Reflow (Reflow Soldering)
WD =Wall busting

246 CONEC®



SAL M12x1 Sockets — PrRoFisus DP/
INDUSTRIAL ETHERNET 100 MHz / ETHERNET 10 GBIT/A
Product specification

Contact CuZn

Contact plating Nickel plated, gold plated

Contact carrier PBT GF, UL 94 / PA GF, UL 94, LCP GF
Sealing FPM / NBR

Counter nut CuZn, Ni

Socket housing CuZn, Ni

Sealing compound Polyurethane-resin, UL 94

Shroud Spring steel

Shroud surface Sn gal.

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101  X-coding = IEC 61076-2-109
Current rating IEC 61076-2-101  X-coding = IEC 61076-2-109
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Recommended torque: 1-1.2 Nm

Technical subject to change without notice.

H ol
CONEC® 247



SAL D-SUB

Nomenclature

—)

248 CONEC®



SAL D-SUB

Product specification

Contact D-SUB CuZn

Contact plating D-SUB Nickel plated, gold plated
IDC-Contact CuSn

Housing Thermoplastic chrome-plated

Information on the following pages are basing on below mentioned IEC-standards.

Degree of protection IEC 60529

Technical subject to change without notice.

H ol
CONEC® 249



SAL M12x1/ 7/8" Sockers/CAN-Bus/DEeVICENET

Nomenclature

SIARLE-IDINE-R1020 J-JFIKIHY J40-J050/QGH)

=

250 SONEC®



SAL M12x1/ 7/8" Sockers/ CAN-Bus/DEevVICENET

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PBT GF, UL 94

Sealing FPM / NBR

Counter nut CuZn, Ni

Socket housing CuZn, Ni

Sealing compound Polyurethane-resin, UL 94

Information on the following pages are basing on below mentioned IEC-standards.

7/8" M12x1
Rated voltage IEC 60664-1 IEC 61076-2-101
Overvoltage category IEC 60664-1 2
Rated voltage IEC 60664-1 2.7kV
Current rating IEC 60512-3 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque: 1.2 Nm

Technical subject to change without notice.

H ol
CONEC® 251



—
S
— =
g <
g S I S s
S v o IS
o g s 7 2
S S S is 4
5 o & = S 8
S £ ©wW § N S
N
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & G S = Description Part No.
2 SAL-12B-RK4.1-2/G5  43-11601
3 SAL-12B-RK4.1-3/G5  43-11602
[Pin 2| mm IN]
|pin 4 B 160 4 %
- ~
5 SAL-12B-RK4.1-5/G5  43-11603
D
10 SAL-12B-RK4.1-10/G5  43-11604
TPU, UL, violet, 02YSH(ST)CH
2 SAL-12B-RK4.1-2/G4  43-10932
3 SAL-12B-RK4.1-3/G4  43-10933
[Pin 2| mm IN]
|pin 4 B 160 4 =
o~
5 SAL-12B-RK4.1-5/G4  43-10934
D
10 SAL-12B-RK4.1-10/G4  43-10935
I TPE, UL, highflexible, violet, 02YS(ST)C11Y
2 SAL-12B-RK4.1-2/G7  43-11605
Width across
3 flats 13 3 SAL-12B-RK4.1-3/G7  43-11606
Pin 2] I
o {pin 2| mm 4 B 160 4 b
- o~
Mﬂvs 5 SAL-12B-RK4.1-5/G7 ~ 43-11607
D
10 SAL-12B-RK4.1-10/G7  43-11608

252 CONEC® Technical information starting on page 348



—
S
-
g <
= = o
Q8 = X - S
S = o !B
= S 5 = 9
s £ 8 2 g
5 S o S 9o
S 2 5 s S
§ 5 8 £ = ¢
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & 3 8 = Description Part No.
27 2 SAL-12B-RKW4.1-2/G5  43-12471
- 3 SAL-12B-RKW4.1-3/G5  43-12472
& Width across _
flats 13 [Pin 2! I
L 1 Pin 4| 4 B 160 4 x
4 i o~
| W $135
5 5 SAL-12B-RKW4.1-5/G5 43-12473
10 SAL-12B-RKW4.1-10G5 43-12474
TPU, UL, violet, 02YSH(ST)CH
2 SAL-12B-RKW4.1-2/G4  43-12475
27
3 SAL-12B-RKW4.1-3/G4  43-12476
2 iz - N
Tae s lpins/mm 4 B 160 4 x
o~
N
- | Mm,s 5 SAL-12B-RKW4.1-5/G4  43-12477
D
10 SAL-12B-RKW4.1-10G4  43-12478
TPE, UL, highflexible, violet, 02YS(ST)C11Y
2 SAL-12B-RKW4.1-2/G7  43-12479
27
;[ 3 SAL-12B-RKW4.1-3/G7  43-12480
o , [Pin 2! m
8 e 291055 bin 4 4 B 160 4 x
I ~
N
- 1] pros 5 SAL12B-RKW4.1-5/G7  43-12481
D
10 SAL-12B-RKW4.1-10G7 43-12482

Technical information starting on page 348

CONEC® 253




—
)
-
g <
~ = =
8 E = T ES)
S > s}
Q 2 § = b
s S 5§ 2 g
S S = S O
U > = = ~ =
2 £ - g <~ °
: . § T &8 £ § 8 -
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & 3 8 S Description Part No.
@145
M12x1
2 SAL-12B-RS4.1-2/G5  43-11609
i
2 swis 3 SAL-12B-RS4.1-3/G5  43-11610
i Pz N
{pin | mm 4 B 160 4 <
- L) ‘r _\_— o~
iy t 5 SAL-12B-RS4.1-5/G5  43-11611
‘ $13,5
D
10 SAL-12B-RS4.1-10/G5 43-11612
|
TPU, UL, violet, 02YSH(ST)CH
01;1,5
Miact 2 SAL-12B-RS4.1-2/G4  43-10936
i
3 SAL-12B-RS4.1-3/G4  43-10937
N gL T e N
ats n
{pin 4/ mm 4 B 160 4 <
o A = g
I 5 SAL-12B-RS4.1-5/G4  43-10938
| 7;2513,5
D
10 SAL-12B-RS4.1-10/G4 43-10939
TPE, UL, highflexible, violet, 02YS(ST)C11Y
14,5
M12x1 2 SAL-12B-RS4.1-2/G7  43-11613
3 SAL-12B-RS4.1-3/G7  43-11614
2 Width across e
flats 13 IPin 2! Il m
1 Pin 4| 4 B 160 4 I
— @ ~
5 SAL-12B-RS4.1-5/G7  43-11615
1_{25135
D
10 SAL-12B-RS4.1-10/G7 43-11616

254 CONEC® Technical information starting on page 348



Technical information starting on page 348

A\ T4

—
&)
-
g <
—~ — =
8 E = T ES)
S S IS
— S S = 3
S g § 2 g
5 S - ) o
S 2 2 5§ s S
. = N =
: ) § 5 &8 § § 8 -
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & 3 8 S Description Part No.
SAL-12B-RSW4.1-2/
i 2 5 /A1090 43-14930
5
2 SAL-12B-RSW4.1-3 /
a ey 43-14931
© o~
& o~
>
o~
SAL-12B-RSW4.1-5/
G5/A1090 4314932
SAL-12B-RSW4.1-10/
G5/A1090 4314933
TPU, UL, violet, 02YSH(ST)CH
SAL-12B-RSW4.1-2/
% G4/A1090 4314934
=
& SAL-12B-RSW4.1-3 /
% G4/A1090 43714935
o~
o~
>
o~
SAL-12B-RSW4.1-5/
G4/A1090 4314936
SAL-12B-RSW4.1-10/
G4/A1090 4314937
TPE, UL, highflexible, violet, 02YS(ST)C11Y
SAL-12B-RSW4.1-2/
5 G7/A1090 4314938
=
[}
3z SAL-12B-RSW4.1-3 /
Q -
G7/A1090 4314939
<
<
o~
SAL-12B-RSW4.1-5/
G7/A1090 4314940
SAL-12B-RSW4.1-10/
G7/A1090 4314941
Va6

INEC® 255



—
&)
-
g <
~ =9
Y = < 5 kS
2 323
S s B 1S
S o § E S é
- < < N S
. A U
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & 3 8 = Description Part No.
SAL-12B-RK4.1-
U RS4.1-03/G5 43-1et7
1\ Width across
ks SAL12B-RK4.1-
B 06 RS4.1-0.6/G5 43-11618
[Pin 21 N
{pin 4| mmm 4 B 160 4 <
i ~
SAL-12B-RK4.1-
L= RS4.1-1,5/G5 4311619
Width across
flats 13
M SAL-12B-RK4.1-
i 3 Ty 43-11620
TPU, UL, violet, 02YSH(ST)CH ,
0145
T SAL-12B-RK4.1-
bl RS4.1-0,3/G4 4310940
N ! gﬁ‘ Width across
| T flats 13
SAL-12B-RK4.1-
1_} D B 0,6 RS4.1.0.6/G4 43-10941
. [P?nf:- IN]
1Pin 4 4 B 160 4 <
T . o~
SAL-12B-RK4.1-
L= RS4.1-1,5/G4 4310942
g Width across
flats 13
SAL-12B-RK4.1-
1 -
L . RS4.1-3/G4 4310943
0145
SAL-12B-RK4.1-
03 RS4.1-0,3/G7 4311228
|
* N e
" SAL12B-RK4.1-
\ Jjj B 06 RS4.1.06/G7 4311621
i) TPin 2] Iy
- | ILPin4J- 4 B 160 4 E3
T t:[ i ~
) SAL-12B-RK4.1-
—[u 15 RS4.1-1,5/G7 4311622
¢ égy Width across
flats 13
% SAL-12B-RK4.1-
] 3 RS4.1:3/G7 4311623
#14.5
TPU, UL, violet, 02YSH(ST)CH
g T
o~
N SAL12B-FKH4.1-
o ) 4 B 160 4 05 X Rs4105/G4 43-01669
J {Pin 2] N SAL12B-FKH4.1-
I Pin 41 4 B 160 4 1 X Rsa11/G4 43-01670
m‘dsﬂ:aacvoss
N SAL-12B-FKH4.1-
' 4 B 160 4 2 X Rsa12/G4 43-01671

256 CONEC® Technical information starting on page 348



~— ~
k| = <
[S) W >
S S) <
5 g 3
b (<)
S P = &
s 3z £ &
Male connector axial Contact assignment = S e QO Description Part No.
$145
Mi2x1
i
“HIH% iz} R1[]3900
Wdheoross | 4] Reijezoe g B 160 SAL-12B-RSA4.1 4312483
2 flats 13 | R3[] 3900
| 1=
% - " Shielding
coupling screw
* P135
36,5
M12x1 M12x1
T 1 2! 4x Inductance 110nH
o L4 fixed
© T 5y =
| Mgy ™
- A B 60 4 SAL-12B-RS5-RK5-RS5 43-11210
ol 5 @) i >
g o 5 °5;
(D ' '
g L
|

M12x1

)
Technical information starting on page 348 CONEC® 257



T
iz s OF e amecnis 5
-~ £
~ § <
8 s T & ¢
S > g! g S
s £% 83
N S = 8
Female connector, axial 2 8§ & 8 8 S Description Part No.
20
o
.
L] 4 B 250 75 48 . SALI2BRKC4S/150 43-00292
L= width across ftats 18 g_
Width across fiats 19 8
e e 5 B 60 75 48 . SALI2BRKC5S/150 43-00293
I~ diameler see table ~
Q@20 o
Female connector, axial
@16
\
]
- Width across ;} 2‘
® E} flats 15 4 B 250 4 . ., SALI2BRKCAC/100 43-00414
v S
rﬂ @45 83
P16
Male connector, axial
@20
o
.
4 B 250 75 48 SALI2B-RSC4S/150 43-00294
i
o
wn
5 B 60 75 48 . SALI2BRSC5-S/150 43-00295
e e S
Male connector axial
P16
Mi2
o : Width across g— 3
B @/ a1 4 B 250 4 - ., SALI2B-RSCAC/100 43-00415
< o~
I < o

258

$45-83

CONEC®

Technical information starting on page 348



—
)
=
~ T T
g =< = s
S = 5 TS
S 8§53 s 8
s 8§ 8 8 § g
S = 8 & &8 § §
S £ - § g S
S T & 5 L2 & o8
Female connector, M16x1.5 thread Contact assignment = S & S = = = Description Part No.
Mi2x1
Width across ~
flats 17 - o
Sealing &
Pin 1
Pin 2 o (G}
. Pin 3 4 B o 4 2z 0,5 22 SAL-12B-FK4.3-0,5 43-01042
Pin 4
M16x1,5
Female connector, PG9 thread
M12x1
Width across o
flats 17 - o
Sealing &
Pin 1 Il
Pin 2 Il o (€}
Pin 3 BN 4 B © 4 2z 05 22 SALI2B-FK43-05-9  43-01109
o Pin 4 I
pes
Male connector, M16x1.5 thread
M12x1
e 1
e
o e S Pin 1 I
Seanng/ E .- Pin 2 8 (@)
| Pin 3 BN 4 B 9 4 2z 05 22 SALI2B-FS4.3-05 43-01043
o I Pin 4 I
U
I
Mi6x1,5
Male connector, PG9 thread
M12x1
Width across ‘
flats 17 ! ]&‘ @
e
Pin 1
[ !
Sealing Pin 2 W e 9
Pin 3 4 B L 4 2 05 22 SAL12B-FS4.3-0,5-9 43-01110
. Pin 4
‘“.
PGS

Technical information starting on page 348 CONEC® 259



T
-~ T
g s < 5
S = ST
S RS &
s g § §
g s S B §
E S 8 & B
Two-piece female connector, axial with shroud, installation height 5.5 mm = S & 3 £ Description Part No.
£
£
@14 I
:Vidth:cross—\ M12x1 g
lats 1 = L
[
Front o
Sealing /pansl &'é
;}' - . 4 B 250 4 55  SAL12B-FK4-X5,5 43-01216
[ B
[ 0
© [ vy 3
J— %j? o
©
e Shroud =
PCB

Two-piece female connector, axial with shroud, installation height 10 mm

g4 £
i M12x1 %
Width
s 15 g E
— Front EE
Sealing [pane\ é:
o - ‘ aE 4 B 250 4 10 SAL-12B-FK4-X10 43-01212
S L —

w 9

~ |

1 PN 1
p S Shroud/ L &
PCB
Two-piece female connector, angled with shroud
3
B1a &
M1 2x1 8 g
£
:'_’ Sealing / /'g;"e‘l 5%
I ~ T 4 B 250 4 SAL-12B-FKW4 43-01224
[ — L
e | 3
Width - i =3 ~ .
s 15 u@ﬁi
Shroud 17 \pcB
16

260 CONEC® Technical information starting on page 348



T
~ =
g s < 5
S = ST
S s S &
S g8 ©§ 3
o S =
S gl 55
. . . S S 3 &8 5 8
Two-piece male connector, axial with shroud, installation height 5.5 mm = S & &) £ Description Part No.
£
&
;/‘\;ig(r:;cross—\ M12x1 gg
Front ét\i
| Sealing [panel n"i'é
& - A 1 4 B 250 4 55  SAL12B-FS4-X5,5 43-01218
— 1
== 3
© [ Il ©
] ~--—-WH7}-&—-N i
© | o
o Shroud -
of PCB
Two-piece male connector, axial with shroud, installation height 10 mm
£
£
‘ %
Width across
flats 15 _\ M12xt ﬁ g
o5
T E E
Front g:.
Sealing /Vpa"e‘ &%'E
<
o .= faL 4 B 250 4 10  SAL-12B-FS4-X10 43-01214
0 l_l_”r b
- I
© SR ) \
o ©
/ PCB
Shroud
Two-piece male connector, angled with shroud
E
§
Width %
ﬂa'tswacmss—\ Mi2x1 gE
6
?: Sealing Front gg
(panel aE
[ , 4 B 250 4 SAL-12B-FSW4 43-01226
[E— Ty I
o
= Rl
= <
Shroud/
17 \PCB
16

Technical information starting on page 348 CONEC® 261



B
-
8 s £ 5
S == > )
S v £ <
s g § B
E s £ T B8
E§ = 8 § B
Male connector, M16x1.5 thread 2 8 & g8 & Description Part No.
M12x1
Width across
flats 17 i E
\ |
@
&
oy
/ﬁﬁ 4 B 250 4 55 SALI2B-FS4-L 43-02296
Sealing

a0 | (Hg—

03]

2,6

M16x1,5

Male connector, square flange 26 mm

M12x1

&l

12

250 4 45 SALI12B-FSV4-L-26  43-02305

21
AS
I
2,1
i
w

A

Sealing @1
onesided self-adhesive

26

Male connector, square flange 20 mm

Mi2x1

Al

15
12

20

4 B 250 4 10,5 SAL-12B-FSVO4-1.20 43-02302

10,5

T Sealing

@1

2,6

@12+01

$13,275%

262 CONEC® Technical information starting on page 348



T
- =
ks, s S 35
S == IS S
S y £ <
s 8 © 3
5 S - =
HE IR
Female connector, M16x1.5 thread = 8 & g8 & Description Part No.
M12x1
: 4 B 250 4 55  SAL-12B-FKH4-P5,5 43-01123
Width across @
flats 19 ol o
Sealing g
=
w| OL T T T IIT
Rty
4 B 250 4 12 SAL-12B-FKH4-P12 43-01124
M16x1,5
Female connector, PG9 thread
M1 2x1
‘ 4 B 250 4 55  SAL-12B-FKH4-P5,5-9 43-01249
Widih across —~ [T %"
ilats 19 B
@0
Seali rqﬁ/‘ ﬁ—Aj " g
ealng\
o I L= | =1
(Yo
Ul[]HD] 4 B 250 4 12 SAL-12B-FKH4-P12-9  43-01250
PG9
Female connector with shielded connection, M16x1,5 thread
M16x1,5
M1 2x1
Width across ‘J;Jh © L
flats 19 =g 4 B 250 4 T SALI2B-FKH4-P675  43-01689
Sealing
mI LT T[]
™~
=TT
g1as |«

Technical information starting on page 348 CONEC® 263



B
~ 5
8 s I 5
[S) > )
S o £ <=
5 g § §
§ - £ & B8
E = 8 £ B
Male connector, M16x1.5 thread 2 S &2 3 £ Description Part No.
Mi2x1 4 B 250 4 55  SAL-12B-FSH4-P5,5 43-01125
i across —\'—’1
Sealing LCL% |
o il \l\ T 1T
Tk
M16x1,5 4 B 250 4 12 SAL-12B-FSH4-P12 43-01126
Male connector, PG9 thread
M12xt 4 B 250 4 55 SAL-12B-FSH4-P5,5-9  43-01251
Width
1|alg11ga()f055 \T‘ R )
Sealing\g_ii &
)
Fa

o =
SR

PG9

4 B 250 4 12 SAL-12B-FSH4-P12-9  43-01252

Male connector with shielded connection, M16x1.5 thread

Mi6x1,5
M12x1
Width =
flats 15 Cmss\ af
2 w L0
Sealing b 4 B 250 4 S SAL-12B-FSH4-P6,75  43-02207
'3 UL T T I0T
S
2145 Q&
264 CONEC® Technical information starting on page 348



Number of poles

Rated voltage [V]
Current rating [A]
Installation height [mm]

Coding

Two-piece female connector, axial with shroud, installation height 5.5 mm Description Part No.

£
@14 ‘%
Mi2xt 8&
x;\glq :CYOSS EE
Seaing {mq seoss £ 2
3 ~ 4 B 250 4 55  SAL12B-FKH4-X5,5 43-01217
{ amay -
ol Tt -
3 Shmudf \ HE
PCB

Two-piece female connector, axial with shroud, installation height 10 mm

£
§
B14 2 é
2
M12x1 £E
Width E
. /_ac‘ross Ex'
flats 14 SE
Sealing Front palill‘elE
:" rT / I
« - T~ 4 B 250 4 10 SAL-12B-FKH4-X10 43-01213
0 [~— Width across o
~ H flats 15
]
o
o s ©
ol Shroud T
PCB
Two-piece female connector, angled with shroud
=
£
B4 o
12x1 § £
Width B
\ across £ E
/ flats 14 2 &
2 Frent panel & é
£ ~
[ 4 B 250 4 SAL-12B-FKHW4 43-01225
i ol ¥
T = <+ -
Width across —[ﬁ
flats 15 ———pcB
16
i7

Technical information starting on page 348 CONEC® 265



266

—
g
K
=
S = > S
S y £ <
s § § 8§
§ ¢ = 5 £
§ 5 8§ t B
Two-piece male connector, axial with shroud, installation height 5.5 mm = 8 & 8 £ Dpesription Part No.
Front panel
M12x1 £
DE— 9
@™
= 2L
Width =
across \ ] &
o flats 14 é_“‘é
S| Sealin
N o - o 4 B 250 4 55  SAL12B-FSH4-X5,5 43-01219
| 0
[ | | w
os- o | N
ar el o
Width across
flats 15 PCB Shroud
Two-piece male connector, axial with shroud, installation height 10 mm
Front panel
£
£
M12x1 @
Width .
across £e
flats 14 TN
cc
23 Sealing g€
& 4 B 250 4 10  SAL-12B-FSH4-X10 43-01215
—e
0 © =
2 Z
o] ———1f Lul]
©
Width across Shroud
flats 15 PCB
Two-piece male connector, angled with shroud
Frant panel
Width £
I across
flats 14 W 2
©
1S
ZE
© ?zg
- [~
= Sealing n‘?é
- i 4 B 250 4 SAL-12B-FSHW4 43-01227
b o
& ! o ¥
Width e /@'@J_ —
across
flats 15 17 \PCB
Shroud 1.6

®
CONEC

Technical information starting on page 348




—
6)
— =
- £ <
B E. > 1] E
A S 5 s 3
S S S IS
S S < S 8
2 @ = S o ©
£ £ 3 ¢ 3
Female connector, M16x1.5 thread, PVC, UL, violet, 02YSY(ST)CY Contact assignment 2 8 & 3 § = Description Part No.
o~
4 B 160 4 g r: SAL-12B-FKH4.1-0,5/ 43-01654
XG5
M12x1
Width across T
flats 19
©| v
Sealing % TR
S
s T T IT o
Width across ‘f:r g i ~
1PIn 21 - - -
e 19 iz 4 B 160 4 1 N SALIBFKHAI1/ oo
{Pind) ol
-
M16x1,5
D
o~
4 B 160 4 2 & CSAURBRRHATZZ s 01656
X G5
Female connector, M16x1.5 thread, TPU, UL, violet, 02YSH(ST)CH
o~
4 B 160 4 05 % SGQL'IZB'FKH“']'O'S/ 43-01648
M12x1 o
Width across *
flats 19
o0
Sealing % B
[y =y g =
T E T I 9
Width across— | j‘ ¥
flats 19
TPin 2] N 12B- .
2 pndmm 4 B 60 4 1 % AEPEFEI 430600
- ~
M16x1,5
D
o~
4 B 160 4 2 % SGﬁL']ZB'FKH“']'Z/ 43-01650
o~

Technical information starting on page 348 CONEC® 267



268

S
-~ & X
g = X I 5
S = o 0 5
& S 5 s 8
S & S D g
S S « S 8
Q ® = s T 3
£ § 8§ £ 3 &8
Male connector, M16x1.5 thread, PVC, UL, violet, 02YSY(ST)CY Contact assignment 2 8§ & § § = Description Part No.
o~
4 B 160 4 05 % éASL']ZB'FSH“']'O'S/ 4301657
o~
_ M1exd
Width across ﬁ%%
flats 19
| o] =
Sealing EnsEnaRRES P o~
] s 1Pin 21 -12B- -
[Sime e g {pin 4| mm 4 B 160 4 1 % SGASL]ZBFSH“'”/ 43-01658
) ~
Width across /
flats 19
M16x1,5
D
o~
4 B 160 4 2 % SGASL'DB'FSH“']'Z/ 43-01659
o~
Male connector, M16x1.5 thread, TPU, UL, violet, 02YSH(ST)CH
~
4 B 160 4 05 ‘% E'ZL']ZB'FSH‘”'O'S/ 43-01651
o~
__M12xt
Width across
flats 19 {:F‘“\m
Sealing L 2|2
%ﬁ &
[, [T
T & T 11 § o
Width across {Pin 2| N 12B- R
flats 19 % {pin 4| m 4 B 160 4 1 & SARRBBHATZ 45 65
s S G4
M16x1,5
D
o~
4 B 160 4 2 X SGA4L'IZB'FSH4']'2/ 43-01653
o~

CONEC®

Technical information starting on page 348



—
O
— =
Y
~ ,§. =
&) = S — g
= = o 0 3
— & 5 S 3
S S S S u
S s = s g
S 2 = § =~ ©S
E 5 8 § 5§ ¢
= 8 & 8 8 X Description Part No.
M12x1
—_—
-@’ Width across flats 17
ot
8 o LI
. > o9 4 B 250 4 SAL-12B-FSH4-FKP4- 43-01693
3 < WD
1S
L -

[ | Sealing

@i%\ Width across flats 19

M12x1

Technical information starting on page 348 CONEC® 269



270

=
O
s
E <
D-SUB Male connector 9-pos., angled with programming interface S s &£ 3
. = S
Male connector/Female connector M12x1 axial, 4-pos. S £ 2 3
f 233
: S 3§ & 3§ &
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & Jd = Description Part No.
SAL-DS-SKSW9.1-12B-
05 RS4.1-RK4.1-05/G5 431176
we U =
A 2 mdreen B2 (=)
>
8 n - -, - -
T 94 B X1 2x22 SR";Z ??R?('ZS;’\_’]Q'/]GEB 4311757
B 4 M—-—u N . .
ouT L Lo
T e s 2
Cable shielkd O——C Housing shield
o) SAL-DS-SKSW9.1-12B-
\& 2 RS4.1-RK4.1-2/G5 4311798
TPU, UL, violet, 02YSH(ST)CH
SAL-DS-SKSW9.1-12B-
05 RS4.1-RK4.1-0,5/G4 4311793
IN 2 L 7. g O
a2 mireen 2 =
>
_— o SAL-DS-SKSW9.1-12B-
o~ -
) . 4 B H 1 2X2 porinaiice 431754
ouT e 0
A Y igm | o w5 ~
Cable shielkd O——C Housing shield N
SAL-DS-SKSW9.1-12B-
2 RSA.1-RK41-2/G4 4311755
SAL-DS-SKSW9.1-12B-
05 RS4.1-RK4.1-0,5/G7 AL
IN 2 L 7. g (]
A 2 edeen 2 =
>
+—= o 9 SAL-DS-SKSW9.1-12B-
o~
) . 4 B F 1 2x23 [ e 4311760
ouT e 0
A Y igm | o w5 ~
<
5 SALDSSKSW9.1-12B- o 1.0

RS4.1-RK4.1-2/G7

Vol | Hed
CSONES

Technical information starting on page 348




.
O
3
_
g T
. . Y] = -8
D-SUB Male connector 9-pos., angled with programming interface S s & &
. S S
Male connector M12x1 axial, 4-pos. © £ 2 8
£ 2 5 = O
S § £ § ¢
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & G =  Description Part No.
~39,5
-}
P SAL-DS-SKSW9-12B-
H 2 RS4.1-2/G5 SEAlR Y
" =1
+5V
O
[ — 6 (=)
S ] ’ =
o SAL-DS-SKSW9-12B-
8 ~N _
" - 9/4 B 5 302x22 Lo Tl 4311748
n
A3[]290 Ohm ~
5 <
Cable shield 0——OHousing shield
2 Width across
flats 13
SAL-DS-SKSW9-12B-
i ]| > RS4.1-5/G5 4311749
0145
TPU, UL, violet, 02YSH(ST)CH
~39,5
= SAL-DS-SKSW9-12B
ik 2 RS4.1-2/G4 311744
o =
O
B amed 6 [a)]
: S ] ’ >
. & SAL-DS-SKSW9-12B- )
= . S 9/4 B 5 302x22 o0 43-11745
| n
i R3] 290 Ohm I\
@135 5 <t
*ﬁ;;ﬁ_i Cable shield o——0Housing shield
b
- \
2 j Width across
flats 13
@ SAL-DS-SKSW9-12B-
I > RS4.1-5/G4 4311746
0145
TPE, UL, highflexible, violet, 02YS(ST)C11Y
~39,5
C = SALDS-SKSW9-12B-
i 2 RS4.1-2/G7 4311750
o L =
AE|AB
o ‘ =]
LI fou) h - 3 2 SAL-DS-SKSW9-12B
T . 4 -DS- -12B- )
] oo 9/4 B 5 3 2x23 o0 4311751
: "
} ~
E‘;ﬁ @135 t 5 <
Cable shield c——oHousing shield
2 /— X\Q&ﬂ: goross
SAL-DS-SKSW9-12B-
M2 > RS4.1-5/G7 4311752

Technical information starting on page 348

H ol
SONEC® 271




—
O
_ =
g X
= =
. .. 38 .
D-SUB Male connector 9-pos., angled with programming interface S S s 5
. S
Female connector M12x1 axial, 4-pos. S = §’ 8
£ 25 3 S
S T F % g
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & S = Description Part No.
~39,5
SAL-DS-SKSW9-12B-
=1 2 RK4.1-2/G5 e
- =)
gi Y
B gted 5 8
A = g 3 >
9 SAL-DS-SKSW9-12B-
[ ~N A
9/4 B & 302x22 Lo 43-11739
R3[|390 Ohm R
5 <
135 Cable shield o——0Housing shistd
N Width across
flats 13 - - - -
TPU, UL, violet, 02YSH(ST)CH
~39,5
SAL-DS-SKSW9-12B-
o) 2 RK4.1-2/G4 4311735
ol v
o %
- =]
8{ +5V
B gted 5 8
A D g 3 >
@ SAL-DS-SKSW9-12B-
3 ~N A
9/4 B & 302x22 Luai e, 43-11736
R3[|390 Ohm ﬁ
L 5 ~
Cable shield ——0Housing shield
Width across
flats 13 5 SRAKIZ?ZS/KéXVQ-]ZB- 4311737
TPE, UL, highflexible, violet, 02YS(ST)C11Y
~39,5
SAL-DS-SKSW9-12B-
[ m] 2 RK4.1-2/G7 a3
° B
3{ +5V
ey ; S
A 2,j—t 3 >
o SAL-DS-SKSW9-12B-
8 ~ _
9/4 B > 302X LT ey 43-11742
R3[|390 Ohm ﬁ
s s ~
Cable shield o——0Housing shigtd
37)13,5
¥ Width across
e 19 SAL-DS-SKSW9-12B-
5 43-11743

RK4.1-5/G7

272 CONEC® Technical information starting on page 348



=
S
_ =
g <
<
3 = i S
= > it 3
= S = 8
5 g 2 g
&~ S ) o
& > = -~ S
2 £ T =2 S
i S 3 & § ¢
TPU, UL, violet, 02YSH(ST)CH Contact assignment = S & 3 = Description Part No.
~39,5
0 SAL-DS-SKSW9-12B-
ol 05 FKH4105/G4 430187
- =1
l  e— 45V
| E - E
Y Ve | :
R1[|390 Ohm >
L ¢ I~ SAL-DS-SKSW9-12B- )
5 || relJazoonn 4 B 8 1 2X22 phisiasca U
1 R3[|390 Ohm
b &
Cable shield o——OHousing shield
Lo
Width [_q] M16x1,5 -
ing—"T SAL-DS-SKSW9-12B-
Sealing 0
2| & 2 43-01677
Width o FKH4.1-2/G4
across
fats 19 M12x1

Technical information starting on page 348 CONEC® 273



—
[§)
— =
g
~—~ — =
@ = I 2 s
S = & ' 3
S s S s 8
s g 8 ° q
£ 2385 8
S § 8§ 5 §¢
TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & G S = Description Part No.
@101
M8x1 SAL-85-RS4.2-2/
2 66,034 42-13469
s pvidt: across . SAL-85-RS4.2-3/ 4913470
7 G6/034
@ 1Pin2| N
1Pin3 ! 4 30 3 <
- #1o {Pin4 . ~
| — SAL-85-R$4.2-5/
5 C6/034 42-13471
SAL-85-RS4.2-10/
10 C6/034 42-13472
TPU, UL, halogenfree, green, Cat 5e
- SAL-8S-RSW4.2-2/
26 z|e 2 6,034 42-13473
=R RN
=
— SAL-8S-RSW4.2-3/ R
- HE :rPifnT}I:I 3 66,034 42-13474
; o~
Rl i3 Width across IE:E;}E 4 30 3 x
flats 9 1Pin | <
{Pin4]
— SAL-85-RSW4.2-5/
@10 > G6/034 4213475
SAL-8S-RSW4.2-10/
10 C6/034 42-13476

274 CONEC® Technical information starting on page 348




—
€
- =
g
= = o
@ = I 2 s
S = & "' B
s g § § ¢
s £ 8§ 2 g
o - )
g 225 s S
S § 85 §¢
TPU, UL, halogenfree, green, Cat 5e Contactassignment = S & G O = Description Part No.
@101 .
4.'_'“"“" L SAL-8S-RS4.2-
: ! RS4.2-1/G6/034 4213477
= Width
across flats 9
SAL-8S-RS4.2-
2 42-13478
= | Bs422/Go/034
Pin2,
- ’ {pin3 4 30 3 =
1Pin4 <
— SAL-8S-RS4.2-
W > RS4.2-5/G6/034 1213479
T %/ Width across
L flats 9
SAL-8S-RS4.2-
v || 10 RS4.2-106/034 213480
@101
TPU, UL, halogenfree, green, Cat 5e
_ SAL-8S-RSW4.2-
& ] ! RSW4.2-1/G6/034 4213481
3
< Width across
« ‘ flats 9
! SAL-8S-RSW4.2- i
| 2 RSW4.2-2/G6/034 4213482
i [PTnﬂl:l -
Pin2|[)
- **:‘*D iPinSi- 4 30 3 )
I 1Pin4 | ~
} [Pin4]
I
I SAL-8S-RSW4.2-
R > RSW4.2-5/G6,/034 1213483
i flats 9
3 a é
d g
i A3
2 SAL-8S-RSW4.2-
10 RSW4.210/G6/034 213484

T
£
— ey
4 = < '§~.
g 3§ g ¢
B g 8§ 8§
N = = =
g 2 & ¢ S
£ S B g 3B
. . s 38 £ S & _
Female connector axial, shielded = O =« O £ Description Part No.
#9.8
@91
~ |
| 8
] i 4 30 3 16 SAL-8D-EKVMA4-P16 42-01052
o| 2 i \
- } Sealing
S il

Technical information starting on page 348 CONEC® 275



—
€
- =
g
~ = =
3 = X —~ S
5 = 5 B
Qo @ =~ = Y]
[ > = = w
S £ 8 2 g
§ o S = = ¢
|2 £ = § & U
S 3 £ 5 8¢
TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & S S = Description Part No.
' 2 SAL-12D-RS4.2-2/G6  43-10944
14,5
M12x1
3 SAL-12D-RS4.2-3/G6  43-10945
Q Width across  1Pin 111
flats 13 IPin2iCJ N
1Pin 3| mm 4 D 160 4 >
4 e [Pin 4 | ~
I
5 SAL-12D-RS4.2-5/G6  43-10946
7* 10 SAL-12D-RS4.2-10/G6 43-10947
TPU, UL, halogenfree, green, Cat 5e
@145
M12x1
SAL-12D-RS4.2-
03 RS4.2-0,3/G6 43-10948
2 ﬂ_) Width across
flats 13
SAL-12D-RS4.2-
j e RS4.2-0,6/G6 4310949
:rPTnﬂ:l N
Pin2|—J
0 {pin3 4 D 160 4 ':
I 1Pin 4 Imm <
+ I
SAL-12D-RS4.2-
165 RS4.2-1,5/G6 4310950
@ Width across
flats 13
- SAL-12D-RS4.2-
Mi2x1 3 RS42-3/06 43-10951
d14,5

276 CONEC® Technical information starting on page 348




—
[€)
- =
g
~ = =
Q = X - s
S = o !B
Qo @ =~ = Y]
[y ) = = W
S 8§ 8 2 q
§ © S v = ¢8
2 S z- s L °
S 3 £ 5 8¢
TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & S S = Description Part No.
M12x1
Width acrass SAL-12D-FKH4.2-
— \% ®g 05 RS4.2:0,5/G6 4301672
eaing—.___ [T \'_l
O ETTT w0
XZ;:’;'};”"“/L%( Mi6x15
. {Pin 1133 -
Pin2, _ b .
5| lpin3 mm 4 b o0 4 1 % ADDRHEZ 30673
[Pin4 . ~ <
—
Width across :
flats 13 h
SAL-12D-FKH4.2-
2 RS4.2-2/G6 4301674
M12x1
TPU, UL, halogenfree, green, Cat 5e
SAL-45-554-12D-
e RS4.2-0,3/G6 43-12484
8
g
SAL-45-554-12D-
i 06 RS4.2-0,6/G6 4312485
o 1Pin 11 <
IPin2{C £ N
IPin3 jmm 4 D 48 o =
{Pin 4 - =
SAL-45-554-12D-
15 RS4.2-1,5/G6 4310996
# Width across
flats 13
SAL-45-554-12D-
3 RS4.2-3/G6 43-10997
M12x1
TPU, UL, halogenfree, green, Cat 5e
M12x1
Width across
flats 19 g
Sealing |2 SAL-45-554-12D- )
T « e FKH4.2-0,5/G6 43-01678
x\;‘f’;:‘g”"ssj # M16x15
{Pin 1133 < -
Pin2| £ -45-554-12D-
{pin 3 4 D 48 o 1 % ?K\hiszs]s;lggo 43-01679
IPin 4 /mm - = -
| I
SAL-45-S54-12D-
2 FKH4.2-2/G6 43-01680

Technical information starting on page 348

CONEC® 277




278

—
&)
T =
g S £ < 5
Male connector RJ45 axial T 3 2 L 8
g (. S = B 3
Male connector RJ45 axial 5 g 8 g W
S < § & 8
£ S = S o
PVC, UL, green, Cat 5e Contact assignment = & 3 8 S Description Part No.
RJ-45-RS8.31-
03 RS8.31-0,3/GAl/025 |/->00720
r _‘whne/orange -
1-—1 —
RJ-45-RS8.31- :
e L. 06 R831:06/GAl/025 720972
Dl g ‘:
e geen s 8 125 1 ‘:
e o Y RI45RS831
e ~ 135 RS8.31-1,5/GAl/025 /200722
S shielding |
RJ-45-R$8.31-
3 RS8313/GAl/025 11200723
TPU, UL, green, Cat 5e
RJ-45-RS8.31-
03 RS8.31-03/GAF/025 |/ 200724
:;whnelorange '_1_‘ . RSS 31
ora { - - . - 3
z white/blue | z 06 < RS8.31-0,6/GAF/025 17:500725
4 blue, | 4 ‘:
3__{whne/green ) 8 125 1 ~
GJMG < RJ-45-R$8.31
__whne/brown | 7 - - 31- ]
o ~ 15 RS8.31-1,5/GAF/025 1/ 200726
ol shielding -
RJ-45-R$8.31-
3 Rs8.313/CAF/025 /200727
TPU, green, cULus 20236, Cat 5e
RJ-455-R58.36-
! RS8.36-1/GAF/025 /140013
C yellow T RJ-455-RS8.36- :
DT i | 2 RS8.36-2/GAF/025 /140023
8 3 N
loml 090 —wal g4 125 ] =
iLB . blue BJ :r<
Shielding RJ-45S5-RS8.36- :
RJ45 RJs > RS836-5/GAF/025 /140033
10 RJ-455-RS8.36- VG

RS8.36-10/GAF/025

CONEC®

Technical information starting on page 348



—
€)
_ -
- &£ %
g S < < 8
S ) S
S S S s 9
5 o S = S 9
S £ ©wW § N S
E§ 3 & £ =8 g8
TPU, green, cULus 20236, Cat 5e Contact assignment = S & G 8 = Description Part No.
. 184
SAL-455-RS8.33-8D-
03 42-13316
i oo RS4.24-0,3/GD/014
} orange 4}
} blue 3}
} white/blue %J ﬁ
- = [ 4 30 1 x
! <
|
3 : o e SAL-455-RS8.33-8D
s Bidoh across 3 . -9 0L R
flats 9 15 RS4.24-15/GD/014 4213317
[ 1l mex1
#10,1
TPU, green, cULus 20236, Cat 5e
- SAL-455-RS8.33-12D-
; 03 Rs4.24-03/GD/014 4318908
!rf white/orange ”ﬂl
1 : orange 4:
: blue 3: °
I white/blue -
- i 2 4 D 30 1 >
T [ =
i
:L :
¢ o goross SAL-455-RS8.33-12D

flats 13 R.45 M12x1 .
15 RS4.24-15/GD/014 4318909

Mi2x1
et

TPU, green, cULus 20236, Cat 5e

134

. |G RI-455-R58.33-
el oy ternge 03 Rsg3303/CDso14 431890
2 orange 2
pmlblle o4
white/blue
- ns 4 30 1
nce

—T

3 3 Qo

o~
4 4 i
5 5 N
7 7
gl L !
T sheang | RJ-455-RS8.33
RJ45 RJ45 Bttt

LE Rs833-15/GD/o14 51891

Technical information starting on page 348 CONEC® 279



T
5
=~ £
~ § <
8 s S & ¢
5 g § 8 3
a S -
S 2558 % 8
. § 3§ 8 5 § ¢
Female connetor axial = 8 & G & = Description Part No.
@16
| l
[T N
— Width across m <
P flats 15 o
4 D 250 4 PR SAL-12D-RKC4-C/100 43-00416
¢ 2
By
T T
[ | gas5-83
@16
Male connector axial
@16
| \
[T N
\
- Width across m 2
P flats 15 C N
4 D 250 4 n o SAL-12D-RSC4-C/100 43-00417
T S
T !)
[ | ¢45-83
@16
280 CONEC® Technical information starting on page 348



—
6
§ —~
S
~ =
k| s s £
S > . 8 7
Q ® £ 5 9 !
s §§§ o &
= = 8 3 o
S S & 8§ € §
S 2 5 § § S S
S s 8 5 & & ¢8
Female connector, M16x1.5 thread Contact assignment = S & S = = = Description Part No.
M12x1
X\g;islq;cross ~
W
S
Sealing
I
B O
Pin2 [ o
: Pin3 mm 4 D Lo 4 2 22 05 SAL12D-FK4.2-0,5 43-01044
. | Pin4 I
M16x1,5
Female connector, PG9 thread
M12x1
Width across — E ~
flats 17 - ©
CeErS =) S
SeahngNLjTTf Pin1
Pin2 [ o (@)
Pin3 E 4 D = 4 2z 22 05 SALI2D-FK4.2-05-9  43-01111
U Pin4 I
PG9

Technical information starting on page 348 CONEC® 281



282

T
- E
g = < §
Front panel mounting, Dip solder termination S = I -
s g § S5
a S — =
S = IS S
T £ 3 ¥ S
S s %] L
Two-piece female connector, axial with shroud, installation height 5.5 mm = 8§ & § & Description Part No.
1S
£
P14 %
Width across M1 2x1 2 E
flats 15 \ l——— EE
' Front Eﬂg
- Sealing fpane| g'E
= - 7 4 D B 4 55 SALI2DFKAXSS 4301222
= |
© [ -
==
©
b Shroud =1
PCB
Two-piece female connector, axial with shroud, installation height 10 mm
B1a £
b5
Width across Mt2xt -
flats 15 ﬁ?
Front EE
Sealing panel ?2 )
- £ 4 D kg 4 10  SAL12D-FK4-X10 43-01220
3 L =i
LQ —
" B
| | U LT
2 - @
© | Shroud -
PCB
Two-piece female connector, angled with shroud
1S
P14 &
M12x1 gé
-
— ;u%
g Sealing / /E;?QI E%
- A’ 4 D B 4 SAL12D-FKW4 4301228
T 1 o
p D4 ;k i
Width
fafs 15 U%EIQ
Shroud 17 \PCB
16

Vol | Hed
CSONES

Technical information starting on page 348




T
—~ =
8 s < 5
[S) > )
S » £ <
5 § § §
3 > S & B
E = 8 £ ¥
Female connector, M16x1.5 thread 2 S8 & 3 £ Description Part No.
M12x1
‘ '“ﬂ 4 D 250 4 55  SAL-12D-FKH4-P5,5 43-01157
Width across —\
flats 19 ol v
Sealing % g
=
o L] [ T71
Rt
U
M16x1.,5 4 D 250 4 12 SAL-12D-FKH4-P12 43-01118
Female connector, PG9 thread
M12x1
4 D 250 4 55 SAL12D-FKH4-P5,5-9 43-01236
Width across I\
flats 19
x [To)
Seali r—~_r‘ ﬁ_/*] | &
ealng\
0 [N==EE = |
L
PGS 4 D 250 4 12 SAL-12D-FKH4-P12-9  43-01248
Female connector with shielded connection, M16x1.5 thread
M16x1,5
Mi2x1
Width across EJ» © |0
flats 19 ] 4 D 250 4 6,75 SAL12D-FKH4-P6,75 43-01690
Sealing
ﬁi CLLEIT [T
<
T
gras |

Technical information starting on page 348 CONEC® 283



284

T
~ 5
S = ST
S -
s £ § S
4=
§ =2 £ § 2
s s ® LG
Two-piece female connector, axial with shroud, installation height 5,5 mm = 8 & G £ Description Part No.
£
&
B14 5
aE
Mt2x1 Width across °:’é
flats 14 £ E
S5
TN
i Width across & £
@ Sealing / / flats 15 &E
2 ] I 4 D 250 4 55 SALI12D-FKH4-X5,5  43-01223
= | 0
© [ T1 bl
5 ARE
o Shroud -
PCB
Two-piece female connector, axial with shroud, installation height 10 mm
E
£
L]
3
P14 @ E
M12x1 wisth E £
i E
/_across 703
flats 14 S <
. a E
Sealing ] / / Front panel
2 T —t 4 D 250 4 10 SAL-12D-FKH4-X10 43-01221
o L 1
N ]
o [>—Width across o
~ I flats 15 -
1 I
_—U__
2le &
N Shroud poB
Two-piece female connector, angled with shroud
£
£
D14 <
PR
M12x1 gt
Width e
) /across £E
flats 14 o
@ Sealing / Front panel EE
Tl - T /—' 4 D 250 4 SAL-12D-FKHW4 43-01229
/ u}: e hi
Width across -
flats 15 [*~——pca
16
17

®
CONEC

Technical information starting on page 348




—
S
— =
=
- & =
8 E < 3 s
[S) > ] -E
= S 5 § 8
S g 8§ & g
S S = § 8
S 2 - § = S
§ s & § 8 ¢
Female connector M16x1.5 thread, TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & S S = Description Part No.
~
4 D 3 4 05 f: SAL-12D-FKH4.2-0,5/ 43-01660
= X G6
M12x1
e ———
Width across e
flats 19 ¥
®| v
Sealing jE—Fj‘_ 5
T~ G
e 8] | e
Width across M16x1,5 ¥ . I
flats 19 ’ Pin2 [ o N SAL-12D-FKH4.2-1/
e Pin3 M 4 D 2 4 1 x 43-01661
| pinsmm N
o~
4 bp 3 4 J 3 SAL-12D-FKH4.2-2/ 43-01662
= X c6

Technical information starting on page 348 CONEC® 285



—
S
~ =
- = = £
3 = < 7 5
S W E
& §fs%
o S & £ g
& S = 0 S}
) > N
S £ © § v G
£ s 5 8¢
TPU, waterblue, S-FTP Contactassignment = S & 3 8 = Description Part No.
14,8
M12x1
SAL-12X-RS8.8-
1 RS8.8-1 /GG 43-15364
1. el | SAL-12X-RS8.8- )
2;“|><><: ) 2 RCBE2/CC 4315365
I * E Ny
o o 4 -4 9
5 5 8 X 48 05 x
ol e 5 <
?M? ¥ SALI2XRSSS
EL S o 8 -12X-R58.5- R
> RS8.8-5/GG 4315366
SAL-12X-RS8.8-
M12x1 10 RS8.8-10/GG 43-15367
14,8
9
_ S‘
= 8
- £ £
8 - X & &
T T 28 s
= <Q
5 g § 8§ §
) S = 8 8
£ 23 8 o8¢
Male connector, axial 2 8 & 8 8 S Description Part No.
@16
M12
|
[!]
L= Width across AN
o | flats 15 o ~
‘ el 8 X 48 05 2 I SAL-12X-RSC8-C/034 43-00418
= q.' o~
[
rﬂ $45-8,3
@16

=
_ £
= =
S = S
S v =
s g 8 S
5 ©» S = =
s =
T § 3 ¢ B
Female connector, installation height 7.2 mm 2 8 & 3 £ Description Part No.
2165
o14
M12x1
1
Width across flats 15ﬂ 4 o
Sealing 2T 8 X 48 05 X SALI2X-FK8.8-X72-12 43-01847
Casing wall\ nEEnkE ' = o
\‘ T
oL 1 ©
~
Width across flats14

286 CONEC® Technical information starting on page 348



B
- =
3 s T 35
Front panel mounting S N S Bs
G ) = S
S = S .S
5 S & =
= S = S 3
t £ 3 ! %
Insulation body SMT = 8 & G £ Description Part No.
28,25
Seali p Sealing
ealing surface [
\ -
= o
A IR 8 X 48 05 SALT2XIK8/SMT  43-02362
)
o 0,7 09
@0,75
PCB surface @10
Female connector SMT, installation height 9 mm
Width across flats 18\ M12x1
¥¥IIII 1
= )
Sealing g * m[
J T 8 X 48 05 9 zfALT']ZX'FKS'Xg/ 43-02757
PCB surface 0,7 0,9
0,75
a10
M14x1
Female connector SMT, installation height 13 mm
Width across flats 18\ M1 2x1
TR T
J
Sealing o ©
: 8 X 48 05 13 CALIXFEEXISS 345750
J SMT
PCB surface 0,7 09
0,75
@10
M14x1
Va6

Technical information starting on page 348

A\ T4

NEEC® 287



T
- =
S = ST
S o £ =<
5 g § §
S S & B
£ £ 3 ¢ 3
Insulation body THR 2 8§ & 3 2 Dpesciption Part No.
28,25
Seali rf Seal
ealing su ace\ f ealing .
=R B e
T ~
e BT 8 X 48 05 SAL-12X-IK8/THR 43-02363
LU
09 o7 2| &
20,75
PCB surface 210
Female connector THR, installation height 9 mm
Width across flats 18\ M12x1
TLIT 1
=
Sealing g
[s2]
198 - - -
_T Uty 8 X 48 05 9 ?ﬁl‘;lzx FK8-X9/ 43-02758
PCB surface 0,7 09 o _
o
0,75
10
M14x1
Female connector THR, installation height 13 mm
Width across flats 18\ M12x1
1)
Sealing y;{ o
11 - - -
J wigiili 8 x 48 o0s 13 CAPXTEXI 309960
PCB surface 0,7 09 of un
Y —
0,75
@10
M14x1
288 CONEC® Technical information starting on page 348



—
QS
- =
g X
= = o
@ = I 2 s
S = & ' 3
S §§f % 8
s § 8§ 2 g
o — K
§ 22§ s 8§
S § 8§ 5 §¢
PVC, UL, green, Cat 5e Contact assignment = S & G O = Description Part No.
145
- SAL125-RS8.23
‘ i 03 RS8.23-03/CAl 4316998
1]
o 0
2 | (+Tx] = ititQ/0range g
) soress bt L. 06 SAL-125-RS8.23- 43-16999
J:;( e ! ©  RS8.23-0,6/GAl
o~
D (+RX) =1 hite/ gregn feus) =<
. (_RX_MB 8 A 30 1 ~
 White/brown - <
i O 5 S o
] | i LJ J . -1,
smemugg:‘?vuplmgL
2 ¥ ‘ Width across
7 s 13
[ ‘
SAL-125-RS8.23-
Mo 3 RS8.23-3/GAJ 4317001
@14,5
TPU, UL, green, Cat 5e
SAL-125-RS8.23-
03 RS8.23-0,3/GAF 4317002
[ [
(+Tx] = Rhite/orange im
{-TX)! -MA
unitesbiue [ SAL-125-RS8.23-
—biue £ oje < RS8.23-0,6/GAF 4317003
(+Rx] = fuite/ gregn 5 ~
(M-Ms 8 A 30 1 ho
white/br | i
_htiteforoun J =
R
—shleldlggze:;uplmg - 5Pl
@ * Width across
M flats 13
SAL-125-RS8.23-
ot } RS8.23-3/GAF 4317005
014,5

Technical information starting on page 348 CONEC® 289



—
&)
-
g <
- = o
g = X ~
S = 5 §
s s £ s 8
5 £ 8§ 9 g
S = S & =2 8
f £ 5 5 X 9
S 3 &8 § § &
PVC, UL green, Cat 5e Contact assignment = S & S S = Description Part No.
SAL455-RS8.31-125-
03 RS8.23-0,3/GAJ 431841
RJ45 M12x1
[ e T
e O 0 SALASSRSB3112S- oo
[l L RS8.23-0,6/GAl
:4__b\ue ‘ 7} S\r‘
| w hite/areen i e
O 8 A0 >
<
f7 =R 2] SAL-455-RS8.31-125-
b o O} 15 : 4318413
I shiskding coupling iy RS8.23-1,5/CAJ
Width across. Tousing / screw
flats 13
‘ SAL-455-RS8.31-125-
. b } RS8.23-3/GAJ 4318414
TPU, UL, green, Cat 5e
SAL-455-RS8.31-125-
b RS8.23-03/CAF 4318415
RJ45 M12x1
N SAL45S-RS8.31-12S
octonse L 06 RS8.23-0,6/CAF 518416
|3_;w|||‘e/ teen | 5\ <
Ia_b\ue ><>< ! 7‘ :‘<
:S-Wmte/mue ‘} 8 A 30 1 ‘:‘<
:s__;reen X : B} <
! s . SAL45SRS831-125- -
o KL 15 RS82315/GAF 18417
b shielding couplin; e
Width across Hou"ﬁ‘/_u_lsmg Screw
flats 13
SAL-455-RS8.31-125-
|| 3 RS8.23-3/GAF 43-18382
@#14,5

290 CONEC® Technical information starting on page 348




—
&)
— =
- - &=
S < S
£ S s L%
& §f s
S = S g’ n
5 g8 S s ¢
< E’ =S S > S
E 5 & £ S @
PVC, UL, grey Contactassignment = S & S 8 =X Dpescription Part No.
0145
) SAL-DN-12-RK5.3-2/ 4312508
GC
V \Width across
o8 ~ SAL:DN-12-RK5.3-3/
3 flats 13 Pin 1 M (Schirm/shielding) 3 2 GC 43-12509
Pin 2 I (+) ~
Pin 3 I () 5 A 60 4 +
- @ Pin 4 T (CAN H) N
Pin 5 M (CAN L) < SAL-DN-12-RK5.3-5/
G135 5 N Ge 43-12510
D
10 SAL-DN-12-RK5.3-10/ 4312511
GC
TPU, UL, violet
SAL-DN-12-RK5.3-2/
2 ol 43-12512
Width
- ﬂa'ts 135‘”055 3 ~ SAL:DN-12-RK5.3-3/ 4312513
~ Pin 1 M (Schirm/shielding) T @
Pin 2 I (+) ~
o Pin 3 I () 5 A 60 4 +
- Pin 4 T (CAN H) N
Pin 5 I (CAN L) < SAL-DN-12-RK5.3-5/
1 #13,5 5 ~ ol 43-12514
D
10 SAL-DN-12-RK5.3-10/ 4312515
GJ
PVC, UL, grey
27
’ SAL-DN-12-RKW5.3-2 / 4312516
= GC
0
— |l <
)
g ) o SALDN-12-RKW5.3-3/
2 QD Width across  pin 1 mm (schim/shelding) 3 N GC 4312517
- flats 13 Pin 2 W (+) e
Pin 3 HE () 5 A 60 4 +
Pin 4 1 (CAN H) N 3 5 3
- Pin 5 Il (CAN L) < SAL-DN-12-RKW5.3-5/
@13,5 5 ~N G 43-12518
D
SAL-DN-12-RKW5.3-10/
10 oc 43-12519
TPU, UL, violet
27
7 SAL-DN-12-RKW5.3-2 / 4312520
e = i GJ
=1E
xS
m  SAL-DN-12-RKW5.3-3/
® Wj%D Width across Pin 1 Bl (Schirm/shielding) 3 ‘:‘< GJ 43-12521
N flats 13 Pin 2 I (+) o~
® Pin 3 W () 5 A 60 4 +
Pin 4 ] (CAN H) m
4 $155 Pin 5 Il (CAN L) 5 z é?L—DN-]Z-RKWSS-S/ 4312522
D
10 SGAJL-DN-12-RKW5.3-10/ 4312523

Technical information starting on page 348

H o
CONEC® 291




—_
S
-
g X
= = <
Q8 = X = 3
S = o5 ! IS
Ry o S ESE 3
s & 8 2 g
N S ] <)
§ 2 2 § 3 S
§ 3 8 £ 5 ¢
PVC, UL, grey Contact assignment = S & S 8 = Description Part No.
@14,5
M12x1 By SAL-DN-12-RS5.3-2/ 4312500
GC
[T
SAL-DN-12-RS5.3-3/
) 3 ) 43-12501
) }/‘\ggtq;cross Pin 1 M (Schirm/shielding) < GC
g Pin 2 I (+) ~N
Pin 3 M () 5 A 60 4 +
. Pin 4 (CAN H) N
@ Pin 5 I (CAN L) = -DN-12- d
5 X SAL-DN-12-RS5.3-5/ 4312502
/L GC
@135
D
10 SAL-DN-12-RS5.3-10/ 4312503
GC
TPU, UL, violet
145
miza [ ] 2 é‘}L'DN'u'RSS'”/ 4312504
- 3 - SAL-DN-12-RS5.3-3/ 4312505
- Width across  Pin 1 Bl (schirm/shielding) IV
~ g flats 13 Pin 2 I (+) ~
Pin 3 I () 5 A 60 4 +
Pin 4 1 (CAN H) I
- Pin 5 Il (CAN L) < d 1)- o
%) 5 X SALDN-12-RS5.3-5/ 4312506
GJ
@135
D
I 10 SGAJL-DN—12-R55.3-10/ 4312507

292 CONEC® Technical information starting on page 348



—
€
-
g
— = =
g = X = S
S = 5 g
S N B
s g 8§ 2 g
= S - U o
S 2 2 § & ©S
. = Ny -~
‘N H E
PVC, UL, grey Contact assignment = S & G O = Description Part No.
SAL-DN-12-RK5.3-
03 RS5.3-03/GC 43-12524
Width across
flats 13
SAL-DN-12-RK5.3-
06 o 43-12525
Pin 1 MM (Schirm/shielding) ‘;‘< RS5.3-0,6/GC
Pin 2 I (+) ~
Pin 3 H () 5 A 60 4 +
Pin 4 1 (CAN H) N
Pin 5 I (CAN L) > SAL:DN-12-RK5.3-
15 o~ RS5.3-15/GC 43-12526
Width across
flats 13
; SAL-DN-12-RK5.3-
M12x1 — 3 RS5.3-3/GC 43-12527
TPU, UL, violet
SAL-DN-12-RK5.3-
03 RS5.3-03/GJ 4312528
Width across
= flats 13
SAL-DN-12-RK5.3-
m 43-1252
Pin 1 MM (Schirm/shielding) e :‘< RS5.3-0,6/CJ 312529
o Pin 2 M (+) ~
Pin 3 I () 5 A 60 4 +
Pin 4 1 (CAN H) N
Pin 5 I (CAN L) > SAL-DN-12-RK5.3-
i 15 ™ Rss315/6) 4312530
N Width across
flats 13
SAL-DN-12-RK5.3-
2K 3 RS53-3/G) 43-12531
TPU, UL, violet
Mi2x1
i
pign gooes .. SAL-DN-12-FKHS5.3-
seaing & 05 RS5.3-0,5/G) 4301666
Width across 2
flats 19
=
[ )
Pin 1 M (Schirm/shielding) (:
Pin 2 I (+) ~ _DN-12- )
- Pin 3 I () 5 A 60 4 1 + S IUNHPR A 43-01667
Pin 400 (CAN H) o RS53-1/C)
Pin 5 I (CAN L) B3
o~
Width across
flats 13
SAL-DN-12-FKH5.3-
2 RS5.3-2/CJ 43-01668
Mi2x1
014,5

Technical information starting on page 348 CONEC® 293



—
S
-
g
~ = =
8 = X = S
S = o 0%
= g 5 § 8
s g 8 P g
= S oY) o
S - E
§ § 8 £t 5 ¢
PVC, UL, grey Contact assignment = S & 3 8§ = Description Part No.
©14,5
SAL-DN-12-RK5.3-
03 7/8-RS5.3-0,3/GC 4312532
Width across
flats 13
SAL-DN-12-RK5.3-
06 ™ 43-12533
Pin 1 MM (Schirm/shielding) 2 7/8-RS5.3-0,6 /GC
Pin 2 I (+) ~
Pin 3 W () 5 A 60 4 +
Pin 4 ] (CANH) N
Pin 5 NI (CAN L) > SAL-DN-12-RK5.3-
15 ™ JgRss3issce 312934
SAL-DN-12-RK5.3-
KR 3 7/8-RS5.3-3/GC 4312535
026
TPU, UL, violet
SAL-DN-12-RK5.3-
e 7/8-R$5.3-0,3/G) 4312536
o Width across
) flats 13
SAL-DN-12-RK5.3-
: ! 43-12537
o Pin 1 M (Schirm/shielding) 06 E 7/8-RS5.3-0,6/CJ 31253
- T Pin 2 I (+) ~
! Pin 3 I () 5 A 60 4 +
J__[ Pin 4 1 (CAN H) N
‘ . Pin 5 W (CAN'L) < SAL-DN-12-RK5.3-
/ \ 15 % 7/gRss345/0) 4312538
@ SAL-DN-12-RK5.3-
I —— 3 7/8-RS5.3-3/G) 4312539
026
8 =
[<) —
5 g
S S
) =) =
Terminating plug Contact assignment = O & Description Part No.
D145
M12x1
[l ;o Shielding
LI et
AN i
gm—— 5 A 60 SAL-DN-12-RSA5.3 43-12642
‘Width across CANH
@ flats 13 4 R1

@ N
?13,5

294 CONEC® Technical information starting on page 348




—
= =
IS
~ s =
8 s =5
S s & - 1 8
s §sf¥s¢
S = < g S g
S & & B 8§ § 8
T £33 8885 o
: S 8 8 5/ £ & -
Female connector, M16x1.5 thread Contactassignment = S & G = = = Description Part No.
M12x1
P
I
Width
ats 17 £ | o
63
8
Sealing
‘/ﬁﬁ Pin 1 I (Schirm/shielding)
Pin 2 M (+) v
Pin 3 I () 5 A 60 4 2 S 24 SALDN-12-FK53-05 43-01367
Pin 4 CJ (CAN H)
) Pin 5 I (CAN L)
M16x1,5
Male connector, M16x1.5 thread
M12x1
%ol
Width across o
flats 17 S
rra v Y
Pin 1 MM (Schirm/shielding)
Sealing — ]:I:E Pin 2 I (+) O s
Pin 3 HE () 5 A 60 4 2 o 24 SALDN-12-FS53-05 43-02527
Pin 4 L1 (CAN H)
ol | Pin 5 Il (CAN L)
2 I
|
M1éx1,5

Technical information starting on page 348 CONEC® 295



L[m]

—
&)
S
~ = S.
g =3I 25
3 = 5 _ 8§ 8
Q g S 8 9
S B = v
S 2 8§ 8 3 g
5 S = 8§ © 8
S 2 < § £ Y S
E s 8 £ & & ¢
Female connector, M16x1.5 thread Contact assignment = S & S S = = Description Part No.
Mi2x1
|
Width across !
flats 19 o
[ ] & Pin 1 B (Schirm/shielding)
Sea\\ng\4_| T T Pin 2 I (+) SAL—DN-]Z-
[ I Pin 3 I () 5 A 60 4 PVC 05 24 43-02246
Pin 4 ] (CAN H) FKH5.3-0,5
. Pin 5 NI (CAN L)
M16x1,5
Male connector, M16x1,5 thread
Mi2x1
Width across | ‘ " ’ .
flats 19 \“_/ : @ » Pin 1 B (Schirm/shielding)
! < & Pin 2 I (+) ANLTO.
i rﬁr\iji__ﬁ Pin 3 I () 5 A 60 4 PVC 05 24 SALDN-12 43-01368
Rl B Pin 4 1 (CAN H) FSH5.3-0,5
‘: Pin 5 M (CAN )
) 1
Mi6x1,5
Female connector, M16x1.5 thread, TPU, UL, violet
M12x1 SAL-DN-12-
mc;tqgacross 0,5 FKH53-05/G) 43-01642
Sealing % ® 2
\H i I
) Ll T T TIT :. oy
X‘;‘f’sﬂ];mss M Pin 1 M (Schirm/shielding) >
S Ei:ﬁ::f 5 A 60 4 1 SALDN-T2- 43-01643
Pin 4 T (CAN H) N FKH5.3-1/GJ
M16x1,5 Pin 5 I (CAN ) <
T ~
1| D
SAL-DN-12-
2 FKH5.3-2/GJ 4301644
Male connector, M16x1.5 thread, TPU, UL, violet
SAL-DN-12-
M12x1
-1 0,5 43-01645
Width across FSH5.3-05/0)
flats 19 g
)
Sealing % &
—\Tﬂb S o 2
] - ) s ~
Width across PFn 1 B (Schirm/shielding) >
e i o () 5 A 60 4 1% SALDNI2 4301646
n g -
V=T o  FSH53-1/G)
M16x1.5 Pin 5 Il (CAN L) :
D
I
! SAL-DN-12-
2 FSH5.3-2/GJ 4301647

296 CONEC® Technical information starting on page 348



—
&)
_ — =
-~ & <
—
& = S. — g
_ : 1 :
QL oy S e Y
[y g" = p=y “
S S S D u
S S = S§ 8
N > = - X
Q £ = S © S
t S E L
. o = . .
PVC, UL, grey Contact assignment = S & S S = Description Part No.
926
©14,05
SAL-DN-7/8-RK5.3-
3 RS5.3-5/GC 41-01382
L
[ee)
\l::[ Pin 1 MM (Schirm/shielding) :
Pin 2 M (+) ~
. 0 Pin 3 () 5 A 300 52 10 <+ OALDNZ/BRKS3- 4 5363
| Pin 4 CJ (CAN H) v  R$5.3-10/GC
Pin 5 I (CAN L) =
~
[
@ SAL-DN-7//8-RK5.3-
‘ 20 RS5.3-20/GC 101384
7/8" - 16UN
Male connector axial
Q28
7/8" < 16UN
\
|
LRI aShiling
- ot
8 - 5 A 24 SAL-DN-7/8-RSA5.3  41-01304
4mCANH 1
s e U,
N
@19
(S}
.
§ <
—_
g =< = 8
§. % = = K §
5 £ 8 8% a
S 25888
§ 3 8 £ & 8 8
Male connector, M16x1.5 thread Contactassignment = S & 3 S S = Description Part No.
7/8"- UN16
Width across |
flats 27 \_ TT<—23
Sealing E § 8 Pin 1 M (Schirm/shielding)
Pin 2 M. () SAL-DN-7,/8-
- Pin 3 I () 5 A 300 10 PVC 05 18 41-40027
L] Pin 40 (cAN H) FSH53-0,5
Pin 5 I (CAN L)
I

Technical information starting on page 348

H o
CONEC® 297




—
&)
_ = §
- = =
. = < s
g S 2 s §
5 £5 %9 ;
5§ o S = 5 8
S £ ©wW § & 3
“H H I E
PVC violet Contactassignment = S & 3 8 = Description Part No.
@145
SAL-CN-125-
2 RK4.41-2/GU 4314380
Width across
flats 13
SAL-CN-125-
pin 1 3 < RK4.413/GU 43714381
Pin2[J =
Pin 3 4 A 60 4 ~
| o e s T SALCNAZS: 1314382
RK4.41-5/GU
SAL-CN-125-
[ RK4.41-10/GU 4314383
PVC violet
@145
M2yt SAL-CN-125-
‘ 2 RS4.41-2/GU 4314384
Width across
flats 13
SAL-CN-125-
¥ Pin 1 3 < RS4413/GU 4314385
Pin2] =
- Pin 3 4 A 60 4 D
- Pin 4 £ S saLeNas
J RS4.41-5/GU 4314386
D
SAL-CN-125-
i 10 RS4.41-10/GU 43-14387
PVC, UL, violet
SAL-CN-125-RK4.41-
e RS4.41-0,3/GU 4314388
Width across
flats 13
SAL-CN-125-RK4.41-
e RS4.41-0,6/GU 4314389
Pin 1 mm N
Pin2 ] =
i 4 A 60 4 ~
Pin 4] ~
SAL-CN-125-RK4.41-
112 RS4.41-1,5/GU 4314390
N ! Width across
flats 13
|
! SAL-CN-125-RK4.41-
— M12x1 3 RS4.41-3/GU 43-14391

298 CONEC® Technical information starting on page 348




=
< 2
-~ £ =
g =< = 5
S = o T8
QU Q5 3 S
fhy S 5 =2 £ 3
S S 8§ 8 & g
S 22 5 & § 8
S s g s &8¢ -
Female connector, M16x1.5 thread Contact assignment = S & S = = = Description Part No.
M12x1
Width across ; o
flats 17 L - w
Sealing/fﬁ b Pin 1.
= 4 A 250 4 PVC 05 24 iﬁtﬂ-g}zs 43-01703
Pin 4 T
M16x1,5
Male connector, M16x1.5 thread
Mi12x1
Width across i g ©
flats 17 o
. t Pin 1 = LA
ealing : - 12-
i i— 4 A 250 4 PVCO5 24 oioN2 4301704
Pin 4 B
M16x1,5
Female connector, M16x1.5 thread
M12x1
Width across flats 19
seai i Pin 1 ALCNZ
ealing T T i X 219-
i i 4 A 250 4 PVC o5 24 ECTI 4302347
: Pin 41 '
. i
I
I
M16x1,5
Male connector, M16x1.5 thread
M12x1
Width across ‘
flats 19 2|
< ° Pin 1
Sealing LT 7T O |
Pin2] SAL-CN-12-
L pin 3 4 A 250 4 PVCOS 24 |G 43-02348
Pin4[]
M16x1,5

)
Technical information starting on page 348 CONEC® 299



SEcTION 10
JUNCTION SYSTEMS




PN
CONEC® 301




SAL M8x1/M12x1 Y-SPLITTER

Nomenclature

SIARLY-J1020 1-JYIsi4)-18] B-J20RIKE N30 - Jo3N/ 030/ JO3NKi

: | | | | | | | ‘ | |

ALLOCATION

302 SONEC®



SAL M8x1/M12x1 Y-SPLITTER

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier TPU GF, UL 94 / PA, UL
Overmould TPU, UL 94, grey

Sealing FPM

Coupling nut/-screw GD-Zn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12
Rated voltage IEC 61076-2-104 IEC 61076-2-101
Current rating IEC 61076-2-104 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.4 Nm at SW 9
Recommended torque M12: 0.6 Nm at SW 13

Technical subject to change without notice.

H ol
CONEC® 303



SAL M8x1/M12x1 DUO-SPLITTER

Nomenclature

SIARLY-J102] J-IDIsH41-18] |- J20REKE H31 - Jo3)/RO3N/JKI

: | I | | \ | ‘ | ‘ | |

ALLOCATION

304 SONEC®



SAL M8x1/M12x1 DUO-SPLITTER

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier TPU GF, UL 94 / PA, UL
Overmould TPU, UL 94, grey

Sealing FPM

Coupling nut/-screw Cu-Zn, nickel plated

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12
Rated voltage IEC 61076-2-104 IEC 61076-2-101
Current rating IEC 61076-2-104 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.4 Nm at SW 9
Recommended torque M12: 0.6 Nm at SW 13

Technical subject to change without notice.

H ol
CONEC® 305



SAL M8x1/M12x1/7/8" T-SPLITTER/ ADAPTER

Nomenclature

III!III!IIEE]!IIEE]!I!IEII!]!I
CONNECTION I|| ‘l
ALLOCATION

306 SONEC®




SAL M8x1/M12x1/7 /8" T-SPLITTER/ ADAPTER

Product specification

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier TPU GF, UL / PA, UL
Overmould TPU, UL 94, grey
Sealing FPM (M8x1, M12x1)
Coupling nut/-screw GD-Zn / Stainless steel

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12 7/8"
Rated voltage IEC 61076-2-104 IEC 61076-2-101 IEC 60664-1
Overvoltage category IEC 60664-1 2
Current rating IEC 61076-2-104 IEC 61076-2-101 IEC 60512-3
Insulation resistance IEC 60512 IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.4 Nm at SW 9
Recommended torque M12: 0.6 Nm at SW 13

Technical subject to change without notice.

H ol
CONEC® 307



< [ O
T 3 3
g 3 8 £ T
B B
Y Y Y S b=
o o o = E
5 8§ §8 £ =
T § §E 3 ¢
Contact assignment 2 2 2 & 8 Description Part No..
6]
a
>
4.3 1 1.3 4 8
E*—T 3 3 3 N 3 SAL-8-YS3-2YK3 42-05102
<
3 4 g
wn
6]
; a
4 3 1 1 3 4 g
[\=}
33 T o 4 3 3 N 3 SAL-8-YS4-2YK3 42-05103
swo/ M8x1 1 ::)
: >
;/‘*gtdstgarcoss é ‘L‘ 8
‘ SW9/
Width arcoss
Mx1 flats 8 [6)
a
4 321 123 4 Z
=}
TTL”T TT 4 4 4 N 3 SAL-8-YS4-2YK4 42-05104
T 2
I >
3 4 el
CTese3Ed GEzeser
iR
8 8 8 30 15 SAL8-YS8-2YK8 42-05105

Technical information starting on page 348




—
< @m O IS
S 33 £ ¥
—
gi8 =53
—_= = = = 1]
‘HE H E
RN, S5 25
o o [} = E m N
[NOREENGENG S & 8 s
¥ I U o 2 =5 =
S 9 9 £ v § S &
S55sffes
TPU, UL, halogenfree, black, Li9Y11Y Contact assignment = = = O € 3§ =8 Description Part No.
SW13/7
x\;\glh‘sacross - i
SAL-12-YRS5-RK5-
06 RKs.0,6/06/0,6/k1 +30°182
& 5 55 A60 4 ™
i
SAL-12-YRS5-RK5-
3 s, " Rksa5/15/15k 430183
flats 13
M12x1
2145
TPU, UL, halogenfree, black, Li9Y11Y
SAL-12-YRS5-
93 2vKs.2:03/K1 4305189
54321 12345
YUY <
5 5 5 A60 4 @
o
]
H 06 ShLI2TRSS 43-05190
SW13/ " 2YK5.2-0,6/K1
Width across
flats 13
SAL-12-YRS5-
03 vks.03/K1 4305191
&
5 5 5 5 A 60 4 el
o
N mlha ! SAL-12-YRS5
{ across -1Z- -
flats 13 0,6 2YK5-0,6/K1 43-05192
M12x1
#1455
SAL-12-YRS8-
03 43-05193
™ 2YK8-0,3/K1
T Giisii
8 8 8 A 30 2 s
]
' 1l SAL-12-YRS8-
0,6 2YK8-0,6/K1 43-05194
. . . . Va6
Technical information starting on page 348 (8%

INEC® 309



310

Contact assignment

Number of poles Side A
Number of poles Side B
Number of poles Side C
Rated voltage [V]
Current rating [A]

Description Part No..

Sw9 /
Width arcoss \
flats 9

135 ~9,1

~41,4

M8x1
20,5

4 3 1 1 3 4

Il

1.7

SAL-12-YS4-8-2YK3 43-05185

SW13/
Width arcoss

i
Mi2x1 flats 13
T -

~
w
w
50VAC/ 60V DC
w

com—{ 4
s

SW13/
Width arcoss
flats 13

~454

;
TULTT
5 5 5 60 4 SAL-12-YS5-2YK5.2 43-05186

7
T 5 5 5 60 4 SAL-12-YS5-2YKS 43-05187

SWi13/
Width arcoss
flats 13

Mizx1

[
45

[ 8 8 8 30 2 SAL-12-YS8-2YK8 43-05184
T

N
N

INEC®

Technical information starting on page 348




—
< @ L S
3 3 3 E F
W \ B - = < =
n o o > —
S 32T SE
Q Q Q o . D :E
L = I ~ AT <Y
[} [} o - S Al Ny
L =~ ~ S = 4 o
N H BH
EEE S8 8¢ 3
PVC, grey, LiYY Contactassignment = = 2 & S8 X § Description Part No.
15,402 SAL-8-DS3-
o 03 JRk303/03/a1 4211780
—(a [a)
s > SAL-8-DS3-
; < 3 e 2RK3-0,6/0,6/A1 4211781
Ly 3 3 3 5 3035
a— 2 SAL-8-DS3- ]
i crss 45}@ > 5 Jrkzs/15oa1 421782
n
SAL-8-DS3-
3 JRk33/3/A1 sl
SAL-8-DS4-
03 42-11788
. Q 2RK4-0,3/0,3/A1
Hﬂ > SAL-8-DS4- ]
| | 3 08 JRka-06/06/a1  4Z11789
: 4 4 4 N 302
e T LT = 15 gAR'ﬁ:?g‘/"] sop 4211790
L > i T
' " 3 SALBDS 42-11791
2RK4-3/3/A1
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-DS3-
19,202 -
o o 03 JRK3-03/03/K1 4211776
| 4 a
, ‘s > SAL-8-DS3-
: — 3 08 Jrkz-06/06/k1 AT
| 333 y 30
-— ! SAL-8-DS3-
? dhacoss L s < 15 42-11778
o s J® § 2RK3-1,5/1,5/K1
SAL-8-DS3-
3 JRK33/3/K1 421779
SAL-8-DS4-
- o 03 JRka03/03/k1 4211784
—C a
& > 0g SAL8DS4 T
f— ] ! 3 "> 2RK4-0,6/0,6/K1
. : 4 4 4 N 302
Mk s T L e N ke ?:llzi? ?/1-1 5/K1 CPHNAELS
(s o ! !
\ 4 wn
! —<¢ SAL-8-DS4-
010, 3 JRka3,3/K] 4211787

Technical information starting on page 348 CONEC® 311



312

—
< @ L S
3 3 3 £ F
—~
§ 58S 5§ 3
S 3 8 8% 2 8§ <
[ = T =T =S
S S S § 8 g 8
§ 8§ 8 85 & g =
R R
PVC, grey, LiYY Contact assignment = 2 2 & 38 5 8 Description Part No.
SAL-8-DS3-
i 2RKW3-0,3/0,3/A1 4211796
_ 154s0z . ko)
< Z 06 SALEDSS 4211797
: e 3 2RKW3-0,6/0,6/A1
]_O 333 y 302
r—
¢ Z SAL-8-DS3- )
—@}@ z L= 2RKW3-1,5/1,5/A1 4211798
xwdtl;across n
ats
SAL-8-DS3-
3 JRKW3-3/3/A1 SPRIR)
SAL-8-DS4-
s 2RKW4-0,3/0,3/A1 4211804
LD)
SAL-8-DS4-
> A
3 b 2RKW4-0,6/0,6/A1 G
4 4 4 ~ 302
2 SAL-8-DS4-
Z (52 2RKW4-1,5/1,5/A1 el
n
SAL-8-DS4-
3 JRKWa-3/3/A1 sl
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-DS3-
& 2RKW3-0,3/0,3/K1 4211792
15,4202 (&}
| —(a [a)
< 2 06 SALEDSS 42-11793
, —< 3 2RKW3-0,6/0,6/K1
]_(‘ 3.3 3 N 302
a—
L& Z SAL-8-DS3- )
—J@ z 15 JRkw3as/15k1 421794
Width across n
flats 9
SAL-8-DS3-
3 JRKW3-3/3/K1 CRILAR)
SAL-8-DS4-
0 2RKW4-0,3/0,3/K1 4211800
4(4 8
— ¢ SAL-8-DS4-
& > .
‘ ) 3 06 2RKW4-0,6/0,6/K1 SZHILESL
: 4 4 4 N 302
pua e < SAL-8-DS4- :
& Z 5 orkwaasskn 4211802
—{4 n
SAL-8-DS4-
3 JRKWA-3/3/K] 4211803

CONEC®

Technical information starting on page 348




oy
<< @ O IS
3 3 3 £ F
\ \ [ ~ —
g 888§ 7
2 38 8 2 8 =
L = I ~ AT <Y
S S © 5 8§ Q¥ s
a . . N - o oY)
S 8§ 8§ 5 § S o
E E E &8 £ & 3
TPU, UL, halogenfree, black, LI9Y1TY Contact assignment 2 228385 8 Description Part No.
19,2x02
X 15,4102
-~ 03 >hLl2DKeS 43-16267
! 2RS3-0,37/0,3/K1
x\;igl:sacmss
@) SAL-12-DK4-8-
— S 08 Rs306/06/k1 4316268
2 f 8
1
29 ; 4 3 3 S 3 025
4 3 <
\—-4}3 2 15 SAL12-DK4-8- Rl
o ! 2RS3-1,5/1,5/K1
Width across
flats 9 SAL-12-DK4-8-
3 Rs33/3/K1 4316270
TPU, UL, halogenfree, black, Li9Y11Y
15,4102
192202 0145 03 SAL12:DK48. e
| ! 2RSW3-0,3/0,3/K1
:I'v;dslr;;cross
8} SAL-12-DK4-8-
)_,—-;F S 08 SRswa-0,6/06/k1 4316277
2 o
[ S— ! ©o
4 ~ 2
. i) ; 3 3 S 3 025
e L3
[E— 2 15 SAL12DK4-8- e
Width across 0 ! 2RSW3-1,5/1,5/K1
flats 9
®
SAL-12-DK4-8-
1 3 JRsW3-3/3/K1 43-16279
TPU, UL, halogenfree, black, Li9Y11Y
15,4202
19,2402
SAL-12-DK5-
2 2RS5.2-0,3/0,3/K1 4Rl
a3
— SAL-12-DK5-
. R 06 2RS5.2-0,6/0,6/K1 4316288
5 —1 J—-w
; 1 ‘ 5 5 5 60 4 034
4 — —_—
Z SAL-12-DK5-
—_ 12 2RS5.2-1,5/1,5/K1 GERIEE
Width across
flats 13
SAL-12-DK5-
3 JRs5.23/3/K1 43-16290

Technical information starting on page 348 CONEC® 313



—
< @ L S
3 3 3 £ F
\ \ B o— = —
g 88=Z 8§ 7
2 8 8 & 2 §8 =
= I =T <Y
S 5§58 § 8 g 2
I 3 ¥ > v L X
S 9 8 - § S
HHH
TPU, UL, halogenfree, black, Li9Y11Y Contact assignment = = = & G = 8 Description Part No.
154102
M12x1 914,5
' SAL-12-DS4-8-
0 2RK3-0,3/0,3/K1 43-12463
x‘l\‘d(agcross
%) SAL-12-DS4-8-
—_,—o S 08 SRk3-06/06/k1 4312464
2 S 3
%ﬂ 4 3 3 ~ 3025
4 ! %()
]
——I_J® 2 15 SAL12-DS4-8- S
o > 2RK3-15/1,5/K1
faas " SAL12-DS4-8
ats - - -8-
3 JRK3-3/3/K1 43-12466
TPU, UL, halogenfree, black, Li9Y11Y
19,2%02 15,4+02
SAL-12-DS4-8-
Mi12x1 2145 g
U 2RKW3-0,3/0,3/K1 4312467
Width across
s fats 18 %) SAL-12-DS4-8-
—_,—o S 06 2RKW3-0,6/0,6/K1 4312468
2 S 2
%ﬂ 4 3.3 N 302
s ! <
]
: ——I_J® 2 15 SAL12DS48- B
| e > 2RKW3-1,5/1,5/K1
: Width across
SAL-12-DS4-8-
3 JRKW33/3/K1 4312470

M12x1 18

SAL-12-DS4-8-2DK3  43-05117

| ™= width across - !
) flats 13
9 [T \ ats — ) 4 3 3
4
Width across 4
R
f 3

50VAC/ 60V DC
w

314 CONEC® Technical information starting on page 348




—
< @ L S
3 3 3 £ F
\ \ [ ~ —
g 888§ 7
2 38 8 8 8% <
wow s 8§ 8 92 F
S S S ¥ § 4y =
L =~ ~ S = 4 o
§ 8858 8%
EEE S8 8¢ 3
TPU, UL, halogenfree, black, Li9Y11Y Contact assignment = 2 2 & 3 5 8 Description Part No.
19,2+02 154102
M12x1 @14,5
| SAL-12-DS5-
ﬁﬁ 03 JRK52:0,3/03/K1 RPN
\, O \‘ 5 Width across
flats 13
— 0p SALI2DSS- 24312604
—C " 2RK5.2-0,6/0,6/K1
s —(2
sy I—O
] ! t . 5 5 5 60 4 034
R ) — SAL12-DS5
L ¢ 1,5 aluteg 43-12605
e 2RK5.2-15/1,5/K1
SAL-12-DS5-
| 3 JRK5.2-3/3/K1 43-12606
Width across
II:LMS
TPU, UL, halogenfree, black, Li9Y11Y
19,2402 15,4102
M12x1 2145 SAL-12-DS5-
% b 2RKW5.2-0,3/0,3/K1 S
)‘Nidtrisacross
lats 4
_ég 06 SALT2DS5: R
—C ®  2RKW5.2-0,6/0,6/K1
s —(2
Sem—4 1
! [[ 5 5 5 60 4 034
R ) — SAL12-DS5
& 1,5 st 43-12609
e 2RKW5.2-15/1,5/K1
Width across
flats 13
SAL-12-DS5-
3 JRKWS.2-3/3/K1 4312610

Technical information starting on page 348 CONEC® 315



=
<< @ O IS
S £ F
3 A @ =
§ 58S 5§ 3
S 88 8 2 8% s
S S S E = “n 1)
S © S 3 8§ §g =
S 8§ 8 > =2 g 2
Q Q Q9
S 558 8es
PVC, grey, LiYY Contact assignment = = = & G = 8 Description Part No.
SAL-12-TS4-TK4-8-
Width across\ 0,3 RK4'O,3/A] 43-05122
flats 13
[6)
e >
©1= 2 (2 2
L‘:[ Width across 8 T CS 4 4 4 k\J 3 0'25
[ flats 13 4 /J\/I\ 4 <>(
‘-l"|‘£ ri f2 3 4 8
SAL-12-TS4-TK4-8-
. 0,6 RK4-0,6/ A1 43-05123
Width acrass
flats 13
TPU, UL, halogenfree, black, Li9Y11Y
% SAL12-TS4-TK4-8-
W acroso— | 03 RK4-0,3/K1 43-05124
ats 13
[6)
2% - a
5= =1 [ ! E‘ >
- E > 2 2 8
Width across 3 (3 4 4 4 ~ 3 025
flats 13 4 4 g
D /I\ N
. ‘F % N 2
SAL-12-TS4-TK4-8-
3 06 Fea06/Ki 43-05125
Width across
flats @

316 CONEC® Technical information starting on page 348




—
< @ L S
3 3 3 £ F
—
5 58 S5
— —= — = Il
8 38 32 %8 s
L = I ~ AT <Y
o o (s} = S Al Ny
L =~ ~ S = 4 o
$ 383§ 83
ss5Efes
PVC, grey, LiYY Contact assignment = = = & G = S Description Part No.
SAL-12-TS5.1-TK5.1-
03 RK5.1-03 /A1 43-05118
1——————— 1
2 2
3 3
. .5 5 5 60 4 034
5 L(L 5
X 56 172737475
Width across — 26
flats 13
SAL-12-TS5.1-TK5.1-
e g 0,6 RK5.1-0,6/Al 43-05119
8 Width across
flats 13
N Widh across SAL-12-TS8-TKS-
flats 13 03 RK8-0,3/A1 43-05126
T c-
2 2
. )
M 58 8 8 30 2 025
6 T 6
: e
12345 )6\)7\%
SAL-12-TS8-TK8-
0,6 RK8-0,6/A1 43-05127
TPU, UL, halogenfree, black, Li9Y11Y
SAL-12-TS5.1-TK5.1-
03 RK5.1-03 /K] 43-05120
1——————— 1
2 2
3 3
4 + 5 5 5 60 4 034
5 L(L 5
1 2 3 4 5
56
s ) - 06 SALT2TSSITKSI- oo,
- ! RK5.1-0,6 /K1
e
a Width across
flats 13
I SAL-12-TS8-TK8-
x\;gl:sacross 0,3 RK8-0,3 /K] 43-05128
T c-
2 2
4 4
5 58 8 8 30 2 025
6 T 6
: e
12345 )6\)7\%
SAL-12-TS8-TK8-
0,6 RK8-0,6/K] 43-05129

Technical information starting on page 348 CONEC® 317



< [5) @)
T 3 3
H B
N 2
s %5 5 £ B
5 8 58 8 =
Contact assignment = = = & G Description Part No.
11
2 (2
3 (s 4 4 4 250 4 SAL-12-TS4-TK4-TK4 43-05115
a4
N ”aVID
-1
2 2
3 3
4 4 5 5 5 60 4 SAL-12-TS5-TK5-TK5 43-05116
36 T
14,5 5 A\A 5
M12x1 1 2 '3 45
[NROR 11
M Width across B 2
flats 13
3 8 SAL-12-TS5.1-TK5.1-
8| 4 T A 5 5 5 60 4 TK5.1 43-05114
N 5 A\(L 5
1 2 '3 45
Width across
flats 13
T ¢
2 2
4 4
: : 8 8 8 30 2 SAL-12-TS8-TK8-TK8  43-05142
v
: T =
1273 45)6\)7\%
11
2 (2
3 e 4 4 4 250 4 ?’K\Sz'TSE“'TKE“' 43-05155
4 4
N ”aVID
-1
2 2
3 8 SAL-12-TSE5-TKES-
o 4 T A 5 5 5 60 4 TKES 43-05156
5 5
16 M12x1 Aale 3%1\%
g
[0 ——— ¢,
Width across|
flats 14 2 2
3 8 SAL-12-TSE5.1-TKES.1-
8| 4 B 5 5 60 4 TKES 1 43-05154
N 5 5
123
Width across
ﬁ flats 14
T ¢
2 2
4 4 SAL-12-TSE8-TKE8-
5 5 -
: ‘ 8 8 8 30 2 TKES 43-05153
8 8
12345

Technical information starting on page 348




< [}
T 03
g g = 2
g 8 & 2
S Y S =
o o = E
N 5 S =
T T 83
a S 2.2
Contact assignment = 2 & 3 Description Part No.
1-—(C1
o — 4 4 250 4 SALI2TSATKA 4305130
a4
Width across —aC
flats 13 2=—(2
3—CQ0 5 5 60 4 SAL-12-TS5-TK5 43-05131
a4
se——(5
| — Width across
flats 13
1-—
22
3———(3
: E‘; 8 8 30 2 SAL12TS8TKS 43-05113
6=—(6
77
g=—(8
1-—(C1
22
o ; G 4 4 250 4 SALI2TSEATKE4  43-05150
a4
) 1-—(1
x\éﬁ(::cmss 5 )
0 5 5 60 4 SAL-12-TSE5-TKES 43-05151
44
se——(5
11—
2—2
3=—3
Wit soross : E‘; 8 8 30 2 SALI2TSEBTKES  43-05149
flats 14 6 :5
7—(7
g=—(8

Technical information starting on page 348 CONEC® 319



320

< 5
T 03
(%) %) — ~
g 5 = <
N < BN
S Y S =
(s} o E E
?, s = 4
< < = S
Bl B
Contact assignment = = (53 QO Description Part No.
0145
M12x1
SW13/
witdth across
flats 13
—_
_
b 3= 5 5 60 4 SAL-12-TS5.1-TS5.1 43-05133
_
— -
SW13/
witdth across
= d flats 13
M12x1
P145
M12
Width across
flats 14 |
_
ol e 3— 5 5 60 4 SAL-12-TSE5.1-TSE5.1  43-05152
_—
— -
1
|
‘ } \W\d(h across
flats 14

N
N

INEC®

Technical information starting on page 348




_ N N S
T 3 3
H H
S S S E =
o o o = E
5 5 8 S =
B < Q = S
s 5 5 § ¢
Contact assignment = = = = O  Description Part No.
61
P25
7/8"-16UN
PF=—9g——(PF
o« LI 2 C SAL-7/8-TS2PE-
| 5 (o (2+PE 2+PE 24PE 250 10 oo oo 41-30001
PE 2 3
@25
P25
7/8"-18UN
11— (4
2 2
PE PE SAL-7 /8-TS4PE-
T . = 4+PE 4+PE 4+PE 250 10 1oco o 41-30002
« 5 5
N ALK
1 2 PE 45
@25

Technical information starting on page 348 CONEC® 321



SECTION 11
VALVE CONNECTORS




CONEC® 323



VALVE CONNECTORS DT-SERIES
Nomenclature

DT061-J2S|L] |- 1Al/1K11/10.750/]2m]

=

324 CONEC®



VALVE CONNECTORS DT-SERIES
Product specification

Contact CuZn
Contact plating Ni
Contact carrier Thermoplastic
Overmould TPU, UL94, translucent
Sealing Silicone
Temi@Oaa
Rated voltage 12/24 V AC/DC [with LED and Protection circuit]

10 - 230 V AC/DC [without Protection circuit]

Current rating 8 A at 40°C [2-, 3-pos.]
7 A at 40°C [4-pos.]
6 A at 40°C [6-, 8-pos.]
5 A at 40°C[12-pos.]

Degree of protection IP67 in mated condition
Temperature range connector -40°C to +85°C
Temperature range cable Fixed installation: -40°C to +80°C

Flexible installation: -25°C to +80°C

Temperature range single wire Fixed installation: -40°C to +105°C
Flexible installation: -10°C to +105°C

Terminal cross section 0.75 mm? /AWG 18
Housing Deutsch DT06 /DT04
Protection circuit Supressor diode + 2 x LED yellow

H ol
CONEC® 325



VALVE CONNECTORS SUPERSEAL-SERIES
Nomenclature

VSS1.5( - J21siL] |- JAL/1K1]/10.75]/)2m]

=

326 SONEC®



VALVE CONNECTORS SUPERSEAL-SERIES
Product specification

Contact CuZn

Contact plating Sn

Contact carrier Thermoplastic

Overmould TPU, UL94, black

Sealing Silicone
TemialOaa

Rated voltage max. 24 V DC

Current rating 8 A at 40°C [2-, 3-pos.]

7 A at 40°C [4-pos.]

Degree of protection IP67 in mated condition

Temperature range connector -40°C to +85°C

Temperature range cable Fixed installation: -40°C to +80°C

Flexible installation: -25°C to +80°C

Temperature range single wire Fixed installation: -40°C to +105°C
Flexible installation: -10°C to +105°C

Terminal cross section 0.75 mm2 /AWG 18

Housing Superseal 1.5, black

H ol
CONEC® 327



Overview pin assignment

DT 06 (Housing for socket contacts)

le} o) OO0 000O0
o} o}
o} o} O 00000
—J
2-pos. 3-pos. 4-pos. 6-pos. 8-pos. 12-pos.
A-coded A-coded
DT 04 (Housing for plug contacts)
[ Z
r1
I
S o S 00 00 0O00O0O0O0
o o o o
O (o]
[0} (@) 0 0 OO0 OO0 O0OO0OOO
2 S
2-pos. 3-pos. 4-pos. 6-pos. 8-pos. 12-pos.
A-coded A-coded

Superseal VSS1.5 (Housing for socket contacts)

2-pos. 3-pos. 4-pos.

Superseal VSS1.5 (Housing for plug contacts)

2-pos. 3-pos. 4-pos.

328 CSONEC®



CONK°® 329



~
£
g £
g = X < kS
DT-Series T L 2 < & B
s & 8§ & T g
S S & § 3 8
S 3 § & & 3
S 8 5§ § § &
DTO6, 2-pos., socket contacts, with LED-protection circuit Contact assignment = € 38 8§ § = Description Part No.
DT06-25-B/
’ 2 K1/0.75/2m 5500376
@11
| f
DT06-25-B/
> K1/0.75/5m 5500377
, 8 F
- DT06-25-B/
- b Q 10 K1,/0.75/10m 5500378
~N
14,9
== | sop , 3
with threaded connection N 2 > 8 PUR
] 5 ~N
- Pin 2 ‘h
- DT06-25G-B/
ot 2 K1/0.75/2m 5500379
X
DT06-25G-B/
> K1/0.75/5m 5500380
DT06-25G-B/
10 K1/0.75/10m 5500381
—
DT06-25-A/
2 K1/0.75/2m 5500388
(301
‘ f
DT06-25-A/
> K1/0.75/5m 5500389
Q Q DT06-25-A/
Q 10 K1,/0.75/10m 5500390
~N
[©)
e = i ) > 3 o =
with threaded connection Pin 2 W 2 X
o~
= DT06-25G-A/
| o 2 K1/0.75/2m 5500391
X
1 DT06-25G-A/
> K1,/0.75/5m 5500392
1 n
DT06-25G-A/
10 K1,/0.75/10m 5500393
14,9 ; :

330 CONEC® Technical information starting on page 348



~
—_ £
- £ £
g = < kS
DT-Series, = & 2 s 2 3
g 0 « 8 B 3T T
Single wire S ¢ S § 3 8
2 3 5§ 2 x O
§ 2 =E I 3 @
DTO6, 2-pos., socket contacts, with LED-protection circuit Contact assignment = € 3 § 8§ = Description Part No.
0o
DT06-2SL-B/
. 05 A1/0.75/05m 5500560
@11
DT06-2SL-B/
2 A1/0.75/2m 5500482
; 8 % F
_ DT06-2SL-B/
- b 9 > A1/0.75/5m 2200561
14,9 (;EE? ~N
gé ‘Ek < =
Z 2 > 8 LS
with threaded connection - - (] = ~
e Pin 2 h
— DT06-2SLG-B/
ﬂ 0.5 A1/0.75/0,5m 5500562
M12x1 H
— DT06-25LG-B/
Zz 2 A1/0.75/2m 5500483
DT06-2SLG-B/
jif > A1/0.75/5m 5500563
DTO6, 2-pos., socket contacts, without protection circuit
0-
DT06-2SL-A/
» 05 A1/0.75/0,5m 5500564
038
|
VTJ
T DT06-2SL-A/
2 A1/0.75/2m 5500565
DT06-2SL-A/
9 > A1/0.75/5m 0200506
— ~N
149 () [Te)
! " << ~
Pin 1 *
; - Pin 2 W 2 2 8 e 2
with threaded connection "1 < ~
o
- DT06-2SLG-A/
. 05 A1/0.75/05m 5500567
M12x1
M12x1 :;
DT06-2SLG-A/
2 A1/0.75/2m 5500568
N %
o @ée{\, DT06-25LG-A/
j > A1/0.75/5m 5500569
14,9 - >

Technical information starting on page 348 CONEC® 331



~
—_ g
- & £
g = X - kS
DT-Series BN B E
S § § % 35 °
s §$ & 8§ & 8
S 5 § » o O
. o B H E
DT04, 2-pos., plug contacts, with LED-protection circuit Contactassignment = & O O O = Description Part No.
DT04-2P-B/
/ - en 2 K1/0.75/2m 5500442
DT04-2P-B/
> K1,/0.75/5m 55:00443
8
1 =) 2
2 {24}
- DT04-2P-B/
A -
- bt Q 10 K1/0.75/10m 5500444
151 | S "
v ‘E‘ < ~
iy 2 > 8 PR S
with threaded connection [ ) ~
- Pin 2 S
— DT04-2PG-B/
7| M2 2 K1,0.75/2m 55-00445
M12x1
DT04-2PG-B/
> K1,/0.75/5m 5500446
&

2

(=l
i é SN DT04-2PG-B/
S ﬁ 10 K1,/0.75/10m 5500447
15,1

DT04, 2-pos., Plug contacts, without protection circuit

11,6

4| g1 DT04-2P-A/
/ 2 K1/0.75/2m 5300448
DT04-2P-A/
> K1/0.75/5m 5500449
b2
)
‘D' -
- DT04-2P-A/
2 10 K1,/0.75/10m 5500450
N
(@}
) < 2
Pin 1 W > =
Pin 2 I 2 o 8 PUR 2
with threaded connection Ay ~
=] DT04-2PG-A/
- -
Mi2x1 2 K1/0.75/2m 5500451
M12x1
DT04-2PG-A/
> K1/0.75/5m 5500452
b
1
«,‘ —
- DT04-2PG-A/
10 K1/0.75/10m 5500453

332 CONEC® Technical information starting on page 348



~
—_ £
- & £
g = < kS
DT-Series, S 3. 2 £ & ¢
ingle wi s £ 8 8% %
Single wire 5 S = 8§ & 8
S 3 § & ~» O
S £ 58 8 ¢
DT04, 2-pos., plug contacts, with LED-protection circuit Contact assignment = € 8 8§ § = Description Part No.
DT04-2PL-B/
A g 05 A1/0.75/0,5m 5500570
DT04-2PL-B/
2 A1/0.75/2m 5500571
8
©
- DT04-2PL-B/
- b 9 > A1/0.75/5m 2200572
3 N
v VEL :() LIE_
X 2 > 8 VS
with threaded connection - | N o2 3 ~
o~
— DT04-2PLG-B/
0,5 55-00573
= yroxt A1/0.75/0,5m
DT04-2PLG-B/
2 A1/0.75/2m 5500574
o
1 2 ©
o
] {rey
. DT04-2PLG-B/
51 > A1/0.75/5m 5500575
DTO04, 2-pos., plug contacts, without protection circuit
DT04-2PL-A/
- 05 A1/0.75/0,5m >5:00576
@11
DT04-2PL-A/
2 A1/0.75/2m 5500577
@ ! DT04-2PL-A/
=2 > A1/0.75/5m 5500578
N
O
) < 2
Pin 1 > -
Pin 2 2 5 8 e S
with threaded connection < ~
S DT04-2PLG-A/
- 05 A1/0.75/0,5m 5500579
Mi2x1
[
M12x1 é
DT04-2PLG-A/
2 A1/0.75/2m 5500580
1 L 2
£§
“:’ L + DT04-2PLG-A/
| 5 A1,0.75/5m 55-00581
15,1

Technical information starting on page 348

CONEC® 333




~
—_ g
- & £
g = X - kS
DT-Series BN B E
s £ § % 3§ %
S § §&8 £ 8§ 4
s &8 & 8 & ¢
S © § » 9 S
§ 2 £ I | @
DTO6, 3-pos., socket contacts, with LED-protection circuit Contact assignment = € 3 § 8§ = Description Part No.
DT06-35-B/
2 K1/0.75/2m 550041
= @11
r
DT06-35-B/
; , > K1,/0.75/5m 55:00412
Nr
o
i} DT06-35-B/
= Q 10 K1,/0.75/10m 5500413
= | N
g < o
3 = 8 PUR S
with threaded connection A )
N
o~

51,2

w0
©

DT06-3SG-B/

K1/0.75/10m 5500416

’ o Sso0dia
\ -1 Mi2xt
M12x1 |
LB : TOSREY 5500
Z is
— 10

DTO06, 3-pos., socket contacts, without protection circuit

DT06-35-A/

2 K1/0.75/2m 2500417
= @11
i

DT06-35-A/

> K1/0.75/5m 5500418
1 2
i

==

o
I.O_ 5
©
DT06-35-A/
=2 10 K1,/0.75/10m 5500419
N
Pin 1 M 2 2
Pin 2 3 Z 8 PIR <
with threaded connection Pin3 = < gl
e DT06-35G-A/
2 K1/0.75/2m 5500420

M12x1

r
DT06-35G-A/

> K1/0.75/5m 5500421

i 10 DT06-35G-A/ 55 00422
= K1/0.75/10m

334 CONEC® Technical information starting on page 348

51,2




~
— g
: g = X = kS
DT-Series T ¥ 2 £ & 8
s 8 B % 3 g
S 3 8 & §
s &8 & 8 & ¢
S © § Y » S
gE £ S S 5 p
DT04, 3-pos., plug contacts, with LED-protection circuit Contact assignment = € 3 § § = Description Part No.
DT04-3P-B/
2 K1/0.75/2m 5500423
o @1
DT04-3P-B/
> K1/0.75/5m 5500424
18,3
g
2 1
\
- — DT04-3P-B/
o ® -
= & { = Pin Q 10 K1/0.75/10m 2200425
~N
3 L % < 2
a ‘E‘ 3 - 8 PR S
with threaded connection - : S M
- ::; 8 DT04-3PG-B/
- 2 K1/0.75/2m 5500426
M12x1 )
|
DT04-3PG-B/
> K1,/0.75/5m 5500427
@
2
aV]
~ DT04-3PG-B/
- [ 10 K1/0.75/10m 5500428
DTO6, 3-pos., socket contacts, without protection circuit
DT04-3P-A/
2 K1/0.75/2m 5500429
o @11
DT04-3P-A/
> K1/0.75/5m 5500430
18,3
©
3
2 1
\
o p DT04-3P-A/ )
~ N/ 2 10 K1/0.75/10m 5500431
N
3 Pin 1 W z 2
Pin 2 W 3 Z 8 PUR <
with threaded connection Pin 3 W Y ™
IS DT04-3PG-A/
y 2 K1,/0.75/2m 5500432
M12x1
DT04-3PG-A/
> K1/0.75/5m 5500433
18,3 P
0
2 1
\
~ DT04-3PG-A/
& i
r NS/ 10 K1,/0.75/10m 55-00434
3

Technical information starting on page 348

H ol
CONEC® 335




~
—_ g
: g = X = kS
DT-Series S & & £ & 8§
S £ 5 % 35 %
S § §&8 £ 8§ 4
5 £ = ® & ¢
€ 3T S8 & X 3
§ 2 £ I | @
DTO6, 4-pos., socket contacts, without protection circuit Contact assignment = € 3 § 8§ = Description Part No.
DT06-4S-A/
4 2 K1/0.75/2m 5500487
B11
r
DT06-4S-A/
- > K1/0.75/5m 2>00488
(] s
7 —4
R
Baline B
18,2 ; DT06-4S-A/
2 10 K1/0.75/10m 55-00489
Pin 1 W Q -
Pin 2 > ’C\;
. . Pin3 M 4 o 7 PUR ~
with threaded connection Pin 4 < <~
.é DT06-4SG-A/
2 K1/0.75/2m 5500495
-
\ M12x1
M

54,3

14

O

12x1

DT06-45G-A/

> K1/0.75/5m 5500496
L 3
4
#»@m@?

i 10 DG 5G4 55.00497

18,2 K1/0.75/10m

DTO04, 4-pos., plug contacts, without protection circuit

DT04-4P-A/
- 11 -
, - 2 o e
DT04-4P-A/
> K1/0.75/5m 5500491
g
[
o] ol
s PEBYL , DT04-4P-A/
- r 2 10 K1,/0.75/10m 5500492
184 | | Pin 1 N ) "
Pin 2 <>( ’S-
Pin3 m 4 S 1 PUR 2
with threaded connection Pin 4 HE x ~
=) DT04-4PG-A/
— -
M12x1 2 K1,/0.75,/2m 55-00498
M12x1 éi
DT04-4PG-A/
> K1,/0.75/5m 5500499
g
PESEE
)
| R
3 ; 5 DT04-4PG-A/ )
— 10 K1,/0.75/10m 5500500
18,4
L

336 CONEC® Technical information starting on page 348



~
— S
- £ £
g = <X - S
DT-Series 2 8 2 s 2 §
5 & § D %
5 S o S 2 8
€ 3 8§ & =& O
. R S 8§58 8 ¢
DTO6, 6-pos., socket contacts, without protection circuit Contact assignment = € 8 § § = Description Part No.
DT06-65-A/
2 K1,/0.75/2m 5500501
DT06-65-A/
> K1/0.75/5m 5500502
DT06-65-A/
pin 1 = 10 K1/0.75/10m 5500503
Pin2 :(\) re)
Pin3 [ > =
bina 6 S 6 PUR <
Pin 5 ~ ©
Fin6 = = 5 DT06-65G-A/ 5500504
K1/0.75/2m
DT06-65G-A/
> K1/0.75/5m 55:00505
DT06-65G-A/
10 K1/0.75/10m 55-00506
DT04-6P-A/
2 K1,/0.75/2m 5500507
DT04-6P-A/
> K1/0.75/5m 55:00508
DT04-6P-A/
R 2 10 K1/0.75/10m 5500509
Pin2 W Q re)
Pin3 [ > ~
Pin 4 6 5 6 PUR <
with threaded connection Pin5 N ©
Pin6 [ -
y " =] , DT04-6PG-A/ 55 00510
Mi2x1 g\ K1/0.75/2m
DT04-6PG-A/
> K1/0.75/5m 550051
«Q
8
DT04-6PG-A/
T 10 K1,0.75/10m 5500512
|

Technical information starting on page 348 CONEC® 337



~
—_ g
- £ £
; g = < = S
DT-Series R ¥ & £ & 3
5 5 = @
5 £ 8 ® § g
T > = 5 9
Q o S ) QO S
§ &8 £ 5§ 5§ ¢
DTO6, 8-pos., socket contacts, without protection circuit Contact assignment = € 3 § 8§ = Description Part No.
DT06-8AS-A/
K1/0.75/2m 5500526
p
@13
DT06-8AS-A/
> K1,/0.75/5m 5500527
2 1@
) DT06-8AS-A/
1 . -
i 8 10 K1/0.75/10m 2200528
— ~— Pin 3 [ Q s
Pin 4 > =
with threaded connection Pin 5 I 8 R ° POR 2
Pin 6 1 < ©
Pin 7 M o
) = DT06-8ASG-A/
| -
Pin 8 2 s 55-00532
-
M12x1
DT06-8ASG-A/
> K1/0.75/5m 5500533
2 1
/]
{woidd)L 3| *I°
2 -==-h ©
. LUE\’?‘ 4 ‘*@_LU 06-8ASG
DT06-8ASG-A/
T ] 10 K1,/0.75/10m 5500534
5 6 7 8
243 — ~—1
DT04-8AP-A/
2 K1/0.75/2m 5500529
DT04-8AP-A/
> K1/0.75/5m 5500530
. DT04-8AP-A/
Pin 1 W -
ol — 2 10 K1/0.75/10m 2200531
Pin 3 g n
Pin 4 8 > 6 PUR ©
. . Pin 5 o <
with threaded connection Pin 6 < o
Pin 7 W =
' =] DT04-8APG-A/
Pin 8 I -
) in 2 K1,/0.75/2m 55-00535
M12x1
DT04-8APG-A/
> K1,/0.75/5m 5500536
DT04-8APG-A/
10 K1,/0.75/10m 5500537

338 CONEC® Technical information starting on page 348



~
—_ £
: g = < 3 g
DT-Series 2 & & £ & B8
s 8 B % 3 g
S 3 S8 & 8 4y
T > = T 9
S 3 § & ~» O
§E &§ £ 5§ 5§ g
DTO6, 12-pos., socket contacts, without protection circuit Contact assignment = € 3 § 8§ = Description Part No.
DT06-12AS-A/
2 K1/0.75/2m 5500553
. Pin 1 mm
Pin 2 mm
@13 Pin 3 [ %)
l Pin 4 e
Pin 5 mm :() w0
Pin 6 3 N S DI06-12AS-A/ )
Pin 7 mm 12 S 5 5 PUR X K1/075/5m 55-00554
7 ‘ Pin 8 mm ~ —
! ~ & ¢ O Pin 9 mE S
e @ ! 2 Pin 10 mml =
799444 G
RBE Pin 12 mm
789 101112 3 10 DIREtE- 227 55-00555
31,6 = — K1/0.75/10m
DTO04, 12-pos., plug contacts, without protection circuit
DTO4-12AP-A/
2 K1/0.75/2m 5500556
- Pin 1 mm
Pin 2 mm
Pin 3 [ S
213 r Pin 4 e
t [—— Pin 5 mm :() o
Pin 6 [J > o  DTO04-12AP-A/
/ S O 12 2 5 5 PUR S Ki/075/5m 55-00557
‘ Pin 8 mm ~N —
& @ & Pin 9 W o
2 Pin 10 -
© Pin 11 m
Pin 12 W
. DT04-12AP-A/
: - 10 K1/0.75/10m 5500558
1211 10 ; 87 = —

Technical information starting on page 348 CONEC® 339



=
— g
g = X = kS
Superseal S & & £ & 8§
s & 8§ & 3T q
S 35 & & 8 g
s &8 & 8 & ¢
S 3 § & & O
S 85 58 ¢
VSS 1.5, 2-pos., socket contacts Contactassignment = & G O O = Description Part No.
VSS1.5-25-A/
2 K1/0.75/2m 55:00470
| g1 o
| 5 o
Pin 1 I z S VSS1.5-2SA/ _
i — 2 X 8 5 PR § ool 55-00471
é ~
£
1 2 )
e g
wf AN
= RB=)) 0 VSS1.5-25-A/ £5.00472
; .
P s K1,/0.75/10m

VSS 1.5, 2-pos., socket contacts, single wire

L0
VSS1.5-251-A/
y 05 A1/0.75/0,5m 25:00582
#11
-
pin 1 VSS1.5-251-A/
Pin 2 2 N ° A1/0.75/2m 55-00583

max. 24V DC
2x0,75

\G/ E%
N = = £
0 NEE ] ‘ T VSS1.5-25LA/
17.3 ‘ > A1/0.75/5m 5500584
VSS 1.5, 2-pos., plug contacts
VSS1.5-2P-A/
-| @11 2 K1/0.75/2m 5500466
(@)
S wn
. > ~
Pin 1 . = VSS1.5-2P-A/ }
I i — 2 3 8 5 PUR S K1/075/5m 55-00467
©
s £
[ie]
T ) ©
©
(3] W =
| N VS51.5-2P-A/ )
] 10 K1/0.75/10m 55:00468
19,8
VSS 1.5, 2-pos., plug contacts, single wire
11
VSS1.5-2PLA/
- 0.5 A1/0.75/0,5m 5500585
311
4 y
a
- Pin 1 I z R Vss152PLA/
( N ’ b o ik -
: ( i — 2 X 8 2 A g O 55-00586
2 1 R . & ~
3 £
= ; VSS1.5-2PL-A/ o5 00587
198 1 A1/0.75/5m

340 CONEC® Technical information starting on page 348



=~
— g
- & £
g = < kS
Superseal N 1 E
S £ 8§ o8 g
s & & = & ¢
S © § Y » S
s P 28§
VSS 1.5, 3-pos., socket contacts Contactassignment = & S S S = Description Part No.
VS51.5-35-A/
2 K1/0.75/2m 5500478
-1 @11
I 0
in 1 S 2
Pin ™~ -3S-,
Pin 2 3 X 8 5 PR S V?S](')”SA/ 55-00479
. 2 3 oin 3 mm N X K1/075/5m
\[EEl/ 5 B
<
‘L‘} =) HEI
AN V5515-35A/
23,3 Ean= 10 [y 55-00480

VSS 1.5, 3-pos., plug contacts

VSS1.5:3P-A/
/ -l 2 2 K1/0.75/2m 55:00474
Pin 1 Il
. VSS1.5-3P-A/
% bin 2 W 3 8 5 PUR o 55.00475
2

2 %
> €
g 2
Pin3 N é 3
3 1 < £ oy
\ m/ < ©
5| (0D V5S1.5:3P-A/
A ) i 10 K1./0.75/10m 55:00476
256
VSS 1.5, 4-pos., socket contacts
VSS1.5-45-A/
2 K1,/0.75/2m 5500595
|
(&}
Pin 1 S "
Pin2 [ ™  VSS1.5-4S-A/
1 2 3 4 X < o -
| Pin3 - a7 5 RS a/075/5m 5500596
\ =5 o Pin4 HH 3 <
[BH} o £
s
292 VSS1.5-45-A/
10 K1,0.75/10m 95:00597

VSS 1.5, 4-pos., plug contacts

VSS1.5-4P-A/
g 2 K1/0.75/2m 5500598
[
Pin 1
Pin2 7 VSS1.5-4P-A/
Pin 3 4 X 7 5 PUR e 55-00599
Pin4 N
4 3 2 1
1 VSS1.5-4P-A/
N J i1 10 K1/0.75/10m 5500600
7

31,

max. 24V DC
4x0,75

56,1

135

Technical information starting on page 348 CONEC® 341



SECTION 12
ACCESSORIES




PN
CONEC® 343



Width across flats Description Part No.
colour: black
colour: grey
7\
logo colour: white
colour: black Torque
0.5-1.7Nm 36-000200
colour: grey. N\
[ ]
(I
SW9 36-000210
SW10 36-000270
SW12 36-000470
o]
~

SW13 36-000220
Swi4 36-000370
SW15 36-000320
SW17 36-000230
SW18 36-000240
SW19 36-000250

344 CONEC®




—
2 § T
= N S
3 5 3 & &
£ § 5 § &8
K = & T S Description Part No.
0
& swio 11 2 CuZn 4201046
=
0
‘ & swio 11 2 VA 42-01082
‘ =
- - S swi2 135 25 Cuzn 4201508
=
| -
| L/ S swis 17 28 Cuzn 43-01716
Thread _i, =
Width across flats
L
& SwWi18 20 265 Cuzn 43-01155
s
D
S swis 20 28 CuZn 43-01156
§ sw21 23 3 Cutn 41-40036
0
S SW23 25 3 Cuzn 41-40029
[
For T-splitter M12x1
© 6,5
&
v ] PA 43-05163
@34

CONEC® 345




Protection caps

Material Protection cap
Material loop

Material Sealing
Temperature range

Degree of protection
Recommended torque [Nm]

M8x1 thread Description Part No.

IP67 0.4 Male connector 42-11774

PA GF
FP
30°
up to +100°C

P67 0.4 Maleconnector 4211775
with loop

PA GF

TPU-V
FPM
-30°C
up to +85°C

IP67 0.4 Female connector 42-11772

-30°C
up to +100°C

PA GF

P67 04 cmalecomnector -, 1y793
with loop

PA GF

7
v/

TPU-V
-30°C
up to +85°C

M12x1 thread

IP67 0.6 Male connector black ~ 43-16213

PA GF
FPM
30°C

up to +100°C

IP67 0.6 Male connector 4315753
bright ivory-colored

PA GF
FPM
30°C

up to +100°C

P67 06 Mlale connector 4316214
with loop

PA GF
TPU-V
FPM
-30°C
up to +85°C

-30°C
up to +100°C

IP67 0.6 Female connector black 43-16211

PA GF

P67 06 Fgmaleconnector 4316212
with loop

PA GF

TPU-V
-30°C
up to +85°C

IP67 0.6 Female connector white 43-11358

SSSS\
PVC
30°C

up to +105°C

346 SONEC®



Part No.

Description

[wiN] anbiog papuawiwioday

uoipdazoid Jo aaibag
2bupi 21npJIadwa]

dooy |oLRIDY

dba uoi32301d |DLRIDYY

7/8"

41-01478

0.8 Male connector

1P67

2,001+ 031 dn
2.0¢-

40 vd

41-01479

Male connector

with loop

0.8

P67

J,00L+ 03 dn
2,0¢-

A-NdL

40 vd

@258

41-01476

Female connector

0.8

IP67

D.00L+ 03 dn
2,0¢-

40 vd

I
2125
s,
78 - 180N

41-01477

Female connector

with loop

0.8

P67

J,00L+ 03 dn
2.0¢-

ANdL

40 vd

180.2

CONEC® 347



SECTION 13
TECHNICAL INFORMATION




CONEC® 349



350

ATl =Liyy
A3 = LiYY, 300V
A6 = LiYY, 600 V

]

cULus cULus UL L

781-A11800

781-A31120

781-A12300

781-AT 2400

781-AT 2500

781-A1 250G

781-AT 2600

781-AT 2800

781-A13300

781-A1330G

781-AT3400

781-A1 340G

781-A1350G

781-AT3500

781-AT1530G

781-A1 5400

781-A67300

781-A3 7400

781-A37500

781-A37700

781-A68300

781-A3 8400

781-A3 840G

781-A38500

781-A69300

781-A69500

CONEC®




~
N
£
Cable unshielded g8 £ 2 <
Y IS
5 s % 3
s 5§ 2 s
g £ S £
= S .
TPU, halogenfree, for drag chain applications S 2 S8 8 Wirecolors Datasheet No.
KO = 1i9v11Y, 600V, halogenfree, for drag chain applications 8 2 \A(I:HY E’E - SL[]‘ ;g 781-K1 1800
KT =Li9Y11Y, 300 V, halogenfree, for drag chain applications _ x 3 B
H5 = Li9Y11Y, halogenfree, for many different applications 0.14 = E BN - BU - WH - GN -
12 = PK-YE-BK-GY-RD- 781-KT 1120
©  VI-GY/PK-RD/BU
3 . 2 —
o S O~ BN(034)-WH -
o ! -
s 2 B 85 gjo39)-k-cy  781-H5004H
S =
3 BN - BU - BK 781-KT1 2300
4 BN - WH - BU - BK 781-K1 2400
% [}
& § BN-WH-BU-BK-GY  781-K7 2500
B P BN - WH - BU - BK
=1 - - - -
—
3 GN/YE 781-K1 250G
BN - WH - BU - BK -
6 e 781-KT 2600
WH - BN - GN - YE -
8 =T -G 781-K1 2800
BN - BU - BK 781-K13300
3
BN - BU - GN/YE 781-K1 330G
D
» g BN - WH - BU - BK 781-K1 3400
034 4 & o
Q =1
= BN-BK-BU-GN/YE  781-K7 340G
o
BN-WH-BU-BK-GY  781-KT7 350G
5
BN - WH - BU - BK -
GN/YE 781-K1 3500
GY-RD/BU-GN-BU
(1,0)- GY/PK - WH/GN -
8/3 ONAYE(10)-BN/GN-  781-KT007H
o o WH-YE-BN(10)
— ~ S RD-VI-GY-RD/BU
3 8 2 -GN-BU(1,0%-GY/PK
=}
g = -WH/GN - WH/YE -
16/3 WH/GY - BK-GN/YE  781-K7 006H
(1,0) - BN/GN - WH -
YE - PK- GY/BN - BN
(1,0), YE/BN
[}
3 > BN - BU - BK 781-K1 5300
~ o
05 — & ¢
= =1
4 =  BN-WH-BU-BK 781-KT 5400
[ )
2 o BN - BU 781-K1 7200
— <
3
~ BN - BU - GN/YE 781-K1 7300
=1
3
3 BN - BU - BK 781-K1 730G
8 <
58 BN-BU-GN/YE 781-K07300
~ [SEPN]
075 s
BN - BU - BK - GN/YE 781-K1 7400
4
S  BN-WH-BU-BK  781-K7740G
—_— 5
2 BN-WH-BU-BK-
5 § GN/YE 781-K1 7500
BN - BU - WH - GN -
12 PK-YE-BK-GY-RD - 781-K17120
VT - GY/PK - RD/BU

CONEC® 351




352

~
g
E‘ -
Cable unshielded g8 £ 2 <
2 )
8 S % 3§
S § 8 &
e £ S £
= S .
TPU, halogenfree, for drag chain applications S 2 S8 8 Wiecolors Datasheet No.
KO = Li9Y11Y, 600 V, halogenfree, for drag chain applications
K1 =Li9Y11Y, 300 V, halogenfree, for drag chain applications 2 BN - BU 781-K1 8200
3 BN - BU - GN/YE 781-K08300
| (2]
<
s i~ 8
15 é ' BN-BU-BK-GN/YE  781-K7 8400
3
, 3
BN - WH - BU - BK 781-K1 840G
BN - WH - BU - BK -
5 GNJ/YE 781-K1 8500
3 o  BN-BU-GN/YE 781-K09300
=~ 3
25 — &8 ¥
= 2
3 BN-WH-BU-BK-
o
5 CNJ/YE 781-K09500
TPU, irradiated
JT =Li12Y11X, 300V, halogenfree, for drag chain applications, welding spatter resistant
3 BN - BU - BK 781-J13300
| D
<
s S
034 4 s - BN - WH - BU - BK 781-J1 3400
~— o =
o}
=)
BN - WH - BU - BK -
5 GN/YE 781-J1 3500
PP
PT = Li12Y9Y, halogenfree
3 BN - BU - BK 781-P1 2300
S
0.25 &
S
4 BN - WH - BU - BK 781-P1 2400
4 BN - WH - BU - BK 781-P1 3400
&
034 s
S
BN - WH - BU - BK -
5 GN/YE 781-P1 3500
4 BN - WH - BU - BK 781-S1 3400
3
034 —— =
o
BN - WH - BU - BK -
5 GN/YE 781-S13500

ST = Li12Y33X, halogenfree, welding spatter resistant

CONEC®




G3 = LiYFCY, 300V

GOA = LiYFCY, 1000 V 781-G3 1800

781-G3 1120

781-G3 2300

781-G3 2400

781-G3 2500

781-G3 2800

781-G3 3400

781-GOA 8400

G2 =Li9YCI1Y, 300V, halogenfree, for many different applications

GOB = Li9YCT11Y, 1000 V, halogenfree, for drag chain applications 781-G2 1800

—
N

781-G2 1120

781-G2 2300

781-G2 2400

781-G2 2500

781-G2 2800

781-G2 3400

781-GOB 8400

UL 21223 |cULus 20549 cULus 20549 cULus 20549 UL 2570 | cULus 2464 cULus 2464 cULus 2464 Certification

CONEC® 353



S 8
4% ©v i‘x
Profibus DP 8 § S s
Datacable shielded 8 5 § ¥
S § § =
& £ S F
PVC S 2 S8 8 Wiecolors Datasheet No.
G5 = fixed wire structure
MG 5 T8 e RD - GN 781-G53200
22 s
TPU
G7 = halogenfree, for drag chain applications
G4 = FRNC, fixed wire structure
A;/;G 2 yes RD -GN 781-G7 0200
3
S
>
AZV;G 2 yes RD - GN 781-G43200
Ethernet
Datacable shielded
PVC
GAJ = for fixed installation
< WSBU/BU -
AWG 5 < WS0G/0G -
g 2 ER WSGN/GN - 781-GAJ 080T
> WSBR/BN
TPU
G6 = UV resistant, for drag cha.m appl.lcatllons 0,152 4 = § WSBU - B(;JR- WSOR 281-GD 1400
GD = halogenfree, for drag chain applications i _ .
GAF = halogenfree, for drag chain applications AWG
GG = halogenfree 5 4 yes  YE-WH-BU-OR  781-G63400
2
o
4 © YE-WH -BU - OR 781-GAF 3400
AWG S
24 ™~ WSBU/BU - WSOG/
4x2 > 0OG - WSGN/GN - 781-GAF 080T
WSBR/BN
=2 Lo WSBU/BU - WSOG/
g 42 § = 0G - WSGN/GN - 781-GG 180T
= 2 WSBR/BN

CONC®




GC = sunlight resistant

GJ = sunlight resistant, for drag chain applications

Number of wires

Certification

GU = halogenfree

781-GCO

781-GU2

o o)
AT

781-GCOOTH

781-GJ 0400

03H

400

INEC® 355




356

Pin and contact assignments

M8x1

‘ Pin 3-pos. 4-pos. 4.78-pos.
A-coded A-coded A-coded
1 [
2 — | | l |
3 [ [ [
Female connector Male connector Female connector Male connector 4 I I I
3-pos. 3-pos. 4-pos. 4-pos.
Fi eoted e
1 [ [ ]
2 [ ] I
3 I [
4 |
5 [ | [
Female connector Male connector Female connector Male connector 5
5-pos. 5-pos. 8-pos. 8-pos. 7 [ ]
B-coded B-coded 8 |
M12x1 A-coded
450 450
. l Pi ecodad coded Cana
1 [ |
2 — | | \ |
3 [ [ [ |
a — B
Female connector Male connector Female connector Male connector
3-pos. 3-pos. 4-pos. 4-pos.
Pin 5-pos. 5.1-pos. 5.§-pos.
A-coded A-coded DeviceNet
1 [ [  Shielding
2 \ | | | I
3 [ [ [
4 I | [ ]
5 | [ [
Female connector Male connector
5-pos. 5-pos.
Y50 bE Ascggi AizZZd
1 I [ ]
2 [ ] [
3 I [
4 [
5 — [
6 I
Female connector Male connector Female connector Male connector ’ I
6-pos. 6-pos. 8-pos. 8-pos. 8 — L
Fi Acaded
1 I
2 [ |
3 [ ]
4 I
5
6
7 [
8 I
Female connector Male connector 9 [
12-pos. 12-pos. 10 ]
n [
12 [
CONET®




Pin and contact assignments

M12x1 B-coded

450
. Pin . 4.1-pos. 4.3-pos.
rofibus DP Profibus DP
\ 1 —
2 [ [
3 — [
4 [ [
Female connector Male connector
4-pos. 4-pos.
450
5 5.1-pos.
. D B-coded
& ! —
2 [ ]
3 I
4 [
5 [
Female connector Male connector
5-pos. 5-pos.
M12x1 C-coded
Pin 2-pos.+PE 3-pos.+PE
C-coded C-coded
1 I
2 [ [
3 [ I
4 [ |
Female connector Male connector Female connector Male connector
2-pos.+PE 2-pos.+PE 3-pos.+PE 3-pos.+PE
M12x1 D-coded
A‘Ef 450
Pin 4.2-pos. 4.24-pos.
D-coded D-coded
1 .
2 [ ] [ 1l
3 [ | I
4 [ [
Female connector Male connector
4-pos. 4-pos.
M12x1 S-coded
Pin 2-pos.+PE 3-pos.+PE
S-coded S-coded
1 [ 1 |
2 —
3
PE
Female connector Male connector Female connector Male connector . .
2-pos.+PE 2-pos.+PE 3-pos.+PE 3-pos.+PE
M12x1 T-coded
Iy
’ . 3-pos. 4-pos.
“ IAID T-coded T-coded
1 [ | I
& 2 — |
o 3 [ [
4 [ [
Female connector Male connector Female connector Male connector
3-pos. 3-pos. 4-pos. 4-pos.

CONET® 357



Pin and contact assignments

M12x1 X-coded

Female connector Male connector
8-pos. 8-pos.
7/8"
n n Pin 2-pos.+PE 4-pos.
PE [ ] —
1 — [
2 I L[|
3 [ I
Female connector Male connector Female connector Male connector 4 I
2-pos.+PE 2-pos.+PE 4-pos. 4-pos.
Pin 4-pos.+PE
1 [
2 I
PE2 [ ]
a — |
Female connector Male connector 5 L]
4-pos.+PE 4-pos.+PE
Rund24
Pin 3-pos.+PE 6-pos.+PE
1 [ L1
_ _ 2 I [
3 [ [
4 J—
| 5 — .
Female connector Male connector Female connector Male connector 6 N
3-pos.+PE 3-pos.+PE 6-pos.+PE 6-pos.+PE PE [ ] [ ]
M23
Pin 16.8+3 16+3
1 — [
o——Ptg—o 2 — [ ]
w©0® b5 o 3 [ I
. 4 [ [
5 [ [
Female connector 6 | |
7 || [
8 [ (I
9 — L 1
10 — [
n — [
12 [ | |
13 — |
14 [ I
15 \ | | |
16
17 —_—
18 — I
19 [ [

= o
358 CONEC



Pin 8.36-pos.
1 [ |
2 |
3 [ ]
11| 4 _
5 [
e ; —
Male connector ; o
8 N
Pin 8.31-pos. 8.33-pos.
1 [ [
2 I I
3 (Il [ 1
4 | —
1—=38 5 [ 1l —
6 [ [
Male connector 7 [ _
8 [ —
Pin 9-pos.
1 [
2 —
3 B o
4 I
5 Data ground
Male connector 6 Power supply plus
7 [
8 Bl fora)
9 R

CONEC® 359



360

Coding

M8x1 A-coded

M8x1 A-coded (8-pos.)

M8x1 B-coded

M12x1 A-coded

M12x1 B-coded

M12x1 C-coded

M12x1 D-coded

M12x1 S-coded

M12x1 T-coded

M12x1 X-coded

CONC®




PCB-Layouts and installation space dimensions
M8x1

One-piece sockets, installation height 5.5 mm

1,95
1,95

Female connector Male connector Female connector Male connector
3-pos. 3-pos. 4-pos. 4-pos.

1,35
0,35
1,35

1,85
1,2
1,85
1,2
X
7

1,65

1,45
1,45

Female connector Male connector Female connector Male connector
5-pos. 5-pos. 8-pos. 8-pos.
B-coded B-coded

CONEC® 361



362

PCB-Layouts and installation space dimensions

M8x1

Sockets shielded, angled, installation height 11.2 mm

Front panel

™
| — Front panel

] o] o} al
2 2 2 %
b 2 = %
g g 8 g
S 2 R 8
s s s =
h=] 3 '§ 'E
= = =
(156)
12,5:005 12,5+0.08
5{ 12,5+005 2 215 ? 12,5+005 2 215
<~ - | -~ 2 -~
- E¥n 2 ol A% 20 imA
4R s Al C NS LI Ty, AY 14 N D
o N0 Azan: VR TIAN AN CRe s CCAN ANZa S 3\
3 SR NN AR of NG o CReNE
i d 34 = 3,5 o o 34 ‘o
Female connector Female connector Male connector Male connector
3-pos. 4-pos. 3-pos. 4-pos.
Sockets shielded, angled, installation height 15.2 mm
Front panel
AR
el o ol 3
s s = 5
s s s E]
= = = =
(15,8)
12,5+005 12,5400
2,15
g 12,5+0,05 9 9 12,5:008 © 2,15
= ) s A
- 2 4 -
7T ‘ N A al s 204
Copo i (N ,\,;;\‘1\ ‘/\,#\_\\ N v*\\
0 <; £ ! o, L=e | ! 3 \ 3
= flas | N% 7 3 34 o NV 0 e " N\& ol 1! NG
” o 35 ) o =)
3,4
Female connector Female connector Male connector Male connector
3-pos. 4-pos. 3-pos. 4-pos.
Plel | Hed
CONEC




PCB-Layouts and installation space dimensions
M12x1

One-piece sockets, installation height 5.5 mm and 12 mm

Female connector Male connector

Female connector

Male connector

Male connector

Female connector
4-5-pos.
A/B/D-coded

4-5-pos.
A/B/D-coded

Female connector
8-pos.
A-coded

4-5-pos. 4-5-pos. 8-pos. 8-pos.
A/B/D-coded A/B/D-coded A-coded A-coded
©
e}
Male connector
8-pos.
X-coded
One-piece sockets with shielding, installation height 6.75 mm
A5
A G
/ T NN
SKCH \
o |
2 l\-,@; :8/7—)%//]/\‘ (D,\g, o
& % \eﬂ,ﬁ?/
‘\\ o 7
55
?13,2

Vo o
N

INEC® 363



364

PCB-Layouts and installation space dimensions
M12x1

Two-piece sockets, installation height 5.5 mm

Front
panel

@14

Panel thickness

min 2,5mm - max 3mm

98

950

R
roiN

7,7
32,2
g

. '3
—ax |/
Hole for

10 [~— optional
shielding

Female connector

£

£

™M

x

&

q E

g .

£

i ~

s .£

o £E
—
[ I

wy

@

—xdx

Hole for

10 T~— optional

shielding

Male connector

7,7

Hole for
optional
shielding

Female connector

4-5-pos.
A/B/D-coded

Hole for
optional
shielding

Female connector
8-pos.
A-coded

4-5-pos. 4-5-pos.
A/B/D-coded A/B/D-coded
Two-piece sockets, installation height 10 mm
£ Front c
Front ?é panel (E
mﬂanel gE Mi2x1 L B
S E g .
£5 SE
i w i
§E @ T
< £ E
i Y I
-3
L=

’ \,
& #1.2\
/ N .
! N, e
R
el
{

Hole for
optional
shielding

Male connector
4-5-pos.
A/B/D-coded

o) N Hed
(8¢ | N




PCB-Layouts and installation space dimensions

M12x1
Two-piece sockets, angled
Front £ Front £
panel ) 3
é é
"
gc i
s E s E
S S
T E
=g c £
£E L£E
g
P
' O . .
|
Panel Panel
7
7 /] % iz
Hole for Hole for
= 1.5 “=— optional
® - JanY %sme\dmg
- I AT SN
\ A !
Female connector Male connector
4-5-pos. 4-5-pos.
A/B/D-coded A/B/C-coded
Front Front c
anel £
¢p : 2
14 x a %
g2 g E
S e s
EE s E
T T —
5 < SE
§ 2
L}
wy
A
S el i S
I
15201 I
i
JE plapianibayun S I Panel
i K panel L se
| | " B
| |
‘ e | % 7] e
‘ Hu\efog T shroud
sy . T
R lne
Ty + 7 I
I P p—— TSN e i
g NJ;;_Q_FZ_‘} — 05
C Tl 23@
191
2,86
5,34
1501
Female connector Female connector
8-pos. 12-pos.

CONET® 365



PCB-Layouts and installation space dimensions
7/8"

One-piece sockets

Male connector
2-pos.+PE

Female connector
2-pos.+PE

538

Female connector
4-pos.

Male connector
4-pos.

Male connector
4-pos.+PE

Female connector
4-pos.+PE

Two-piece sockets, installation height 10 mm

20,25+01

4.8

@35 tgn

Male connector
2-pos.+PE

20,2501

NN

@358,

Male connector
4-pos.

2,91

20,25+01

@91

=

I

@357

Male connector
4-pos.+PE

366

CONEC®




TECHNICAL INFORMATION

PCB-Layouts and installation space dimensions
M8x1 SMT

Insulation body with and without shielding

@7,6 £0,05 (for shielding)

Female connector 07,6 2005 (for shielding) Male connector

= ~
[=2 -|
£ Sealing
“ =l

“ 5 Sealing £

-3 E’ surface E
A 2

A A A N A
with shielding without shielding with shielding % without shielding

= only for shielding

2,48

z/*v)fg'

68

106

[18
; ij
L wln I A 9
g o=, PORES &
TN T 9l [ 2]
3o 37 e 3o 37 e
& / 755005 r & 75500 r
78 | 78 |
Sockets front panel mounting with and without shielding, installation height 9 mm
Female connector Male connector
.
A A A A
with shielding without shielding with shielding without shielding

Width across flats13
Width across flats13

Width across flats13

Width across flats13

= only for shielding

2,48 2,48
55 55
& 8%
1 1
sls| 420 2t $ T H
P oF
< N
N N
2 2
= 754008 “o = 754008 “o
- 78 < Ny 3
= ] % = 78 %
§ §
1,95 N [18
\,,f,u
N
© © | < =
3 g : 2
2 BT N o
A 875
. -~ <
s 75%00 S/ 75100 4
= 78 8 78

Outer dimensions are valid for all number of poles



368

PCB-Layouts and installation space dimensions

M8x1 SMT

Sockets front panel mounting, with and without shielding, installation height 13 mm

Female connector

A
with shielding

Width across flats13

2,48

= only for shielding

68

106

jwﬁg

7.5t005
7.8

QH;VJ

108

A
without shielding

Width across flats13

37
751005
78 |

Male connector

A
with shielding

Width across flats13

2,48
S
2
®
¥
2t $ T H
ool
N
&
2
N 7,52005 o
2 !
= 78 %
§

Sockets back panel mounting, with and without shielding, installation height 6 mm

A
without shielding

Width across flats13

Female connector

A
with shielding

= only for shielding

7.5%005
7.8

QH;VJ

¥
2t $ T H
ool
N
N
2
N 7,52005 %o
2 !
= 78 %
§

A
without shielding

3.7
7.5¢005
78

Male connector

A
with shielding

2t $ T H
3 754005
= 78

&

[}

@
2
N
e{@
3
z

A
without shielding

Il\l.

H o
A AT =

Outer dimensions are valid for all number of poles



PCB-Layouts and installation space dimensions
M8x1 SMT

Sockets back panel mounting, with and without shielding, installation height 10 mm

Male connector

Female connector

A
"~ without shielding

A
with shielding

= only for shielding

2,48
S
2
®
¥
2t $ T H
ool
N
&
2
N 7,52005 o
2 !
= 78 %
§

108

" . o,
5 % 3,7 »@
= 75¢00 | g 755005 v
® 7.8 / 7.8

A
with shielding

106

3| £

754008
78

&

[}

@
2
N
e{@
3
z

A
without shielding

Outer dimensions are valid for all number of poles

PO
N

NEC® 369



TECHNICAL INFORMATION

PCB-Layouts and installation space dimensions
M8x1 THR

Insulation body with and without shielding

Female connector 076 005 (for shielding) Male connector

07,6 0,05 (fiir Schirm)

idth across flats13

Width across flats13

Width across flats13

10,6

755005

D100,

755008

370

=) By
£ -
B
i r 1
“ 2| || [
A S A A al£| || I A
with shielding without shielding with shielding i ﬁ | I | | without shielding
= Y| LJ
i 18
A I =]
|
248 248
@« @«
5] 5]
:}‘ 7,5+005 :} 7,5+0,08
© ©
29 29
1.8 1.8
; 23 . 5
Y Y
& § ik
@@ MNal L © oo P io—y -
z | R | PRI 2 g 9“”1‘%‘?”w 2
s N sl- RYER
<, < <, <
% 34 ‘ {"r =/ o 2 % 34 7@, =/ b 2
= 5 % kg 5 % = 5 % kg 5 %
&/ e % &/ ! = 5,
75¢005 ® 7 52008 754005 ) 7 52005
Sockets, Front panel mounting with and without shielding, installation height 9 mm
Female connector Male connector
A A A A
with shielding without shielding with shielding without shielding
!
L T o é
o |- %
£
=

755008

2,9
[15]
o
‘ &
¥
@Qlaln f{i} 14 El
g =1~ E VIR A w’i
s | gle
So 34 ‘ efe, BN 37 C>ao
= 5 3, e 8,
»»/ v = 5 %,
8 754005 ] % 52005
Plol | Tl . . .
SONES Outer dimensions are valid for all number of poles




PCB-Layouts and installation space dimensions
M8x1 THR

Sockets front panel mounting with and without shielding, Installation height 13 mm

Female connector Male connector

213

13208

A
with shielding

A
with shielding *
A

A A
without shielding without shielding

idth across flats13
o
lidth across flats13
Width across flats13

o
2
g
3
=

10.6
10.6

\*/v\\fb 05

755005

755008

N
X
2len f{i} e 3¢
EANE 1€ s
E1 FPINT S o
3 | 3|2
N 3
- %
S 34 ‘ % Bl 37 &,
- 5 %, A 3,
sT/ ! e s Z
75005 ® 752005

Sockets back panel mounting with and without shielding, Installation height 6 mm

Female connector Male connector

A
without shielding

A A
without shielding with shielding

A
with shielding

10

9,4
@13

10.6

e 762008
= 75005

N
&
@l o f{i} X gi
EANE @ o
E1 FPINT S o
s | g
N 3
- %
$o 24 ‘ % sf 37 2,
- 5 % S 3
§/ d o S Z
75005 ® 752005

. . . ol | Tl
Outer dimensions are valid for all number of poles SONEC® 371



PCB-Layouts and installation space dimensions
M8x1 THR

Sockets front panel mounting with and without shielding, Installation height 10 mm

Female connector Male connector

A
without shielding

A A A
with shielding without shielding with shielding
= =ila
o |- o 9—?
HERS ®

91 8.1
121 121
$15 Lt

755005

755008

29
18
; ;;
Ny 8
&
alo A B0 15
2 SR &S\ o
Sl- } 3|2
c co
FX 34 {‘% Bl 37 &,
S/ 5 v = 5 %,
® 754005 ) 751005

LOANNE=FC . . .
372 SONEC Outer dimensions are valid for all number of poles



TECHNICAL INFORMATION

PCB-Layouts and installation space dimensions
M12x1 SMT

Insulation body with and without shielding

Female connector g0z Male connector

Sealing

17:02

Sealing
surface

A A
with shielding * without shielding
A

Sockets front panel mounting with and without shielding, installation height 9 mm

A
with shielding

214202

0
759

A
without shielding

Female connector Male connector

17&02

. A

A
with shielding without shielding

A
with shielding

Width across flats17

Outer dimensions are valid for all number of poles

CONET® 373




374

PCB-Layouts and installation space dimensions

M12x1 SMT

Sockets back panel mounting with and without shielding, installation height 13 mm

Female connector

A
with shielding

A
without shielding

Width across flats17

Vd o | Hed
A\ T4 ‘:\

Outer dimensions are valid for all number of poles



Panel cut out

M8x1
— G
et ' Mounting thread M8x0.5 M10x1 M12x1
m [/ : /] . .
Wall thickness min. [mm] 1.5 1.5 1.5
D
A +01 Dimension A [mm] 8.2 10.1 12.1
Dimension panel cut out Dimension through hole Dimension B [mm] 72 9.1 1.1
Dimension C [mm] 10.5 12.5
» E - A% /T\ Dimension D [mm] 10.1 +0.1 12.1 +0.1
° I
! i . .
i Dimension E [mm 10.5 12.5
AT Y o
E Foos Dimension F M8x0.5 M10x1 M12x1
@575
Dimension thread Panel plug male
M12x1
’———‘C A%,
= v . 7 : Mounting thread M12x1 PG9 M16x1.5
* t
@ T
: Wall thickness min. [mm] 1.5 1.5 1.5
D
A 401 Dimension A [mm] 12.1 15.3 16.1
Dimension panel cut out Dimension through hole Dimension B [mm] 11 135 135
E Dimension C [mm] 12.5 16.5 16.8
%\
) |/ \ Dimension D [mm] 12.1 +01 15.3+0.1 16.1+0.1
VA
. Dimension E [mm] 12.5 16.2 16.5
) ) Dimension F M12x1 PG9 M16x1.5
Dimension thread
i 1,2+0,04 x45°
| _ =
|
1
[
i
[a0]
D 9,5 oot % @12,2+0.05
£
Panel plug male x-coded
7/8"
c >
[5)Y .
- . / \ ° Mounting thread PGI11 PG13.5
¥ :
m / [/ } /] Dimension A [mm] 18.8 206
D
Dimension B [mm] 17.5 19.3
A +0.1
Dimension C [mm] 16.5
Dimension panel cut out Dimension through hole
Dimension D [mm] 15.3+0.1
- E - AR Dimension E [mm] 16.2
' Dimension F PG11 PG13.5
VA

Dimension thread

CONET® 375




Protection classes

Norm IEC 60529

IP = International Protection

Code number 1 = I P 67

Protection against T A
contact and foreign bodies

Code number 2 =
Protection against water

PROTECTION CLASS OVERVIEW

First Protection against ingress of foreign objects Second
code digit  Protection against contact code digit
0 Not protected 0

Protection against ingress of solid foreign objects
1 with diameters > than 50 mm 1

Protected against access with the back of the hand

Protection against ingress of solid foreign objects
2 with diameters > than 12.5 mm 2

Protected against access with a finger

Protection against ingress of solid foreign objects
3 with diameters > than 2.5 mm 3

Protected against access with a tool

Protection against ingress of solid foreign objects
4 with diameters > than 1T mm 4

Protected against access with a wire

5 Protected against dust in harmful quantities s
I Complete protection against contact

Dust-proof
Complete protection against contact

9K

For safety reasons, connectors have to be protected against external
influences like dust, foreign objects, direct contact, moisture and water.
For industrial connectors, this protection is provided by their housings
with their latching devices and sealed cable entries. The protection
classes are also called IP Codes. The abbreviation IP stands for “ingress
protection”. Standard IEC 60529 specifies and divides the degree of
protection into several classes.

The protection classes refer to protection against contact and ingress
of solid foreign objects and dust (indicated by the first code digit of
the IP Code) as well as against damaging ingress of water (indicated
by the second code digit of the IP Code)

Protection against water Examples
Not protected
Protection against vertically dripping water ‘

Protection against dripping water with 15°
inclination

Protection against spray water inclined up to 60°

Protection against splashing water

Protection against jet water

Protection against powerful jets of water

Protection against temporary immersion

(max. water depth T m) )
max. 30 min

Protection against constant immersion beyond 1 m
An additionally indicated number stands for the

maximum immersion depth in meters.

Protection against very strong jets of water, e.g. from
high-pressure steam jet cleaners for vehicles. C::Iljb

376 CONEC®



Electrotechnical information

Voltage grading of connectors (insulation coordination)

Clearances and creepage distances are the base of voltage grading of connectors.
The following standard apply for this:

1IEC 60664-1

Insulation coordination for equipment within low-voltage systems"

Insulation coordination comprises the selection of the electrical insulation performances of an equipment (e.g. connector), taking into account the expected use

and its environment.

Explanation of some terms:
- Rated voltage

The value of voltage assigned by the manufacturer to the connector and to which operation and performance characteristics are referred.

- Rated impulse voltage
The value of an impulse withstand voltage assigned by the manufacturer to the connector characterising the specified withstand capability of its insulation against transient

overvoltages.

- Clearance

The shortest distance in air between two conductive parts.

- Creepage distance

The shortest distance along the surface of the insulating material between two conductive parts.

- Pollution degree
The expected pollution around the equipment (e.g. connector) was established in the standard in four degrees:
Pollution degree 1
No pollution or only dry, non-conductive pollution occurs. The pollution has no influence.
Examples: The inside of electrical measuring instruments, electronic measuring devices.
Pollution degree 2
Only non-conductive pollution occurs. Except that occasionally a temporary conductivity caused by condensation is to be expected.
Examples: Household appliances, installation material, lamps, power supplies of office equipment.
Pollution degree 3
Conductive pollution occurs or dry non-conductive pollution occurs which becomes conductive due to condensation which is to be expected.
Examples: Electrical equipment of machine tools and processing machines, low voltage switches at machine tools.
Pollution degree 4
The pollution generates persistent conductivity caused by conductive dust or by rain or snow.

Examples: Equipment on wagon roofs and beneath wagons at electrical locomotives, rail cars,
trolley busses. Equipment at electrical locomotives underground.

Additional remarks:

If connectors being defined for pollution degree 1 and overvoltage categorie 1 are applied for other conditions (higher pollution degree and higher overvoltage category),

voltage levels reduce correspondingly. But the connectors can be used without any problems at reduced maximum voltages.

It has to be noted that for a connector with a degree of protection of at least IP54 the parts inside the enclosure may be dimensioned for a lower pollution degree. This

also applies to mated connectors whose enclosure is ensured through the connector housing and which may only be disengaged for test and maintenance purposes.

CONET® 377



Electrotechnical information

Voltage grading of connectors (insulation coordination)

- Overvoltage categories
The standard has divided the possible overvoltages into four categories. The three categories which relate to connectors are shortly described below:
Overvoltage category |

Equipment (e.g. connectors) intended for the use in applications or parts of installations in which no overvoltage can occur.
Examples are low voltage equipments.

Overvoltage category Il

Equipment (e.g. connectors) intended for the use in installations or parts of it, in which lightning overvoltages do not need to be considered, however switching overvoltages
generated by the equipment. Examples are household appliances.

Overvoltage category Il

Equipment (e.g. connectors) intended for the use in installations or parts of it in which lightning overvoltages do not need to be considered, however switching overvoltages
generated by the equipment, and for cases where the reliability and the availability of the equipment (e.g. connectors) or its dependent circuits are subject to special require-
ments. Examples are protecting means, switches and sockets.

—Material groups

For the dimensioning of the creepage distance, the tracking formation of the insulating material used by the manufacturer has to be considered. The materials are separated into
three groups according to their CTl values (Comparative Tracking Index):

Material group 1 600 < CTI
Material group 11 400 < CTI < 600
Material group 111 175 < CTI < 400

378 CONEC®



The American Wire Gauge AWG is also found in various areas of the automation industry use .
The following table is used for the conversion of AWG Supports at in mm2 .

Note: Due to different Core structure at the same AWG creates a different.

0.09 0.5
0.14 0.5
0.25 0.7
0.7

0.34 0.8
0.9

0.5 1
1.1

1.1

0.75 1.2
12

13

1.0 1.4
1.4

1.5

1.5 1.6
1.7

1.8

2.5 22
23

23

4.0 2.7
2.8

2.9

CONE® 379



SECTION 14
ADDITIONAL PRODUCT CATEGORIES




PN
CONEC® 381



ADDITIONAL CONEC PRODUCT CATEGORIES

IP67 Power Bayonet

e

Details

¢ No. of poles: 2, 2+PE

* Receptacle male and female

¢ Cable connector male and female
 Degree of protection: [P67

IP67 Mini USB, USB 3.0, USB 2.0 connectors

Benefits

e Use in harsh environments

* Easy and safe locking by bayonet lock
* Cable to cable connection available

e High current carrying capability

Details

* Type: USB 3.0 Type A

* Type: USB 2.0 Type A, Mini USB Type A

* Housing: plastic, plastic metallized, zinc die-cast
* Locking: bayonet, M28

* Termination: soldering, PCB

» Adapters

* Degree of protection: IP20 (Patch), IP67

382 SONEC®

Benefits

e Use in harsh environments

* Easy and safe locking by bayonet lock

* Front- and back panel mounting

UV resistant material for use outdoors

* USB Memory Stick 2 GB integrated into protection cap
* Light-weight versions ideal for portable devices



IP67 RJ45 Industrial ethernet connectors

Details Benefits

 Housing: plastic, plastic metallized, zinc die-cast e Use in harsh environments

¢ Locking: bayonet, M28 e Easy and safe locking by bayonet lock
 Termination: soldering, IDC, screw « Front- and back panel mounting

e UTP Cat 5e, STP Cat 5e, S/STP Cat 6A o

UV resistant material for outdoor use
 Degree of protection: P20 (Patch) IP67 « Light-weight versions

« Colored interface encoding available

IP67 Fiber optic LC-duplex

Details Benefits

* Housing: plastic, plastic metallized, zinc die-cast  Use in harsh environments
e Locking: bayonet * Easy and safe locking by bayonet lock
¢ Single Mode, Multi Mode, APC Single Mode * Extended temperature range

* Front- and back panel mounting

* Degree of protection: IP67

¢ Interference-free safe data transmission
* Cost efficiency by integrated IP67 protection

CONEC° 383



D-SUB Connectors standard/high density/combination

Details Benefits
« Shell: steel tin plated, brass tin plated, stainless steel * One interface for power, RF and control signals
* Termination: solder pin straight/angled, press-fit straight, solder cup, * Space saving
wire wrap, crimp e Cost saving — all in one connectors
e Quality class: up to quality class 1 e Low magnetic versions

* Customer-specific solutions possible

D-SUB Filter standard/high density/combination

1

Details Benefits

e Shell: steel tin plated, brass tin plated * Filtering directly at interface

 Termination: solder pin, solder cup * Can be used without PCB Redesign

« Filter type: C-Filter, LC-Filter, Pi-Filter « Filter-adapter for retrofitting existing systems
¢ High DWV e Up to 3-step low-pass filters

* Selective filtering

* Mixed capacities

e Low magnetic versions
e Space saving on PCB

384 CONEC®



IP67 D-SUB Connectors standard/
high density/combination

A,

Details

e Shell: brass tin plated, stainless steel

¢ One-piece shell (Solid Body): zinc die-cast

¢ One-piece shell (CONEC SlimCon): zinc die-cast, small
installation space requirements

 Termination: solder pin straight/angled, solder cup

 Degree of protection: [P67

IP67 D-SUB Filter standard/high density

Benefits

e Use in harsh environments

e Front- and back panel mounting
e Increased corrosion protection

* Precision machined contacts

Details

e Shell: brass tin plated

 Termination: solder pin, solder cup

« Filter type: C-Filter up to1300 pF (D-SUB) up to 1000 pF (HD-SUB)
 Degree of protection: IP67

Benefits

* Filtering directly at interface

e Can be used without PCB Redesign
e Use in harsh environments

* Selective filtering

* Mixed capacities

* Low magnetic versions

e Space saving on PCB

CONEC® 385




D-SUB Hoods

Details Benefits

* Shell size: 1-5
* Shell: metal, plastic metallized, plastic

* Large space for combination D-SUB

* Screw latching or slide locking

e Cable entry: straight, lateral, multiple * Quick and easy locking (CONEC SnapLock)
* CONEC SnapLock version * Touch protection of termination side

* For round and flat ribbon cables

IP67 D-SUB Hoods

Details Benefits

e Shell size: 1-5
« Shell: plastic, plastic metallized
* Degree of protection: IP67

» Compact design

e Integrated cable gland

* Large space for combination D-SUB

e With shield connection

* UV resistant material for use outdoors
* Assembly without special tools

386 COMNEC®



PCB Connectors

Overview

e DIN EN 60603-2
e DIN 41617
¢ AdvancedTCA

« Flat cable connector
* CompactPCl
¢ PC104/PC104

Customized Products

Many things are possible

Are you looking for application-specific solutions?

Please contact us — our expert team will support you from the product concept up to optimised serial production.
* Special interconnect solutions to customer specifications

* Prototypes and small series production batches

* Connectors with increased IP ratings for harsh environments

CONEC® 387



CONES
(6.0, H O

ApxaHrenbck (8182)63-90-72
AcraHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
Bapnayn (3852)73-04-60
Benropop (4722)40-23-64
BpsiHck (4832)59-03-52
BnagneocTtok (423)249-28-31
Bonrorpapn (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

Mo Bonpocam npofax u nogaepxku obpallanTtecs:

MBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
KasaHb (843)206-01-48
KanunuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Jvneuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41

HwxHuin Hosropog (831)429-08-12
HoBokysHeLk (3843)20-46-81
Hosocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16

Mepmb (342)205-81-47
PoctoB-Ha-[loHy (863)308-18-15
Ps3aHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapatosB (845)249-38-78
CeBacronons (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coun (862)225-72-31
Craspornonb (8652)20-65-13

EouHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YrnbsiHOBCK (8422)24-23-59
Ydpa (347)229-48-12
Xabaposck (4212)92-98-04
YensibuHek (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnb (4852)69-52-93


mailto:ccn@nt-rt.ru
http://www.conec.nt-rt.ru

